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❈❡tt❡ t❤ès❡ ❡st ❝♦♠♣♦sé❡ ❞❡ tr♦✐s ❝❤❛♣✐tr❡s ❤♦rs ✐♥tr♦❞✉❝t✐♦♥✳ ❉❛♥s ❧❡ ♣r❡♠✐❡r
❝❤❛♣✐tr❡✱ ♦♥ ❝❛❧❝✉❧❡r❛ ❡①♣❧✐❝✐t❡♠❡♥t ❧❡s ❣r♦✉♣❡s ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞✬✉♥❡ ❡①t❡♥s✐♦♥
r❛❞✐❝❛❧❡ ❡t ❣❛❧♦✐s✐❡♥♥❡ ❞❡ ❧❛ ❢♦r♠❡ Gal(F (ζpr , a

1/ps)/F )✱ ♦ù p ❡st ✉♥ ♥♦♠❜r❡
♣r❡♠✐❡r ✐♠♣❛✐r✱ ♦ù F/Qp ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ♥♦♥ r❛♠✐✜é❡✱ ♦ù a ∈ F\F p ❡t ♦ù
r ❡t s s♦♥t ❞❡✉① ❡♥t✐❡rs ♣♦s✐t✐❢s t❡❧s q✉❡ r ≥ s✳ ❈❡ tr❛✈❛✐❧ ❣é♥ér❛❧✐s❡ ❝❡❧✉✐ ❞❡
❱✐✈✐❛♥✐ ❬✹✻❪✳

❉❛♥s ❧❡ ❞❡✉①✐è♠❡ ❝❤❛♣✐tr❡✱ ♦♥ ét✉❞✐❡r❛ ❧❡s ❝♦r♣s L ⊂ Q q✉✐ ♥❡ ♣♦ssè❞❡♥t ♣❛s
❞❡ ♣♦✐♥t ❞❡ ♣❡t✐t❡ ❤❛✉t❡✉r✱ s❛✉❢ 0 ❡t ❧❡s é✈❡♥t✉❡❧❧❡s r❛❝✐♥❡s ❞❡ ❧✬✉♥✐té ❛♣♣❛rt❡♥❛♥t
à L✳ ❖♥ ❞✐r❛ ❞✬✉♥ ❝♦r♣s ❛②❛♥t ❝❡tt❡ ♣r♦♣r✐été q✉✬✐❧ ♣♦ssè❞❡ ✭♦✉ ❛✮ ❧❛ ♣r♦♣r✐été (B)
✭♣♦✉r ❇♦❣♦♠♦❧♦✈✮✳ ❘é❝❡♠♠❡♥t✱ ●❛❧❛t❡❛✉ ❞♦♥♥❛ ❞❡s ❡①❡♠♣❧❡s ❞❡ ❝♦r♣s ❛②❛♥t
❧❛ ♣r♦♣r✐été (B)✱ s♦✉s ✉♥❡ ❤②♣♦t❤ès❡ ❛ss❡③ r❡str✐❝t✐✈❡✳ ▲❡ ❜✉t ❞❡ ❝❡ ❝❤❛♣✐tr❡ ❡st
❞❡ ❧❛ s✉♣♣r✐♠❡r✳ ❈❡ rés✉❧t❛t ❛ ❞♦♥♥é ❧✐❡✉ à ❧❛ ♣✉❜❧✐❝❛t✐♦♥ ❬✸✹❪✳

❉❛♥s ❧❡ tr♦✐s✐è♠❡ ❝❤❛♣✐tr❡✱ ♦♥ s✬✐♥tér❡ss❡r❛ à ✉♥ ❝❛s ♣❛rt✐❝✉❧✐❡r ❞✬✉♥❡ ❝♦♥❥❡❝✲
t✉r❡ ❞❡ ❘é♠♦♥❞✱ q✉✐ ♣❡r♠❡t ❞❡ ❧♦❝❛❧✐s❡r ❧❡s ♣♦✐♥ts ❞❡ ♣❡t✐t❡ ❤❛✉t❡✉r ❞❡Gnm(Q(Γ))
♦ù Γ ⊂ Gnm(Q) ❡st ✉♥ ❣r♦✉♣❡ ❞❡ r❛♥❣ ✜♥✐✳ ❖♥ s✬✐♥tér❡ss❡r❛ ❞✬❛❜♦r❞ à ❝❡tt❡
❝♦♥❥❡❝t✉r❡ ❞❛♥s ❧❡ ❝❛s ♦ù n = 1 ❡♥ ❣é♥ér❛❧✐s❛♥t ✉♥ ❡①❡♠♣❧❡ ♥♦♥ tr✐✈✐❛❧ ❛❧❧❛♥t
❞❛♥s ❧❡ s❡♥s ❞❡ ❝❡❧❧❡✲❝✐✳ ❖♥ ❧❛ ❣é♥ér❛❧✐s❡r❛ ❡♥s✉✐t❡ ❡♥ ② ✐♥❝❧✉❛♥t ❧❡s ✈❛r✐étés
s❡♠✐✲❛❜é❧✐❡♥♥❡s ✐s♦tr✐✈✐❛❧❡s✳ ❈❡tt❡ ❣é♥ér❛❧✐s❛t✐♦♥ ♣❡r♠❡ttr❛ ❞❡ r❡❧✐❡r ❡♥tr❡ ❡✉①
♣❧✉s✐❡✉rs rés✉❧t❛ts ❞é❥à ♣rés❡♥ts ❞❛♥s ❧❛ ❧✐ttér❛t✉r❡✳ ❖♥ ❝♦♥❝❧✉r❛ ❝❡ ❝❤❛♣✐tr❡ ❡♥
❞♦♥♥❛♥t ✉♥ ♥♦✉✈❡❧ ❡①❡♠♣❧❡ ♥♦♥ tr✐✈✐❛❧ ❞❡ ❝❡tt❡ ❣é♥ér❛❧✐s❛t✐♦♥✳

✵✳✶ ●r♦✉♣❡s ❞❡ r❛♠✐✜❝❛t✐♦♥

P♦✉r ✉♥ ❝♦r♣s ❧♦❝❛❧ K✱ ♥♦t♦♥s pK s♦♥ ✐❞é❛❧ ♣r❡♠✐❡r✳ ❙♦✐t L/K ✉♥❡ ❡①t❡♥s✐♦♥
✜♥✐❡ ❡t ❣❛❧♦✐s✐❡♥♥❡ ❞❡ ❝♦r♣s ❧♦❝❛✉①✳ P♦✉r ✉♥ ❡♥t✐❡r i ≥ −1✱ ♥♦t♦♥s

Gal(L/K)i = {σ ∈ Gal(L/K) | ∀x ∈ OL, σx ≡ x mod pi+1
L }

❧❡ i✲✐è♠❡ ❣r♦✉♣❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞❡ Gal(L/K)✳ ❖♥ ❞✐r❛ q✉❡ t ❡st ✉♥ s❛✉t ❞❡
L/K s✐ Gal(L/K)t 6= Gal(L/K)t+1✳

❉❛♥s ❝❡tt❡ t❤ès❡✱ ♦♥ s✬✐♥tér❡ss❡r❛ ❛✉① ❡①t❡♥s✐♦♥s L/K q✉✐ s♦♥t ❣❛❧♦✐s✐❡♥♥❡s✱
r❛❞✐❝❛❧❡s ❡t ✜♥✐❡s✱ ✐✳❡✳ L = K(ζm0

, a
1/m1

1 , . . . , a
1/mn
n ) ❛✈❡❝ mi | m0 ♣♦✉r t♦✉t

i ❡t a1, . . . , an ∈ K∗✳ ❊♥ ❣é♥ér❛❧✱ ✉♥❡ t❡❧❧❡ ❡①t❡♥s✐♦♥ ♥✬❡st ♣❛s ♥é❝❡ss❛✐r❡♠❡♥t
❛❜é❧✐❡♥♥❡✳ ❊♥ ❢❛✐t✱ ✐❧ s✬❛❣✐t ❞❡s ❡①t❡♥s✐♦♥s ❣❛❧♦✐s✐❡♥♥❡s ♥♦♥ ❛❜é❧✐❡♥♥❡s ❧❡s ✧♣❧✉s
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s✐♠♣❧❡s✧✳ ❈❡ s♦♥t ❞♦♥❝ ❧❡s ✧♣r❡♠✐èr❡s✧ ❡①t❡♥s✐♦♥s q✉✐ ♥❡ s♦♥t ♣❛s ❝❧❛ss✐✜é❡s ♣❛r
❧❛ t❤é♦r✐❡ ❞❡s ❝♦r♣s ❞❡ ❝❧❛ss❡s ❧♦❝❛✉①✳

❉❛♥s ❝❡tt❡ s❡❝t✐♦♥✱ p ❞és✐❣♥❡r❛✱ s❛✉❢ ✐♥❞✐❝❛t✐♦♥ ❝♦♥tr❛✐r❡✱ ✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r
✐♠♣❛✐r✳ P❧✉s✐❡✉rs rés✉❧t❛ts ❝♦♥❝❡r♥❛♥t ❧❡ ❝❛❧❝✉❧ ❞❡s s❛✉ts ❞✬✉♥❡ ❡①t❡♥s✐♦♥ L/K
❣❛❧♦✐s✐❡♥♥❡ ❡t ✜♥✐❡ ❞❡ ❝♦r♣s ❧♦❝❛✉① ❡①✐st❡♥t ❞é❥à ❞❛♥s ❧❛ ❧✐ttér❛t✉r❡ ✿

✐✮ s✐ K = Qp ❡t L ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ❝②❝❧♦t♦♠✐q✉❡ ❞❡ Qp ❬✸✾✱ ❈❤❛♣✐tr❡
■❱✱Pr♦♣♦s✐t✐♦♥ ✶✽❪ ❀

✐✐✮ s✐ K ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ ❞❡ Qp q✉❡❧❝♦♥q✉❡ ❡t L ❡st ❧❡ ❝♦♠♣♦s✐t✉♠ ❞❡
t♦✉t❡s ❧❡s ❡①t❡♥s✐♦♥s ❞❡ ❞❡❣ré p s✉r K ✭❝❢ ❬✷✵✱ Pr♦♣♦s✐t✐♦♥ ✶✺❪ ♣♦✉r ❧❡ ❝❛s
♦ù ζp ∈ K ❡t ❝❢ ❬✶✷✱ ❚❤❡♦r❡♠ ✶✷❪ ♣♦✉r ❧❡ ❝❛s ❣é♥ér❛❧✮ ❀

✐✐✐✮ s✐ K = Qp ❡t L = Qp
(

pn
√

Q∗
p

)

✭❛✈❡❝ n ∈ N∗✮ ❬✹✷✱ ❚❤❡♦r❡♠ ✻✱ ❚❤❡♦r❡♠ ✽❪ ❀

✐✈✮ s✐ K = Qp ❡t L = Qp(ζpr , a
1/ps) ❛✈❡❝ r ≥ s ≥ 0 ❞❡✉① ❡♥t✐❡rs ❡t a ∈ Z ⊂ Zp

t❡❧ q✉❡ vp(a) ∈ {0, 1} ❬✹✻✱ ❚❤❡♦r❡♠ ✺✳✽✱ ❚❤❡♦r❡♠ ✻✳✺❪✳

❊♥ ❝❡ q✉✐ ❝♦♥❝❡r♥❡ ❧❛ ❝❛s p = 2✱ ❖❜✉s ❬✸✸✱ ❚❤❡♦r❡♠ ✺✳✶❪ ❛ ❝❛❧❝✉❧é ❧❛ ❜♦r♥❡
s✉♣ér✐❡✉r❡ ❞❡ ❧✬❡♥s❡♠❜❧❡ {ω ≥ −1 | Gal(L/K)ψL/K(ω) 6= {1}} ✭q✉❡ ❧✬♦♥ ❛♣✲
♣❡❧❧❡ ❧❡ ❝♦♥❞✉❝t❡✉r✮ ❡♥ s✉♣♣r✐♠❛♥t ❧❛ ❝♦♥❞✐t✐♦♥ t❡❝❤♥✐q✉❡ v2(a) ∈ {0, 1}✱ ♦ù
L = Qp(ζ2r , a

1/2s) ✭❛✈❡❝ r ≥ s✮✱ ♦ù K = Qp ❡t ♦ù ψL/K ❞és✐❣♥❡ ❧❛ ❢♦♥❝t✐♦♥ ψ
❞❡ ❍❡r❜r❛♥❞ ❬✸✾✱ ❈❤❛♣✐tr❡ ■❱✱ ➓✸❪✳ ◆é❛♥♠♦✐♥s✱ s♦♥ ❛♣♣r♦❝❤❡ ♥❡ ♣❡r♠❡t ♥✐ ❞❡
s✉♣♣r✐♠❡r ❝❡tt❡ ❝♦♥❞✐t✐♦♥ s✉r ❧❛ ✈❛❧✉❛t✐♦♥ ❞❛♥s ❧❡ ❝❛s ♦ù p ❡st ✐♠♣❛✐r✱ ♥✐ ❞❡ ❝❛❧✲
❝✉❧❡r t♦✉t❡ ❧❛ s✉✐t❡ ❞❡s ❣r♦✉♣❡s ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞❡ ❧✬❡①t❡♥s✐♦♥ Qp(ζ2r , a

1/2s)/Qp✳

❙♦✐t F ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ ♥♦♥ r❛♠✐✜é❡ ❞❡ Qp✳ ❉❛♥s ❝❡tt❡ t❤ès❡✱ ♦♥ s❡ ♣r♦♣♦s❡
❞❡ ❣é♥ér❛❧✐s❡r ❧❡ tr❛✈❛✐❧ ❞❡ ❱✐✈✐❛♥✐ ❬✹✻❪ ✭♣♦✐♥t iv) ❝✐✲❞❡ss✉s✮ ❡♥ ❞ét❡r♠✐♥❛♥t ❧❛
s✉✐t❡ ❞❡s ❣r♦✉♣❡s ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞✬✉♥❡ ❡①t❡♥s✐♦♥ ❞❡ ❧❛ ❢♦r♠❡ F (ζpr , a1/p

s

)/F
❛✈❡❝ r ≥ s ❞❡✉① ❡♥t✐❡rs ♣♦s✐t✐❢s ❡t a ∈ F\F p✳

❖✉tr❡ ❧❡s ❣é♥ér❛❧✐s❛t✐♦♥s é✈✐❞❡♥t❡s q✉❡ ❧✬♦♥ ❛ ❢❛✐t❡s ♣❛r r❛♣♣♦rt à ❬✹✻❪✱ ♥♦tr❡
❛♣♣r♦❝❤❡ ♥♦✉s ♣❡r♠❡t ❞❡ ❝❛❧❝✉❧❡r ❞❡s s❛✉ts q✉❡ ❧✬♦♥ ♥❡ ♣❡✉t ❝❛❧❝✉❧❡r ❛✈❡❝ ❧❡s
♠ét❤♦❞❡s ❡♠♣❧♦②é❡s ❞❛♥s ❬✹✻❪✳ P❛r ❡①❡♠♣❧❡✱ ♦♥ s❡r❛ ❡♥ ♠❡s✉r❡ ❞❡ ❞ét❡r♠✐♥❡r
❧✬✉♥✐q✉❡ s❛✉t ❞❡ ❧✬❡①t❡♥s✐♦♥ Qp(ζp2 , a

1/p4)/Qp(ζp2 , a
1/p3)✳

❉❛♥s ❧❡ ❝❤❛♣✐tr❡ ✶✱ ♦♥ ♠♦♥tr❡r❛ ❧❡s t❤é♦rè♠❡s s✉✐✈❛♥ts ✿

❚❤é♦rè♠❡ ✵✳✶✳✶✳ ❙✉♣♣♦s♦♥s q✉❡ p | vF (a)✳ ❙♦✐❡♥t r ≥ s ≥ 0 ❞❡s ❡♥t✐❡rs t❡❧s
q✉❡ r ≥ 1✳ ❈♦♥str✉✐s♦♥s ♣❛r ré❝✉rr❡♥❝❡ ❞❡✉① s✉✐t❡s ❞✬❡♥t✐❡rs ♣♦s✐t✐❢s (r(i))i≥0 ❡t
(s(i))i≥0 ❝♦♠♠❡ s✉✐t ✿ r(0) = s(0) = 0 ❡t✱ ♣♦✉r i ≥ 0✱

(r(i+1), s(i+1)) =











(min{r, r(i) + 1}, s(i)) s✐ s(i) = s

(r(i) + 1, s(i)) s✐ s(i) 6= s ❡t s✐ r(i) = s(i)

(r(i), s(i) + 1) s✐ s(i) 6= s ❡t s✐ r(i) 6= s(i)
.

❆❧♦rs ✿

✐✮ ❧❡s s✉✐t❡s (r(i))i ❡t (s(i))i s♦♥t ❝r♦✐ss❛♥t❡s ❡t st❛t✐♦♥♥❛✐r❡s ❞❡ ❧✐♠✐t❡s r❡s✲
♣❡❝t✐✈❡s r ❡t s✳ ◆♦t♦♥s i0 ❧❡ ♣❧✉s ♣❡t✐t ❡♥t✐❡r i t❡❧ q✉❡ (r(i0), s(i0)) = (r, s) ❀

✐✐✮ ❧❡s i0 s❛✉ts ❞❡ Fr,s/F s♦♥t ❧❡s

τi =

{

t1(r
(i+1), s(i+1)) s✐ s(i) = s ♦✉ s✐ r(i) = s(i)

t2(r
(i+1), s(i+1)) s✐ s(i) 6= s ❡t s✐ r(i) 6= s(i)
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❛✈❡❝ i ∈ {0, . . . , i0 − 1}✳ ❉❡ ♣❧✉s✱ ♣♦✉r i ∈ {0, . . . , i0 − 1}✱ ♦♥ ❛

Gal(Fr,s/F )τi = Gal(Fr,s/Fr(i),s(i)).

◆♦✉s ❛✈♦♥s ✉♥ rés✉❧t❛t ❛♥❛❧♦❣✉❡✱ ♠❛✐s t❡❝❤♥✐q✉❡♠❡♥t ♣❧✉s ❞✐✣❝✐❧❡✱ ❞❛♥s ❧❡
❝❛s ♦ù p ∤ vF (a)✳

❚❤é♦rè♠❡ ✵✳✶✳✷✳ ❙✉♣♣♦s♦♥s q✉❡ p ∤ vF (a)✳ ❙♦✐❡♥t r ≥ s ≥ 0 ❞❡s ❡♥t✐❡rs✳
❈♦♥str✉✐s♦♥s ♣❛r ré❝✉rr❡♥❝❡ ❞❡✉① s✉✐t❡s ❞✬❡♥t✐❡rs ♣♦s✐t✐❢s (r(i))i ❡t (s

(i))i ❝♦♠♠❡
s✉✐t ✿ r(0) = s(0) = 0, r(1) = 1 ❡t s(1) = 0 ❡t✱ ♣♦✉r t♦✉t i ≥ 1✱

(r(i+1), s(i+1)) =



















(min{r, r(i) + 1}, s(i)) s✐ s(i) = s

(r(i), s(i) + 1) s✐ s(i) 6= s ❡t s✐ r(i) = r

(r(i) + 1, s(i)) s✐ s(i) 6= s, s✐ r(i) 6= r ❡t s✐ r(i) = s(i) + 1

(r(i), s(i) + 1) s✐ s(i) 6= s, s✐ r(i) 6= r ❡t s✐ r(i) 6= s(i) + 1

.

❆❧♦rs ✿

✐✮ ❧❡s s✉✐t❡s (r(i))i ❡t (s
(i))i s♦♥t ❝r♦✐ss❛♥t❡s ❡t st❛t✐♦♥♥❛✐r❡s ❞❡ ❧✐♠✐t❡s r❡s♣❡❝✲

t✐✈❡s r ❡t s✳ ❖♥ ♥♦t❡ ❛❧♦rs i0 ❧❡ ♣❧✉s ♣❡t✐t ❡♥t✐❡r i t❡❧ q✉❡ (r(i0), s(i0)) = (r, s) ❀

✐✐✮ ❧❡s i0 s❛✉ts ❞❡ Fr,s/F s♦♥t τ0 = t1(1, 0) = 0 ❡t ❧❡s

τi =



















t1(r
(i+1), s(i+1)) s✐ s(i) = s

t2(r
(i+1), s(i+1)) s✐ s(i) 6= s ❡t r(i) = r

t1(r
(i+1), s(i+1)) s✐ s(i) 6= s, r(i) 6= r ❡t r(i) = s(i) + 1

t2(r
(i+1), s(i+1)) s✐ s(i) 6= s, r(i) 6= r ❡t r(i) 6= s(i) + 1

,

❛✈❡❝ i ∈ {1, . . . , i0 − 1}✳ ❉❡ ♣❧✉s✱ ♣♦✉r i ∈ {0, . . . , i0 − 1}✱ ♦♥ ❛ ✿

Gal(Fr,s/F )τi = Gal(Fr,s/Fr(i),s(i)).

◆♦✉s ❛❧❧♦♥s ♠❛✐♥t❡♥❛♥t ❞é❝r✐r❡ ❜r✐è✈❡♠❡♥t ❧❡s ❞✐✛ér❡♥t❡s t❡❝❤♥✐q✉❡s ✉t✐❧✐sé❡s
♣♦✉r ♠♦♥tr❡r ❝❡s t❤é♦rè♠❡s✳ ❙♦✐❡♥t r ≥ s ❞❡✉① ❡♥t✐❡rs ♣♦s✐t✐❢s✱ F ✉♥❡ ❡①t❡♥s✐♦♥
♥♦♥ r❛♠✐✜é❡ ❞❡ Qp ❡t a ∈ F\F p✳ ▲✬✐❞é❡ ♣♦✉r ♠♦♥tr❡r ❧❡s t❤é♦rè♠❡s ✵✳✶✳✶ ❡t
✵✳✶✳✷ r❡♣♦s❡ s✉r ❧❛ ❝♦♥str✉❝t✐♦♥ ❡①♣❧✐❝✐t❡ ❞✬✉♥❡ t♦✉r ❞✬❡①t❡♥s✐♦♥s ❞❡ ❧❛ ❢♦r♠❡

K0 = F ⊂ K1 = F (ζp) ⊂ · · · ⊂ Ki0 = F (ζpr , a
1/ps)

❛②❛♥t ❧❡s ♣r♦♣r✐étés s✉✐✈❛♥t❡s ✿

✐✮ Ki+1/Ki ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ❛❜é❧✐❡♥♥❡ ❞❡ ❞❡❣ré p ♣♦✉r t♦✉t i ≥ 1✳ ❊❧❧❡
♣♦ssè❞❡ ❛❧♦rs ✉♥ ✉♥✐q✉❡ s❛✉t τi ♣♦✉r t♦✉t i ≥ 1✳

✐✐✮ 0 < τ1 < · · · < τi0−1✳

❯♥❡ ❢♦✐s ✉♥❡ t❡❧❧❡ t♦✉r ❝♦♥str✉✐t❡✱ ♦♥ ❝♦♥❝❧✉r❛ à ❧✬❛✐❞❡ ❞✬✉♥❡ ❝♦♥séq✉❡♥❝❡ ❞✬✉♥
t❤é♦rè♠❡ ❞❡ ❍❡r❜r❛♥❞ ❬✸✾✱ ❈❤❛♣✐tr❡ ■❱✱ ➓✸✱ ▲❡♠♠❡ ✺❪✳

P♦✉r ❝❛❧❝✉❧❡r ❡①♣❧✐❝✐t❡♠❡♥t ❧❡s τi✱ ♦♥ ✉t✐❧✐s❡r❛ ✉♥ t❤é♦rè♠❡ ❞❡ ❍❡❝❦❡ ❬✶✻✱
❚❤❡♦r❡♠ ✶✵✳✷✳✾❪ ❛✐♥s✐ q✉❡ ♣❧✉s✐❡✉rs ré❝✉rr❡♥❝❡s✳
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✵✳✷ ▼✐♥♦r❛t✐♦♥s ❞❡ ❧❛ ❤❛✉t❡✉r

✵✳✷✳✶ ➱t❛t ❞❡ ❧✬❛rt

❙♦✐❡♥t K ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s ❡t ♥♦t♦♥s M(K) ❧✬❡♥s❡♠❜❧❡ ❞❡s ♣❧❛❝❡s ❞❡ K✳
P♦✉r ν ∈ M(K)✱ ♦♥ ♥♦t❡ Kν ❧❡ ❝♦♠♣❧été ❞❡ K ❡♥ ν✳ ❙✐ ν ❡st ✉♥❡ ♣❧❛❝❡ ✜♥✐❡✱
♦♥ ♥♦t❡ dν ❧❡ ❞❡❣ré ❧♦❝❛❧ [Kν : Qp] ♦ù p ❡st ❧❡ ♣r❡♠✐❡r ❛✉✲❞❡ss♦✉s ❞❡ ν✳ ❉❡ ❧❛
♠ê♠❡ ❢❛ç♦♥✱ s✐ ν ❡st ✉♥❡ ♣❧❛❝❡ ✐♥✜♥✐❡✱ ♦♥ ♥♦t❡ dν = [Kν : R]✳

❉é✜♥✐ss♦♥s ♠❛✐♥t❡♥❛♥t ❧❛ ❤❛✉t❡✉r ❧♦❣❛r✐t❤♠✐q✉❡ ❡t ❛❜s♦❧✉❡ ❞❡ ❲❡✐❧✳

❉é✜♥✐t✐♦♥ ✵✳✷✳✶ ✭❍❛✉t❡✉r ❞❡ ❲❡✐❧✮✳ ❙♦✐❡♥t x ∈ Q
∗
❡t K ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s

❧❡ ❝♦♥t❡♥❛♥t✳ ❖♥ ❞é✜♥✐t ❧❛ ❤❛✉t❡✉r ❧♦❣❛r✐t❤♠✐q✉❡ ❡t ❛❜s♦❧✉❡ ❞❡ ❲❡✐❧✱ ♥♦té❡ h(x)✱
♣❛r ✿

h(x) =
1

[K : Q]

∑

ν∈M(K)

dν logmax{1, |x|ν}.

❈❡tt❡ ❤❛✉t❡✉r ❡st ❜✐❡♥ ❞é✜♥✐❡ ♣✉✐sq✉❡ |x|ν = 1 ♣♦✉r t♦✉t❡ ♣❧❛❝❡ ν✱ s❛✉❢ ♣♦✉r
✉♥ ♥♦♠❜r❡ ✜♥✐ ❞✬❡♥tr❡ ❡❧❧❡s✳ ❉❡ ♣❧✉s✱ ❡❧❧❡ ♥❡ ❞é♣❡♥❞ ♣❛s ❞✉ ❝♦r♣s ❝♦♥t❡♥❛♥t x
❬✶✵✱ ➓✶✳✺❪✳ P♦✉r s✐♠♣❧✐✜❡r✱ ♦♥ ❧❛ ❞és✐❣♥❡r❛ s✐♠♣❧❡♠❡♥t ♣❛r ❧❡ ♠♦t ✧❤❛✉t❡✉r✧✳

❈❡tt❡ ❤❛✉t❡✉r ♣♦ssè❞❡ ❞✬❛✉tr❡s ♣r♦♣r✐étés ✐♠♣♦rt❛♥t❡s ❝♦♠♠❡ ❝❡❧❧❡s ❝✐✲❞❡ss♦✉s
❬✶✵✱ Pr♦♣♦s✐t✐♦♥ ✶✳✺✳✶✼✱ ▲❡♠♠❛ ✶✳✺✳✶✽❪ ✿

Pr♦♣♦s✐t✐♦♥ ✵✳✷✳✷✳ ❙♦✐❡♥t x ∈ Q ❡t λ ∈ Z✳ ❆❧♦rs h(xλ) = |λ|h(x) ❡t✱ ♣♦✉r t♦✉t
σ ∈ Gal(Q/Q)✱ ♦♥ ❛ h(σx) = h(x)✳

▲❛ ❤❛✉t❡✉r ❡st ❛✉ss✐ ✉t✐❧✐sé❡ ♣♦✉r ♣r♦✉✈❡r ❧❛ ✜♥✐t✉❞❡ ❞✬✉♥ ❡♥s❡♠❜❧❡ ❞❡ ♣♦✐♥ts
❛❧❣é❜r✐q✉❡s ✈✐❛ ❧❡ t❤é♦rè♠❡ ❢♦♥❞❛♠❡♥t❛❧ ❝✐✲❞❡ss♦✉s ✿

❚❤é♦rè♠❡ ✵✳✷✳✸ ✭◆♦rt❤❝♦tt✱ ➓✶✳✻✱ ❬✶✵❪✮✳ ❋✐①♦♥s B,D > 0✳ ❆❧♦rs ❧✬❡♥s❡♠❜❧❡

{α ∈ Q
∗| h(α) ≤ B ❡t [Q(α) : Q] ≤ D}

❡st ✜♥✐✳

◆♦t♦♥s µ∞ ❧✬❡♥s❡♠❜❧❡ ❞❡s r❛❝✐♥❡s ❞❡ ❧✬✉♥✐té ❞❡ Q✳ ❙♦✐t α ∈ Q
∗
t❡❧ q✉❡

h(α) = 0✳ ❆❧♦rs ♣♦✉r t♦✉t ❡♥t✐❡r k ≥ 1✱

h(αk) = k h(α) = 0.

P❛r ❧❡ t❤é♦rè♠❡ ✵✳✷✳✸✱ ❧❛ s✉✐t❡ (αk)k≥1 ♥❡ ♣♦ssè❞❡ ❛❧♦rs q✉✬✉♥ ♥♦♠❜r❡ ✜♥✐ ❞❡
t❡r♠❡s ❞✐st✐♥❝ts✳ ❆✐♥s✐✱ α ∈ µ∞✳ ▲❛ ré❝✐♣r♦q✉❡ ét❛♥t tr✐✈✐❛❧❡✱ ♦♥ ❡♥ ❞é❞✉✐t ❧❛
♣r♦♣♦s✐t✐♦♥ ❝✐✲❞❡ss♦✉s ✿

Pr♦♣♦s✐t✐♦♥ ✵✳✷✳✹ ✭❑r♦♥❡❝❦❡r✮✳ ❙♦✐t α ∈ Q
∗
✳ ❆❧♦rs h(α) = 0 s✐ ❡t s❡✉❧❡♠❡♥t

s✐ α ∈ µ∞✳

❊♥ t❤é♦r✐❡ ❞❡s ❤❛✉t❡✉rs✱ ❧❛ ❝♦♥❥❡❝t✉r❡ s✉✐✈❛♥t❡ ❡st très ✐♠♣♦rt❛♥t❡ ✿

❈♦♥❥❡❝t✉r❡ ✵✳✷✳✺ ✭▲❡❤♠❡r✱ ➓✶✸✱ ❬✸✶❪✮✳ ■❧ ❡①✐st❡ c > 0 t❡❧ q✉❡ ♣♦✉r t♦✉t x ∈
Q

∗\µ∞✱

h(x) ≥ c

[Q(x) : Q]
.

❆❝t✉❡❧❧❡♠❡♥t✱ ❧❡ ♠❡✐❧❧❡✉r rés✉❧t❛t ❝♦♥♥✉ ❛❧❧❛♥t ❞❛♥s ❧❛ ❞✐r❡❝t✐♦♥ ❞❡ ❝❡tt❡
❝♦♥❥❡❝t✉r❡ ❡st ❞û à ❉♦❜r♦✇♦❧s❦✐ ✿
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❚❤é♦rè♠❡ ✵✳✷✳✻ ✭❉♦❜r♦✇♦❧s❦✐✱ ❬✷✶❪✮✳ ■❧ ❡①✐st❡ c > 0 t❡❧ q✉❡ ♣♦✉r t♦✉t x ∈
Q

∗\µ∞✱

h(x) ≥ c

[Q(x) : Q]

(

log log(3[Q(x) : Q])

log(2[Q(x) : Q])

)3

.

Pr♦♣r✐été ✭❇✮

❆✜♥ ❞❡ ♠✐❡✉① ❝♦♠♣r❡♥❞r❡ ❧❛ ❝♦♥❥❡❝t✉r❡ ❞❡ ▲❡❤♠❡r✱ ❇♦♠❜✐❡r✐ ❡t ❩❛♥♥✐❡r ♦♥t
✐♥tr♦❞✉✐t ❧❛ ♥♦t✐♦♥ ❞❡ ♣r♦♣r✐été ✭❇✮ ✭♣♦✉r ❇♦❣♦❧♦♠♦✈✮ ❝✐✲❞❡ss♦✉s✳

❉é✜♥✐t✐♦♥ ✵✳✷✳✼ ✭❬✶✶❪✮✳ ❖♥ ❞✐r❛ q✉✬✉♥ ❝♦r♣s K ⊂ Q s❛t✐s❢❛✐t ✭♦✉ ❛✮ ❧❛ ♣r♦♣r✐été
✭❇✮ s✬✐❧ ❡①✐st❡ ✉♥ ré❡❧ T0 > 0 t❡❧ q✉❡ ❧✬❡♥s❡♠❜❧❡

A(T0) = {α ∈ K∗| h(α) ≤ T0}

♥❡ ❝♦♥t✐❡♥♥❡ q✉❡ ❧❡s r❛❝✐♥❡s ❞❡ ❧✬✉♥✐té✳

◆♦✉s ❛❧❧♦♥s ♠❛✐♥t❡♥❛♥t ♥♦✉s ✐♥tér❡ss❡r à ❝❡rt❛✐♥❡s ❢❛♠✐❧❧❡s ❞❡ ❝♦r♣s q✉✐ ♦♥t
❧❛ ♣r♦♣r✐été ✭❇✮✳ ❉✬❛♣rès ❧❡ t❤é♦rè♠❡ ✵✳✷✳✸✱ ❧❡s ❝♦r♣s ❞❡ ♥♦♠❜r❡s ♦♥t ❧❛ ♣r♦♣r✐été
✭❇✮✳ ❆✐♥s✐✱ ❧❛ ♥♦t✐♦♥ ❞❡ ♣r♦♣r✐été ✭❇✮ ❡st ✐♥tér❡ss❛♥t❡ ✉♥✐q✉❡♠❡♥t ❧♦rsq✉❡ ❧✬♦♥
❝♦♥s✐❞èr❡ ❞❡s ❡①t❡♥s✐♦♥s ✐♥✜♥✐❡s ❞❡ Q✳ ❈✐t♦♥s q✉❡❧q✉❡s ❡①❡♠♣❧❡s ❞❡ ❝♦r♣s ❛②❛♥t
❧❛ ♣r♦♣r✐été ✭❇✮✳ ▲❡ ♣r❡♠✐❡r ❝♦♥❝❡r♥❡ ❧❡s ❝♦r♣s t♦t❛❧❡♠❡♥t ré❡❧s ✭✉♥ ❝♦r♣s K ❡st
❞✐t t♦t❛❧❡♠❡♥t ré❡❧ s✐ ♣♦✉r t♦✉t ♣❧♦♥❣❡♠❡♥t σ : K →֒ C✱ s♦♥ ✐♠❛❣❡ ❡st ❞❛♥s R✮✳

❚❤é♦rè♠❡ ✵✳✷✳✽ ✭❙❝❤✐♥③❡❧✱ ❬✸✼❪ ❡t ❙♠②t❤✱ ❬✹✺❪✮✳ ❙♦✐t K ✉♥ ❝♦r♣s t♦t❛❧❡♠❡♥t
ré❡❧✳ ❆❧♦rs ♣♦✉r t♦✉t x ∈ K∗\{−1, 1}✱ ♦♥ ❛ ✿

h(x) ≥ 1

2
log

(

1 +
√
5

2

)

.

▲❡ ♣r♦❝❤❛✐♥ ❡①❡♠♣❧❡ ❡st ✉♥ ❛♥❛❧♦❣✉❡ p✲❛❞✐q✉❡ ❞✉ t❤é♦rè♠❡ ✵✳✷✳✽✳ ❖♥ ❞✐t
q✉❡ α ∈ Q ❡st ✉♥ ♥♦♠❜r❡ t♦t❛❧❡♠❡♥t p✲❛❞✐q✉❡ s✐ p ❡st t♦t❛❧❡♠❡♥t ❞é❝♦♠♣♦sé
❞❛♥s Q(α)✳ ▲❡ ❝♦r♣s Qtp ❝♦♥st✐t✉é ❞❡ t♦✉s ❧❡s ♥♦♠❜r❡s ❛❧❣é❜r✐q✉❡s t♦t❛❧❡♠❡♥t
p✲❛❞✐q✉❡ ❡st ❛❧♦rs ❣❛❧♦✐s✐❡♥♥❡ s✉r Q✳

❚❤é♦rè♠❡ ✵✳✷✳✾ ✭❇♦♠❜✐❡r✐✲❩❛♥♥✐❡r✱ ❚❤❡♦r❡♠ ✷✱ ❬✶✶❪✮✳ ❙♦✐❡♥t L/Q ✉♥❡ ❡①✲
t❡♥s✐♦♥ ❣❛❧♦✐s✐❡♥♥❡ ❡t p ✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r✳ ❙✐ L ♣❡✉t êtr❡ ♣❧♦♥❣é ❞❛♥s ✉♥❡
❡①t❡♥s✐♦♥ ✜♥✐❡ ❞❡ Qp✱ ❛❧♦rs L ❛ ❧❛ ♣r♦♣r✐été ✭❇✮✳

▲❛ ❝❧ôt✉r❡ ❛❜é❧✐❡♥♥❡ Qab ❞❡ Q ♣♦ssè❞❡ é❣❛❧❡♠❡♥t ❧❛ ♣r♦♣r✐été (B)✳ P❧✉s
♣ré❝✐sé♠❡♥t ✿

❚❤é♦rè♠❡ ✵✳✷✳✶✵ ✭❆♠♦r♦s♦✲❉✈♦r♥✐❝✐❝❤✱ ❬✹❪✮✳ P♦✉r t♦✉t x ∈ (Qab)∗\µ∞ ✿

h(x) ≥ (log 5)/12.

❉❛♥s ❬✺✱ ❚❤❡♦r❡♠ ✶✳✷❪✱ ❧❡s ❛✉t❡✉rs ♦♥t ét❡♥❞✉ ❧❡ t❤é♦rè♠❡ ✵✳✷✳✶✵ ❡♥ ♠♦♥tr❛♥t
q✉❡ ♣♦✉r t♦✉t ❝♦r♣s ❞❡ ♥♦♠❜r❡s K ❞❡ ❞❡❣ré d s✉r Q ❡t t♦✉t x ∈ (Kab)∗\µ∞✱

h(x) > 3−d
2−2d−6.

◆♦t♦♥s Gm ❧❡ ❣r♦✉♣❡ ♠✉❧t✐♣❧✐❝❛t✐❢✳ P❛r ❧❡ t❤é♦rè♠❡ ❞❡ ❑r♦♥❡❝❦❡r✲❲❡❜❡r ✿

Qab = Q(µ∞) = Q((Gm)tors).
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❉❛♥s ❬✷✻✱ ❚❤❡♦r❡♠ ✶❪✱ ❍❛❜❡❣❣❡r ❛ ♠♦♥tré ❧✬❛♥❛❧♦❣✉❡ ❞✉ t❤é♦rè♠❡ ✵✳✷✳✶✵ ❞❛♥s
❧❡ ❝❛s ❞❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s✳ P❧✉s ♣ré❝✐sé♠❡♥t✱ s✐ E ❡st ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡
❞é✜♥✐❡ s✉r Q s❛♥s ♠✉❧t✐♣❧✐❝❛t✐♦♥ ❝♦♠♣❧❡①❡✱ ❛❧♦rs Q(Etors) ❛ ❧❛ ♣r♦♣r✐été ✭❇✮✱
♦ù Etors ❞és✐❣♥❡ ❧✬❡♥s❡♠❜❧❡ ❞❡s ♣♦✐♥ts ❞❡ t♦rs✐♦♥ ❞❡ E✳ ◆♦t♦♥s q✉❡ s✐ E ❡st à
♠✉❧t✐♣❧✐❝❛t✐♦♥ ❝♦♠♣❧❡①❡✱ ❛❧♦rs Q(Etors) ⊂ Kab ♣♦✉r ✉♥ ❝❡rt❛✐♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s
K✳ ❆✐♥s✐✱ Q(Etors) ❛ ❛✉ss✐ ❧❛ ♣r♦♣r✐été (B) ❞❛♥s ❧❡ ❝❛s ♦ù E ❡st à ♠✉❧t✐♣❧✐❝❛t✐♦♥
❝♦♠♣❧❡①❡ ❬✺✱ ❚❤❡♦r❡♠ ✶✳✽❪✳

❯♥❡ ❝♦♥❥❡❝t✉r❡ ❞❡ ❘é♠♦♥❞

◆♦t♦♥s G ❧❡ ❣r♦✉♣❡ ♠✉❧t✐♣❧✐❝❛t✐❢ Gnm ❞❡ ❞✐♠❡♥s✐♦♥ n ♦✉ ✉♥❡ ✈❛r✐été ❛❜é❧✐❡♥♥❡
❞é✜♥✐❡ s✉r ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s k✳ ◆♦t♦♥s ĥ ✉♥❡ ❤❛✉t❡✉r s✉r G(k) ✭❛✈❡❝ k =
Q s✐ G = Gnm✮ ❞é✜♥✐❡ ❞❡ ❧❛ ♠❛♥✐èr❡ s✉✐✈❛♥t❡ ✿ ❞❛♥s ❧❡ ❝❛s ♦ù G = Gnm✱ ❧❛
❤❛✉t❡✉r ĥ(P ) ❞✬✉♥ ♣♦✐♥t P = (a1, . . . , an) ❡st ❧❛ s♦♠♠❡ ❞❡s ❤❛✉t❡✉rs ❞❡ ❲❡✐❧
h(a1) + · · · + h(an)✳ ❉❛♥s ❧❡ ❝❛s ♦ù G ❡st ✉♥❡ ✈❛r✐été ❛❜é❧✐❡♥♥❡✱ ĥ ❞és✐❣♥❡r❛ ❧❛
❤❛✉t❡✉r ❝❛♥♦♥✐q✉❡ ❛ss♦❝✐é❡ à ✉♥ ✜❜ré ❡♥ ❞r♦✐t❡ ❛♠♣❧❡ ❡t s②♠étr✐q✉❡ L q✉❡ ❧✬♦♥
✜①❡✳ ◆♦t♦♥s [n] : G → G ❧❛ ♠✉❧t✐♣❧✐❝❛t✐♦♥ ♣❛r ✉♥ ❡♥t✐❡r n✳ P♦✉r ✉♥ s♦✉s✲❣r♦✉♣❡
Γ ❞❡ G(k)✱ ♥♦t♦♥s

Γsat = {g ∈ G(k) | ∃n ∈ N\{0}, [n].g ∈ End(G).Γ}

✭♦ù End(G).Γ ❞és✐❣♥❡ ❧❡ ❣r♦✉♣❡ ❡♥❣❡♥❞ré ♣❛r ❧❡s é❧é♠❡♥ts ❞❡ ❧❛ ❢♦r♠❡ φ(γ) ❛✈❡❝
φ ∈ End(G) ❡t γ ∈ Γ✮ ❧❡ ❣r♦✉♣❡ s❛t✉ré ❞❡ Γ✳ ❙✐ End(G) = Z ✭❝♦♠♠❡ ❝✬❡st ❧❡ ❝❛s
s✐✱ ♣❛r ❡①❡♠♣❧❡✱ G = Gm ♦✉ G = E ❡st ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ♥♦♥ ❈▼✮✱ ❛❧♦rs
Γsat ❡st ❧❡ ❣r♦✉♣❡ ❞❡ ❞✐✈✐s✐♦♥ ❞❡ Γ✱ ✐✳❡✳ {g ∈ G(k) | ∃n ∈ N\{0}, [n].g ∈ Γ}✳ ❖♥
❞é✜♥✐t ❛✉ss✐ ❧❡ r❛♥❣ ❞❡ Γ ❝♦♠♠❡ ét❛♥t é❣❛❧ à dimQΓ⊗Z Q✳

❘é❝❡♠♠❡♥t✱ ❘é♠♦♥❞ ❛ é♥♦♥❝é ✉♥❡ ❝♦♥❥❡❝t✉r❡ très ❣é♥ér❛❧❡ ❬✸✻✱ ❈♦♥❥❡❝t✉r❡
✸✳✹❪ s✉r ❧❛ ♠✐♥♦r❛t✐♦♥ ❞❡ ❧❛ ❤❛✉t❡✉r ĥ✳ ◆♦✉s ♥♦✉s ✐♥tér❡ss♦♥s à ✉♥ ❝❛s ♣❛rt✐❝✉❧✐❡r
❞❡ ❝❡tt❡ ❝♦♥❥❡❝t✉r❡ ✿

❈♦♥❥❡❝t✉r❡ ✵✳✷✳✶✶✳ ❙♦✐t Γ ⊂ G(k) ✉♥ ❣r♦✉♣❡ ❞❡ r❛♥❣ ✜♥✐✳ ❆❧♦rs ✐❧ ❡①✐st❡ ✉♥❡

❝♦♥st❛♥t❡ cΓ > 0 t❡❧❧❡ q✉❡ ĥ(P ) ≥ cΓ ♣♦✉r t♦✉t P ∈ G(k(Γ))\Γsat✳

❈❡tt❡ ❝♦♥❥❡❝t✉r❡ ❞♦♥♥❡ ✉♥ é♥♦♥❝é ❛♣♣❛r❡♠♠❡♥t ♣❧✉s ❢♦rt q✉❡ ❝❡❧✉✐ q✉✬♦♥
♣❡✉t ❞é❞✉✐r❡ ❞✐r❡❝t❡♠❡♥t ❞❡ ❬✸✻✱ ❈♦♥❥❡❝t✉r❡ ✸✳✹❪✱ ♦ù ❧❛ ❝♦♥❞✐t✐♦♥ ✧P /∈ Γsat✧ ❡st
r❡♠♣❧❛❝é❡ ♣❛r ❧❛ ❝♦♥❞✐t✐♦♥ ❧♦❣✐q✉❡♠❡♥t ♣❧✉s ❢♦rt❡ ✧P ❡st Γ✲tr❛♥s✈❡rs❡✧ ✭r❛♣✲
♣❡❧♦♥s q✉❡✱ ❡♥ s✉✐✈❛♥t ❬✸✻❪✱ ✉♥❡ s♦✉s✲✈❛r✐été V ❞❡ G ❡st ❞✐t❡ Γ✲tr❛♥s✈❡rs❡ s✐
❡❧❧❡ ♥✬❡st ❝♦♥t❡♥✉❡ ❞❛♥s ❛✉❝✉♥ tr❛♥s❧❛té ❞✬✉♥ s♦✉s✲❣r♦✉♣❡ ❛❧❣é❜r✐q✉❡ ❝♦♥♥❡①❡
B ❞❡ A t❡❧ q✉❡ B 6= A ♣❛r ✉♥ ♣♦✐♥t ❞❡ Γsat✮✳ ❈❡♣❡♥❞❛♥t✱ ❬✸✻✱ ❚❤é♦rè♠❡ ✸✳✼❪
❛✈❡❝ ε = 0 ✭❝❡ q✉✐ ❡st ♣♦ss✐❜❧❡ ❞✬❛♣rès ❧❡ ❞❡r♥✐❡r ♣❛r❛❣r❛♣❤❡ ❞❡ ❬✸✻✱ s❡❝t✐♦♥ ✸❪✮
♠♦♥tr❡ q✉❡ ❧✬♦♥ ♣❡✉t ❛✛❛✐❜❧✐r ❧❛ ❝♦♥❞✐t✐♦♥ s✉r P ✳

✵✳✷✳✷ ●é♥ér❛❧✐s❛t✐♦♥ ❞✬✉♥ rés✉❧t❛t ❞❡ ●❛❧❛t❡❛✉

❘❛♣♣❡❧♦♥s q✉❡ Kab ❛ ❧❛ ♣r♦♣r✐été (B) s✐ K ❡st ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s ❬✺✱ ❚❤❡♦r❡♠
✶✳✽❪✳ ❖♥ ♣❡✉t ❛❧♦rs s❡ ❞❡♠❛♥❞❡r s✐ ❧✬❤②♣♦t❤ès❡ ✧K ❡st ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s✧
♣❡✉t✲êtr❡ r❡♠♣❧❛❝é❡ ♣❛r ✧K ❛ ❧❛ ♣r♦♣r✐été ✭❇✮✧✳ ❈❡❧❛ ♥✬❡st ♣❛s ♣♦ss✐❜❧❡ ❡♥ ❣é✲
♥ér❛❧✳ ❉❛♥s ❬✸✱ ❚❤❡♦r❡♠ ✺✳✸❪✱ ❧❡s ❛✉t❡✉rs ❞♦♥♥❡♥t ✉♥ ❝♦♥tr❡✲❡①❡♠♣❧❡ ❡♥ ♣r❡♥❛♥t
♣♦✉r K ❧❡ ❝♦r♣s Qtr ✭❧❡ ❝♦♠♣♦s✐t✉♠ ❞❡ t♦✉t❡s ❧❡s ❡①t❡♥s✐♦♥s t♦t❛❧❡♠❡♥t ré❡❧❧❡s✮✱
q✉✐ ♣♦ssè❞❡ ❧❛ ♣r♦♣r✐été ✭❇✮ ♣❛r ❧❡ t❤é♦rè♠❡ ✵✳✷✳✽✱ ❡t ♠♦♥tr❡♥t q✉❡ Qtr(i) ⊂ Kab

♥✬❛ ♣❛s ❧❛ ♣r♦♣r✐été ✭❇✮✳



✵✳✷✳ ▼■◆❖❘❆❚■❖◆❙ ❉❊ ▲❆ ❍❆❯❚❊❯❘ ✾

❉é✜♥✐t✐♦♥ ✵✳✷✳✶✷✳ ❙♦✐❡♥t K ⊂ Q ✉♥ ❝♦r♣s ❡t ν ✉♥❡ ♣❧❛❝❡ ✜♥✐❡ ❞❡ K✳ ❖♥ ❞✐t
q✉✬✉♥❡ ❡①t❡♥s✐♦♥ ❛❧❣é❜r✐q✉❡ L/K ❛ ✉♥ ❞❡❣ré ❧♦❝❛❧ ❜♦r♥é ❡♥ ν s✬✐❧ ❡①✐st❡ ✉♥ ❡♥t✐❡r
♣♦s✐t✐❢ B(ν) t❡❧ q✉❡ [Lw : Kν ] ≤ B(ν) ♣♦✉r t♦✉t❡ ♣❧❛❝❡ ✜♥✐❡ w ❞❡ L ét❡♥❞❛♥t ν✳

❙♦✐t K/Q ✉♥❡ ❡①t❡♥s✐♦♥ ❣❛❧♦✐s✐❡♥♥❡ ❛②❛♥t ✉♥ ❞❡❣ré ❧♦❝❛❧ ❡♥ ✉♥ ♣r❡♠✐❡r p✳
❙✉♣♣♦s♦♥s q✉❡ ❧❛ s✉✐t❡ (B(p))p ❡st ♠❛❥♦ré❡✳ ❆❧♦rs Gal(K/Q) ❡st ❞✬❡①♣♦s❛♥t ✜♥✐
❬✶✹✱ ❚❤❡♦r❡♠ ✶❪ ❡t ❛ ❞♦♥❝ ❧❛ ♣r♦♣r✐été (B) ❬✶✺✱ ❈♦r♦❧❧❛r② ✷❪✳

❖♥ ❛ ✈✉ q✉❡ s✐ K ❡st ✉♥ ❝♦r♣s ❛②❛♥t ❧❛ ♣r♦♣r✐été ✭❇✮✱ ❛❧♦rs Kab ♥✬❛ ♣❛s
❢♦r❝é♠❡♥t ❧❛ ♣r♦♣r✐été ✭❇✮✳ ❖♥ ♣❡✉t s❡ ♣♦s❡r ❧❛ ♠ê♠❡ q✉❡st✐♦♥ ❡♥ r❡♠♣❧❛ç❛♥t
✧❝♦r♣s ❛②❛♥t ❧❛ ♣r♦♣r✐été ✭❇✮✧ ♣❛r ✧❝♦r♣s ❛②❛♥t ✉♥ ❞❡❣ré ❧♦❝❛❧ ❜♦r♥é ❡♥ ✉♥
♣r❡♠✐❡r p✧✳ ❈❡❧❛ ❝♦♥❞✉✐t ❛✉ ♣r♦❜❧è♠❡ s✉✐✈❛♥t ❞♦♥t ✉♥❡ ré♣♦♥s❡ ♣❛rt✐❡❧❧❡ ❛ été
❞♦♥♥é❡ ❞❛♥s ❬✸❪ ✿

Pr♦❜❧è♠❡ ✵✳✷✳✶✸✳ ❙✐ ✉♥❡ ❡①t❡♥s✐♦♥ ❛❧❣é❜r✐q✉❡ L/Q ❛ ✉♥ ❞❡❣ré ❧♦❝❛❧ ❜♦r♥é ❡♥
✉♥ ♣r❡♠✐❡r p ✜①é✱ ❡st✲✐❧ ✈r❛✐ q✉❡ Lab ❛ ❧❛ ♣r♦♣r✐été ✭❇✮ ❄ P❧✉s ❣é♥ér❛❧❡♠❡♥t✱ s✐
p ❡st ✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r ❡t (Li)i ✉♥❡ s✉✐t❡ ❞❡ ❝♦r♣s ❛❧❣é❜r✐q✉❡s ❛②❛♥t t♦✉s ✉♥
❞❡❣ré ❧♦❝❛❧ ❜♦r♥é ❡♥ p✱ ❡st✲✐❧ ✈r❛✐ q✉❡ ❧❡ ❝♦♠♣♦s✐t✉♠ ❞❡s Labi ❛ ❧❛ ♣r♦♣r✐été ✭❇✮ ❄

❉❡ ♠❛♥✐èr❡ ❣é♥ér❛❧❡✱ ❧❛ s❡❝♦♥❞❡ ❛✣r♠❛t✐♦♥ ❡st ❢❛✉ss❡✳ P♦✉r p ✜①é✱ ✐❧ s✉✣t
❞❡ ♣r❡♥❞r❡ ❧❛ s✉✐t❡ (Li)i ❞❡ t♦✉s ❧❡s ❝♦r♣s ❞❡ ♥♦♠❜r❡s✳ ❆✐♥s✐✱ ❧❡ ❝♦♠♣♦s✐t✉♠ ❞❡s
Labi ❡st é❣❛❧ à Q q✉✐ ♥✬❛ ♣❛s ❧❛ ♣r♦♣r✐été (B)✳

❉❛♥s ❝❡tt❡ t❤ès❡✱ ♦♥ ✐♠♣♦s❡r❛ ❡♥ ♣❧✉s q✉❡ ❧❛ s✉✐t❡ ([Li : Q])i ❡st ♠❛❥♦ré❡✳
❖♥ ét✉❞✐❡r❛ ❞♦♥❝ ❧❡ ♣r♦❜❧è♠❡ s✉✐✈❛♥t✳

Pr♦❜❧è♠❡ ✵✳✷✳✶✹✳ ❙♦✐t (Kn)n ✉♥❡ s✉✐t❡ ❞❡ ❝♦r♣s ❞❡ ♥♦♠❜r❡s t❡❧❧❡ q✉❡ ❧❛ s✉✐t❡
([Kn : Q])n ❡st ♠❛❥♦ré❡✳ ❊st✲✐❧ ✈r❛✐ q✉❡ ❧❡ ❝♦♠♣♦s✐t✉♠ ❞❡ t♦✉s ❧❡s Kab

n ❛ ❧❛
♣r♦♣r✐été ✭❇✮ ❄

P♦✉r ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s K✱ ♦♥ ♥♦t❡ H(K) ❧❡ ❝♦r♣s ❞❡ ❍✐❧❜❡rt ❞❡ K ❡t
OK s♦♥ ❛♥♥❡❛✉ ❞❡s ❡♥t✐❡rs✳ ●❛❧❛t❡❛✉ ❛ ❝♦♥s✐❞éré ✉♥ ❝❛s ♣❛rt✐❝✉❧✐❡r ❞❡ ❝❡tt❡
q✉❡st✐♦♥✳ ■❧ ❛ ♠♦♥tré q✉❡ ✿

❚❤é♦rè♠❡ ✵✳✷✳✶✺ ✭●❛❧❛t❡❛✉✱ ➓✺✱ ❬✷✺❪✮✳ ❙♦✐t (Kn/Q)n ✉♥❡ s✉✐t❡ ❞✬❡①t❡♥s✐♦♥s
✜♥✐❡s t❡❧❧❡ q✉❡ ❧❛ s✉✐t❡ ([Kn : Q])n ❡st ♠❛❥♦ré❡✳ ❙✐ ✿

✐✮ Kn/Q ❡st ❣❛❧♦✐s✐❡♥♥❡ ♣♦✉r t♦✉t n ❀

✐✐✮ ✐❧ ❡①✐st❡ ✉♥ ♣r❡♠✐❡r p ✐♥❡rt❡ ❞❛♥s t♦✉s ❧❡s Kn ❀

✐✐✐✮ ❧❡s ❞✐s❝r✐♠✐♥❛♥ts ❞❡s Kn s♦♥t ❞❡✉① à ❞❡✉① ♣r❡♠✐❡rs ❡♥tr❡ ❡✉① ❀

❛❧♦rs ❧❡ ❝♦♠♣♦s✐t✉♠ L ❞❡ t♦✉s ❧❡s H(Kn) s❛t✐s❢❛✐t ❧❛ ♣r♦♣r✐été ✭❇✮✳

▲❛ ❝♦♥❞✐t✐♦♥ iii) ❡st ❛ss❡③ r❡str✐❝t✐✈❡✳ P❛r ✉♥ t❤é♦rè♠❡ ❞❡ ❉✐r✐❝❤❧❡t ✭❝❢ ❬✷✹✱
❈❤❛♣t❡r ■■■✱ ❚❤❡♦r❡♠ ✷✷❪✮✱ ❝❡❧❛ ✐♠♣❧✐q✉❡ q✉❡ t♦✉t ♣r❡♠✐❡r q ∈ Q ❞♦✐t êtr❡
r❛♠✐✜é ❞❛♥s ❛✉ ♣❧✉s ✉♥ ❞❡s Kn✳ ●❛❧❛t❡❛✉ ❛ ❝♦♥❥❡❝t✉ré q✉✬à ❧✬❛✐❞❡ ❞✬✉♥❡ ét✉❞❡
❧♦❝❛❧❡✱ ♦♥ ♣♦✉✈❛✐t s❡ ♣❛ss❡r ❞❡ ❝❡tt❡ ❝♦♥❞✐t✐♦♥✳

◆♦tr❡ rés✉❧t❛t ♣r✐♥❝✐♣❛❧ ❝♦♥s✐st❡ à s✉♣♣r✐♠❡r ❧❡s ❝♦♥❞✐t✐♦♥s i) ❡t iii) ❞✉
t❤é♦rè♠❡ ✵✳✷✳✶✺ ❛✐♥s✐ q✉✬ à ❛✛❛✐❜❧✐r ❧❛ ❝♦♥❞✐t✐♦♥ ii) ❡♥ s✉♣♣♦s❛♥t s❡✉❧❡♠❡♥t
q✉✬✐❧ ❡①✐st❡ ✉♥ ✉♥✐q✉❡ ✐❞é❛❧ ♣r❡♠✐❡r ❞❡ OKn

❛✉✲❞❡ss✉s ❞❡ p✳ ❊♥ ♣❛rt✐❝✉❧✐❡r✱ ♦♥
❛✉t♦r✐s❡ p à êtr❡ r❛♠✐✜é ❞❛♥s Kn✳

❚❤é♦rè♠❡ ✵✳✷✳✶✻✳ ❙♦✐t (Kn/Q)n ✉♥❡ s✉✐t❡ ❞✬❡①t❡♥s✐♦♥s ✜♥✐❡s t❡❧❧❡ q✉❡ ❧❛ s✉✐t❡
([Kn : Q])n ❡st ♠❛❥♦ré❡✳ ❙✉♣♣♦s♦♥s q✉✬✐❧ ❡①✐st❡ ✉♥ ♣r❡♠✐❡r p ∈ Q t❡❧ q✉❡ ♣♦✉r
t♦✉t n✱ ✐❧ ❡①✐st❡ ✉♥ ✉♥✐q✉❡ ✐❞é❛❧ ♣r❡♠✐❡r pn ❞❡ OKn

❛✉✲❞❡ss✉s ❞❡ p✳ ❆❧♦rs ❧❡
❝♦♠♣♦s✐t✉♠ L ❞❡ t♦✉s ❧❡s H(Kn) s❛t✐s❢❛✐t ❧❛ ♣r♦♣r✐été ✭❇✮✳
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◆♦✉s ❛❧❧♦♥s ♠❛✐♥t❡♥❛♥t ❣é♥ér❛❧✐s❡r ❝❡ t❤é♦rè♠❡ ❡♥ ❝♦♥s✐❞ér❛♥t ❞❡s ❝♦r♣s ❞❡
r❛②♦♥ à ❧❛ ♣❧❛❝❡ ❞❡s ❝♦r♣s ❞❡ ❍✐❧❜❡rt✳ ❈♦♠♠❡ ❛✉♣❛r❛✈❛♥t✱ s♦✐t K ✉♥ ❝♦r♣s ❞❡
♥♦♠❜r❡s✳

❉é✜♥✐t✐♦♥ ✵✳✷✳✶✼✳ ❯♥ K✲ ♠♦❞✉❧❡ ❡st ✉♥ ♣r♦❞✉✐t ❢♦r♠❡❧ m = mf∞ ♦ù ∞
❞és✐❣♥❡ ❧❡ ♣r♦❞✉✐t ❢♦r♠❡❧ ❞❡ t♦✉s ❧❡s ♣❧♦♥❣❡♠❡♥ts ré❡❧s ❞❡ K ❡t mf ✭❛♣♣❡❧é❡ ❧❛
♣❛rt✐❡ ✜♥✐❡✮ ❡st ✉♥ ✐❞é❛❧ ♥♦♥✲♥✉❧ ❞❡ OK ✳

➚ ♣❛rt✐r ❞❡ ♠❛✐♥t❡♥❛♥t✱ m = mf∞ ❞és✐❣♥❡ ✉♥ K✲♠♦❞✉❧❡ ❡t ♦♥ ❝♦♥❢♦♥❞r❛
s♦✉✈❡♥t m ❡t mf ✳ ❉❡ ❝❡ ♠♦❞✉❧❡✱ ♦♥ ♣❡✉t ❝♦♥str✉✐r❡ ❞❡✉① ❣r♦✉♣❡s ✐♠♣♦rt❛♥ts✳ ▲❡
♣r❡♠✐❡r✱ ❡st ❧❡ ❣r♦✉♣❡ ❛❜é❧✐❡♥ Jm(K) ❝♦♠♣♦sé ❞❡ t♦✉s ❧❡s ✐❞é❛✉① ❢r❛❝t✐♦♥♥❛✐r❡s
❞❡ K ♣r❡♠✐❡r à mf ❡t ❧❡ s❡❝♦♥❞✱ ♥♦té Pm(K)✱ ❡st ❧❡ s♦✉s✲❣r♦✉♣❡ ❞❡s ✐❞é❛✉①
♣r✐♥❝✐♣❛✉① ❞❡ Jm(K) ❡♥❣❡♥❞ré ♣❛r a/b ♦ù

✐✮ a, b ∈ OK\{0} ❡t pgcd((a), (b)) = 1✱

✐✐✮ a ≡ b mod m✱

✐✐✐✮ σ
(

a
b

)

> 0 ♣♦✉r t♦✉t ♣❧♦♥❣❡♠❡♥t ré❡❧ σ ❞❡ K✳

◆♦t♦♥s Clm(K) ❧❡ ❣r♦✉♣❡ q✉♦t✐❡♥t Jm(K)/Pm(K)✳ ❘❡♠❛rq✉♦♥s q✉❡ ❞❛♥s ❧❡
❝❛s ♦ù m = (1)✱ ♦♥ r❡tr♦✉✈❡ ❧❡ ❣r♦✉♣❡ ❞❡s ❝❧❛ss❡s ❝❧❛ss✐q✉❡✳ ❉❡ ♣❧✉s✱ ❞❡ ❜♦♥♥❡s
♣r♦♣r✐étés ❞✉ ❣r♦✉♣❡ ❞❡s ❝❧❛ss❡s ❝❧❛ss✐q✉❡ r❡st❡♥t ✈❛❧❛❜❧❡s ♣♦✉r Clm(K)✳ P❛r
❡①❡♠♣❧❡ ✿

❚❤é♦rè♠❡ ✵✳✷✳✶✽ ✭❈❤❛♣t❡r ✻✱ Pr♦♣♦s✐t✐♦♥ ✶✳✽✱ ❬✸✷❪✮✳ ❙♦✐t K ✉♥ ❝♦r♣s ❞❡
♥♦♠❜r❡s✳ ▲❡ ❣r♦✉♣❡ Clm(K) ❡st ✜♥✐✳

❖♥ ❛ ❛✉ss✐ ❧❡ t❤é♦rè♠❡ ❞❡ ❚❛❦❛❣✐ ❝✐✲❞❡ss♦✉s ✿

❚❤é♦rè♠❡ ✵✳✷✳✶✾ ✭❚❛❦❛❣✐✮✳ ❙♦✐t K ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s✳ ❆❧♦rs ✐❧ ❡①✐st❡ ✉♥
✉♥✐q✉❡ ❝♦r♣s Km✱ ❛❜é❧✐❡♥ s✉r K✱ t❡❧ q✉❡ Gal(Km/K) ≃ Clm(K)✳ ❉❡ ♣❧✉s✱ t♦✉t
♣r❡♠✐❡r p ❞❡ OK ♥❡ ❞✐✈✐s❛♥t ♣❛s m ❡st ♥♦♥ r❛♠✐✜é ❞❛♥s L ❡t s♦♥ ❞❡❣ré rés✐❞✉❡❧
fp(L|K) ❡st é❣❛❧ à ❧✬♦r❞r❡ ❞❡ p ❞❛♥s Clm(K)✳

▲❡ ❝♦r♣sKm ❞✉ t❤é♦rè♠❡ ❝✐✲❞❡ss✉s ❡st ❛♣♣❡❧é ❝♦r♣s ❞❡ r❛②♦♥ ❞❡ ♠♦❞✉❧❡ m ❞❡
K✳ ■❧ ❡st ✐♥tér❡ss❛♥t ❞❡ r❡♠❛rq✉❡r q✉❡ ❞❛♥s ❧❡ ❝❛s K = Q ❡t m = mZ✱ ♦♥ ❛ ❛❧♦rs
q✉❡ Km = Q(ζm)✳ ❈♦♠♠❡ ♦♥ ❧❡ ✈❡rr❛ ♣❧✉s t❛r❞✱ ❧❡s ❝♦r♣s ❞❡ r❛②♦♥s s♦♥t✱ ❝♦♠♠❡
♣♦✉r ❧❡s ❝♦r♣s ❝②❝❧♦t♦♠✐q✉❡s✱ ❞❡s ❡①t❡♥s✐♦♥s ❛❜é❧✐❡♥♥❡s ❞❡ K ✧♠❛①✐♠❛❧❡s✧ ❞❛♥s
❧❡ s❡♥s ♦ù t♦✉t❡ ❡①t❡♥s✐♦♥ ❛❜é❧✐❡♥♥❡ ❞❡ K ❡st ❝♦♥t❡♥✉❡ ❞❛♥s ✉♥ ❝♦r♣s ❞❡ r❛②♦♥✳

❯♥❡ ❛✉tr❡ ♠❛♥✐èr❡ ❞❡ ❞é✜♥✐r ❧❡ ❝♦r♣s ❞❡ ❍✐❧❜❡rt ❞❡ K ❡st ❞❡ ❧❡ ✈♦✐r ❝♦♠♠❡
ét❛♥t ❧✬❡①t❡♥s✐♦♥ ❛❜é❧✐❡♥♥❡ ♠❛①✐♠❛❧❡ ♥♦♥✲r❛♠✐✜é❡ ❞❡ K ✭✐✳❡✳ q✉❡ t♦✉s ❧❡s ✐❞é❛✉①
♣r❡♠✐❡rs ❞❡ OK s♦♥t ♥♦♥ r❛♠✐✜és ❞❛♥s H(K)✮✳ ❈❡♣❡♥❞❛♥t✱ ❞❛♥s ❧❛ ♣r❡✉✈❡
❞✉ t❤é♦rè♠❡ ✵✳✷✳✶✻✱ ♦♥ ✉t✐❧✐s❡r❛ ✉♥✐q✉❡♠❡♥t ❧❡ ❢❛✐t q✉❡ pn ♥❡ s❡ r❛♠✐✜❡ ♣❛s
❞❛♥s H(Kn) ♣♦✉r t♦✉t n✳ ❖♥ ♣❡✉t ❞♦♥❝ ❛✉t♦r✐s❡r ❝❡rt❛✐♥s ✐❞é❛✉① ♣r❡♠✐❡rs à s❡
r❛♠✐✜❡r✱ ❝❡ q✉❡ ♣❡r♠❡t ❧❡s ❝♦r♣s ❞❡ r❛②♦♥s ❞✬❛♣rès ❧❡ t❤é♦rè♠❡ ✵✳✷✳✶✾✳ ❆✐♥s✐✱
❧❡ t❤é♦rè♠❡ ✵✳✷✳✶✻ s❡ ❣é♥ér❛❧✐s❡ ❜✐❡♥ s✐ ❧✬♦♥ r❡♠♣❧❛❝❡ ❧❛ t❡r♠✐♥♦❧♦❣✐❡ ✧❝♦r♣s ❞❡
❍✐❧❜❡rt✧ ♣❛r ✧❝♦r♣s ❞❡ r❛②♦♥s✧✳ ❉❛♥s s❛ ✈❡rs✐♦♥ ❧❛ ♣❧✉s ❣é♥ér❛❧❡✱ ♦♥ ♦❜t✐❡♥t q✉❡

❚❤é♦rè♠❡ ✵✳✷✳✷✵✳ ❙♦✐❡♥t K ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s ❡t p ✉♥ ✐❞é❛❧ ♣r❡♠✐❡r ❞❡
OK ✳ ❙♦✐t (Kn/K)n∈N ✉♥❡ s✉✐t❡ ❞✬❡①t❡♥s✐♦♥s ✜♥✐❡s t❡❧❧❡ q✉❡ ❧❛ s✉✐t❡ ([Kn : K])n
❡st ♠❛❥♦ré❡ ❡t t❡❧❧❡ q✉❡ ♣♦✉r t♦✉t n✱ ✐❧ ❡①✐st❡ ✉♥ ✉♥✐q✉❡ ✐❞é❛❧ ♣r❡♠✐❡r pn ❞❡ OKn

❛✉✲❞❡ss✉s ❞❡ p✳ ❋✐①♦♥s M ≥ 1 ✉♥ ❡♥t✐❡r✳ P♦✉r n ∈ N✱ ♥♦t♦♥s

Ωn = {✐❞é❛✉① m ⊂ OKn
| ∃m ≤M, p ∤ m, ❡t m ❛✉✲❞❡ss✉s ❞❡ ♠}.
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P♦✉r m ∈ Ωn✱ ♥♦t♦♥s Kn,m ❧❡ ❝♦r♣s ❞❡ r❛②♦♥ ❞❡ Kn ❛ss♦❝✐é à m✳ ❆❧♦rs ❧❡
❝♦♠♣♦s✐t✉♠ L ❞❡ t♦✉s ❧❡s Kn,m ❛ ❧❛ ♣r♦♣r✐été (B)✳

P♦✉r r❡tr♦✉✈❡r ❧❡ t❤é♦rè♠❡ ✵✳✷✳✶✻✱ ✐❧ s✉✣t ❞❡ ♣r❡♥❞r❡ K = Q✱ p = pZ ❡t
M = 1✳

❚❡❝❤♥✐q✉❡s ✉t✐❧✐sé❡s ❞❛♥s ❧❛ ♣r❡✉✈❡ ❞✉ t❤é♦rè♠❡ ✵✳✷✳✷✵

❙♦✐❡♥t K ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s ❡t L/K ✉♥❡ ❡①t❡♥s✐♦♥ ❛❧❣é❜r✐q✉❡✳ ❈❤♦✐s✐ss♦♥s
✉♥ ✐❞é❛❧ ♣r❡♠✐❡r p ❞❡ OK ❛✉✲❞❡ss✉s ❞✬✉♥ ♣r❡♠✐❡r r❛t✐♦♥♥❡❧ p✳ P♦✉r ♠♦♥tr❡r ❧❡
t❤é♦rè♠❡ ✵✳✷✳✷✵✱ ♦♥ s✬❛♣♣✉✐❡ s✉r ✉♥❡ ♠ét❤♦❞❡ ❞és♦r♠❛✐s ❝❧❛ss✐q✉❡✱ à s❛✈♦✐r q✉✬✉♥
❝♦r♣s L ❛ ❧❛ ♣r♦♣r✐été (B) s✐ ❧❛ s✉✐t❡ ([Lν : Qp])ν|p✱ ♦ù ν ♣❛r❝♦✉rt ❧✬❡♥s❡♠❜❧❡
❞❡s ♣❧❛❝❡s ❞❡ L ❛✉✲❞❡ss✉s ❞❡ p✱ ❡st ♠❛❥♦ré❡✳ P♦✉r ♠♦♥tr❡r ❝❡❧❛✱ ♦♥ ✉t✐❧✐s❡r❛ ❞❡s
♣r♦♣r✐étés s✉r ❧❡s ❝♦r♣s ❞❡ r❛②♦♥ ✐ss✉❡s ❞❡ ❧❛ t❤é♦r✐❡ ❞❡s ❣r♦✉♣❡s ❡t ❞❡ ❧❛ t❤é♦r✐❡
❛❧❣é❜r✐q✉❡ ❞❡s ♥♦♠❜r❡s ✭❧❡ ❧✐❡♥ ❡♥tr❡ ❝❡s t❤é♦r✐❡s ❛♣♣❛r❛✐ss❡♥t ❞❛♥s ❧❡ t❤é♦rè♠❡
✵✳✷✳✶✾✮✳

✵✳✷✳✸ ❆✉t♦✉r ❞✬✉♥❡ ❝♦♥❥❡❝t✉r❡ ❞❡ ❘é♠♦♥❞

❉❛♥s ❝❡tt❡ t❤ès❡✱ ♥♦✉s ❛✈♦♥s ❞✬❛❜♦r❞ ét✉❞✐é ❧❛ ❝♦♥❥❡❝t✉r❡ ✵✳✷✳✶✶ ❞❛♥s ❧❡ ❝❛s ♦ù
G = Gm✳ ❊❧❧❡ s❡ réé❝r✐t ❛❧♦rs ❝♦♠♠❡ s✉✐t ✿

❈♦♥❥❡❝t✉r❡ ✵✳✷✳✷✶✳ ❙♦✐t Γ ✉♥ ❣r♦✉♣❡ ❞❡ r❛♥❣ ✜♥✐✳ ❆❧♦rs ✐❧ ❡①✐st❡ ✉♥❡ ❝♦♥st❛♥t❡
cΓ > 0 t❡❧❧❡ q✉❡ ♣♦✉r t♦✉t α ∈ Q(Γ)∗\Γsat✱ ♦♥ ❛ h(α) ≥ cΓ✳

❈❡tt❡ ❝♦♥❥❡❝t✉r❡ ❛✣r♠❡ q✉✬❡♥ ❞❡❤♦rs ❞❡ Γsat✱ ✐❧ ♥✬② ❛ ♣❛s ❞❡ ♣♦✐♥t ❞❡ ♣❡t✐t❡
❤❛✉t❡✉r ❞❛♥s Q(Γ)∗✳ ❚♦✉t ❣r♦✉♣❡ ❞❡ r❛♥❣ ✜♥✐ ❡st ✐♥❝❧✉s ❞❛♥s ✉♥ ❣r♦✉♣❡ ❞❡
❧❛ ❢♦r♠❡ Gsat ❬✷✷❪✱ ♦ù G ❡st ✉♥ ❣r♦✉♣❡ ❞❡ t②♣❡ ✜♥✐✳ ❆✐♥s✐✱ ♣♦✉r ♠♦♥tr❡r ❧❛
❝♦♥❥❡❝t✉r❡ ✵✳✷✳✷✶✱ ✐❧ s✉✣t ❞❡ ❧❛ ♠♦♥tr❡r ♣♦✉r ❧❡s ❣r♦✉♣❡s ❞❡ ❧❛ ❢♦r♠❡ Gsat✳

❖♥ ♥❡ ❝♦♥♥❛ît q✉❡ ♣❡✉ ❞❡ rés✉❧t❛ts ♥♦♥✲tr✐✈✐❛✉① ❞❛♥s ❧❛ ❞✐r❡❝t✐♦♥ ❞❡ ❝❡tt❡
❝♦♥❥❡❝t✉r❡✱ ♠ê♠❡ ❞❛♥s ❞❡s ❝❛s très ♣❛rt✐❝✉❧✐❡rs✳ ▲❡ ❝❛s ♦ù Γ = {1}sat ❡st ❧❡
❣r♦✉♣❡ ❞❡s r❛❝✐♥❡s ❞❡ ❧✬✉♥✐té ❛ été tr❛✐té ❞❛♥s ❬✹❪ ❡t ❧❡s ❛✉t❡✉rs ♦♥t ♠♦♥tré q✉❡
cΓ = (log 5)/12 ❝♦♥✈❡♥❛✐t✳

❈❡♣❡♥❞❛♥t✱ ♦♥ ♥❡ s❛✐t t♦✉❥♦✉rs ♣❛s s✐ ❝❡tt❡ ❝♦♥❥❡❝t✉r❡ ❡st ✈r❛✐❡ ♣♦✉r t♦✉t
❛✉tr❡ ❣r♦✉♣❡ ❞❡ ❧❛ ❢♦r♠❡ Γ = 〈b〉sat ❛✈❡❝ b ∈ Z\{−1, 0, 1}✳ ❊♥ ♣❛rt✐❝✉❧✐❡r✱ ♦♥ ♥❡
s❛✐t ♣❛s s✐ ❧❡s ♣♦✐♥ts ❞❡ ♣❡t✐t❡ ❤❛✉t❡✉r ❞❡ Qab(21/2, 21/3, . . . ) s♦♥t ❞❛♥s 〈2〉sat✳

P♦✉r ✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r p✱ ♦♥ ❞é✜♥✐t ❧❡ ❣r♦✉♣❡ p✲s❛t✉ré ❞❡ Γ ❝♦♠♠❡ ét❛♥t
❧❡ ❣r♦✉♣❡ ✿

Γsat,p =
{

g ∈ Q
∗ | ∃n ∈ N∗, gp

n ∈ Γ
}

.

■❧ ② ❛ ♣❡✉✱ ❆♠♦r♦s♦ ❛ ♠♦♥tré q✉❡ ❧❛ ❝♦♥❥❡❝t✉r❡ ✵✳✷✳✷✶ ❡st ✈ér✐✜é❡ ♣♦✉r ❧❡ ❣r♦✉♣❡
Γ = 〈2〉sat,3✳ P❧✉s ❣é♥ér❛❧❡♠❡♥t✱ ✐❧ ❛ ♠♦♥tré ❬✷✱ ❚❤❡♦r❡♠ ✸✳✸❪ ✿

❚❤é♦rè♠❡ ✵✳✷✳✷✷ ✭❆♠♦r♦s♦✮✳ ❙♦✐❡♥t b ≥ 2 ✉♥ ❡♥t✐❡r ❡t p ≥ 3 ✉♥ ♥♦♠❜r❡ ♣r❡✲

♠✐❡r✳ ❙✉♣♣♦s♦♥s q✉❡ p ∤ b ❡t q✉❡ p2 ∤ (bp−1−1)✳ ❆❧♦rs h(α) ≥ min
{

1
3h(b) ,

log(p/2)
2p2

}

♣♦✉r t♦✉t α ∈ Q(〈b〉sat,p)∗\〈b〉sat✳
❯♥ ✐♥❣ré❞✐❡♥t ✐♥❞✐s♣❡♥s❛❜❧❡ ❞❛♥s ❧❛ ♣r❡✉✈❡ ❞❡ ❝❡ t❤é♦rè♠❡ r❡♣♦s❡ s✉r ❧✬ét✉❞❡

❞✉ ❞❡r♥✐❡r s❛✉t ❞❡ ❧❛ s✉✐t❡ ❞❡s ❣r♦✉♣❡s ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞❡ Gal
(

Qp(ζpr , b
1/ps)/Qp)

❛✈❡❝ r ≥ s ❞❡✉① ❡♥t✐❡rs ♣♦s✐t✐❢s✳ ❘❡♠❛rq✉♦♥s q✉❡ ❝❡tt❡ ét✉❞❡ ❛ ❞é❥à été ❢❛✐t❡ ♣❛r
❱✐✈✐❛♥✐✳ ❈♦♠♠❡ ♦♥ ❛ ❞é❥à ❣é♥ér❛❧✐sé ❧❡s rés✉❧t❛ts ❞❡ ❱✐✈✐❛♥✐ ✭❝❢ ❧❡s t❤é♦rè♠❡s
✵✳✶✳✶ ❡t ✵✳✶✳✷✮✱ ❝❡❧❛ ♥♦✉s ♣❡r♠❡t ❞❡ s✉♣♣r✐♠❡r ❧❡s ❝♦♥❞✐t✐♦♥s t❡❝❤♥✐q✉❡s ❞✉
t❤é♦rè♠❡ ✵✳✷✳✷✷ ❡t ❞❡ ♣♦✉✈♦✐r ❝♦♥s✐❞ér❡r ❞❡s ❝♦r♣s ❞❡ ♥♦♠❜r❡s à ❧❛ ♣❧❛❝❡ ❞❡ Q✳
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❚❤é♦rè♠❡ ✵✳✷✳✷✸✳ ❙♦✐❡♥t F ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s✱ a ∈ F ∗\(F ∗)p ❡t p ✉♥
♥♦♠❜r❡ ♣r❡♠✐❡r ✐♠♣❛✐r ♥❡ ❞✐✈✐s❛♥t ♣❛s ❧❡ ❞✐s❝r✐♠✐♥❛♥t ❞❡ F ✳ ❆❧♦rs ✐❧ ❡①✐st❡
c > 0 t❡❧ q✉❡ h(α) ≥ c ♣♦✉r t♦✉t α ∈ F (〈a〉sat,p)∗\〈a〉sat✳

❘❡♠❛rq✉♦♥s q✉❡ ❞❛♥s ❧❡ ❝❛s F = Q✱ ❧❛ ❝♦♥❞✐t✐♦♥ t❡❝❤♥✐q✉❡ ✧p ♥❡ ❞✐✈✐s❡ ♣❛s
❧❡ ❞✐s❝r✐♠✐♥❛♥t ❞❡ F✧ ❡st ✈✐❞❡ ♣✉✐sq✉❡ ❧❡ ❞✐s❝r✐♠✐♥❛♥t ❞❡ Q ✈❛✉t 1✳ ▲❡ t❤é♦rè♠❡
✵✳✷✳✷✸ ❡st ❞♦♥❝ ❜✐❡♥ ✉♥❡ ❣é♥ér❛❧✐s❛t✐♦♥ ❞✉ t❤é♦rè♠❡ ✵✳✷✳✷✷✳

❯♥❡ ❣é♥ér❛❧✐s❛t✐♦♥ ❞❡ ❧❛ ❝♦♥❥❡❝t✉r❡ ✵✳✷✳✶✶

❈♦♠♠❡ ❧✬❛ ❞é❥à ♠♦♥tré ❘é♠♦♥❞ ❞❛♥s ❬✸✻✱ s❡❝t✐♦♥ ✺❪✱ ❧❛ ❝♦♥❥❡❝t✉r❡ ✵✳✷✳✶✶ ♥❡
♣❡✉t s✬é♥♦♥❝❡r ❞❛♥s ❧❡ ❝❛s ♣❧✉s ❣é♥ér❛❧ ♦ù G ❡st ✉♥❡ ✈❛r✐été s❡♠✐✲❛❜é❧✐❡♥♥❡✳
❙♦♥ ❝♦♥tr❡✲❡①❡♠♣❧❡ r❡♣♦s❡ s✉r ❧❡ ❢❛✐t q✉❡ G ♣✉✐ss❡ ♣♦ssé❞❡r ❞❡s ♣♦✐♥ts ❞❡ ❘✐❜❡t
✭❧❡ ❧❡❝t❡✉r s♦✉❤❛✐t❛♥t ❧✐r❡ ❧❛ ❞é✜♥✐t✐♦♥ ❞✬✉♥ ♣♦✐♥t ❞❡ ❘✐❜❡t ♣♦✉rr❛ ✈♦✐r ❬✷✼❪✮✳
❉❛♥s ❧❡ ❝❛s ♦ù G ❡st ✉♥❡ ✈❛r✐été s❡♠✐✲❛❜é❧✐❡♥♥❡ ✐s♦tr✐✈✐❛❧❡✱ ❧❡s ♣♦✐♥ts ❞❡ ❘✐❜❡t
s♦♥t ❞❡s ♣♦✐♥ts ❞❡ t♦rs✐♦♥✳ P❛r ❝♦♥séq✉❡♥t✱ ✐❧ s❡♠❜❧❡ r❛✐s♦♥♥❛❜❧❡ ❞❡ ♣r♦♣♦s❡r ❧❛
❝♦♥❥❡❝t✉r❡ s✉✐✈❛♥t❡ ✿

❈♦♥❥❡❝t✉r❡ ✵✳✷✳✷✹✳ ▲❛ ❝♦♥❥❡❝t✉r❡ ✵✳✷✳✶✶ r❡st❡ ✈❛❧❛❜❧❡ ♣♦✉r ❧❡s ✈❛r✐étés ❛❜é✲
❧✐❡♥♥❡s ✐s♦tr✐✈✐❛❧❡s✳

➚ ♣❛rt✐r ❞❡ ♠❛✐♥t❡♥❛♥t✱ ❝♦♥s✐❞ér♦♥s ❞❡s ✈❛r✐étés ❛❜é❧✐❡♥♥❡s ✐s♦tr✐✈✐❛❧❡s ❞❡
❧❛ ❢♦r♠❡ G = Gm × A ♦ù A ❡st ✉♥❡ ✈❛r✐été ❛❜é❧✐❡♥♥❡ ❞é✜♥✐❡ s✉r ✉♥ ❝♦r♣s ❞❡
♥♦♠❜r❡s k✳ ◆♦t♦♥s ĥ(α,Q) ❧❛ ❤❛✉t❡✉r ❞✬✉♥ ♣♦✐♥t (α,Q) ∈ G ❝♦♠♠❡ ét❛♥t ❧❛
s♦♠♠❡ h(α) + ĥ(Q)✳

▲❛ ❝♦♥❥❡❝t✉r❡ ✵✳✷✳✷✹ ♣❡r♠❡t ❞✬✐♥t❡r♣rét❡r ❞✐✛ér❡♥ts rés✉❧t❛ts ❞é❥à ♣rés❡♥ts
❞❛♥s ❧❛ ❧✐ttér❛t✉r❡ ❝♦♠♠❡ ❞❡s ❝❛s ♣❛rt✐❝✉❧✐❡rs ❞❡ ❝❡❧❧❡✲❝✐✳ ▲❡ ♣r❡♠✐❡r ❝♦♥❝❡r♥❡ ❧❡
❝❛s ♦ù Γ = (Gm)tors×{0}✳ ❖♥ ❛ ❛❧♦rs Γsat = Gtors ❡t k(Γ) = k((Gm)tors) ⊂ kab✳
▲❛ ❝♦♥❥❡❝t✉r❡ ✵✳✷✳✷✹ ♣ré❞✐t ❞♦♥❝ ❧✬❡①✐st❡♥❝❡ ❞✬✉♥ c > 0 t❡❧ q✉❡ h(α) + ĥ(P ) ≥ c
♣♦✉r t♦✉t

(α, P ) ∈ G(k((Gm)tors))\Gtors.

❈❧❛✐r❡♠❡♥t✱ ❝❡tt❡ ❛✣r♠❛t✐♦♥ ❡st ❝♦♥t❡♥✉❡ ❞❛♥s ❧❡s ❞❡✉① ❛✣r♠❛t✐♦♥s s✉✐✈❛♥t❡s ✿

✐✮ ✐❧ ❡①✐st❡ c > 0 t❡❧❧❡ q✉❡ h(α) ≥ c ♣♦✉r t♦✉t α ∈ Gm(kab)\(Gm)tors ❀

✐✐✮ ✐❧ ❡①✐st❡ c > 0 t❡❧❧❡ q✉❡ ĥ(P ) ≥ c ♣♦✉r t♦✉t P ∈ A(kab)\Ators✳

▲❡ ♣♦✐♥t i) ❡st ✉♥ t❤é♦rè♠❡ ❞û à ❆♠♦r♦s♦ ❡t ❩❛♥♥✐❡r ❬✺❪ ❡t ❧❡ ♣♦✐♥t ii) ❛ été
♣r♦✉✈é ♣❛r ❇❛❦❡r ❡t ❙✐❧✈❡r♠❛♥ ❬✻✱ ❚❤❡♦r❡♠ ✵✳✶❪✳ ▲❛ ❝♦♥❥❡❝t✉r❡ ✵✳✷✳✷✹ ❡st ❞♦♥❝
s❛t✐s❢❛✐t❡ ❞❛♥s ❝❡ ❝❛s✳

▲❡ s❡❝♦♥❞ ❡①❡♠♣❧❡ ❝♦♥❝❡r♥❡ ❧❡ ❝❛s ♦ù G = Gm × E✱ ❛✈❡❝ E ✉♥❡ ❝♦✉r❜❡
❡❧❧✐♣t✐q✉❡ ❞é✜♥✐❡ s✉r Q✱ ❡t Γ = {1} × Etors✳ ➚ ♥♦✉✈❡❛✉✱ Γsat = Gtors✳ ❉❡ ♣❧✉s✱
Q(Γ) = Q(Etors)✳ ▲❛ ❝♦♥❥❡❝t✉r❡ ✵✳✷✳✷✹ ♣ré❞✐t ❞♦♥❝ ❧✬❡①✐st❡♥❝❡ ❞✬✉♥ c > 0 t❡❧ q✉❡
h(α) + ĥ(P ) ≥ c ♣♦✉r t♦✉t

(α, P ) ∈ G(Q(Etors))\Gtors,

❝❡ q✉✐ ❝♦rr❡s♣♦♥❞ ♣ré❝✐sé♠❡♥t à ❬✷✻✱ ❈♦r♦❧❧❛r② ✶❪✳

❉❛♥s ❧❡s ❞❡✉① ❡①❡♠♣❧❡s ❝✐tés ❝✐✲❞❡ss✉s✱ ♦♥ ❛ Γsat = Gtors✳ ❉❛♥s ❝❡tt❡ t❤ès❡✱
♦♥ s❡ ♣r♦♣♦s❡ ❞❡ ❞♦♥♥❡r ✉♥ ❡①❡♠♣❧❡ ❞❡ ❧❛ ❝♦♥❥❡❝t✉r❡ ✵✳✷✳✷✹ ❞❛♥s ❧❡ ❝❛s ♦ù
Γsat 6= Gtors✳
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❚❤é♦rè♠❡ ✵✳✷✳✷✺✳ ❙♦✐❡♥t E ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❡t p ≥ 5 ✉♥ ♣r❡♠✐❡r t❡❧
q✉❡ E ❛ ✉♥❡ ré❞✉❝t✐♦♥ s✉♣❡rs✐♥❣✉❧✐èr❡ ❡♥ p✳ ❙♦✐t b ≥ 2 ✉♥ ❡♥t✐❡r t❡❧ q✉❡ p ∤ b

❡t p2 ∤ (bp−1 − 1)✳ ❆❧♦rs ✐❧ ❡①✐st❡ cΓ,E > 0 t❡❧ q✉❡ ĥ(α, P ) ≥ cΓ,E ♣♦✉r t♦✉t
(α, P ) ∈ G(Q(Γ))\Γsat ♦ù Γ = 〈b〉sat,{p} × {0} ❡t ♦ù G = Gm × E✳

❘❡♠❛rq✉♦♥s q✉❡ Γsat = 〈b〉sat×Etors 6= Gtors✳ ❈❧❛✐r❡♠❡♥t✱ ✐❧ s✉✣t ❞❡ ♠♦♥tr❡r
❧❡s ❞❡✉① ❛ss❡rt✐♦♥s ❝✐✲❞❡ss♦✉s ♣♦✉r ❡♥ ❞é❞✉✐r❡ ❧❡ t❤é♦rè♠❡ ✵✳✷✳✷✺ ✿

✐✮ ✐❧ ❡①✐st❡ c > 0 t❡❧❧❡ q✉❡ h(α) ≥ c ♣♦✉r t♦✉t α ∈ Gm(Q(Γ))\〈b〉sat ❀

✐✐✮ ✐❧ ❡①✐st❡ c > 0 t❡❧❧❡ q✉❡ ĥ(P ) ≥ c ♣♦✉r t♦✉t P ∈ E(Q(Γ))\Etors✳

❘❡♠❛rq✉♦♥s q✉❡ ❧❡ ♣♦✐♥t i) ❝♦rr❡s♣♦♥❞ ♣ré❝✐sé♠❡♥t ❛✉ t❤é♦rè♠❡ ✵✳✷✳✷✷✳ P❛r
❝♦♥séq✉❡♥t✱ ✐❧ ♥♦✉s r❡st❡ à ♠♦♥tr❡r ✿

❚❤é♦rè♠❡ ✵✳✷✳✷✻✳ ❙♦✐❡♥t E ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❡t p ≥ 5 ✉♥ ♣r❡♠✐❡r t❡❧
q✉❡ E ❛ ✉♥❡ ré❞✉❝t✐♦♥ s✉♣❡rs✐♥❣✉❧✐èr❡ ❡♥ p✳ ❙♦✐t b ≥ 2 ✉♥ ❡♥t✐❡r t❡❧ q✉❡ p ∤

b ❡t p2 ∤ (bp−1 − 1)✳ ❆❧♦rs ✐❧ ❡①✐st❡ c > 0 t❡❧ q✉❡ ĥ(P ) ≥ c ♣♦✉r t♦✉t P ∈
E(Q(〈b〉sat,p))\(E(Q(ζp)) ∩ Etors)✳

❘❡♠❛rq✉♦♥s q✉❡ ❧❡ rés✉❧t❛t q✉❡ ❧✬♦♥ ♦❜t✐❡♥t ❡st ❛♣♣❛r❡♠♠❡♥t ❧é❣èr❡♠❡♥t
♣❧✉s ♣ré❝✐s ❝❛r ♦♥ r❡t✐r❡ s❡✉❧❡♠❡♥t E(Q(ζp)) ∩ Etors ⊂ E(Q(〈b〉sat,p) ∩ Etors✳
❈❡♣❡♥❞❛♥t✱ ♦♥ ♠♦♥tr❡r❛ ❞❛♥s ❧❡ ❢❛✐t ✸✳✷✳✶✸ q✉❡ ❝❡tt❡ ✐♥❝❧✉s✐♦♥ ❡st ❡♥ ❢❛✐t ✉♥❡
é❣❛❧✐té✳

❚❡❝❤♥✐q✉❡s ✉t✐❧✐sé❡s ❞❛♥s ❧❛ ♣r❡✉✈❡ ❞❡s t❤é♦rè♠❡s ✵✳✷✳✷✸ ❡t ✵✳✷✳✷✻

❘❡♣r❡♥♦♥s ❧❡s ♥♦t❛t✐♦♥s ❞✉ t❤é♦rè♠❡ ✵✳✷✳✷✸✳ ❙♦✐❡♥t L ⊂ F (〈a〉sat,p) ✉♥❡ ❡①t❡♥✲
s✐♦♥ ❣❛❧♦✐s✐❡♥♥❡ ❡t ✜♥✐❡ ❞❡ F ❡t P ✉♥ ✐❞é❛❧ ♣r❡♠✐❡r ❞❡ OL ❛✉✲❞❡ss✉s ❞❡ p✳ P♦✉r
♠♦♥tr❡r ❝❡ t❤é♦rè♠❡✱ ♥♦tr❡ ♠ét❤♦❞❡ r❡♣♦s❡ s✉r ❞❡✉① ❛r❣✉♠❡♥ts ✿ ❧❡ ♣r❡♠✐❡r ❡st
✉♥❡ ✐♥é❣❛❧✐té ♠étr✐q✉❡✱ à ❧❛ ❉♦❜r♦✇♦❧s❦✐✳

◆♦t♦♥s P (X) = (σX)p
3 −Xp3 ✱ ♦ù σ ∈ Gal(F (〈a〉sat,p)/F )✳ ❙♦✐t α ∈ L✳ ❖♥

♠♦♥tr❡r❛ ❛❧♦rs q✉❡

|P (α)|P ≤ p−1 max{1, |α|P}p3 max{1, |σα|P}p3 .

❙✐ P (α) 6= 0✱ ❛❧♦rs ♣❛r ❧❛ ❢♦r♠✉❧❡ ❞✉ ♣r♦❞✉✐t✱ ♦♥ ❡♥ ❞é❞✉✐r❛ ✉♥❡ ♠✐♥♦r❛t✐♦♥ ❞❡
h(α) ✐♥❞é♣❡♥❞❛♥t❡ ❞❡ α ❡t ❞❡ L✳ ❉❛♥s ❧❡ ❝❛s ♦ù P (α) = 0✱ ❝❡❧❛ s✐❣♥✐✜❡r❛ q✉❡ α
❡st✱ à ✉♥❡ ❞✐✈✐s✐♦♥ ♣❛r ✉♥ é❧é♠❡♥t ❞❡ Γsat ♣rès✱ ❞❛♥s ❧❡ ❝♦r♣s ✜①é ♣❛r 〈σ〉✳ P❛r
✉♥❡ ♠ét❤♦❞❡ ❞❡ ❧❛ ❞❡s❝❡♥t❡✱ ♦♥ ❡♥ ❞é❞✉✐r❛ q✉❡ s♦✐t α ❡st ❞❛♥s ❧❡ s❛t✉ré ❞❡ Γ✱
s♦✐t q✉❡ ❧✬♦♥ ♣❡✉t ♠✐♥♦r❡r h(α) ♣❛r ✉♥❡ ❝♦♥st❛♥t❡ ♥❡ ❞é♣❡♥❞❛♥t ♥✐ ❞❡ α✱ ♥✐ ❞❡
L✳

❊♥✜♥✱ ♣♦✉r ♠♦♥tr❡r ♥♦tr❡ t❤é♦rè♠❡ ✵✳✷✳✷✻✱ ♦♥ ✉t✐❧✐s❡r❛ ❡♥❝♦r❡ ✉♥❡ ✐♥é❣❛❧✐té à
❧❛ ❉♦❜r♦✇♦❧s❦✐✳ ❊♥s✉✐t❡✱ ♦♥ ♠♦♥tr❡r❛ ♣❛r ❞❡s t❡❝❤♥✐q✉❡s ❞✬éq✉✐❞✐str✐❜✉t✐♦♥ q✉❡
s✐ ✉♥ ♣♦✐♥t P ❛ ✉♥❡ ❤❛✉t❡✉r ✧s✉✣s❛♠♠❡♥t ♣❡t✐t❡✧✱ ❛❧♦rs P ❡st ❧❛ s♦♠♠❡ ❞❡ ❧✬✉♥
❞❡ s❡s ❝♦♥❥✉❣✉és ❡t ❞✬✉♥ ♣♦✐♥t ❞❡ t♦rs✐♦♥✳ ❖♥ ♣❡✉t ❡♥s✉✐t❡ ❡✛❡❝t✉❡r ✉♥ ❛♥❛❧♦❣✉❡
❡❧❧✐♣t✐q✉❡ ❞❡ ❧❛ ♠ét❤♦❞❡ ❞❡ ❧❛ ❞❡s❝❡♥t❡ ❢❛✐t❡ ❞❛♥s ❧❛ ♣r❡✉✈❡ ❞✉ t❤é♦rè♠❡ ✵✳✷✳✷✸
♣♦✉r ❡♥ ❞é❞✉✐r❡ ♥♦tr❡ ❞❡r♥✐❡r t❤é♦rè♠❡✳
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❈❤❛♣✐tr❡ ✶

●r♦✉♣❡s ❞❡ r❛♠✐✜❝❛t✐♦♥

✶✳✶ ❘és✉❧t❛ts ♣r✐♥❝✐♣❛✉①✳

❉❛♥s ❝❡ ❝❤❛♣✐tr❡✱ ✜①♦♥s ✉♥ ♣r❡♠✐❡r p ✐♠♣❛✐r✳ ❚♦✉s ❧❡s ❝♦r♣s ❝♦♥s✐❞érés s❡r♦♥t
❞❡s ❡①t❡♥s✐♦♥s ✜♥✐❡s ❞❡ Qp✳ P♦✉r ✉♥ ❝♦r♣s K✱ ♥♦t♦♥s pK s♦♥ ✐❞é❛❧ ♣r❡♠✐❡r✳ P♦✉r
✉♥ ❡♥t✐❡r i ≥ −1✱ ♥♦t♦♥s

Gal(L/K)i = {σ ∈ Gal(L/K) | ∀x ∈ OL, σx ≡ x mod pi+1
L }

❧❡ i✲✐è♠❡ ❣r♦✉♣❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞❡ Gal(L/K)✳ ❖♥ ❞✐r❛ q✉❡ t ❡st ✉♥ s❛✉t ❞❡
L/K s✐ Gal(L/K)t 6= Gal(L/K)t+1✳

■❧ ❡st ❜✐❡♥ ❝♦♥♥✉ q✉❡ Gal(L/K)i ❡st ✉♥ s♦✉s✲❣r♦✉♣❡ ♥♦r♠❛❧ ❞❡ Gal(L/K)
♣♦✉r t♦✉t i✱ q✉❡ Gal(L/K)j = {1} ♣♦✉r t♦✉t j ❛ss❡③ ❣r❛♥❞ ❡t q✉❡ Gal(L/K)1 ❡st
❧❡ ❣r♦✉♣❡ tr✐✈✐❛❧ s✐ ❡t s❡✉❧❡♠❡♥t s✐ L/K ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ♠♦❞éré♠❡♥t r❛♠✐✜é❡
✭♣♦✉r ❞✬❛✉tr❡s rés✉❧t❛ts✱ ❧❡ ❧❡❝t❡✉r ♣♦✉rr❛ ❝♦♥s✉❧t❡r ❬✸✾✱ ❈❤❛♣✐tr❡ ■❱❪✮✳

❋✐①♦♥s ✉♥ ❝♦r♣s ❧♦❝❛❧ F q✉✐ ❡st ♥♦♥ r❛♠✐✜é s✉r Qp ❡t a ∈ (F ∗)\(F ∗)p✳ ◆♦t♦♥s
vF ❧❛ ✈❛❧✉❛t✐♦♥ ♥♦r♠❛❧✐sé❡ ❞❡ F ✳

❉é✜♥✐t✐♦♥ ✶✳✶✳✶✳ P♦✉r ❞❡s ❡♥t✐❡rs r, s ≥ 0✱ ♥♦t♦♥s Fr,s ❧❡ ❝♦r♣s F (ζpr , a
1/ps)✳

❉❛♥s ❝❡ ❝❤❛♣✐tr❡✱ ♥♦✉s ♥♦✉s ♣r♦♣♦s♦♥s ❞❡ ❝❛❧❝✉❧❡r ❧❡s ❣r♦✉♣❡s ❞❡ r❛♠✐✜❝❛t✐♦♥
❞✬✉♥❡ ❡①t❡♥s✐♦♥ ❞❡ ❧❛ ❢♦r♠❡ Fr,s/F ♦ù r ≥ s s♦♥t ❞❡✉① ❡♥t✐❡rs ♣♦s✐t✐❢s✳ P♦✉r
❝❡❧❛✱ ♥♦✉s ❛❧❧♦♥s ❝❛❧❝✉❧❡r ❡①♣❧✐❝✐t❡♠❡♥t✱ ♣♦✉r t♦✉s ❡♥t✐❡rs ✶ r ❡t s✱ ❧❡ s❛✉t ❞❡s
❡①t❡♥s✐♦♥s Fr,s/Fr−1,s ❡t Fr,s/Fr,s−1 ❡♥ sé♣❛r❛♥t ❧❡ ❝❛s p | vF (a) ✭❝❢ t❤é♦rè♠❡
✶✳✸✳✺✮ ❞✉ ❝❛s p ∤ vF (a) ✭❝❢ t❤é♦rè♠❡ ✶✳✸✳✻✮✳

❯♥❡ ❢♦✐s ❝❡s s❛✉ts ❝❛❧❝✉❧és✱ ♦♥ s❡r❛ ❡♥ ♠❡s✉r❡ ❞❡ ❝♦♥str✉✐r❡ ❞❡✉① s✉✐t❡s (r(i))i
❡t (s(i))i ❞❡ t❡❧❧❡ s♦rt❡ q✉❡ s✐ τi✱ ❛✈❡❝ i ≥ 0✱ ❞és✐❣♥❡ ❧❡ (i + 1)✲✐è♠❡ ♣❧✉s ♣❡t✐t
s❛✉t ❞❡ Fr,s/F ✱ ❛❧♦rs Gal(Fr,s/F )τi = Gal(Fr,s/Fr(i),s(i)) ✭❝❢ t❤é♦rè♠❡ ✶✳✶✳✺ s✐
p | vF (a) ❡t t❤é♦rè♠❡ ✶✳✶✳✻ s✐ p ∤ vF (a)✮✳ ❉❡ ♣❧✉s✱ ❧❡s τi s♦♥t ❡①♣❧✐❝✐t❡♠❡♥t ❝❛❧✲
❝✉❧❛❜❧❡s✳

❙♦✐t K ✉♥ ❝♦r♣s ❧♦❝❛❧✳ P♦✉r ✉♥ ♥♦♠❜r❡ α ∈ K∗✱ ♦♥ ♥♦t❡r❛ α1/ps ✱ ♣♦✉r t♦✉t
s ≥ 0✱ ✉♥❡ r❛❝✐♥❡ ps✲✐è♠❡ ❞❡ α t❡❧❧❡ q✉❡ (α1/ps)p = α1/ps−1

✳

▲❡♠♠❡ ✶✳✶✳✷✳ P♦✉r t♦✉s r, s ≥ 0 ❛✈❡❝ r ≥ 1✱ ❧✬❡①t❡♥s✐♦♥ Fr,s/F ❡st t♦t❛❧❡♠❡♥t
r❛♠✐✜é❡ ❞❡ ❞❡❣ré (p− 1)pr+s−1.

✶♦♥ ♥✬❛ ♣❛s ♥é❝❡ss❛✐r❡♠❡♥t q✉❡ r ≥ s

✶✺
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❉é♠♦♥str❛t✐♦♥✳ ❈♦♠♠❡ F/Qp ❡st ♥♦♥ r❛♠✐✜é ❡t q✉❡ Qp(ζpr )/Qp ❡st t♦t❛❧❡♠❡♥t
r❛♠✐✜é ❞❡ ❞❡❣ré (p − 1)pr−1✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ F (ζpr )/F ❡st ✉♥❡ ❡①t❡♥s✐♦♥
t♦t❛❧❡♠❡♥t r❛♠✐✜é❡ ❞❡ ❞❡❣ré (p− 1)pr−1✳ ❆✐♥s✐✱ ♣♦✉r ♠♦♥tr❡r ❧❡ ❧❡♠♠❡✱ ✐❧ r❡st❡
à ♠♦♥tr❡r q✉❡ Fr,s/F (ζpr ) ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é ❞❡ ❞❡❣ré ps✳

❈♦♠♠❡♥ç♦♥s ♣❛r ❝❛❧❝✉❧❡r ❧❡ ❞❡❣ré✳ ❈♦♠♠❡ a ∈ (F ∗)\(F ∗)p ❡t q✉❡ ζp /∈ F ✱
✉♥❡ ❝♦♥séq✉❡♥❝❡ ❞✬✉♥ t❤é♦rè♠❡ ❞❡ ❙❝❤✐♥③❡❧ ❬✸✽✱ ❚❤❡♦r❡♠ ✷❪✱ ❛♣♣❧✐q✉é❡ à k = F ✱
m = p ❡t n = pr✱ ♠♦♥tr❡ ❛❧♦rs q✉❡ a /∈ F (ζpr )\F (ζpr )p✳ ❉✬✉♥ ❧❡♠♠❡ ❞❡ ❈❛♣❡❧❧✐
❬✷✾✱ ❈❤❛♣✐tr❡ ✻✱ ❚❤❡♦r❡♠ ✾✳✶❪✱ ✐❧ s✬❡♥s✉✐t ❛❧♦rs q✉❡

[Fr,s : F (ζpr )] = ps.

▼♦♥tr♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ Fr,s/F (ζpr ) ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é✳ ❙✉♣♣♦s♦♥s ♣❛r
❧✬❛❜s✉r❞❡ q✉❡ ❝❡ ♥❡ s♦✐t ♣❛s ❧❡ ❝❛s✳ ▲❡s s♦✉s✲❝♦r♣s ❞❡ Fr,s/F (ζpr ) s♦♥t ❧❡s Fr,g✱
❛✈❡❝ g ∈ {0, . . . , s} ❬✶✱ ❚❤❡♦r❡♠ ✷✳✶❪✳ ❆✐♥s✐✱ Fr,1/F (ζpr ) ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ♥♦♥
r❛♠✐✜é❡✳ ▲❛ str✉❝t✉r❡ ❞❡s ❡①t❡♥s✐♦♥s ♥♦♥ r❛♠✐✜é❡s ❬✶✸✱ ❈❤❛♣t❡r ✶✱ s❡❝t✐♦♥ ✼❪
♠♦♥tr❡ ❛❧♦rs q✉❡ Fr,1 = F (ζm) ♣♦✉r ✉♥ ❝❡rt❛✐♥ ❡♥t✐❡r m✳ ❊♥ ♣❛rt✐❝✉❧✐❡r✱ F1,1/F
❡st ❛❜é❧✐❡♥✳ ❈♦♠♠❡ ζp /∈ F ✱ ❧❡ t❤é♦rè♠❡ ❞❡ ❙❝❤✐♥③❡❧ ❝✐té ♣ré❝é❞❡♠♠❡♥t ❬✸✽✱
❚❤❡♦r❡♠ ✷❪✱ ❛♣♣❧✐q✉é à K = F ❡t à n = p✱ ♠♦♥tr❡ q✉❡ a ∈ F (ζp)

p✱ ❝❡ q✉✐ ❡st
❛❜s✉r❞❡✳ ❈❡❝✐ ♣r♦✉✈❡ ❧❡ ❧❡♠♠❡✳

❘❡♠❛rq✉❡ ✶✳✶✳✸✳ ❙♦✐❡♥t r, r′, s, s′ q✉❛tr❡ ❡♥t✐❡rs ♣♦s✐t✐❢s ❛✈❡❝ r, r′ ≥ 1✳ ❊♥
❛♣♣❧✐q✉❛♥t ❧❡ ❧❡♠♠❡ ♣ré❝é❞❡♥t ❛✈❡❝ r, s ❡t ❛✈❡❝ r′, s′✱ ♦♥ ♦❜t✐❡♥t q✉❡ [Fr,s : F ] =
(p− 1)pr+s−1 ❡t [Fr′,s′ : F ] = (p− 1)pr

′+s′−1✳ ❉❡ ❧❛ ♠✉❧t✐♣❧✐❝❛t✐✈✐té ❞❡s ❞❡❣rés✱
♦♥ ❡♥ ❞é❞✉✐t ❛❧♦rs q✉❡

[Fr,s : Fr′,s′ ] = pr−r
′+s−s′ .

❉❡ ♣❧✉s✱ ❝♦♠♠❡ Fr,s/F ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é ❞✬❛♣rès ❧❡ ❧❡♠♠❡ ✶✳✶✳✷✱ ✐❧ s✬❡♥s✉✐t
q✉❡ Fr,s/Fr′,s′ ❡st é❣❛❧❡♠❡♥t t♦t❛❧❡♠❡♥t r❛♠✐✜é✳

▲❡♠♠❡ ✶✳✶✳✹✳ ❙♦✐❡♥t r, s ❞❡s ❡♥t✐❡rs ♣♦s✐t✐❢s ❛✈❡❝ r ≥ 1✳ ❆❧♦rs Fr,s/Fr−1,s ♣♦s✲
sè❞❡ ✉♥ ✉♥✐q✉❡ s❛✉t q✉❡ ❧✬♦♥ ♥♦t❡ t1(r, s)✳ ❉❡ ♠ê♠❡✱ s✐ s ≥ 1✱ ❛❧♦rs Fr,s/Fr,s−1

♣♦ssè❞❡ ✉♥ ✉♥✐q✉❡ s❛✉t q✉❡ ❧✬♦♥ ♥♦t❡ t2(r, s)✳

❉é♠♦♥str❛t✐♦♥✳ ❈♦♠♠❡♥ç♦♥s ♣❛r ♠♦♥tr❡r q✉❡ Fr,s/Fr−1,s ♣♦ssè❞❡ ✉♥ ✉♥✐q✉❡
s❛✉t✳ ❙✐ r = 1✱ ❛❧♦rs ❧✬❡①t❡♥s✐♦♥ F1,s/F0,s = F (ζp, a

1/ps)/F (a1/p
s

) ❡st ❞❡ ❞❡❣ré
❛✉ ♣❧✉s p− 1✳ ▲❡ ❧❡♠♠❡ ✶✳✶✳✷✱ ❛♣♣❧✐q✉é à α = a ❡t à r = s✱ ♠♦♥tr❡ q✉❡ Fs,s/F
❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é✳ ❊♥ ♣❛rt✐❝✉❧✐❡r✱ F1,s/F0,s ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é✳ ❈♦♠♠❡
❡❧❧❡ ❡st ♠♦❞éré♠❡♥t r❛♠✐✜é✱ ❡❧❧❡ ♣♦ssè❞❡ ❛❧♦rs ✉♥ ✉♥✐q✉❡ s❛✉t q✉✐ ❡st é❣❛❧ à 0✳

❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ r ≥ 2✳ ❊♥ ❛♣♣❧✐q✉❛♥t ❧❛ r❡♠❛rq✉❡ ✶✳✶✳✸ ❛✈❡❝
r′ = r − 1 ❡t s′ = s✱ ✐❧ s✬❡♥s✉✐t q✉❡ Fr,s/Fr−1,s ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ❣❛❧♦✐s✐❡♥♥❡
t♦t❛❧❡♠❡♥t r❛♠✐✜é❡ ❞❡ ❞❡❣ré p✳ ❊❧❧❡ ♣♦ssè❞❡ ❞♦♥❝ ❛✉ss✐ ✉♥ ✉♥✐q✉❡ s❛✉t✳

❉❡ ❧❛ ♠ê♠❡ r❡♠❛rq✉❡ ✶✳✶✳✸✱ ❛♣♣❧✐q✉é❡ à r′ = r ❡t à s′ = s − 1✱ ✐❧ s✬❡♥s✉✐t
q✉❡ Fr,s/Fr,s−1 ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ❣❛❧♦✐s✐❡♥♥❡ ✭❝❛r ζp ∈ Fr,s−1✮ ❞❡ ❞❡❣ré p✳ ❊❧❧❡
♣♦ssè❞❡ ❞♦♥❝ é❣❛❧❡♠❡♥t ✉♥ ✉♥✐q✉❡ s❛✉t✳

◆♦✉s ♥♦✉s ♣r♦♣♦s♦♥s ❞❛♥s ✉♥ ♣r❡♠✐❡r t❡♠♣s ❞❡ ❝❛❧❝✉❧❡r ❧❡s s❛✉ts t1(r, s) ❡t
t2(r, s) ✭t❤é♦rè♠❡s ✶✳✸✳✺ ❡t ✶✳✸✳✻✮✳ ◆♦✉s ❛❧❧♦♥s ❡♥s✉✐t❡ ❡♥ ❞é❞✉✐r❡ ♣❛r ré❝✉rr❡♥❝❡
✭s❡❝t✐♦♥ ✶✳✹✮ ❧❡s s❛✉ts ❡t ❧❡s ❣r♦✉♣❡s ❞❡ r❛♠✐✜❝❛t✐♦♥ ❛ss♦❝✐és à ❧✬❡①t❡♥s✐♦♥ Fr,s/F ✳
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❚❤é♦rè♠❡ ✶✳✶✳✺✳ ❙✉♣♣♦s♦♥s q✉❡ p | vF (a)✳ ❙♦✐❡♥t r ≥ s ≥ 0 ❞❡s ❡♥t✐❡rs t❡❧s
q✉❡ r ≥ 1✳ ❈♦♥str✉✐s♦♥s ♣❛r ré❝✉rr❡♥❝❡ ❞❡✉① s✉✐t❡s ❞✬❡♥t✐❡rs ♣♦s✐t✐❢s (r(i))i≥0 ❡t
(s(i))i≥0 ❝♦♠♠❡ s✉✐t ✿ r(0) = s(0) = 0 ❡t✱ ♣♦✉r i ≥ 0✱

(r(i+1), s(i+1)) =











(min{r, r(i) + 1}, s(i)) s✐ s(i) = s

(r(i) + 1, s(i)) s✐ s(i) 6= s ❡t s✐ r(i) = s(i)

(r(i), s(i) + 1) s✐ s(i) 6= s ❡t s✐ r(i) 6= s(i)
.

❆❧♦rs ✿

✐✮ ❧❡s s✉✐t❡s (r(i))i ❡t (s(i))i s♦♥t ❝r♦✐ss❛♥t❡s ❡t st❛t✐♦♥♥❛✐r❡s ❞❡ ❧✐♠✐t❡s r❡s✲
♣❡❝t✐✈❡s r ❡t s✳ ◆♦t♦♥s i0 ❧❡ ♣❧✉s ♣❡t✐t ❡♥t✐❡r i t❡❧ q✉❡ (r(i0), s(i0)) = (r, s) ❀

✐✐✮ ❧❡s i0 s❛✉ts ❞❡ Fr,s/F s♦♥t ❧❡s

τi =

{

t1(r
(i+1), s(i+1)) s✐ s(i) = s ♦✉ s✐ r(i) = s(i)

t2(r
(i+1), s(i+1)) s✐ s(i) 6= s ❡t s✐ r(i) 6= s(i)

❛✈❡❝ i ∈ {0, . . . , i0 − 1}✳ ❉❡ ♣❧✉s✱ ♣♦✉r i ∈ {0, . . . , i0 − 1}✱ ♦♥ ❛

Gal(Fr,s/F )τi = Gal(Fr,s/Fr(i),s(i)).

◆♦✉s ❛✈♦♥s ✉♥ rés✉❧t❛t ❛♥❛❧♦❣✉❡✱ ♠❛✐s t❡❝❤♥✐q✉❡♠❡♥t ♣❧✉s ❞✐✣❝✐❧❡✱ ❞❛♥s ❧❡
❝❛s ♦ù p ∤ vF (a)✳

❚❤é♦rè♠❡ ✶✳✶✳✻✳ ❙✉♣♣♦s♦♥s q✉❡ p ∤ vF (a)✳ ❙♦✐❡♥t r ≥ s ≥ 0 ❞❡s ❡♥t✐❡rs✳
❈♦♥str✉✐s♦♥s ♣❛r ré❝✉rr❡♥❝❡ ❞❡✉① s✉✐t❡s ❞✬❡♥t✐❡rs ♣♦s✐t✐❢s (r(i))i ❡t (s

(i))i ❝♦♠♠❡
s✉✐t ✿ r(0) = s(0) = 0, r(1) = 1 ❡t s(1) = 0 ❡t✱ ♣♦✉r t♦✉t i ≥ 1✱

(r(i+1), s(i+1)) =



















(min{r, r(i) + 1}, s(i)) s✐ s(i) = s

(r(i), s(i) + 1) s✐ s(i) 6= s ❡t s✐ r(i) = r

(r(i) + 1, s(i)) s✐ s(i) 6= s, s✐ r(i) 6= r ❡t s✐ r(i) = s(i) + 1

(r(i), s(i) + 1) s✐ s(i) 6= s, s✐ r(i) 6= r ❡t s✐ r(i) 6= s(i) + 1

.

❆❧♦rs ✿

✐✮ ❧❡s s✉✐t❡s (r(i))i ❡t (s
(i))i s♦♥t ❝r♦✐ss❛♥t❡s ❡t st❛t✐♦♥♥❛✐r❡s ❞❡ ❧✐♠✐t❡s r❡s♣❡❝✲

t✐✈❡s r ❡t s✳ ❖♥ ♥♦t❡ ❛❧♦rs i0 ❧❡ ♣❧✉s ♣❡t✐t ❡♥t✐❡r i t❡❧ q✉❡ (r(i0), s(i0)) = (r, s) ❀

✐✐✮ ❧❡s i0 s❛✉ts ❞❡ Fr,s/F s♦♥t τ0 = t1(1, 0) = 0 ❡t ❧❡s

τi =



















t1(r
(i+1), s(i+1)) s✐ s(i) = s

t2(r
(i+1), s(i+1)) s✐ s(i) 6= s ❡t r(i) = r

t1(r
(i+1), s(i+1)) s✐ s(i) 6= s, r(i) 6= r ❡t r(i) = s(i) + 1

t2(r
(i+1), s(i+1)) s✐ s(i) 6= s, r(i) 6= r ❡t r(i) 6= s(i) + 1

,

❛✈❡❝ i ∈ {1, . . . , i0 − 1}✳ ❉❡ ♣❧✉s✱ ♣♦✉r i ∈ {0, . . . , i0 − 1}✱ ♦♥ ❛ ✿

Gal(Fr,s/F )τi = Gal(Fr,s/Fr(i),s(i)).
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✶✳✷ ❘❛♣♣❡❧s ❡t ♣ré❧✐♠✐♥❛✐r❡s✳

P♦✉r ✉♥❡ ❡①t❡♥s✐♦♥ ❣❛❧♦✐s✐❡♥♥❡ L/K ❞❡ ❣r♦✉♣❡ ❞❡ ●❛❧♦✐s G✱ ✐❧ ❡st ❡♥ ❣é♥ér❛❧
❞✐✣❝✐❧❡ ❞❡ ❝❛❧❝✉❧❡r ❧❡s Gi ✭❡t ♠ê♠❡ ❧❡s s❛✉ts✮✳ ❊♥ r❡✈❛♥❝❤❡✱ s✐ H ❡st ✉♥ s♦✉s✲
❣r♦✉♣❡ ❞❡ G✱ ✐❧ ❡st ❢❛❝✐❧❡ ❞❡ ❝❛❧❝✉❧❡r ❧❡s Hi ❡♥ ❢♦♥❝t✐♦♥ ❞❡s Gi✳ P❧✉s ♣ré❝✐sé♠❡♥t✱
♦♥ ❛ Hi = Gi ∩H ♣♦✉r t♦✉t i ≥ 0 ❬✸✾✱ ❈❤❛♣✐tr❡ ■❱✱ Pr♦♣♦s✐t✐♦♥ ✷❪✳

■❧ ❡st é❣❛❧❡♠❡♥t ♣♦ss✐❜❧❡✱ ❞❛♥s ❧❡ ❝❛s ♦ù H ❡st ✉♥ s♦✉s ❣r♦✉♣❡ ♥♦r♠❛❧ ❞❡
G✱ ❞❡ ❝❛❧❝✉❧❡r ❡①♣❧✐❝✐t❡♠❡♥t ❧❡s q✉♦t✐❡♥ts (G/H)i✳ ❆✈❛♥t ❞✬❡①♣❧✐❝✐t❡r ❧❛ ❢♦r♠✉❧❡✱
ét❡♥❞♦♥s ❞❡ ♠❛♥✐èr❡ ♥❛t✉r❡❧❧❡ ❧❛ ♥♦t✐♦♥ ❞❡ ❣r♦✉♣❡s ❞❡ r❛♠✐✜❝❛t✐♦♥ ❡♥ ♣♦s❛♥t✱
♣♦✉r t♦✉t ré❡❧ u ≥ −1✱ Gu = G⌈u⌉ ♦ù ⌈u⌉ ❞és✐❣♥❡ ❧❛ ♣❛rt✐❡ ❡♥t✐èr❡ s✉♣ér✐❡✉r❡
❞❡ u✳ ❖♥ ♣❡✉t ❛✐♥s✐ ❞é✜♥✐r ❧❛ ❢♦♥❝t✐♦♥ φL/K ❞❡ ❍❡r❜r❛♥❞✱ ✈❛❧❛❜❧❡ ♣♦✉r t♦✉t
u ≥ −1✱ ♣❛r ✿

φL/K(u) =

{

u s✐ − 1 ≤ u < 0
∫ u

0
[G0 : Gt]

−1dt s✐ u ≥ 0
.

❈✬❡st ✉♥❡ ❜✐❥❡❝t✐♦♥ ❞❡ [−1,+∞[ ❞❛♥s ❧✉✐✲♠ê♠❡ ❬✸✾✱ ❈❤❛♣✐tr❡ ■❱✱ Pr♦♣♦s✐t✐♦♥
✶✷❪✳ ◆♦t♦♥s ψL/K s❛ ❜✐❥❡❝t✐♦♥ ré❝✐♣r♦q✉❡✳

❚❤é♦rè♠❡ ✶✳✷✳✶ ✭❍❡r❜r❛♥❞✱ ❈❤❛♣✐tr❡ ■❱✱ ➓✸✱ ▲❡♠♠❡ ✺✱ ❬✸✾❪✮✳ ❙♦✐t K ⊂ L ⊂M
✉♥❡ t♦✉r ❞✬❡①t❡♥s✐♦♥s ✜♥✐❡s t❡❧❧❡ q✉❡ L/K ❡t M/K s♦♥t ❣❛❧♦✐s✐❡♥♥❡s✳ ◆♦t♦♥s
G ❧❡ ❣r♦✉♣❡ ❞❡ ●❛❧♦✐s ❞❡ M/K ❡t H ❝❡❧✉✐ ❞❡ M/L✳ P♦✉r t♦✉t v ≥ 0✱ ♣♦s♦♥s
u = ψM/L(v)✳ ❆❧♦rs Gal(L/K)u ≃ (G/H)v = GuH/H✳

❈❡ t❤é♦rè♠❡ ✈❛ ♥♦✉s ♣❡r♠❡ttr❡ ❞❡ ❝❛❧❝✉❧❡r ❧❡s s❛✉ts ❞✬✉♥❡ t♦✉r ❞✬❡①t❡♥s✐♦♥s
❡♥ ❢♦♥❝t✐♦♥ ❞❡s s❛✉ts ❞❡ ❝❤❛q✉❡ ét❛❣❡✱ ❞ès ❧♦rs q✉❡ ❝❤❛q✉❡ ét❛❣❡ ♣♦ssè❞❡ ✉♥
✉♥✐q✉❡ s❛✉t ❡t q✉❡ ❝❡s s❛✉ts ❢♦r♠❡♥t ✉♥❡ s✉✐t❡ str✐❝t❡♠❡♥t ❝r♦✐ss❛♥t❡✳

▲❡♠♠❡ ✶✳✷✳✷✳ ❙♦✐t K ⊂ L ⊂ M ✉♥❡ t♦✉r ❞✬❡①t❡♥s✐♦♥s ✜♥✐❡s✳ ❙✉♣♣♦s♦♥s q✉❡
M/K ❡t L/K s♦♥t ❣❛❧♦✐s✐❡♥♥❡s✳ ◆♦t♦♥s t1 < · · · < tn ❧❡s s❛✉ts ❞❡ M/L✳
❙✉♣♣♦s♦♥s q✉❡ L/K ♣♦ssè❞❡ ✉♥ ✉♥✐q✉❡ s❛✉t q✉❡ ❧✬♦♥ ♥♦t❡ t ❡t q✉❡ t < t1✳
❆❧♦rs ❧❡s s❛✉ts ❞❡ M/K s♦♥t t, t1, . . . , tn✳ ❉❡ ♣❧✉s✱ ♣♦✉r t♦✉t j ≥ t + 1✱ ♦♥ ❛
Gal(M/K)j = Gal(M/L)j✳

❉é♠♦♥str❛t✐♦♥✳ P♦s♦♥s G = Gal(M/K) ❡t H = Gal(M/L)✳ ▼♦♥tr♦♥s ❞✬❛❜♦r❞
q✉❡ G = Gt✳ ❈♦♠♠❡ t < t1✱ ✐❧ s✬❡♥s✉✐t q✉❡ ψM/L(x) = x ♣♦✉r t♦✉t x ≤ t + 1
✭❝❛r φM/L(x) = x s✐ x ≤ t1✮✳ ❆✐♥s✐✱ ♦♥ ❞é❞✉✐t ❞✉ t❤é♦rè♠❡ ✶✳✷✳✶ q✉❡

G/H = (G/H)t = GtH/H ≃ Gt/(Gt ∩H).

❖r✱ H ∩ Gt = Ht ❡t Ht = H ♣✉✐sq✉❡ t < t1✳ ❆✐♥s✐✱ G/H ≃ Gt/H ❡t ❞♦♥❝
G = Gt ♣✉✐sq✉❡ #G = #Gt ❡t q✉❡ Gt ⊂ G✳

❈♦♠♠❡ L/K ♣♦ssè❞❡ ✉♥ ✉♥✐q✉❡ s❛✉t✱ ♦♥ ❛✱ t♦✉❥♦✉rs ❞✬❛♣rès ❧❡ t❤é♦rè♠❡
✶✳✷✳✶ ✿

{1} = Gal(L/K)t+1 ≃ Gt+1H/H.

❈❡❝✐ ♠♦♥tr❡ ❞♦♥❝ q✉❡ Gt+1 ⊂ H 6= G = Gt✳ ❖♥ ❡♥ ❝♦♥❝❧✉t q✉❡ t ❡st ❧❡ ♣r❡♠✐❡r
s❛✉t ❞❡ G✳ ❉❡ ♣❧✉s✱ ♣♦✉r t♦✉t i ≥ t+ 1✱ ♦♥ ❛ Hi = Gi ∩H = Gi✱ ❝❡ q✉✐ ♣❡r♠❡t
❞❡ ♠♦♥tr❡r q✉❡ ❧❡s ❛✉tr❡s s❛✉ts ❞❡ G s♦♥t t1, . . . , tn✳

❈♦r♦❧❧❛✐r❡ ✶✳✷✳✸✳ ❙♦✐❡♥t n ≥ 2 ❡t K0 ⊂ · · · ⊂ Kn ✉♥❡ t♦✉r ❞✬❡①t❡♥s✐♦♥s
✜♥✐❡s✳ ❖♥ s✉♣♣♦s❡ q✉❡ ♣♦✉r t♦✉t i✱ Ki/K0 ❡st ❣❛❧♦✐s✐❡♥♥❡ ❡t Ki+1/Ki ❛❞♠❡t ✉♥
✉♥✐q✉❡ s❛✉t q✉❡ ❧✬♦♥ ♥♦t❡ ti✳ ❙✐ t0 < · · · < tn−1✱ ❛❧♦rs ❧❡s s❛✉ts ❞❡ Kn/K1 s♦♥t
t0, . . . , tn−1 ❡t Gal(Kn/K1)ti = Gal(Kn/Ki) ♣♦✉r t♦✉t i ✳
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❉é♠♦♥str❛t✐♦♥✳ ❙✉♣♣♦s♦♥s q✉❡ ♣♦✉r ✉♥ ❡♥t✐❡r l ≤ n − 1✱ ❧❡s s❛✉ts ❞❡ Kn/Kl

s♦✐❡♥t tl, . . . , tn−1 ❡t q✉❡ ♣♦✉r t♦✉t j ≥ l✱ ♦♥ ❛ Gal(Kn/Kl)tj = Gal(Kn/Kj)
✭♣❛r ❤②♣♦t❤ès❡✱ ❝✬❡st ✈r❛✐ ♣♦✉r l = n − 1✮✳ ❊♥ ❛♣♣❧✐q✉❛♥t ❛❧♦rs ❧❡ ❧❡♠♠❡ ✶✳✷✳✷
à M = Kn✱ à L = Kl ❡t à K = Kl−1✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ ❧❡s s❛✉ts ❞❡ Kn/Kl−1

s♦♥t ❧❡s tl−1, . . . , tn−1 ❡t q✉❡ ♣♦✉r t♦✉t j ≥ l✱

Gal(Kn/Kl−1)tj = Gal(Kn/Kl)tj = Gal(Kn/Kj).

❉❡ ♣❧✉s✱ ♣❛r ❞é✜♥✐t✐♦♥ ❞❡ tl−1✱ ♦♥ ❛ Gal(Kn/Kl−1)tl−1
= Gal(Kn/Kl−1)✳ ❖♥

❡♥ ❞é❞✉✐t ❧❡ ❝♦r♦❧❧❛✐r❡ ❡♥ ♣r♦❝é❞❛♥t ♣❛r ré❝✉rr❡♥❝❡✳

➚ ♣❛rt✐r ❞❡ ♠❛✐♥t❡♥❛♥t✱ ♦♥ ✉t✐❧✐s❡r❛ ❧❡s ♥♦t❛t✐♦♥s s✉✐✈❛♥t❡s✳ P♦✉r ✉♥ ❝♦r♣s
❧♦❝❛❧ K✱ ♥♦t♦♥s vK ❧❛ ✈❛❧✉❛t✐♦♥ ♥♦r♠❛❧✐sé❡ s✉r K ❡t pK s♦♥ ✐❞é❛❧ ♣r❡♠✐❡r✳
P♦✉r ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ L/K ✭♥♦♥ ♥é❝❡ss❛✐r❡♠❡♥t ❣❛❧♦✐s✐❡♥♥❡✮✱ ♦♥ ♥♦t❡ DL/K
❧❛ ❞✐✛ér❡♥t❡ ❞❡ ❝❡tt❡ ❡①t❡♥s✐♦♥✳ ❙✐ L/K ❡st ❣❛❧♦✐s✐❡♥♥❡✱ ✐❧ ❡①✐st❡ ✉♥ ❧✐❡♥ ❡♥tr❡ s❛
❞✐✛ér❡♥t❡ ❡t ❧❡ ❝❛r❞✐♥❛❧ ❞❡ s❡s ❣r♦✉♣❡s ❞❡ r❛♠✐✜❝❛t✐♦♥✳ ❈❡ ❧✐❡♥ ❡st rés✉♠é ❞❛♥s
❧❛ ♣r♦♣♦s✐t✐♦♥ ❝✐✲❞❡ss♦✉s✳

Pr♦♣♦s✐t✐♦♥ ✶✳✷✳✹ ✭❈❤❛♣✐tr❡ ■❱✱ Pr♦♣♦s✐t✐♦♥ ✹✱ ❬✸✾❪✮✳ P♦✉r t♦✉t❡ ❡①t❡♥s✐♦♥
❣❛❧♦✐s✐❡♥♥❡ ❡t ✜♥✐❡ ❞❡ ❝♦r♣s ❧♦❝❛✉① L/K✱ ♦♥ ❛ ✿

vL(DL/K) =

∞
∑

i=0

(#Gal(L/K)i − 1).

❊♥ ♣❛rt✐❝✉❧✐❡r✱ s✐ L/K ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ❣❛❧♦✐s✐❡♥♥❡ t♦t❛❧❡♠❡♥t r❛♠✐✜é❡ ❞❡
❞❡❣ré d ❡t q✉✬❡❧❧❡ ♣♦ssè❞❡ ✉♥ ✉♥✐q✉❡ s❛✉t t✱ ❛❧♦rs

vL(DL/K) = (d− 1)(t+ 1). ✭✶✳✶✮

◆♦✉s ❛❧❧♦♥s ♠❛✐♥t❡♥❛♥t ét✉❞✐❡r ❧❡s s❛✉ts ❞❡ ❝❡rt❛✐♥❡s ❡①t❡♥s✐♦♥s r❛❞✐❝❛❧❡s
❡t ♣r✐♥❝✐♣❛❧❡♠❡♥t ❧❡s ❡①t❡♥s✐♦♥s ❞❡ ❑✉♠♠❡r ❞✬❡①♣♦s❛♥t p✳ ❈♦♠♠❡♥ç♦♥s ♣❛r
❞ét❡r♠✐♥❡r ❧❡ s❛✉t ❞✬✉♥❡ ❡①t❡♥s✐♦♥ ❝②❝❧✐q✉❡ ❞❡ ❞❡❣ré p✳

❉é✜♥✐t✐♦♥ ✶✳✷✳✺✳ ❙♦✐❡♥t K ✉♥ ❝♦r♣s ❧♦❝❛❧ ❡t α ∈ K\Kp✳ ◆♦t♦♥s

✐✮ ♣♦✉r t♦✉t ❡♥t✐❡r i ≥ 0✱ U
(i)
K = {x ∈ OK | x ≡ 1 mod piK} ❀

✐✐✮ cK(α) = sup{i ∈ N∗| ∃x ∈ K∗, αx−p ∈ U
(i)
K }✳

❆✈❡❝ ❝❡tt❡ ❞é✜♥✐t✐♦♥✱ ✐❧ ❡st ✐♠♠é❞✐❛t q✉❡ cK(αx−p) = cK(α) ♣♦✉r t♦✉t
x ∈ K∗✳

❘❡♠❛rq✉❡ ✶✳✷✳✻✳ ❙♦✐❡♥t K ✉♥ ❝♦r♣s ❧♦❝❛❧ ❡t α ∈ K\Kp✳ ❙✉♣♣♦s♦♥s q✉✬✐❧
❡①✐st❡ y ∈ K∗ t❡❧ q✉❡ αy−p ∈ OK ❡t αy−p ≡ 1 mod pF1,s

✭✐✳❡✳ cK(α) ≥ 1✮✳
❊♥ ♣❛rt✐❝✉❧✐❡r✱ vK(αy−p) = 0 ❡t ❞♦♥❝✱ vK(α) = pvK(y)✳ P❛r ❝♦♥séq✉❡♥t✱ s✐
p ∤ vK(α)✱ ❛❧♦rs cK(α) = 0✳

❉❡ ❝❡tt❡ r❡♠❛rq✉❡✱ ♦♥ ♦❜t✐❡♥t ❛❧♦rs ❧❡ t❤é♦rè♠❡ s✉✐✈❛♥t ✿

❚❤é♦rè♠❡ ✶✳✷✳✼ ✭❍❡❝❦❡✱ ❚❤❡♦r❡♠ ✶✵✳✷✳✾✱ ❬✶✻❪✮✳ ❙♦✐❡♥t K ✉♥ ❝♦r♣s ❧♦❝❛❧ t❡❧
q✉❡ ζp ∈ K ❡t α ∈ K\Kp✳ ❙✐ K( p

√
α)/K ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é✱ ❛❧♦rs

vK( p
√
α)(DK( p

√
α)/K) = (p− 1)

(

pe(K|Qp)
p− 1

− cK(α) + 1

)

.
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❉❛♥s ❬✶✻✱ ❚❤❡♦r❡♠ ✶✵✳✷✳✾❪✱ ❧❡ ❧❡❝t❡✉r ♣♦✉rr❛ r❡♠❛rq✉❡r q✉❡ ❧❡ a ✐♥tr♦❞✉✐t
❞❛♥s ❧❡ (3) ❞❡ ❝❡ t❤é♦rè♠❡ ❝♦rr❡s♣♦♥❞ à ♥♦tr❡ cK(α)✳ ❊♥ ❝♦♠❜✐♥❛♥t ✭✶✳✶✮ ❡t ❧❡
t❤é♦rè♠❡ ✶✳✷✳✼✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡

❈♦r♦❧❧❛✐r❡ ✶✳✷✳✽✳ ❙♦✐❡♥t K ✉♥ ❝♦r♣s ❧♦❝❛❧ t❡❧ q✉❡ ζp ∈ K ❡t α ∈ K\Kp✳
❙✉♣♣♦s♦♥s q✉❡ K( p

√
α)/K s♦✐t t♦t❛❧❡♠❡♥t r❛♠✐✜é✳ ❆❧♦rs s♦♥ ✭✉♥✐q✉❡✮ s❛✉t ✈❛✉t

pe(K|Qp)
p− 1

− cK(α).

Pr♦♣♦s✐t✐♦♥ ✶✳✷✳✾✳ ❙♦✐❡♥t K/Qp ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ t❡❧❧❡ q✉❡ ζp ∈ K ❡t α ∈
K\Kp✳ ◆♦t♦♥s é❣❛❧❡♠❡♥t Ks = K(α1/ps) ❡t ts ❧❡ s❛✉t ❞❡ Ks/Ks−1✳ ❙✐ K1/K
❡st r❛♠✐✜é✱ ❛❧♦rs ❧❛ s✉✐t❡ (ts)s≥1 ❡st str✐❝t❡♠❡♥t ❝r♦✐ss❛♥t❡✳

❉é♠♦♥str❛t✐♦♥✳ ❈♦♠♠❡♥ç♦♥s ♣❛r ♠♦♥tr❡r q✉❡ Ks/Ks−1 ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é
♣♦✉r t♦✉t s ≥ 1✳ ❙✉♣♣♦s♦♥s ♣❛r ❧✬❛❜s✉r❞❡ q✉✬✐❧ ❡①✐st❡ s t❡❧ q✉❡ Ks/Ks−1 ♥❡
s♦✐t ♣❛s r❛♠✐✜é✳ ▲✬❡①t❡♥s✐♦♥ Ks/K ♥✬❡st ❞♦♥❝ ♣❛s t♦t❛❧❡♠❡♥t r❛♠✐✜é❡✳ ❈♦♠♠❡
p 6= 2✱ ❧❡s s♦✉s✲❝♦r♣s ❞❡ ❝❡tt❡ ❡①t❡♥s✐♦♥ s♦♥t ❧❡s Kg ❛✈❡❝ g = 0, . . . , s ❬✶✱ ❚❤❡♦✲
r❡♠ ✷✳✶❪✳ ■❧ s✬❡♥s✉✐t q✉❡K1/K ❡st ♥♦♥ r❛♠✐✜é❡✱ ❝❡ q✉✐ ❡st ❛❜s✉r❞❡ ♣❛r ❤②♣♦t❤ès❡✳

◆♦t♦♥s φs = φKs/Ks−1
❡t cs = cKs

(α1/ps)✳ ❙♦✐t y ∈ Ks t❡❧ q✉❡

α1/psy−p ∈ U
(cs)
Ks

.

❊♥ ♣❛ss❛♥t à ❧❛ ♥♦r♠❡ Ns := NKs/Ks−1
✱ ✐❧ s✬❡♥s✉✐t q✉❡ α1/ps−1

Ns(y)
−p ∈

Ns(U
(cs)
Ks

)✳ ❉✬❛♣rès ❬✸✾✱ Pr♦♣♦s✐t✐♦♥ ✹✱ ❈❤❛♣✐tr❡ ❱❪✱ ♦♥ ❛ ❞♦♥❝ q✉❡ α1/ps−1

Ns(y)
−p ∈

U
(⌊φs(cs)⌋)
Ks−1

✳ ❉✬♦ù ⌊φs(cs)⌋ ≤ cs−1✳ P❛r ❛✐❧❧❡✉rs✱ ❞✬❛♣rès ❧❡ ❝♦r♦❧❧❛✐r❡ ✶✳✷✳✽✱ ♦♥ ♦❜✲
t✐❡♥t q✉❡

ts =
p

p− 1
e(Ks−1|Qp)− cs−1 ✭✶✳✷✮

ts+1 =
p

p− 1
e(Ks|Qp)− cs. ✭✶✳✸✮

❙✐ cs ≤ ts✱ ❛❧♦rs φs(cs) = cs ❡t ❞♦♥❝ cs ≤ cs−1✳ ❈♦♠♠❡ e(Ks|Qp) >
e(Ks−1|Qp)✱ ✐❧ s✬❡♥s✉✐t ❞❡ ✭✶✳✷✮ ❡t ✭✶✳✸✮ q✉❡ ts+1 > ts✳

❙✐ cs > ts✱ ❛❧♦rs φs(cs) = ts + (cs − ts)/p✳ ❉✬♦ù ts + (cs − ts)/p < cs−1 + 1
♦✉ ❡♥❝♦r❡

cs < ts + p(cs−1 + 1− ts).

❊♥ ✉t✐❧✐s❛♥t ✭✶✳✷✮ ❡t ✭✶✳✸✮✱ ♦♥ ❛✱ ❛♣rès q✉❡❧q✉❡s ❝❛❧❝✉❧s✱ q✉❡

ts+1 + p

(

pe(Ks−1|Qp)
p− 1

− e(Ks|Qp)
p− 1

)

> (2p− 1)ts − p.

❈♦♠♠❡ α ∈ K∗\(K∗)p✱ ❛❧♦rsKs/Ks−1 ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ❞❡ ❞❡❣ré p✳ ❉❡ ♣❧✉s✱ ❡❧❧❡
❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é ❞✬❛♣rès ❧❡ ❞é❜✉t ❞❡ ❧❛ ♣r❡✉✈❡✳ ■❧ s✬❡♥s✉✐t q✉❡ e(Ks|Qp) =
pe(Ks−1|Qp)✳ ■❧ ❡♥ rés✉❧t❡ ❞♦♥❝ q✉❡ ts+1 > (2p−1)ts−p✳ ❈♦♠♠❡ (2p−1)ts−p ≥
ts ♣✉✐sq✉❡ ts ≥ 1✱ ♦♥ ❡♥ ❞é❞✉✐t ❛❧♦rs ❧❛ ♣r♦♣♦s✐t✐♦♥✳

◆♦✉s ❛❧❧♦♥s ♠❛✐♥t❡♥❛♥t ét✉❞✐❡r ❧❡s s❛✉ts ❞✬✉♥❡ ❡①t❡♥s✐♦♥ ❣❛❧♦✐s✐❡♥♥❡ ❞❡
❣r♦✉♣❡ ❞❡ ●❛❧♦✐s (Z/pZ)2✳
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Pr♦♣♦s✐t✐♦♥ ✶✳✷✳✶✵✳ ❙♦✐❡♥t K1 ❡t K2 ❞❡✉① ❝♦r♣s ❧♦❝❛✉① ❡t K = K1 ∩ K2✳
❖♥ s✉♣♣♦s❡ q✉❡ K1/K ❡t K2/K s♦♥t ❣❛❧♦✐s✐❡♥♥❡s✱ q✉❡ K1K2/K ❡st t♦t❛❧❡♠❡♥t
r❛♠✐✜é ❡t q✉❡ K1/K, K2/K, K1K2/K2 ❡t K1K2/K1 ♣♦ssè❞❡♥t t♦✉s ✉♥ ✉♥✐q✉❡
s❛✉t q✉❡ ❧✬♦♥ ♥♦t❡ r❡s♣❡❝t✐✈❡♠❡♥t t1, t2, t

′
1 ❡t t′2✳ ◆♦t♦♥s di = [Ki : K]✳ ❆❧♦rs

✐✮ d2(d1 − 1)t1 + (d2 − 1)t′2 = d1(d2 − 1)t2 + (d1 − 1)t′1✳

✐✐✮ ❉❡ ♣❧✉s✱ s✐ d1 = d2 = p ❡t t′1 < t′2✱ ❛❧♦rs

{

t′1 = t1

t′2 = pt2 + (1− p)t1.

❉é♠♦♥str❛t✐♦♥✳ i) ❈♦♠♠❡ K1K2/K ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é✱ ♦♥ ❞é❞✉✐t ❞❡ ❧❛
❢♦r♠✉❧❡ ❬✸✾✱ ❈❤❛♣✐tr❡ ■■■✱ Pr♦♣♦s✐t✐♦♥ ✽❪ s✉r ❧❛ ❝♦♠♣♦sé❡ ❞❡ ❞❡✉① ❞✐✛ér❡♥t❡s
q✉❡

v := vK1K2
(DK1K2/K) = vK1K2

(DK1K2/K1
) + [K1K2 : K1]vK1

(DK1/K)

= vK1K2
(DK1K2/K2

) + [K1K2 : K2]vK2
(DK2/K).

❈♦♠♠❡ [K1K2 : K1] = d2 ❡t [K1K2 : K2] = d1✱ ♦♥ ❛✱ ❡♥ ✉t✐❧✐s❛♥t q✉❛tr❡ ❢♦✐s
✭✶✳✶✮✱ q✉❡ ✿

v = (d2 − 1)(t′2 + 1) + d2(d1 − 1)(t1 + 1)

= (d1 − 1)(t′1 + 1) + d1(d2 − 1)(t2 + 1).
✭✶✳✹✮

▲❡ i) s✬❡♥s✉✐t ❡♥ ❝♦♠♣❛r❛♥t ❝❡s é❣❛❧✐tés✳

ii) ❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ d1 = d2 = p ❡t q✉❡ t′1 < t′2✳ ❈♦♠♠❡Gal(K1K2/K)
❡st ❞✬♦r❞r❡ p2✱ ✐❧ ♥❡ ♣❡✉t ❛❧♦rs ❛✈♦✐r q✉✬❛✉ ♣❧✉s ❞❡✉① s❛✉ts✳ ❉❡ ♣❧✉s✱

G := Gal(K1K2/K) = Gal(K1K2/K1)Gal(K1K2/K2).

❆✐♥s✐✱Gt′1 = G✱Gt′1+1 = Gal(K1K2/K1) ❡tGt′2+1 = {id}✳ ▲❡s s❛✉ts ❞❡K1K2/K
s♦♥t ❞♦♥❝ t′1 ❡t t′2 ♣✉✐sq✉✬✐❧s s♦♥t ❞✐st✐♥❝ts ♣❛r ❤②♣♦t❤ès❡✳ ❊♥ ✉t✐❧✐s❛♥t ❧❛ ♣r♦♣♦✲
s✐t✐♦♥ ✶✳✷✳✹ ❛✈❡❝ L = K1K2✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡

v = (p2 − 1)(t′1 + 1) + (p− 1)(t′2 − t′1)

= (p− 1)(pt′1 + p+ 1 + t′2).

P❛r ❛✐❧❧❡✉rs✱ ✭✶✳✹✮ s✬é❝r✐t ✭❡♥ ❢❛❝t♦r✐s❛♥t ♣❛r d1 − 1 = d2 − 1 = p− 1✮

v = (p− 1)(t′2 + 1 + p(t1 + 1))

= (p− 1)(t′1 + 1 + p(t2 + 1)).

❊♥ ❝♦♠♣❛r❛♥t ❝❡s tr♦✐s r❡❧❛t✐♦♥s✱ ♦♥ ♦❜t✐❡♥t q✉❡ pt1 + t′2 = pt2 + t′1 = pt′1 + t′2
❡t ❞♦♥❝ q✉❡ t1 = t′1✳ ❉❡ ♣❧✉s✱ t′2 = pt2 + t′1 − pt′1 = pt2 +(1− p)t1✱ ❝❡ q✉✐ ♠♦♥tr❡
ii)✳

▲❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶ ♥✬❡st q✉✬✉♥ ❝❛s ♣❛rt✐❝✉❧✐❡r ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✵✱
♠❛✐s q✉✐ s❡ ré✈è❧❡ êtr❡ ❧❡ ♣♦✐♥t ❝❧é ♣♦✉r ♣r♦✉✈❡r ❧❡s t❤é♦rè♠❡s ✶✳✶✳✺ ❡t ✶✳✶✳✻✳

Pr♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶✳ ❙♦✐❡♥t r ≥ 2 ❡t s ≥ 1 ❞❡s ❡♥t✐❡rs✳ ❆❧♦rs
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✐✮ t1(r, s)− t2(r, s) = p(t1(r, s− 1)− t2(r − 1, s)) ❀

✐✐✮ s✐ t1(r, s) < t2(r, s)✱ ❛❧♦rs

t1(r, s) = t1(r, s− 1);

✐✐✐✮ s✐ t2(r, s) < t1(r, s)✱ ❛❧♦rs

t2(r, s) = t2(r − 1, s).

❉é♠♦♥str❛t✐♦♥✳ i) ❆♣♣❧✐q✉♦♥s ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✵ à K1 = Fr,s−1 ❡t à K2 =
Fr−1,s✳ ❆❧♦rs K1K2 = Fr,s ❡t K1 ∩K2 = Fr−1,s−1✳ ❉✬❛♣rès ❧❛ r❡♠❛rq✉❡ ✶✳✶✳✸✱
❛♣♣❧✐q✉é❡ ❛✈❡❝ s − 1 ❛✉ ❧✐❡✉ ❞❡ s✱ ❛✈❡❝ r′ = r − 1 ✭r′ ≥ 1 ❝❛r r ≥ 2✮ ❡t ❛✈❡❝
s′ = s − 1✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ K1/K1 ∩K2 = Fr,s−1/Fr−1,s−1 ❡st ❣❛❧♦✐s✐❡♥ ✭❝❛r
ζp ∈ Fr−1,s−1✮ ❞❡ ❞❡❣ré p✳ ❉❡ ♠ê♠❡✱ ❧❛ r❡♠❛rq✉❡ ✶✳✶✳✸✱ ❛♣♣❧✐q✉é❡ ❛✈❡❝ r − 1
❛✉ ❧✐❡✉ ❞❡ r✱ ❛✈❡❝ r′ = r − 1 ❡t ❛✈❡❝ s′ = s − 1✱ ♠♦♥tr❡ q✉❡ K2/K1 ∩ K2 =
Fr−1,s/Fr−1,s−1 ❡st ❣❛❧♦✐s✐❡♥ ❞❡ ❞❡❣ré p✳ ❆✈❡❝ ❧❡s ♥♦t❛t✐♦♥s ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥
✶✳✷✳✶✵✱ ♦♥ ♦❜t✐❡♥t q✉❡











d1 = d2 = p

t1 = t1(r, s− 1), t2 = t2(r − 1, s)

t′1 = t1(r, s), t
′
2 = t2(r, s).

❉❡ ♣❧✉s✱ ❡♥ ❛♣♣❧✐q✉❛♥t ❞❡ ♥♦✉✈❡❛✉ ❧❛ r❡♠❛rq✉❡ ✶✳✶✳✸ ❛✈❡❝ r′ = r − 1 ❡t ❛✈❡❝
s′ = s− 1✱ ♦♥ ♦❜t✐❡♥t ❛❧♦rs q✉❡ K1K2/K1 ∩K2 = Fr,s/Fr−1,s−1 ❡st t♦t❛❧❡♠❡♥t
r❛♠✐✜é✳ ❆✐♥s✐✱ ❞✬❛♣rès ❧❡ i) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✵✱ pt1+ t′2 = pt2+ t

′
1 ♦✉ ❡♥❝♦r❡

t′2 − t′1 = p(t2 − t1)✱ ❝❡ q✉✐ ❝♦rr❡s♣♦♥❞ à ❧❛ ❢♦r♠✉❧❡ s♦✉❤❛✐té❡✳

ii) ●❛r❞♦♥s ❧❡s ♥♦t❛t✐♦♥s ❞✉ i)✳ ❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ t1(r, s) < t2(r, s)✱
✐✳❡✳ t′1 < t′2✳ ❈♦♠♠❡ d1 = d2 = p✱ ♦♥ ❞é❞✉✐t ❞✉ ii) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✵ q✉❡
t′1 = t1✱ ❝❡ q✉✐ ❝♦rr❡s♣♦♥❞ à ❧❛ ❢♦r♠✉❧❡ s♦✉❤❛✐té❡✳

iii) ▲❛ ♣r❡✉✈❡ ❞✉ iii) ❡st ❛♥❛❧♦❣✉❡ à ❝❡❧❧❡ ❞✉ ♣♦✐♥t ii) ❡♥ ♣r❡♥❛♥t ❝❡tt❡ ❢♦✐s✲❝✐
K1 = Fr−1,s ❡t K2 = Fr,s−1✳ ◆♦✉s ❧❛ réé❝r✐✈♦♥s ♣♦✉r ❧❛ ❝♦♠♠♦❞✐té ❞✉ ❧❡❝t❡✉r✳

❆♣♣❧✐q✉♦♥s ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✵ à K1 = Fr−1,s ❡t à K2 = Fr,s−1✳ ❖♥ ♦❜t✐❡♥t
❛❧♦rs q✉❡ K1K2 = Fr,s ❡t K1 ∩ K2 = Fr−1,s−1✳ ❉✬❛♣rès ❧❛ r❡♠❛rq✉❡ ✶✳✶✳✸✱
❛♣♣❧✐q✉é❡ ❛✈❡❝ r− 1 ❛✉ ❧✐❡✉ ❞❡ r✱ ❛✈❡❝ r′ = r− 1 ❡t ❛✈❡❝ s′ = s− 1✱ ♠♦♥tr❡ q✉❡
K1/K1 ∩K2 = Fr−1,s/Fr−1,s−1 ❡st ❣❛❧♦✐s✐❡♥ ❞❡ ❞❡❣ré p✳ ❉❡ ♠ê♠❡✱ ❧❛ r❡♠❛rq✉❡
✶✳✶✳✸✱ ❛♣♣❧✐q✉é❡ ❛✈❡❝ s−1 ❛✉ ❧✐❡✉ ❞❡ s✱ ❛✈❡❝ r′ = r−1 ✭r′ ≥ 1 ❝❛r r ≥ 2✮ ❡t ❛✈❡❝
s′ = s − 1✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ K2/K1 ∩K2 = Fr,s−1/Fr−1,s−1 ❡st ❣❛❧♦✐s✐❡♥ ✭❝❛r
ζp ∈ Fr−1,s−1✮ ❞❡ ❞❡❣ré p✳ ❆✈❡❝ ❧❡s ♥♦t❛t✐♦♥s ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✵✱ ♦♥ ❛ q✉❡











d1 = d2 = p

t1 = t2(r − 1, s), t2 = t1(r, s− 1)

t′1 = t2(r, s), t
′
2 = t1(r, s).

❉❡ ♣❧✉s✱ ❞✬❛♣rès ❧❡ ❧❡♠♠❡ ✶✳✶✳✷✱ K1K2/K1 ∩K2 ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é✳ ❈♦♠♠❡
t2(r, s) < t1(r, s)✱ ✐✳❡✳ t′1 < t′2 ❡t q✉❡ d1 = d2 = p✱ ♦♥ ❞é❞✉✐t ❞✉ ii) ❞❡ ❧❛
♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✵ q✉❡ t′1 = t1✱ ❝❡ q✉✐ ❝♦rr❡s♣♦♥❞ à ❧❛ ❢♦r♠✉❧❡ s♦✉❤❛✐té❡✳



✶✳✸✳ ❈❆▲❈❯▲ ❉❊❙ TK(R,S) ❆❱❊❈ K ∈ {1, 2}✳ ✷✸

✶✳✸ ❈❛❧❝✉❧ ❞❡s tk(r, s) ❛✈❡❝ k ∈ {1, 2}✳
❉❛♥s ❝❡tt❡ s❡❝t✐♦♥✱ ♦♥ s❡ ♣r♦♣♦s❡ ❞❡ ❝❛❧❝✉❧❡r ❡①♣❧✐❝✐t❡♠❡♥t ❧❡s ♥♦♠❜r❡s t1(r, s)
❡t t2(r, s) ♣♦✉r ❞❡s ✈❛❧❡✉rs ❞❡ r ≥ 1 ❡t s ≥ 0 q✉❡❧❝♦♥q✉❡s✳ ▲❡ ❝❛s F = Qp ❛ été
tr❛✐té ♣❛r ❱✐✈✐❛♥✐ ❞❛♥s ❬✹✻❪✳ ◆é❛♥♠♦✐♥s✱ s♦♥ ❛♣♣r♦❝❤❡ ❡st ❜❛sé❡ s✉r ❧❡ ❢❛✐t q✉❡
❧✬♦♥ ❝♦♥♥❛✐ss❡ ✉♥❡ ✉♥✐❢♦r♠✐s❛♥t❡ ❞❡ F1,s+1/F1,s ❬✹✻✱ ▲❡♠♠❛ ✺✳✼✱ ▲❡♠♠❛ ✻✳✹❪✳
❈❡tt❡ ♠ét❤♦❞❡ ♥❡ s❡♠❜❧❡ ♣❛s ♣♦✉✈♦✐r s❡ ❣é♥ér❛❧✐s❡r ❞ès ❧♦rs q✉❡ ❧✬♦♥ r❡♠♣❧❛❝❡
Qp ♣❛r F ✱ ❝❡ q✉✐ ♥♦✉s ❛ ❝♦♥❞✉✐t à ♣❧✉tôt ✉t✐❧✐s❡r ❧❡ ❝♦r♦❧❧❛✐r❡ ✶✳✷✳✽✳

❘❡♠❛rq✉❡ ✶✳✸✳✶✳ ❊♥ ❛♣♣❧✐q✉❛♥t ❧❛ r❡♠❛rq✉❡ ✶✳✶✳✸ ❛✈❡❝ r = 1✱ r′ = 1 ❡t ❛✈❡❝
s′ = 0✱ ♦♥ ♦❜t✐❡♥t ❛❧♦rs q✉❡ F1,s/F1,0 ❡st ✉♥❡ ❡①t❡♥s✐♦♥ t♦t❛❧❡♠❡♥t r❛♠✐✜é❡ ❞❡
❞❡❣ré ps✳ ❉❡ ♣❧✉s✱ F1,0/F ❡st ✉♥❡ ❡①t❡♥s✐♦♥ t♦t❛❧❡♠❡♥t r❛♠✐✜é❡ ❞❡ ❞❡❣ré p− 1✳
❆✐♥s✐✱ F1,s/F ❡st ✉♥❡ ❡①t❡♥s✐♦♥ t♦t❛❧❡♠❡♥t r❛♠✐✜é❡ ❞❡ ❞❡❣ré (p− 1)ps✳ ❉✬❛♣rès
❧❡ ❝♦r♦❧❧❛✐r❡ ✶✳✷✳✽✱ ❛♣♣❧✐q✉é à K = F1,s ❡t à α = a1/p

s

✱ ♦♥ ❡♥ ❞é❞✉✐t ❞♦♥❝ q✉❡

t2(1, s+ 1) = ps+1 − cF1,s
(a1/p

s

).

❘❡♠❛rq✉❡ ✶✳✸✳✷✳ ❙♦✐t s ≥ 1 ✉♥ ❡♥t✐❡r✳ ❉✬❛♣rès ❧❡ ❧❡♠♠❡ ✶✳✶✳✷✱ F1,s/F ✱ ❡t ❞♦♥❝
F1,s/F0,s✱ ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é✳ ❉❡ ♣❧✉s✱ r❡♠❛rq✉♦♥s q✉❡

[F1,s : F0,s] := [F (ζp, a
1/ps) : F (a1/p

s

)] = p− 1.

❙✉♣♣♦s♦♥s ♣❛r ❧✬❛❜s✉r❞❡ q✉❡ ❝❡ ♥❡ s♦✐t ♣❛s ❧❡ ❝❛s✱ ✐✳❡✳ q✉❡ [F1,s : F0,s] < p− 1✳
❈♦♠♠❡ [F (a1/p

s

) : F ] ≤ ps✱ ✐❧ ❡♥ rés✉❧t❡r❛✐t ❛❧♦rs q✉❡ [F1,s : F ] < (p− 1)ps✱ ❝❡
q✉✐ ❝♦♥tr❡❞✐t ❧❡ ❧❡♠♠❡ ✶✳✶✳✷✱ ❛♣♣❧✐q✉é ❛✈❡❝ r = 1✳

❆✈❛♥t ❞❡ ♣♦✉✈♦✐r ♣r♦✉✈❡r ❧❡s t❤é♦rè♠❡s ✶✳✸✳✺ ❡t ✶✳✸✳✻✱ ♦♥ ❛✉r❛ ❜❡s♦✐♥✱ ❛✉
♣ré❛❧❛❜❧❡✱ ❞✉ ❝❛❧❝✉❧ ❞❡ t1(r, 0) ❡t ❞❡ t2(1, s) ♣♦✉r t♦✉s ❡♥t✐❡rs r, s ≥ 1✳

▲❡♠♠❡ ✶✳✸✳✸✳ P♦✉r t♦✉t r ≥ 1✱ ❧✬❡①t❡♥s✐♦♥ F (ζpr )/F (ζpr−1) ♣♦ssè❞❡ ✉♥ ✉♥✐q✉❡
s❛✉t é❣❛❧ à pr−1 − 1✳ ❊♥ ❞✬❛✉tr❡s t❡r♠❡s✱ t1(r, 0) = pr−1 − 1✳

❉é♠♦♥str❛t✐♦♥✳ ▲❛ ♣r❡✉✈❡ ❛ été ❢❛✐t❡ ❞❛♥s ❬✸✾✱ ❈❤❛♣✐tr❡ ■❱✱ ➓✹❪ ♣♦✉r ❧❡ ❝❛s F =
Qp✳ ◆é❛♥♠♦✐♥s✱ ❝♦♠♠❡ F/Qp ❡st ♥♦♥ r❛♠✐✜é❡✱ ♦♥ ❛ ❛❧♦rs✱ ❞✬❛♣rès ❬✸✵✱ s❡❝t✐♦♥
✶✱ ❡①❡♠♣❧❡ ✷❪✱ ❛♣♣❧✐q✉é ❛✈❡❝ ✷ K ′ = F (ζpr−1),K = Qp(ζpr−1) ❡t L = Qp(ζpr )✱
q✉❡

Gal(F (ζpr )/F (ζpr−1))i ≃ Gal(Qp(ζpr )/Qp(ζpr−1))i

♣♦✉r t♦✉t i ≥ 0 ✳ ■❧ s✬❡♥s✉✐t ❞♦♥❝ q✉❡ F (ζpr )/F (ζpr−1) ♣♦ssè❞❡ ✉♥ ✉♥✐q✉❡ s❛✉t
é❣❛❧ à pr−1 − 1✳

▲❡♠♠❡ ✶✳✸✳✹✳ ❙♦✐t s ≥ 0 ✉♥ ❡♥t✐❡r✳ ❆❧♦rs

✐✮ t2(1, s+ 1) = ps+1 − p+ 1 s✐ p | vF (a) ❀

✐✐✮ t2(1, s+ 1) = ps+1 s✐ p ∤ vF (a)✳

❉é♠♦♥str❛t✐♦♥✳ i) P♦s♦♥s cs = cF1,s(a
1/ps) ❡t f = [F : Qp]✳ ❈♦♠♠❡ (a1/p

s

)1−p
f

=

a1/p
s

(a1/p
s−f+1

)−p✱ ♦♥ ❛✱ ♣❛r ❞é✜♥✐t✐♦♥ ❞❡ cK(α)✱ ✭❝❢ ❞é✜♥✐t✐♦♥ ✶✳✷✳✺✮✱

cs = cF1,s
((a1/p

s

)1−p
f

).

✷K′/K ❡st ♥♦♥ r❛♠✐✜é ♣✉✐sq✉❡ F/Qp ❧✬❡st
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❙✉♣♣♦s♦♥s ❞✬❛❜♦r❞ vF (a) = 0✳ ❉❛♥s ❝❡ ❝❛s✱ a1/p
s ∈ O×

F1,s
✳ ❈♦♠♠❡ Fs,s/F

❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é❡ ❞✬❛♣rès ❧❡ ❧❡♠♠❡ ✶✳✶✳✷✱ ✐❧ s✬❡♥s✉✐t q✉❡ F0,s/F ❡st ❛✉ss✐
t♦t❛❧❡♠❡♥t r❛♠✐✜é✳ P❛r ❝♦♥séq✉❡♥t✱

OF0,s
/pF0,s

≃ Fpf .

❖♥ ❡♥ ❞é❞✉✐t ❛❧♦rs q✉❡ (a1/p
s

)1−p
f ≡ 1 mod pF0,s

✳ ❉✬❛♣rès ❧❛ r❡♠❛rq✉❡ ✶✳✸✳✷✱
F1,s/F0,s ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é ❞❡ ❞❡❣ré p−1✳ ■❧ s✬❡♥s✉✐t ❞♦♥❝ q✉❡ pF0,s

= p
p−1
F1,s

✳
P❛r ❞é✜♥✐t✐♦♥ ❞❡ cK(α)✱ ♦♥ ❡♥ ❞é❞✉✐t ❛✐♥s✐ q✉❡ cs ≥ p− 1 ♣♦✉r t♦✉t s ≥ 0✳

▼♦♥tr♦♥s ♠❛✐♥t❡♥❛♥t ♣❛r ré❝✉rr❡♥❝❡ s✉r s q✉❡ cs ≤ p−1✳ ❈♦♠♠❡ c0 ≥ p−1✱
♦♥ ❞é❞✉✐t ❞❡ ❧❛ r❡♠❛rq✉❡ ✶✳✸✳✶ q✉❡ t2(1, 1) ≤ 1✳ ❖r✱ t2(1, 1) 6= 0 ❝❛r F1,1/F1,0

❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é ❞❡ ❞❡❣ré p ❞✬❛♣rès ❧❛ r❡♠❛rq✉❡ ✶✳✶✳✸✱ ❛♣♣❧✐q✉é❡ ❛✈❡❝
r = s = r′ = 1 ❡t ❛✈❡❝ s′ = 0✳ P❛r ❝♦♥séq✉❡♥t✱ t2(1, 1) = 1 ❡t ❞♦♥❝✱ c0 = p− 1✱
❝❡ q✉✐ ✐♥✐t✐❛❧✐s❡ ❧❛ ré❝✉rr❡♥❝❡✳

❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ cs ≤ p − 1 ♣♦✉r ✉♥ ❝❡rt❛✐♥ s ≥ 0 ❡t ♠♦♥tr♦♥s
q✉❡ cs+1 ≤ p− 1✳ ◆♦t♦♥s

x = a1/p
s+1 ∈ O×

F1,s+1
.

❘❡♠❛rq✉♦♥s q✉❡ x1−p
f ≡ 1 mod p

p−1
F1,s+1

✳ ❙♦✐t y ∈ F ∗
1,s+1 t❡❧ q✉❡

z = x1−p
f

y−p ∈ OF1,s+1 ❡t z ≡ 1 mod p
cs+1

F1,s+1
. ✭✶✳✺✮

❘❡♠❛rq✉♦♥s q✉❡ y ∈ O×
F1,s+1

❞✉ ❢❛✐t q✉❡ x, z ∈ O×
F1,s+1

✳
❙✉♣♣♦s♦♥s ♣❛r ❧✬❛❜s✉r❞❡ q✉❡ cs+1 ≥ p✳ ❈♦♠♠❡ OF1,s+1

= Zp[πF1,s+1
]✱ ♦ù

πF1,s+1
❞és✐❣♥❡ ✉♥❡ ✉♥✐❢♦r♠✐s❛♥t❡ ❞❡ F1,s+1✱ ♦♥ ♣❡✉t ❛❧♦rs é❝r✐r❡

y =
∑

i≥0

aiπ
i
F1,s+1

❛✈❡❝ a0 ∈ Z×
p ✱ ❝❛r y ∈ O×

F1,s+1
✱ ❡t ai ∈ Zp ♣♦✉r t♦✉t i ≥ 1✳ ■❧ s✬❡♥s✉✐t ❞♦♥❝ q✉❡

yp ≡ ap0 mod p
p
F1,s+1

.

❈♦♠♠❡ a0 ∈ Zp✱ ♦♥ ❛ ❛❧♦rs q✉❡ ap0 ≡ a0 mod p✳ ❆✐♥s✐✱ yp ≡ a0 mod p
p
F1,s+1

✳
❈♦♠♠❡ z ≡ 1 mod p

p
F1,s+1

✱ ♦♥ ❞é❞✉✐t ❞❡ ✭✶✳✺✮ q✉❡

x1−p
f ≡ a0 mod p

p
F1,s+1

. ✭✶✳✻✮

❉✬❛♣rès ❧❛ r❡♠❛rq✉❡ ✶✳✶✳✸✱ ❛♣♣❧✐q✉é❡ ❛✈❡❝ r = 1✱ r′ = 1✱ s′ = s ❡t ♦ù s ❡st
r❡♠♣❧❛❝é ♣❛r s+1✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ F1,s+1/F1,s ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é ❞❡ ❞❡❣ré
p✳ ❆✐♥s✐✱ ppF1,s+1

= pF1,s
✳ ❊♥ é❧❡✈❛♥t ♠❛✐♥t❡♥❛♥t ✭✶✳✻✮ à ❧❛ ♣✉✐ss❛♥❝❡ p✱ ♦♥ ❛ q✉❡

(xp)1−p
f

a−p0 ≡ 1 mod p
p
F1,s

.

❈♦♠♠❡ xp = a1/p
s

❡t q✉❡ a0 ∈ Z×
p ✱ ✐❧ ❡♥ rés✉❧t❡ q✉❡ cs ≥ p✱ ❝❡ q✉✐ ❝♦♥tr❡❞✐t

❧✬❤②♣♦t❤ès❡ ❞❡ ré❝✉rr❡♥❝❡✳
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❖♥ ❛ ❛✐♥s✐ ♠♦♥tré q✉❡ cs ≤ p − 1 ♣♦✉r t♦✉t s ≥ 0✳ ❆✐♥s✐✱ cs = p − 1✳ ❉❡
❧❛ r❡♠❛rq✉❡ ✶✳✸✳✶✱ ✐❧ ❡♥ rés✉❧t❡ q✉❡ t2(1, s+ 1) = ps+1 − p+ 1✳ ❈❡❧❛ t❡r♠✐♥❡ ❧❛
♣r❡✉✈❡ ❞❡ ❧❛ ♣r❡♠✐èr❡ ❛✣r♠❛t✐♦♥ ❞✉ ❧❡♠♠❡ ❞❛♥s ❧❡ ❝❛s ♦ù vF (a) = 0✳

❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ p | vF (a) 6= 0✳ P♦s♦♥s a = pvF (a)γ = π
(p−1)psvF (a)
F1,s

γ

❛✈❡❝ vF (γ) = 0 ❡t y = π
(p−1)vF (a)p−1

F1,s
β✳ ■❧ ❡st ❝❧❛✐r q✉❡ a1/p

s

y−p = γ1/p
s

β−p ❡t

❞♦♥❝ cF1,s
(a1/p

s

) = cF1,s
(γ1/p

s

) = p− 1 ♣✉✐sq✉❡ vF (γ) = 0✳ ❖♥ ❝♦♥❝❧✉t ❣râ❝❡ à
❧❛ r❡♠❛rq✉❡ ✶✳✸✳✶✳

ii) ❉❡ ❧❛ r❡♠❛rq✉❡ ✶✳✷✳✻✱ ✐❧ ❡st ❝❧❛✐r q✉❡ cF1,s(a
1/ps) = 0✳ ❉❡ ❧❛ r❡♠❛rq✉❡

✶✳✸✳✶✱ ♦♥ ❡♥ ❞é❞✉✐t ❞♦♥❝ q✉❡ t2(1, s+ 1) = ps+1✳

❖♥ ♣❡✉t ♠❛✐♥t❡♥❛♥t ♣r♦✉✈❡r ❧❡s rés✉❧t❛ts ♣r✐♥❝✐♣❛✉① ❞❡ ❝❡tt❡ s❡❝t✐♦♥✱ à s❛✈♦✐r
❧❡s t❤é♦rè♠❡s ✶✳✸✳✺ ❡t ✶✳✸✳✻✳

❚❤é♦rè♠❡ ✶✳✸✳✺✳ ❙✉♣♣♦s♦♥s p | vF (a)✳ ❙♦✐❡♥t r ❡t s ❞❡✉① ❡♥t✐❡rs ♣♦s✐t✐❢s✳ ❆❧♦rs

✐✮ s✐ r ≥ s ≥ 1✱ t2(s, r) = pr+s−1 − p−1
p+1 (p

2s−1 + 1) ❀

✐✐✮ s✐ r ≥ s ≥ 1✱ t1(s, r) =
p−1
p+1 (p

2s−2 − 1) ❀

✐✐✐✮ s✐ r ≥ s ≥ 1✱ t2(r, s) = p2s−1 − p−1
p+1 (p

2s−1 + 1) ❀

✐✈✮ s✐ r > s✱ ❛❧♦rs t1(r, s) = pr+s−1 − p2s + p−1
p+1 (p

2s − 1)✳

❉é♠♦♥str❛t✐♦♥✳ ❙✉♣♣♦s♦♥s ❞✬❛❜♦r❞ s = 0✳ ❉❛♥s ❝❡ ❝❛s✱ i)✱ ii) ❡t iii) s♦♥t ✈✐❞❡s
❡t iv) ❞é❝♦✉❧❡ ❞✉ ❧❡♠♠❡ ✶✳✸✳✸✳

❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t s = 1✳ ❚♦✉t ❞✬❛❜♦r❞✱ i) ❞é❝♦✉❧❡ ❞✉ ❧❡♠♠❡ ✶✳✸✳✹ ❡t ii)
❞✉ ❢❛✐t q✉❡ F1,r/F0,r s♦✐t ✉♥❡ ❡①t❡♥s✐♦♥ t♦t❛❧❡♠❡♥t r❛♠✐✜é❡ ❞❡ ❞❡❣ré p−1 ❞✬❛♣rès
❧❛ r❡♠❛rq✉❡ ✶✳✸✳✷ ❛♣♣❧✐q✉é❡ ❛✈❡❝ s = r ✭❡t ❞♦♥❝✱ t1(1, r) = 0 = p−1

p+1 (p
0 − 1)✮✳

◆♦✉s ❛❧❧♦♥s ♠❛✐♥t❡♥❛♥t ♠♦♥tr❡r iii) ❡t iv) ♣❛r ré❝✉rr❡♥❝❡ s✉r r ≥ 1✳ ❙✉♣✲
♣♦s♦♥s r = 1✳ ❉❛♥s ❝❡ ❝❛s✱ iv) ❡st ✈✐❞❡✳ ❉❡ ♣❧✉s✱ iii) ❡st ❛✉ss✐ s❛t✐s❢❛✐t ♣✉✐sq✉❡
t2(1, 1) = 1 ❞✬❛♣rès ❧❡ i) ❞✉ ❧❡♠♠❡ ✶✳✸✳✹ ❛♣♣❧✐q✉é à s = 0✳ ❈❡❝✐ ♠♦♥tr❡ ❧✬✐♥✐t✐❛✲
❧✐s❛t✐♦♥✳

❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ iii) ❡t iv) s♦✐❡♥t ✈ér✐✜és ♣♦✉r ✉♥ ❝❡rt❛✐♥ ❡♥t✐❡r
r ≥ 1 ❡t ♠♦♥tr♦♥s q✉✬✐❧s ❧❡ s♦♥t ❡♥❝♦r❡ ♣♦✉r ❧✬❡♥t✐❡r r + 1✳ P❛r ❤②♣♦t❤ès❡
❞❡ ré❝✉rr❡♥❝❡✱ ♦♥ ❞é❞✉✐t ❞✉ iii) q✉❡ t2(r, 1) = 1 ❡t ❞✬❛♣rès ❧❡ ❧❡♠♠❡ ✶✳✸✳✸✱
t1(r + 1, 0) = pr − 1✳ ▲❡ i) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶ ♠♦♥tr❡ ❞♦♥❝ q✉❡

t2(r + 1, 1)− t1(r + 1, 1) = p(t2(r, 1)− t1(r + 1, 0)) = p(2− pr) < 0 ✭✶✳✼✮

❝❛r r ≥ 1✳ ▲❡ ii) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶ ♠♦♥tr❡ ❞♦♥❝ q✉❡

t2(r + 1, 1) = t2(r, 1) = 1,

✐✳❡✳ iii)✳ ❖♥ ❞é❞✉✐t ❛❧♦rs ❞❡ ✭✶✳✼✮ q✉❡

t1(r + 1, 1) = pr+1 − 2p+ 1 = pr+1 − p2 +
p− 1

p+ 1
(p2 − 1),

❝❡ q✉✐ ♠♦♥tr❡ iv)✳ ❈❡❧❛ ♣r♦✉✈❡ ❞♦♥❝ ❧❡ t❤é♦rè♠❡ ❞❛♥s ❧❡ ❝❛s s = 1✳
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◆♦t♦♥s ♠❛✐♥t❡♥❛♥t Λ ❧✬❡♥s❡♠❜❧❡ ❞❡s ❝♦✉♣❧❡s (r, s) 6= (0, 0) ❞❡ N2 t❡❧s q✉❡
r ≥ s ≥ 0 ❡t ✈ér✐✜❛♥t ❧❡s ❛✣r♠❛t✐♦♥s i) à iv) ❞✉ t❤é♦rè♠❡✳ ❙✉♣♣♦s♦♥s ♣❛r
❧✬❛❜s✉r❞❡ q✉✬✐❧ ❡①✐st❡ (r, s) /∈ Λ ❛✈❡❝ r ≥ s ≥ 0✳ ❈❤♦✐s✐ss♦♥s ❧❡ ♠✐♥✐♠❛❧ ♣♦✉r
❧✬♦r❞r❡ ❧❡①✐❝♦❣r❛♣❤✐q✉❡✳ P❛r ❝❡ q✉✐ ♣ré❝è❞❡✱ s ≥ 2✳

▼♦♥tr♦♥s ❞❛♥s ✉♥ ♣r❡♠✐❡r t❡♠♣s q✉❡ (r, s) ✈ér✐✜❡ i) ❡t ii)✳ P❛r ♠✐♥✐♠❛❧✐té
❞❡ (r, s)✱ ♦♥ ❛ q✉❡ (r, s− 1) ∈ Λ✳ ❆✐♥s✐✱ ❡♥ ✉t✐❧✐s❛♥t i)✱

t2(s− 1, r) = pr+s−2 − p− 1

p+ 1
(p2s−3 + 1). ✭✶✳✽✮

P❛r ♠✐♥✐♠❛❧✐té✱ ♦♥ ❛ ❛✉ss✐ q✉❡ (s, s− 1) ∈ Λ✳ ❊♥ ✉t✐❧✐s❛♥t iv)✱ ♦♥ ♦❜t✐❡♥t ❛❧♦rs
q✉❡

t1(s, s− 1) = p2s−2 − p2(s−1) − p− 1

p+ 1
(p2(s−1) − 1) =

p− 1

p+ 1
(p2s−2 − 1). ✭✶✳✾✮

❉❡ ♣❧✉s✱ r❡♠❛rq✉♦♥s q✉❡ ❧✬♦♥ ❛

t1(s, r − 1) =
p− 1

p+ 1
(p2s−2 − 1). ✭✶✳✶✵✮

❊♥ ❡✛❡t✱ ❝❡tt❡ é❣❛❧✐té ❞é❝♦✉❧❡ ❞❡ ✭✶✳✾✮ s✐ r = s✳ ❙✐ r ≥ s+ 1✱ ❛❧♦rs (r− 1, s) ∈ Λ
❡t ✭✶✳✶✵✮ ❞é❝♦✉❧❡ ❞❡ ii)✳

❊♥ ✉t✐❧✐s❛♥t ♠❛✐♥t❡♥❛♥t ✭✶✳✽✮ ❡t ✭✶✳✶✵✮✱ ♦♥ ❞é❞✉✐t ❞✉ i) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥
✶✳✷✳✶✶ q✉❡

t1(s, r)− t2(s, r) = p(t1(s, r − 1)− t2(s− 1, r))

= p

(

p− 1

p+ 1
p2s−2 − pr+s−2 +

p− 1

p+ 1
p2s−3

)

= p
(

(p− 1)p2s−3 − pr+s−2
)

< 0,

✭✶✳✶✶✮

❝❛r (p− 1)p2s−3 − pr+s−2 = p2s−2(p− 1− pr−s+1) < 0 ❞✉ ❢❛✐t q✉❡ r ≥ s✳ ▲❡ ii)
❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶✱ ♦ù ❧✬♦♥ ❛ ♣❡r♠✉té ❧❡ rô❧❡ ❞❡ r ❡t ❞❡ s✱ ❛✐♥s✐ q✉❡ ✭✶✳✶✵✮✱
♠♦♥tr❡♥t ❛❧♦rs q✉❡

t1(s, r) = t1(s, r − 1) =
p− 1

p+ 1
(p2s−2 − 1).

❊♥ ✐♥❥❡❝t❛♥t ♠❛✐♥t❡♥❛♥t ❝❡tt❡ éq✉❛t✐♦♥ ❞❛♥s ✭✶✳✶✶✮✱ ✐❧ s✬❡♥s✉✐t q✉❡

t2(s, r) = p(pr+s−2 − (p− 1)p2s−3) +
p− 1

p+ 1
(p2s−2 − 1)

= pr+s−1 − p− 1

p+ 1
(p2s−1 + 1),

❝❡ q✉✐ ♠♦♥tr❡ q✉❡ (r, s) ✈ér✐✜❡ i) ❡t ii)✳

◆♦✉s s♦♠♠❡s ♠❛✐♥t❡♥❛♥t ❡♥ ♠❡s✉r❡ ❞❡ ♣r♦✉✈❡r q✉❡ (s, s) ∈ Λ✳ ❙✉♣♣♦s♦♥s
q✉❡ r > s✳ ❆❧♦rs (s, s) ∈ Λ ♣❛r ♠✐♥✐♠❛❧✐té✳ ❊♥ r❡✈❛♥❝❤❡✱ s✐ r = s✱ ❛❧♦rs ❞✉
♣❛r❛❣r❛♣❤❡ ♣ré❝é❞❡♥t✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ (s, s) ✈ér✐✜❡ i) ❡t ii)✳ P❛r ❛✐❧❧❡✉rs✱ ❡♥
❛♣♣❧✐q✉❛♥t ❧❡ i) ❛✈❡❝ r = s ✭❝❡ q✉✐ ❡st ❧✐❝✐t❡ ♣✉✐sq✉❡ (r, s) ✈ér✐✜❡ i) ❞✬❛♣rès ❧❡
♣❛r❛❣r❛♣❤❡ ♣ré❝é❞❡♥t✮✱ ♦♥ ♦❜t✐❡♥t ❛❧♦rs iii) ❞❛♥s ❧❡ ❝❛s r = s✳ ❊♥✜♥✱ iv) ❡st
✈✐❞❡ ❞❛♥s ❧❡ ❝❛s r = s✳ ❈❡❧❛ s✐❣♥✐✜❡ ❞♦♥❝ q✉❡ s✐ r = s✱ ❛❧♦rs (s, s) ∈ Λ✳ ❈♦♠♠❡
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(r, s) /∈ Λ✱ ✐❧ s✬❡♥s✉✐t ❛❧♦rs q✉❡ r ≥ s+ 1✳

▼♦♥tr♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ (r, s) ✈ér✐✜❡ iii) ❡t iv)✳ ❈♦♠♠❡ r ≥ s + 1✱ ♦♥ ❡♥
❞é❞✉✐t✱ ♣❛r ♠✐♥✐♠❛❧✐té✱ q✉❡ (r − 1, s) ∈ Λ✳ ❊♥ ✉t✐❧✐s❛♥t iii)✱

t2(r − 1, s) = p2s−1 − p− 1

p+ 1
(p2s−1 − 1). ✭✶✳✶✷✮

❚♦✉❥♦✉rs ♣❛r ♠✐♥✐♠❛❧✐té✱ (r, s− 1) ∈ Λ✳ ❊♥ ✉t✐❧✐s❛♥t ♠❛✐♥t❡♥❛♥t iv)✱ ♦♥ ❛

t1(r, s− 1) = pr+s−2 − p2(s−1) +
p− 1

p+ 1
(p2(s−1) − 1). ✭✶✳✶✸✮

❊♥ ✉t✐❧✐s❛♥t ✭✶✳✶✷✮ ❡t ✭✶✳✶✸✮✱ ✐❧ s✬❡♥s✉✐t ❞♦♥❝✱ ❞✬❛♣rès ❧❡ i) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥
✶✳✷✳✶✶✱ q✉❡

t2(r, s)− t1(r, s) = p(t2(r − 1, s)− t1(r, s− 1))

= p

(

p2s−1 − p− 1

p+ 1
(p2s−2 + p2s−1) + p2s−2 − pr+s−2

)

= p(2p2s−2 − pr+s−2) < 0,
✭✶✳✶✹✮

❝❛r r ≥ s + 1✳ ▲❡ iii) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶✱ ❛✐♥s✐ q✉❡ ✭✶✳✶✷✮✱ ♠♦♥tr❡♥t ❛❧♦rs
q✉❡

t2(r, s) = t2(r − 1, s) = p2s−1 − p− 1

p+ 1
(p2s−1 − 1).

❊♥ ✐♥❥❡❝t❛♥t ♠❛✐♥t❡♥❛♥t ❝❡tt❡ é❣❛❧✐té ❞❛♥s ✭✶✳✶✹✮✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡

t1(r, s) = p(pr+s−2 − 2p2s−2) + p2s−1 − p− 1

p+ 1
(p2s−1 + 1)

= pr+s−1 − p− 1

p+ 1
(p2s−1 + 1)− p2s−1

= pr+s−1 − p2s +
p− 1

p+ 1
(p2s − 1).

❈❡❝✐ ♠♦♥tr❡ q✉❡ (r, s) ✈ér✐✜❡ ❛✉ss✐ iii) ❡t iv)✱ ❝❡ q✉✐ ❝♦♥tr❡❞✐t ❧❡ ❢❛✐t q✉❡
(r, s) /∈ Λ✳ ▲❡ t❤é♦rè♠❡ s✬❡♥s✉✐t✳

◆♦✉s ❛❧❧♦♥s ♠❛✐♥t❡♥❛♥t ♣r♦✉✈❡r ❧✬❛♥❛❧♦❣✉❡ ❞✉ t❤é♦rè♠❡ ✶✳✸✳✺ ❞❛♥s ❧❡ ❝❛s ♦ù
p ∤ vp(a)✳

❚❤é♦rè♠❡ ✶✳✸✳✻✳ ❙✉♣♣♦s♦♥s q✉❡ p ∤ vF (a)✳ ❙♦✐❡♥t r ❡t s ❞❡s ❡♥t✐❡rs ♣♦s✐t✐❢s✳
❆❧♦rs

✐✮ s✐ r > s ≥ 1✱ t2(s, r) = pr+s−1 − p2s−1−p2s−2−p+1
p+1 ❀

✐✐✮ s✐ r > s ≥ 1✱ t2(r, s) =
2p2s+p−1

p+1 ❀

✐✐✐✮ s✐ r ≥ 0✱ t1(1, r) = 0 ❀

✐✈✮ s✐ r > s ≥ 2✱ t1(s, r) = p2s−3 − 2p2s−3−p+1
p+1 ❀

✈✮ s✐ r > s+ 1✱ t1(r, s) = pr+s−1 − 2p2s+1−p+1
p+1 ❀
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✈✐✮ s✐ s ≥ 1✱ t1(s+ 1, s) = p2s−1 − 2p2s−1−p+1
p+1 ❀

✈✐✐✮ s✐ s ≥ 1✱ t2(s, s) = p2s−1 − p2s−1−p2s−2−p+1
p+1 ❀

✈✐✐✐✮ s✐ s ≥ 2✱ t1(s, s) = p2s−3 − 2p2s−3−p+1
p+1 ✳

❉é♠♦♥str❛t✐♦♥✳ ❙♦✐t r ≥ 0✳ ❆❧♦rs ❧✬❡①t❡♥s✐♦♥ F1,r/F0,r ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é❡
❞❡ ❞❡❣ré p − 1 ❞✬❛♣rès ❧❛ r❡♠❛rq✉❡ ✶✳✸✳✷✳ P❛r ❝♦♥séq✉❡♥t✱ t1(1, r) = 0✱ ❝❡ q✉✐
♠♦♥tr❡ iii)✳ ◆♦✉s ❛❧❧♦♥s ♠❛✐♥t❡♥❛♥t ♠♦♥tr❡r ❧❡s ❛✉tr❡s ❢♦r♠✉❧❡s✳

❙✉♣♣♦s♦♥s ❞✬❛❜♦r❞ q✉❡ s = 0✳ ❘❡♠❛rq✉♦♥s q✉❡ t♦✉t❡s ❧❡s ❛✣r♠❛t✐♦♥s✱ s❛✉❢
❧❡ v)✱ s♦♥t ✈✐❞❡s ❡t ❧❡ v) ❞é❝♦✉❧❡ ❞✉ ❧❡♠♠❡ ✶✳✸✳✸✳

❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t s = 1✳ ❚♦✉t ❞✬❛❜♦r❞✱ iv) ❡t viii) s♦♥t ✈✐❞❡s✳ ❊♥s✉✐t❡✱
i) ❡t vii) ❞é❝♦✉❧❡♥t ❞✉ ii) ❞✉ ❧❡♠♠❡ ✶✳✸✳✹✳ ▼♦♥tr♦♥s q✉❡ ❧✬♦♥ ❛ é❣❛❧❡♠❡♥t vi)✳
❉✬❛♣rès ❧❡ i) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶✱

t1(2, 1)− t2(2, 1) = p(t1(2, 0)− t2(1, 1)) = −p < 0 ✭✶✳✶✺✮

♣✉✐sq✉❡ t1(2, 0) = p− 1 ❞✬❛♣rès ❧❡ ❧❡♠♠❡ ✶✳✸✳✸ ❡t q✉❡ t2(1, 1) = p ❞✬❛♣rès ❧❡ ii)
❞✉ ❧❡♠♠❡ ✶✳✸✳✹✳ ▲❡ ii) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶ ♠♦♥tr❡ ❛❧♦rs q✉❡

t1(2, 1) = t1(2, 0) = p− 1 = p− 2p− p+ 1

p+ 1
, ✭✶✳✶✻✮

✐✳❡✳ vi)✳
❙✉♣♣♦s♦♥s t♦✉❥♦✉rs q✉❡ s = 1 ❡t ♠♦♥tr♦♥s ♠❛✐♥t❡♥❛♥t ii) ❡t v) ♣❛r ré❝✉r✲

r❡♥❝❡ s✉r r ≥ 2✳ ❙✐ r = 2✱ r❡♠❛rq✉♦♥s q✉❡ v) ❡st ✈✐❞❡✳ ❊♥ ✐♥❥❡❝t❛♥t ✭✶✳✶✻✮ ❞❛♥s
✭✶✳✶✺✮✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡

t2(2, 1) = p− 1 + p = 2p− 1 =
2p2 + p− 1

p+ 1
,

❝❡ q✉✐ ♠♦♥tr❡ ii) ❞❛♥s ❧❡ ❝❛s r = 2✳ ❈❡❝✐ t❡r♠✐♥❡ ❧✬✐♥✐t✐❛❧✐s❛t✐♦♥✳ ❙✉♣♣♦s♦♥s
♠❛✐♥t❡♥❛♥t q✉❡ ii) ❡t v) s♦✐❡♥t ✈ér✐✜és ♣♦✉r ✉♥ ❝❡rt❛✐♥ ❡♥t✐❡r r ≥ 2 ❡t ♠♦♥tr♦♥s
q✉✬✐❧s ❧❡ s♦♥t ❡♥❝♦r❡ ♣♦✉r ❧✬❡♥t✐❡r r+1✳ ❉✬❛♣rès ❧❡ ❧❡♠♠❡ ✶✳✸✳✸✱ ♦♥ ❛ t2(r+1, 0) =
pr − 1✳ P❛r ❤②♣♦t❤ès❡ ❞❡ ré❝✉rr❡♥❝❡✱ ♦♥ ❞é❞✉✐t ❞✉ ii) q✉❡

t2(r, 1) = 2p− 1 =
2p2 + p− 1

p+ 1
. ✭✶✳✶✼✮

❉✬❛♣rès ❧❡ i) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶✱ ♦♥ ❛ ❛❧♦rs q✉❡

t2(r + 1, 1)− t1(r + 1, 1) = p(t2(r, 1)− t1(r + 1, 0))

= p(2p− 1− pr + 1) = p(2p− pr) < 0
✭✶✳✶✽✮

❝❛r r ≥ 2✳ ▲❡ iii) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶✱ ❛✐♥s✐ q✉❡ ✭✶✳✶✼✮✱ ♠♦♥tr❡♥t ❞♦♥❝ q✉❡

t2(r + 1, 1) = t2(r, 1) = 2p− 1 =
2p2 + p− 1

p+ 1
,

✐✳❡✳ ii)✳ ❊♥ ✐♥❥❡❝t❛♥t ❝❡tt❡ é❣❛❧✐té ❞❛♥s ✭✶✳✶✽✮✱ ♦♥ ♦❜t✐❡♥t ❛❧♦rs q✉❡

t1(r + 1, 1) = pr+1 − 2p2 + 2p− 1 = pr+1 − 2p3 − p+ 1

p+ 1
,
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✐✳❡✳ v)✳ ❈❡❧❛ ♣r♦✉✈❡ ❞♦♥❝ ❧❡ t❤é♦rè♠❡ ❞❛♥s ❧❡ ❝❛s ♦ù s = 1✳

◆♦t♦♥s ♠❛✐♥t❡♥❛♥t Λ ❧✬❡♥s❡♠❜❧❡ ❞❡s ❝♦✉♣❧❡s (r, s) ❞❡ N2 t❡❧s q✉❡ r > s ≥ 0
❡t ✈ér✐✜❛♥t ❧❡s ❛✣r♠❛t✐♦♥s i) à viii) ❞✉ t❤é♦rè♠❡✳ ❙✉♣♣♦s♦♥s ♣❛r ❧✬❛❜s✉r❞❡
q✉✬✐❧ ❡①✐st❡ (r, s) /∈ Λ ❛✈❡❝ r > s ≥ 0✳ ❈❤♦✐s✐ss♦♥s ❧❡ ♠✐♥✐♠❛❧ ♣♦✉r ❧✬♦r❞r❡
❧❡①✐❝♦❣r❛♣❤✐q✉❡✳ P❛r ❝❡ q✉✐ ♣ré❝è❞❡✱ s ≥ 2✳

▼♦♥tr♦♥s ❞❛♥s ✉♥ ♣r❡♠✐❡r t❡♠♣s q✉❡ (r, s) ✈ér✐✜❡ vii) ❡t viii)✳ P❛r ♠✐♥✐♠❛✲
❧✐té ❞❡ (r, s)✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ (s, s− 1) ∈ Λ✳ ❊♥ ✉t✐❧✐s❛♥t ❧❡ i)✱

t2(s− 1, s) = p2s−2 − p2s−3 − p2s−4 − p+ 1

p+ 1
. ✭✶✳✶✾✮

❊♥ ✉t✐❧✐s❛♥t ♠❛✐♥t❡♥❛♥t ❧❡ vi)✱ ♦♥ ❡♥ ❞é❞✉✐t✱ ❝❛r s ≥ 2✱ q✉❡

t1(s, s− 1) = p2s−3 − 2p2s−3 − p+ 1

p+ 1
. ✭✶✳✷✵✮

❉✬❛♣rès ❧❡ i) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶✱ ♦♥ ❡♥ ❞é❞✉✐t✱ ❡♥ ✉t✐❧✐s❛♥t ✭✶✳✶✾✮ ❡t ✭✶✳✷✵✮✱
q✉❡

t1(s, s)− t2(s, s) = p(t1(s, s− 1)− t2(s− 1, s))

= p

(

p2s−3 − p2s−2 − p2s−3 + p2s−4

p+ 1

)

= p2s−3(−p2 + p− 1) < 0.

✭✶✳✷✶✮

▲❡ ii) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶✱ ❛✐♥s✐ q✉❡ ✭✶✳✷✵✮✱ ♠♦♥tr❡♥t ❞♦♥❝ q✉❡

t1(s, s) = t1(s, s− 1) = p2s−3 − 2p2s−3 − p+ 1

p+ 1
, ✭✶✳✷✷✮

✐✳❡✳ viii)✳ ❊♥ ✐♥❥❡❝t❛♥t ♠❛✐♥t❡♥❛♥t ❝❡tt❡ é❣❛❧✐té ❞❛♥s ✭✶✳✷✶✮✱ ✐❧ s✬❡♥s✉✐t q✉❡

t2(s, s) = p2s−3(p2 − p+ 1) + p2s−3 − 2p2s−3 − p+ 1

p+ 1

=
p2s−3(p2 − p+ 2)(p+ 1)− 2p2s−3 + p− 1

p+ 1
=
p2s + p2s−2 + p− 1

p+ 1

= p2s−1 − p2s−1 − p2s−2 − p+ 1

p+ 1
,

✭✶✳✷✸✮
✐✳❡✳ vii)✳

▼♦♥tr♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ (r, s) ✈ér✐✜❡ i) ❡t iv)✳ ❈♦♠♠❡ s ≥ 2✱ ♦♥ ❛ ❛❧♦rs
q✉❡

t1(s, r − 1) = p2s−3 − 2p2s−3 − p+ 1

p+ 1
. ✭✶✳✷✹✮

❊♥ ❡✛❡t✱ s✐ r = s + 1✱ ❛❧♦rs ❝❡tt❡ é❣❛❧✐té ❞é❝♦✉❧❡ ❞❡ ✭✶✳✷✷✮✳ ❊♥ r❡✈❛♥❝❤❡✱ s✐
r ≥ s+ 2✱ ❛❧♦rs (r − 1, s) ∈ Λ ❡t ❧✬é❣❛❧✐té ❞é❝♦✉❧❡ ❞❡ iv)✳

❈♦♠♠❡ (r, s− 1) ∈ Λ ♣❛r ♠✐♥✐♠❛❧✐té✱ ♦♥ ❞é❞✉✐t ❞✉ i) q✉❡

t2(s− 1, r) = pr+s−2 − p2s−3 − p2s−4 − p+ 1

p+ 1
. ✭✶✳✷✺✮
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❉✬❛♣rès ❧❡ i) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶✱ ♦♥ ❡♥ ❞é❞✉✐t✱ ❡♥ ✉t✐❧✐s❛♥t ✭✶✳✷✹✮ ❡t ✭✶✳✷✺✮✱
q✉❡

t1(s, r)− t2(s, r) = p(t1(s, r − 1)− t2(s− 1, r))

= p

(

p2s−3 − p2s−3 + p2s−4

p+ 1
− pr+s−2

)

= p(p2s−3 − p2s−4 − pr+s−2) < 0

✭✶✳✷✻✮

❝❛r p2s−3 − p2s−4 − pr+s−2 ≤ p2s−4(−p3 + p − 1) < 0 ✭❝❛r r > s✮✳ ▲❡ ii) ❞❡ ❧❛
♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶✱ ♦ù ❧✬♦♥ ❛ ♣❡r♠✉té ❧❡ rô❧❡ ❞❡ r ❡t s✱ ❛✐♥s✐ q✉❡ ✭✶✳✷✹✮✱ ♠♦♥tr❡♥t
❛❧♦rs q✉❡

t1(s, r) = t1(s, r − 1) = p2s−3 − 2p2s−3 − p+ 1

p+ 1
,

✐✳❡✳ iv)✳ ❊♥ ✐♥❥❡❝t❛♥t ♠❛✐♥t❡♥❛♥t ❝❡tt❡ éq✉❛t✐♦♥ ❞❛♥s ✭✶✳✷✻✮✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡

t2(s, r) = p(pr+s−2 + p2s−4 − p2s−3) + p2s−3 − 2p2s−3 − p+ 1

p+ 1

= pr+s−1 − p2s−1 − p2s−2 − p+ 1

p+ 1
,

✐✳❡✳ i)✳

◆♦✉s ❛❧❧♦♥s ♠❛✐♥t❡♥❛♥t ♠♦♥tr❡r q✉❡ (r, s) ✈ér✐✜❡ ii), v) ❡t vi)✳ ❈♦♠♠❡ r ≥
s+ 1✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ (s+ 1, s− 1) ∈ Λ ♣❛r ♠✐♥✐♠❛❧✐té✳ ❆✐♥s✐✱ ❡♥ ✉t✐❧✐s❛♥t ❧❡
v)✱

t1(s+ 1, s− 1) = p2s−1 − 2p2s−1 − p+ 1

p+ 1
. ✭✶✳✷✼✮

❉✬❛♣rès ❧❡ i) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶✱ ♦♥ ❡♥ ❞é❞✉✐t✱ ❡♥ ✉t✐❧✐s❛♥t ✭✶✳✷✸✮ ❡t ✭✶✳✷✼✮✱
q✉❡

t1(s+ 1, s)− t2(s+ 1, s) = p(t1(s+ 1, s− 1)− t2(s, s))

= p

(

p2s−1 − p2s + 2p2s−1 + p2s−2

p+ 1

)

= p(p2s−1 − p2s−2(p+ 1)) = −p2s−1 < 0.

✭✶✳✷✽✮

▲❡ i) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶✱ ❛✐♥s✐ q✉❡ ✭✶✳✷✼✮✱ ♠♦♥tr❡♥t ❞♦♥❝ q✉❡

t1(s+ 1, s) = t1(s+ 1, s− 1) = p2s−1 − 2p2s−1 − p+ 1

p+ 1
,

✐✳❡✳ vi)✳ ❊♥ ✐♥❥❡❝t❛♥t ♠❛✐♥t❡♥❛♥t ❝❡tt❡ éq✉❛t✐♦♥ ❞❛♥s ✭✶✳✷✽✮✱ ✐❧ s✬❡♥s✉✐t q✉❡

t2(s+ 1, s) = 2p2s−1 − 2p2s−1 − p+ 1

p+ 1
=

2p2s + p− 1

p+ 1
,

✐✳❡✳ ii) ❞❛♥s ❧❡ ❝❛s r = s+ 1✳ ❘❡♠❛rq✉♦♥s q✉❡ iv) ❡st ✈✐❞❡ ♣♦✉r r = s+ 1✳ ❖♥ ❛
❛✐♥s✐ ♠♦♥tré q✉❡ (s+ 1, s) ∈ Λ✳ ❈♦♠♠❡ (r, s) /∈ Λ✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ r ≥ s+ 2✳

■❧ ♥♦✉s r❡st❡ ♣❧✉s q✉✬à ♠♦♥tr❡r q✉❡ (r, s) ✈ér✐✜❡ ii) ❡t v) ♣♦✉r r ≥ s+2✳ P❛r
♠✐♥✐♠❛❧✐té✱ (r − 1, s) ∈ Λ✳ ❊♥ ✉t✐❧✐s❛♥t ❧❡ ii)✱ ♦♥ ♦❜t✐❡♥t q✉❡

t2(r − 1, s) =
2p2s + p− 1

p+ 1
. ✭✶✳✷✾✮
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❉❡ ♠ê♠❡✱ (r, s− 1) ∈ Λ✳ ❊♥ ✉t✐❧✐s❛♥t ❧❡ v)✱ ♦♥ ❛ ❛✐♥s✐ q✉❡

t1(r, s− 1) = pr+s−2 − 2p2s−1 − p+ 1

p+ 1
. ✭✶✳✸✵✮

❉✬❛♣rès ❧❡ i) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶✱ ♦♥ ❡♥ ❞é❞✉✐t✱ ❡♥ ✉t✐❧✐s❛♥t ✭✶✳✷✾✮ ❡t ✭✶✳✸✵✮
q✉❡

t2(r, s)− t1(r, s) = p(t2(r − 1, s)− t1(r, s− 1))

= p

(

2p2s−1 + 2p2s

p+ 1
− pr+s−2

)

= −p(pr+s−2 − 2p2s−1) < 0

✭✶✳✸✶✮

❝❛r r ≥ s+2 ❡t p ≥ 3✳ ▲❡ ii) ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✷✳✶✶✱ ❛✐♥s✐ q✉❡ ✭✶✳✷✾✮✱ ♠♦♥tr❡♥t
❛❧♦rs q✉❡

t2(r, s) = t2(r − 1, s) =
2p2s + p− 1

p+ 1
,

✐✳❡✳ ii)✳ ❊♥ ✐♥❥❡❝t❛♥t ❝❡tt❡ é❣❛❧✐té ❞❛♥s ✭✶✳✸✶✮✱ ✐❧ s✬❡♥s✉✐t q✉❡

t1(r, s) = p(pr+s−2 − 2p2s−1) +
2p2s + p− 1

p+ 1

= pr+s−1 − 2p2s+1 − p+ 1

p+ 1
,

✐✳❡✳ v)✳

❖♥ ✈✐❡♥t ❛✐♥s✐ ❞❡ ♠♦♥tr❡r q✉❡ (r, s) ∈ Λ✱ ❝❡ q✉✐ ❡st ❛❜s✉r❞❡✳ ▲❡ t❤é♦rè♠❡
s✬❡♥s✉✐t✳

❘❡♠❛rq✉❡ ✶✳✸✳✼✳ ▲✬✉t✐❧✐s❛t✐♦♥ ❞✉ t❤é♦rè♠❡ ✶✳✷✳✽ ✭❍❡❝❦❡✮ s❡♠❜❧❡ ♣❧✉s ❛❞❛♣té
à ❝❡ ♣r♦❜❧è♠❡ q✉❡ ♥❡ ❧✬❡st ❧❡ ❝❛❧❝✉❧ ❡①♣❧✐❝✐t❡ ❞✬✉♥❡ ✉♥✐❢♦r♠✐s❛♥t❡ ❞❡ F1,s/F1,s−1

❬✹✻✱ ▲❡♠♠❛ ✺✳✼✱▲❡♠♠❛ ✻✳✹❪✳ ❖✉tr❡ ❧❡s ❣é♥ér❛❧✐s❛t✐♦♥s é✈✐❞❡♥t❡s ✭❝♦♠♠❡ ❧❡ ❢❛✐t
q✉❡ ❧✬♦♥ ❝♦♥s✐❞èr❡ ✉♥❡ ❡①t❡♥s✐♦♥ ♥♦♥ r❛♠✐✜é❡ ❞❡ Qp ♣❧✉tôt q✉❡ Qp ❡t ✉♥ a ∈ F ∗

à ❧❛ ♣❧❛❝❡ ❞❡ a ∈ Z ⊂ Zp ❛✈❡❝ vp(a) ∈ {0, 1}✮✱ ❧✬✉t✐❧✐s❛t✐♦♥ ❞✉ t❤é♦rè♠❡ ✶✳✷✳✽
♥♦✉s ♣❡r♠❡t ❞❡ ❝❛❧❝✉❧❡r ❞❡s s❛✉ts q✉❡ ❧✬♦♥ ♥❡ ♣❡✉t ❝❛❧❝✉❧❡r ❞❛♥s ❬✹✻❪✳ ❉❛♥s ❬✹✻✱
➓✺✱ ➓✻❪✱ ❧✬❛✉t❡✉r ♥❡ ♣❡✉t ❝❛❧❝✉❧❡r t1(r, s) ❡t t2(r, s) q✉❡ ♣♦✉r r ≥ s t❛♥❞✐s q✉❡ ❞❛♥s
❧❡s t❤é♦rè♠❡s ✶✳✸✳✺ ❡t ✶✳✸✳✻✱ ♦♥ ♣❡✉t ❧❡s ❝❛❧❝✉❧❡r ♠ê♠❡ s✐ r < s✳ P❛r ❡①❡♠♣❧❡✱
❝♦♠♠❡ vp(2) = 0✱ ❧❡ i) ❞✉ t❤é♦rè♠❡ ✶✳✸✳✺ ❛✣r♠❡ q✉❡ ❧❡ s❛✉t ❞❡ ❧✬❡①t❡♥s✐♦♥
Qp(ζp2 , 2

1/p4)/Qp(ζp2 , 2
1/p3) ❡st é❣❛❧ à

t2(2, 4) = p5 − p3 − p2 − p+ 1

p+ 1
= p5 − p2 + 2p− 1.

✶✳✹ ❈❛❧❝✉❧ ❞❡s ❣r♦✉♣❡s ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞❡ Gal(Fr,s/F )✳

❖♥ s❡ ♣r♦♣♦s❡ ❞❡ ❝❛❧❝✉❧❡r ❡①♣❧✐❝✐t❡♠❡♥t ❧❛ s✉✐t❡ ❞❡s ❣r♦✉♣❡s ❞❡ r❛♠✐✜❝❛t✐♦♥
❞❡ Gal(Fr,s/F ) ❛✈❡❝ r ≥ s✳ ❈♦♠♠❡♥ç♦♥s ♣❛r ❧❡ ❝❛s ♦ù p | vF (a)✳ ◆♦✉s ❛✈♦♥s
❜❡s♦✐♥✱ ❛✉ ♣ré❛❧❛❜❧❡✱ ❞❡ q✉❡❧q✉❡s ✐♥é❣❛❧✐tés ❝♦♥❝❡r♥❛♥t ❧❡s ❢♦♥❝t✐♦♥s t1(., .) ❡t
t2(., .) ❡t ❞❡ q✉❡❧q✉❡s ♣r♦♣r✐étés ❝♦♥❝❡r♥❛♥t ❞❡✉① s✉✐t❡s q✉❡ ❧✬♦♥ ❞é✜♥✐r❛ ❞❛♥s
❧❡ ❧❡♠♠❡ ✶✳✹✳✷✳ ❈❡s s✉✐t❡s ♥♦✉s s❡r✈✐r♦♥t ♣♦✉r ❞é❝r✐r❡ ❧❡s s❛✉ts ❞❡ Gal(Fr,s/F )
❞❛♥s ❧❡ ❝❛s ♦ù p | vF (a)✳
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▲❡♠♠❡ ✶✳✹✳✶✳ P♦✉r t♦✉t ❡♥t✐❡r s ≥ 1✱ ♦♥ ❛

✐✮ t1(s+ 1, s) < t2(s+ 1, s+ 1) ❀

✐✐✮ t2(s, s) < t1(s+ 1, s)✳

❉é♠♦♥str❛t✐♦♥✳ ❉✬❛♣rès ❧❡ i) ❡t ❧❡ iv) ❞✉ t❤é♦rè♠❡ ✶✳✸✳✺✱ ♦♥ ♦❜t✐❡♥t q✉❡

t1(s+ 1, s)− t2(s+ 1, s+ 1) =
p− 1

p+ 1
(p2s + p2s+1)− p2s+1 = −p2s < 0

❡t

t2(s, s)− t1(s+ 1, s) = p2s−1 − p− 1

p+ 1
(p2s−1 + p2s) = p2s−1(2− p) < 0.

▲❡♠♠❡ ✶✳✹✳✷✳ ❙♦✐❡♥t r ≥ s ≥ 0 ❞❡s ❡♥t✐❡rs✳ ❈♦♥str✉✐s♦♥s ♣❛r ré❝✉rr❡♥❝❡ ❞❡✉①
s✉✐t❡s ❞✬❡♥t✐❡rs ♣♦s✐t✐❢s (r(i))i≥0 ❡t (s(i))i≥0 ❝♦♠♠❡ s✉✐t ✿ r(0) = s(0) = 0 ❡t✱
♣♦✉r i ≥ 0✱

(r(i+1), s(i+1)) =











(min{r, r(i) + 1}, s(i)) s✐ s(i) = s

(r(i) + 1, s(i)) s✐ s(i) 6= s ❡t s✐ r(i) = s(i)

(r(i), s(i) + 1) s✐ s(i) 6= s ❡t s✐ r(i) 6= s(i)
. ✭✶✳✸✷✮

❖♥ ❛ ❛❧♦rs ❧❡s ♣r♦♣r✐étés s✉✐✈❛♥t❡s ✿

✐✮ ❧❡s s✉✐t❡s (r(i))i ❡t (s
(i))i s♦♥t ❝r♦✐ss❛♥t❡s ❡t st❛t✐♦♥♥❛✐r❡s ❞❡ ❧✐♠✐t❡s r❡s♣❡❝✲

t✐✈❡s r ❡t s✳ ❖♥ ♥♦t❡ ❛❧♦rs i0 ❧❡ ♣❧✉s ♣❡t✐t ❡♥t✐❡r i t❡❧ q✉❡ (r(i0), s(i0)) = (r, s)✳

✐✐✮ s♦✐t i ≥ 0 t❡❧ q✉❡ s(i) 6= s✳ ❆❧♦rs r(i) ∈ {s(i), s(i) + 1}✳

✐✐✐✮ ♣♦✉r t♦✉t i ≥ 0✱ r(i) ≥ s(i)✳

❉é♠♦♥str❛t✐♦♥✳ i) ❘❡♠❛rq✉♦♥s q✉❡ ♣❛r ❝♦♥str✉❝t✐♦♥✱ ❧❛ s✉✐t❡ (s(i))i ❡st ❝r♦✐s✲
s❛♥t❡ ❡t ♠❛❥♦ré❡ ♣❛r s ❀ ❡❧❧❡ ❡st ❞♦♥❝ st❛t✐♦♥♥❛✐r❡✳ ◆♦t♦♥s s′ s❛ ❧✐♠✐t❡✳ ◆♦t♦♥s
i1 ❧❡ ♣❧✉s ♣❡t✐t ❡♥t✐❡r t❡❧ q✉❡ s(i1) = s′✳

❙✉♣♣♦s♦♥s ♣❛r ❧✬❛❜s✉r❞❡ q✉❡ s′ < s✳ ❙♦✐t i ≥ i1✳ ❆❧♦rs✱ ♦♥ ♥❡ ♣❡✉t ♣❛s ❛✈♦✐r
r(i) 6= s(i) = s′ ❝❛r ❛❧♦rs✱ ❝❡❧❛ s✐❣♥✐✜❡r❛✐t q✉❡ s′ = s′ + 1 ❞✬❛♣rès ✭✶✳✸✷✮✱ ❝❡ q✉✐
❡st ❛❜s✉r❞❡✳ ■❧ s✬❡♥s✉✐t ❞♦♥❝ q✉❡ r(i) = s(i) = s′ ♣♦✉r t♦✉t i ≥ i1✱ ❝❡ q✉✐ ❡st ✉♥❡
♥♦✉✈❡❧❧❡ ❢♦✐s ❛❜s✉r❞❡ ♣✉✐sq✉❡ ❞✬❛♣rès ✭✶✳✸✷✮✱ ♦♥ ♦❜t✐❡♥❞r❛✐t ✉♥❡ ❢♦✐s ❡♥❝♦r❡ q✉❡
s′ = s′ + 1✳ ❖♥ ❛ ❛✐♥s✐ ♠♦♥tré q✉❡ s′ = s✳

▼♦♥tr♦♥s q✉❡ ❧❛ s✉✐t❡ (r(i))i ❡st ❝r♦✐ss❛♥t❡✳ P❛r ❝♦♥str✉❝t✐♦♥ ❞❡ (r(i))i✱ ✐❧ ❡st
❝❧❛✐r q✉❡ r(0) ≤ · · · ≤ r(i1−1) ✭❝❛r s(i) 6= s ♣♦✉r t♦✉t i ≤ i1−1✮✳ ❉❡ ♣❧✉s✱ ❞✬❛♣rès
✭✶✳✸✷✮✱ ❛♣♣❧✐q✉é à i = i1 − 1✱

r(i1) =

{

r(i1−1) + 1 ≥ r(i1−1) s✐ r(i1−1) = s(i1−1)

r(i1−1) s✐ r(i1−1) 6= s(i1−1)
.

❆✐♥s✐✱ r(i1−1) ≤ r(i1)✳ ❊♥✜♥✱ s♦✐t i ≥ i1✳ ❈♦♠♠❡ s(i1) = s ❡t q✉❡ ❧❛ s✉✐t❡
(s(i))i ❡st ❝r♦✐ss❛♥t❡✱ ✐❧ s✬❡♥s✉✐t q✉❡ s(i) = s✳ ❉✬❛♣rès ✭✶✳✸✷✮✱ ♦♥ ❛ ❛❧♦rs q✉❡
r(i+1) = min{r, r(i) + 1}✳ ❊♥ ♣❛rt✐❝✉❧✐❡r✱ r(i) ≤ r(i+1)✳ ▲❛ s✉✐t❡ (r(i))i≥i1 ❡st
❞♦♥❝ ❝r♦✐ss❛♥t❡✳ P❛r ❝♦♥séq✉❡♥t✱ ❧❛ s✉✐t❡ (r(i))i≥1 ❡st ❞♦♥❝ ❡❧❧❡ ❛✉ss✐ ❝r♦✐ss❛♥t❡✳
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❈♦♠♠❡ s′ = s✱ ✐❧ ❡♥ rés✉❧t❡✱ ❞✬❛♣rès ✭✶✳✸✷✮✱ q✉❡ r(i+1) = min{r, r(i) + 1}
♣♦✉r t♦✉t i ❛ss❡③ ❣r❛♥❞✳ ❈♦♠♠❡ (r(i))i ❡st ✉♥❡ s✉✐t❡ ❝r♦✐ss❛♥t❡✱ ♦♥ ❡♥ ❞é❞✉✐t
❛❧♦rs q✉✬❡❧❧❡ ❡st ♠❛❥♦ré❡ ♣❛r r✳ ❊❧❧❡ ❡st ❞♦♥❝ é❣❛❧❡♠❡♥t st❛t✐♦♥♥❛✐r❡✳ ◆♦t♦♥s r′

s❛ ❧✐♠✐t❡✳ ❖♥ ❛ ❛❧♦rs ❧❛ r❡❧❛t✐♦♥ r′ = min{r, r′ + 1}✱ ❞✬♦ù r′ = r✳

ii) ❈❧❛✐r❡♠❡♥t✱ ii) ❡st ✈✐❞❡ s✐ s = 0 ♣✉✐sq✉❡ s(0) = 0✳ ❙✉♣♣♦s♦♥s ❞♦♥❝ q✉❡
s > 0✳ ❉✬❛♣rès i)✱ ✐❧ ❡①✐st❡ ✉♥ ♣❧✉s ❣r❛♥❞ ❡♥t✐❡r i1 ≥ 0 t❡❧ q✉❡ s(i) 6= s ♣♦✉r t♦✉t
i ≤ i1✳

❙✐ i1 = 0✱ ❛❧♦rs ii) ❡st ❝❧❛✐r❡♠❡♥t ✈ér✐✜é ♣✉✐sq✉❡ r(0) = s(0) = 0✳ ❙✉♣♣♦s♦♥s
❞♦♥❝ q✉❡ i1 ≥ 1 ❡t ♠♦♥tr♦♥s ii) ♣❛r ré❝✉rr❡♥❝❡ ♣♦✉r i ∈ {0, . . . , i1}✳ P♦✉r
i = 0✱ ❝✬❡st ❝❧❛✐r✳ ❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ ii) s♦✐t s❛t✐s❢❛✐t ♣♦✉r ✉♥ ❝❡rt❛✐♥
i ∈ {0, . . . , i1 − 1} ❡t ♠♦♥tr♦♥s q✉✬✐❧ ❧✬❡st ❡♥❝♦r❡ ❛✉ r❛♥❣ i+ 1✳

❙✉♣♣♦s♦♥s t♦✉t ❞✬❛❜♦r❞ q✉❡ r(i) = s(i)✳ ❈♦♠♠❡ s(i) 6= s✱ ✐❧ s✬❡♥s✉✐t ❛❧♦rs✱
❞✬❛♣rès ✭✶✳✸✷✮✱ q✉❡ s(i+1) = s(i) ❡t q✉❡

r(i+1) = r(i) + 1 = s(i) + 1 = s(i+1) + 1,

❝❡ q✉✐ ♠♦♥tr❡ ❧✬❤éré❞✐té✳
❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ r(i) = s(i) + 1✳ ❈♦♠♠❡ s(i) 6= s✱ ✐❧ s✬❡♥s✉✐t ❛❧♦rs✱

❞✬❛♣rès ✭✶✳✸✷✮✱ q✉❡ s(i+1) = s(i) + 1 ❡t q✉❡

r(i+1) = r(i) = s(i) + 1 = s(i+1),

❝❡ q✉✐ ♠♦♥tr❡ à ♥♦✉✈❡❛✉ ❧✬❤éré❞✐té✳ ❖♥ ❡♥ ❞é❞✉✐t ❛✐♥s✐ ii)✳

iii) Pr♦❝é❞♦♥s ♣❛r ré❝✉rr❡♥❝❡ s✉r i ≥ 0✳ P♦✉r i = 0✱ ❝✬❡st ❝❧❛✐r✳ ❙✉♣♣♦s♦♥s
q✉❡ iii) s♦✐t ✈r❛✐ ❛✉ r❛♥❣ i ❡t ♠♦♥tr♦♥s q✉✬✐❧ ❡st ❡♥❝♦r❡ ✈r❛✐ ❛✉ r❛♥❣ i+ 1✳

❙✐ s(i+1) 6= s✱ ❛❧♦rs ♦♥ ❛ ❝❧❛✐r❡♠❡♥t q✉❡ r(i+1) ≥ s(i+1) ❞✬❛♣rès ii)✳ ❙✐ ♦♥
s✉♣♣♦s❡ ♠❛✐♥t❡♥❛♥t q✉❡ s(i) = s✱ ❛❧♦rs ❞✬❛♣rès ✭✶✳✸✷✮✱ ♦♥ ❛ q✉❡ s(i+1) = s(i)

❡t q✉❡ r(i+1) = min{r, r(i) + 1}✳ ❖r✱ r ≥ s ❡t r(i) ≥ s(i) = s ♣❛r ❤②♣♦t❤ès❡ ❞❡
ré❝✉rr❡♥❝❡✳ ■❧ s✬❡♥s✉✐t ❞♦♥❝ q✉❡ r(i+1) ≥ s = s(i+1)✱ ❝❡ q✉✐ ♠♦♥tr❡ à ♥♦✉✈❡❛✉
❧✬❤éré❞✐té ❞❛♥s ❝❡ ❝❛s✳

❙✉♣♣♦s♦♥s ❡♥✜♥ q✉❡ s(i+1) = s ❡t q✉❡ s(i) 6= s✳ ❈♦♠♠❡ s(i+1) 6= s(i)✱ ♦♥
❞é❞✉✐t ❛❧♦rs ❞❡ ✭✶✳✸✷✮ q✉❡ ❧✬♦♥ ❡st ❞❛♥s ❧❛ s✐t✉❛t✐♦♥ ♦ù r(i) 6= s(i)✳ ❆✐♥s✐✱ s(i+1) =
s(i) + 1 ❡t r(i+1) = r(i)✳ ❈♦♠♠❡ s(i) 6= s ❡t q✉❡ r(i) 6= s(i)✱ ♦♥ ❞é❞✉✐t ❛❧♦rs ❞✉
ii) q✉❡ r(i) = s(i) + 1✳ ❉❡s ❞✐✛ér❡♥t❡s ❢♦r♠✉❧❡s q✉❡ ❧✬♦♥ ❛ ♠♦♥tré❡s✱ ♦♥ ♦❜t✐❡♥t
❛❧♦rs q✉❡

r(i+1) = r(i) = s(i) + 1 = s(i+1),

❝❡ q✉✐ ♠♦♥tr❡ ❡♥❝♦r❡ ❧✬❤éré❞✐té ❞❛♥s ❝❡ ❝❛s✳ ❖♥ ❡♥ ❞é❞✉✐t ♠❛✐♥t❡♥❛♥t iii)✳

❖♥ ♣❡✉t ♠❛✐♥t❡♥❛♥t ♣r♦✉✈❡r ❧❡ t❤é♦rè♠❡ ✶✳✶✳✺✳ ▲✬❛✣r♠❛t✐♦♥ ✐✮ ❞❡ ❝❡ t❤é♦✲
rè♠❡ ❛②❛♥t été ❞é❥à ♣r♦✉✈é ❞❛♥s ❧❡ ❧❡♠♠❡ ✶✳✹✳✷✱ ✐❧ ♥♦✉s r❡st❡ à ♠♦♥tr❡r ✿

❚❤é♦rè♠❡ ✶✳✹✳✸✳ ❙✉♣♣♦s♦♥s q✉❡ p | vF (a)✳ ❙♦✐❡♥t r, s ❞❡s ❡♥t✐❡rs ♣♦s✐t✐❢s ❛✈❡❝
r ≥ s ❡t r ≥ 1✳ ❘❡♣r❡♥♦♥s ❧❡s ♥♦t❛t✐♦♥s ❡t ❧❡s s✉✐t❡s (r(i))i ❡t (s(i))i ❞é✜♥✐❡s
❞❛♥s ❧❡ ❧❡♠♠❡ ✶✳✹✳✷✳ ❆❧♦rs ❧❡s i0 ✭❝❢ ❧❡♠♠❡ ✶✳✹✳✷✱ ii)✮ s❛✉ts ❞❡ Fr,s/F s♦♥t ❧❡s

τi =

{

t1(r
(i+1), s(i+1)) s✐ s(i) = s ♦✉ s✐ r(i) = s(i)

t2(r
(i+1), s(i+1)) s✐ s(i) 6= s ❡t s✐ r(i) 6= s(i)

❛✈❡❝ i ∈ {0, . . . , i0 − 1}✳ ❉❡ ♣❧✉s✱ ♣♦✉r i ∈ {0, . . . , i0 − 1}✱ ♦♥ ❛

Gal(Fr,s/F )τi = Gal(Fr,s/Fr(i),s(i)).
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❉é♠♦♥str❛t✐♦♥✳ P❛r ❞é✜♥✐t✐♦♥ ❞❡ i0✱ ♦♥ ❛ ♣♦✉r t♦✉t i < i0 q✉❡ (r(i), s(i)) 6=
(r, s) = (r(i0), s(i0))✳ ❘❡♠❛rq✉♦♥s q✉❡ s✐ i0 = 1✱ ❛❧♦rs ❧❡ t❤é♦rè♠❡ ❡st ✈ér✐✜é✳ ❊♥
❡✛❡t✱ s✐ i0 = 1✱ ❛❧♦rs (r, s) = (r(1), s(1)) = (1, 0)✳ ❉✬❛♣rès ❧❡ ❧❡♠♠❡ ✶✳✶✳✹✱ F1,0/F
❛ ✉♥ ✉♥✐q✉❡ s❛✉t é❣❛❧ à t1(1, 0)✳ ❉✬❛♣rès ❧❡ ❧❡♠♠❡ ✶✳✸✳✸✱ ❝❡ s❛✉t ❡st é❣❛❧ à 0✳ ❊♥
♣❛rt✐❝✉❧✐❡r✱ 0 ❡st ❧❡ ♣r❡♠✐❡r s❛✉t ❞❡ F1,0/F ✱ ✐✳❡✳

Gal(F1,0/F )0 = Gal(F1,0/F ).

❖♥ ❡♥ ❞é❞✉✐t ❞♦♥❝ ❧❡ t❤é♦rè♠❡ ❞❛♥s ❧❡ ❝❛s ♦ù i0 = 1 ♣✉✐sq✉❡ τ0 = t1(1, 0) = 0
❡t q✉❡ r(0) = s(0) = 0 ♣❛r ❝♦♥str✉❝t✐♦♥ ❞❡s s✉✐t❡s (r(i))i ❡t (s(i))i✳ ❙✉♣♣♦s♦♥s
❞♦♥❝ à ♣❛rt✐r ❞❡ ♠❛✐♥t❡♥❛♥t q✉❡ i0 ≥ 2✳

P♦✉r t♦✉t i ≥ 0✱ ♥♦t♦♥s Ki := Fr(i),s(i) ✳ P❛r ❞é✜♥✐t✐♦♥ ❞❡s s✉✐t❡s (r(i))i ❡t
(s(i))i ❡t ❞❡s s❛✉ts t1(., .) ❡t t2(., .) ✭❝❢ ❧❡♠♠❡ ✶✳✶✳✹✮✱ ♦♥ r❡♠❛rq✉❡ q✉❡ τi ❡st
❧✬✉♥✐q✉❡ s❛✉t ❞❡ Ki+1/Ki✳

❖♥ s♦✉❤❛✐t❡ ♠♦♥tr❡r q✉❡ τ0 < · · · < τi0−1✳ ❙♦✐t i ∈ {0, . . . , i0 − 2} ❡t ♠♦♥✲
tr♦♥s q✉❡ τi < τi+1✳

❙✉♣♣♦s♦♥s ❞❛♥s ✉♥ ♣r❡♠✐❡r t❡♠♣s q✉❡ s(i) = s✳ ❈♦♠♠❡ i ≤ i0 − 2✱ ♦♥ ❛
❛❧♦rs✱ ♣❛r ❞é✜♥✐t✐♦♥ ❞❡ i0✱ q✉❡ r(i) < r ❡t r(i+1) < r✳ ❉✬❛♣rès ❧❡ ✭✶✳✸✷✮ ❞✉ ❧❡♠♠❡
✶✳✹✳✷✱ ♦♥ ♦❜t✐❡♥t ❛❧♦rs q✉❡

(r(i+1), s(i+1)) = (r(i) + 1, s) ❡t (r(i+2), s(i+2)) = (r(i) + 2, s).

■❧ ❡♥ rés✉❧t❡ ❞♦♥❝ q✉❡

τi = t1(r
(i) + 1, s) ❡t τi+1 = t1(r

(i) + 2, s).

❊♥ ❛♣♣❧✐q✉❛♥t ❧❛ r❡♠❛rq✉❡ ✶✳✶✳✸ ❛✈❡❝ r = 2, r′ = 1 ❡t ❛✈❡❝ s′ = s✱ ♦♥ ♦❜t✐❡♥t
❛❧♦rs q✉❡ F2,s/F1,s ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é✳ ■❧ s✬❡♥s✉✐t✱ ❡♥ ❛♣♣❧✐q✉❛♥t ❧❛ ♣r♦♣♦s✐✲
t✐♦♥ ✶✳✷✳✾ à K = F1,s ❡t à α = ζp ✭❡t ❞♦♥❝✱ K1 = F2,s✮✱ q✉❡ ❧❛ s✉✐t❡ (t1(j, s))j≥1

❡st str✐❝t❡♠❡♥t ❝r♦✐ss❛♥t❡✳ ❊♥ ♣❛rt✐❝✉❧✐❡r✱ τi < τi+1✳

❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ s(i) 6= s✳ ❙✉♣♣♦s♦♥s é❣❛❧❡♠❡♥t q✉❡ r(i) = s(i)✳
❉❛♥s ❝❡ ❝❛s✱ ❡♥ ✉t✐❧✐s❛♥t ❞❡✉① ❢♦✐s ❧❡ ✭✶✳✸✷✮ ❞✉ ❧❡♠♠❡ ✶✳✹✳✷✱ ♦♥ ❛ q✉❡ ✸

(r(i+1), s(i+1)) = (s(i) + 1, s(i)) ❡t (r(i+2), s(i+2)) = (s(i) + 1, s(i) + 1).

P❛r ❝♦♥séq✉❡♥t✱

τi = t1(s
(i) + 1, s(i)) ❡t τi+1 = t2(s

(i) + 1, s(i) + 1).

▲❡ i) ❞✉ ❧❡♠♠❡ ✶✳✹✳✶✱ ❛♣♣❧✐q✉é à s = s(i)✱ ♠♦♥tr❡ ❛❧♦rs q✉❡ τi < τi+1✳

❊♥✜♥✱ s✉♣♣♦s♦♥s q✉❡ r(i) 6= s(i)✳ ❆❧♦rs r(i) = s(i) + 1 ❞✬❛♣rès ❧❡ i) ❞✉ ❧❡♠♠❡
✶✳✹✳✷✳ ❊♥ ✉t✐❧✐s❛♥t ❧❡ ✭✶✳✸✷✮ ❞✉ ❧❡♠♠❡ ✶✳✹✳✷✱ ♦♥ ♦❜t✐❡♥t ❛❧♦rs q✉❡

(r(i+1), s(i+1)) = (s(i) + 1, s(i) + 1),

❡t ❞♦♥❝✱ r(i+1) = s(i+1)✳

✸s(i+1) 6= s ❝❛r s(i+1) = s(i) 6= s
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❘❡♠❛rq✉♦♥s q✉❡ r(i+1) 6= r✳ ❊♥ ❡✛❡t✱ s✐ r(i+1) = r✱ ♦♥ ❛✉r❛✐t ❛❧♦rs q✉❡
s(i+1) = r✳ ❖r✱ r ≥ s ❡t s ≥ s(i+1) ❞✬❛♣rès ❧❡ i) ❞✉ ❧❡♠♠❡ ✶✳✹✳✷✳ ■❧ s✬❡♥s✉✐t
❞♦♥❝ q✉❡ s(i+1) = s✳ ❉✬♦ù (r(i+1), s(i+1)) = (r, s)✱ ❝❡ q✉✐ ❡st ❛❜s✉r❞❡ ♣✉✐sq✉❡
i+ 1 ≤ i0 − 1 < i0✳

❈♦♠♠❡ r(i+1) 6= r ❡t q✉❡ r(i+1) = s(i+1)✱ ♦♥ ❞é❞✉✐t ❛❧♦rs✱ q✉❡ ❧✬♦♥ ❛✐❧❧❡
s(i) = s ♦✉ s(i) 6= s✱ ❞❡ ✭✶✳✸✷✮ q✉❡

(r(i+2), s(i+2)) = (s(i) + 2, s(i) + 1).

❖♥ ❛ ❛❧♦rs q✉❡

τi = t2(s
(i) + 1, s(i) + 1) ❡t τi+1 = t1(s

(i) + 2, s(i) + 1).

❖♥ ❞é❞✉✐t ❞✉ ii) ❞✉ ❧❡♠♠❡ ✶✳✹✳✶✱ ❛♣♣❧✐q✉é à s = s(i) + 1✱ q✉❡ τi < τi+1✳

❖♥ ❛ ❞♦♥❝ ♠♦♥tré q✉❡ τ0 < · · · < τi0−1✳ ❉✬❛♣rès ❧❡ iii) ❞✉ ❧❡♠♠❡ ✶✳✹✳✷✱ r(i) ≥
s(i) ♣♦✉r t♦✉t i ≥ 0✳ ▲✬❡①t❡♥s✐♦♥ Ki/F ❡st ❞♦♥❝ ❣❛❧♦✐s✐❡♥♥❡ ♣♦✉r t♦✉t i✳ ❈♦♠♠❡
τi ❡st ❧✬✉♥✐q✉❡ s❛✉t ❞❡ Ki+1/Ki✱ ❧❡ ❝♦r♦❧❧❛✐r❡ ✶✳✷✳✸ ♠♦♥tr❡ ❞♦♥❝ q✉❡ ❧❡s s❛✉ts
❞❡ Fr,s/F s♦♥t ❧❡s τ0, . . . , τi0−1 ❡t q✉❡ Gal(Fr,s/F )τi = Gal(Fr,s/Ki)✱ ❝❡ q✉✐
❝♦rr❡s♣♦♥❞ ♣ré❝✐sé♠❡♥t ❛✉① s❛✉ts ❡t ❛✉① ❣r♦✉♣❡s é♥♦♥❝és ❞❛♥s ❧❡ t❤é♦rè♠❡✳

❉❛♥s ❧❡ ❝♦r♦❧❧❛✐r❡ ❝✐✲❞❡ss♦✉s✱ ♥♦✉s ❞♦♥♥♦♥s ❡①♣❧✐❝✐t❡♠❡♥t ❧❛ ✈❛❧❡✉r ❞✉ ❞❡r♥✐❡r
s❛✉t ❞❡ Fr,s/F ✱ ❛✐♥s✐ q✉❡ s♦♥ ❞❡r♥✐❡r ❣r♦✉♣❡ ❞❡ r❛♠✐✜❝❛t✐♦♥✳

❈♦r♦❧❧❛✐r❡ ✶✳✹✳✹✳ ❙✉♣♣♦s♦♥s q✉❡ p | vF (a)✳ ❙♦✐❡♥t r, s ❞❡✉① ❡♥t✐❡rs ♣♦s✐t✐❢s t❡❧s
q✉❡ r ≥ s ❡t r ≥ 1✳ ❆❧♦rs ❧❡ ❞❡r♥✐❡r s❛✉t ❞❡ ❧✬❡①t❡♥s✐♦♥ Fr,s/F ❡st

τi0−1 =

{

t1(r, s) s✐ r > s

t2(r, s) s✐ r = s
.

❉❡ ♣❧✉s✱ ❧❡ ❞❡r♥✐❡r ❣r♦✉♣❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ♥♦♥ tr✐✈✐❛❧ ❡st é❣❛❧ à

Gal(Fr,s/F )τi0−1
=

{

Gal(Fr,s/Fr−1,s) s✐ r > s

Gal(Fr,s/Fr,s−1) s✐ r = s
.

❉é♠♦♥str❛t✐♦♥✳ ❉✬❛♣rès ❧❡ t❤é♦rè♠❡ ✶✳✹✳✸✱ ❧❡ ❞❡r♥✐❡r s❛✉t ❞❡ Fr,s/F ❡st é❣❛❧ à

τi0−1 =

{

t1(r
(i0), s(i0)) s✐ s(i0−1) = s ♦✉ s✐ r(i0−1) = s(i0−1)

t2(r
(i0), s(i0)) s✐ s(i0−1) 6= s ❡t s✐ r(i0−1) 6= s(i0−1)

❡t ❧❡ ❞❡r♥✐❡r ❣r♦✉♣❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ♥♦♥ tr✐✈✐❛❧ ❡st é❣❛❧ à

Gal(Fr,s/F )τi0−1 = Gal(Fr,s/Fr(i0−1),s(i0−1)).

P❛r ❝♦♥str✉❝t✐♦♥ ❞❡s s✉✐t❡s (r(i))i ❡t (s(i))i✱ ♦♥ r❡♠❛rq✉❡ q✉❡

(r(i0−1), s(i0−1)) ∈ {(r − 1, s), (r, s− 1)}. ✭✶✳✸✸✮

❈♦♠♠❡ (r(i0), s(i0)) = (r, s)✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ ♣♦✉r ♠♦♥tr❡r ❧✬❛✣r♠❛t✐♦♥ ❝♦♥❝❡r✲
♥❛♥t ❧❡ ❞❡r♥✐❡r s❛✉t✱ ✐❧ s✉✣t ❞❡ ♠♦♥tr❡r q✉❡

r > s⇔ s(i0−1) = s ♦✉ r(i0−1) = s(i0−1).
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❉❡ ♣❧✉s✱ ♣♦✉r ♠♦♥tr❡r ❧✬❛✣r♠❛t✐♦♥ ❝♦♥❝❡r♥❛♥t ❧❡ ❞❡r♥✐❡r ❣r♦✉♣❡ ❞❡ r❛♠✐✜❝❛t✐♦♥✱
✐❧ s✉✣t ❞❡ ♠♦♥tr❡r✱ ❞✬❛♣rès ✭✶✳✸✸✮✱ q✉❡

r(i0−1) = r − 1 ⇔ r > s.

❊♥ rés✉♠é✱ ♣♦✉r ♠♦♥tr❡r ❧❡ ❝♦r♦❧❧❛✐r❡✱ ✐❧ s✉✣t ❞❡ ♠♦♥tr❡r q✉❡ ❧❡s ❛ss❡rt✐♦♥s
s✉✐✈❛♥t❡s s♦♥t éq✉✐✈❛❧❡♥t❡s ✿

✐✮ r(i0−1) = r − 1 ❀

✐✐✮ s(i0−1) = s ♦✉ r(i0−1) = s(i0−1) ❀

✐✐✐✮ r > s✳

i) ⇒ ii) ✿ s✐ r(i0−1) = r − 1✱ ❛❧♦rs ❞✬❛♣rès ✭✶✳✸✸✮✱ ♦♥ ♦❜t✐❡♥t q✉❡ s(i0−1) = s✱
❝❡ q✉✐ ♠♦♥tr❡ ❧✬✐♠♣❧✐❝❛t✐♦♥ s♦✉❤❛✐té❡✳

ii) ⇒ iii) ✿ s✉♣♣♦s♦♥s q✉❡ s(i0−1) = s✳ ❉❡ ✭✶✳✸✸✮✱ ✐❧ s✬❡♥s✉✐t ❛❧♦rs q✉❡
r(i0−1) = r − 1✳ ❉❡ ♣❧✉s✱ ❞✉ iii) ❞✉ ❧❡♠♠❡ ✶✳✹✳✷✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ r(i0−1) ≥
s(i0−1)✳ ❖♥ ♦❜t✐❡♥t ❞♦♥❝ q✉❡

r = r(i0−1) + 1 ≥ s(i0−1) + 1 = s+ 1.

❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ s(i0−1) 6= s ❡t q✉❡ r(i0−1) = s(i0−1)✳ ❉✬❛♣rès
✭✶✳✸✷✮✱ ♦♥ ❛ ❛❧♦rs q✉❡

r = r(i0) = r(i0−1) + 1 = s(i0−1) + 1 > s+ 1.

❖♥ ❡♥ ❞é❞✉✐t ❛✐♥s✐ ❧✬✐♠♣❧✐❝❛t✐♦♥ s♦✉❤❛✐té❡✳

iii) ⇒ i) ✿ s✉♣♣♦s♦♥s ♣❛r ❧✬❛❜s✉r❞❡ q✉❡ r(i0−1) 6= r − 1✱ ✐✳❡✳ q✉❡ r(i0−1) = r
❞✬❛♣rès ✭✶✳✸✸✮✳ ■❧ s✬❡♥s✉✐t ❛❧♦rs q✉❡ s(i0−1) = s − 1✳ ❈♦♠♠❡ r ≥ s✱ ♦♥ ♦❜t✐❡♥t
❛❧♦rs q✉❡ r(i0−1) > s(i0−1)✳ ❉✬❛♣rès ❧❡ ii) ❞✉ ❧❡♠♠❡ ✶✳✹✳✷✱ ❝❡❧❛ s✐❣♥✐✜❡ q✉❡
r(i0−1) = s(i0−1) + 1✱ ✐✳❡✳ r = s ❝❡ q✉✐ ❡st ❛❜s✉r❞❡ ♣❛r ❤②♣♦t❤ès❡✳ ❖♥ ❡♥ ❞é❞✉✐t
❛✐♥s✐ ❧✬✐♠♣❧✐❝❛t✐♦♥ s♦✉❤❛✐té❡✱ ❡t ❞♦♥❝ ❧❡ ❝♦r♦❧❧❛✐r❡✳

❚r❛✐t♦♥s à ♣rés❡♥t ❧❡ ❝❛s p ∤ vF (a)✳ ◆♦✉s ❛✈♦♥s ❜❡s♦✐♥✱ ❛✉ ♣ré❛❧❛❜❧❡✱ ❞❡
q✉❡❧q✉❡s ✐♥é❣❛❧✐tés ❝♦♥❝❡r♥❛♥t ❧❡s ❢♦♥❝t✐♦♥s t1(., .) ❡t t2(., .) ❡t ❞❡ q✉❡❧q✉❡s ♣r♦✲
♣r✐étés ❝♦♥❝❡r♥❛♥t ❞❡✉① ♥♦✉✈❡❧❧❡s s✉✐t❡s (r(i))i ❡t (s(i))i q✉❡ ❧✬♦♥ ❞é✜♥✐r❛ ❞❛♥s
❧❡ ❧❡♠♠❡ ✶✳✹✳✻✳ ❈❡s s✉✐t❡s ♥♦✉s s❡r✈✐r♦♥s ♣♦✉r ❞é❝r✐r❡ ❧❡s s❛✉ts ❞❡ Fr,s/F ✭❛✈❡❝
r ≥ s✮ ❞❛♥s ❧❡ ❝❛s ♦ù p ∤ vF (a)✳

▲❡♠♠❡ ✶✳✹✳✺✳ P♦✉r t♦✉t ❡♥t✐❡r s ≥ 1✱ ♦♥ ❛

✐✮ t1(s+ 2, s) > t2(s+ 1, s) ❀

✐✐✮ t2(s+ 1, s) > t1(s+ 1, s− 1)✳

❉é♠♦♥str❛t✐♦♥✳ ❊♥ ✉t✐❧✐s❛♥t ❧❡ v) ❡t ❧❡ iii) ❞✉ t❤é♦rè♠❡ ✶✳✸✳✻✱ ♦♥ ❛ q✉❡

t1(s+ 2, s)− t2(s+ 1, s) = p2s+1 − 2p2s+1 − p+ 1

p+ 1
− 2p2s + p− 1

p+ 1

= p2s+1 − 2p2s > 0.
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❡t

t2(s+ 1, s)− t1(s+ 1, s− 1) =
2p2s + p− 1

p+ 1
− p2s−1 +

2p2s+1 − p+ 1

p+ 1

= 2p2s − p2s−1 > 0.

▲❡♠♠❡ ✶✳✹✳✻✳ ❙♦✐❡♥t r ≥ s ❞❡s ❡♥t✐❡rs ♣♦s✐t✐❢s t❡❧s q✉❡ r ≥ 1✳ ❈♦♥str✉✐s♦♥s
♣❛r ré❝✉rr❡♥❝❡ ❞❡✉① s✉✐t❡s ❞✬❡♥t✐❡rs ♣♦s✐t✐❢s (r(i))i ❡t (s

(i))i ❝♦♠♠❡ s✉✐t ✿ r(0) =
s(0) = 0, r(1) = 1, s(1) = 0 ❡t✱ ♣♦✉r t♦✉t i ≥ 1✱

(r(i+1), s(i+1)) =



















(min{r, r(i) + 1}, s(i)) s✐ s(i) = s

(r(i), s(i) + 1) s✐ s(i) 6= s ❡t s✐ r(i) = r

(r(i) + 1, s(i)) s✐ s(i) 6= s, s✐ r(i) 6= r ❡t s✐ r(i) = s(i) + 1

(r(i), s(i) + 1) s✐ s(i) 6= s, s✐ r(i) 6= r ❡t s✐ r(i) 6= s(i) + 1

.

✭✶✳✸✹✮
❖♥ ❛ ❛❧♦rs ❧❡s ♣r♦♣r✐étés s✉✐✈❛♥t❡s ✿

✐✮ ❧❡s s✉✐t❡s (r(i))i ❡t (s
(i))i s♦♥t ❝r♦✐ss❛♥t❡s ❡t st❛t✐♦♥♥❛✐r❡s ❞❡ ❧✐♠✐t❡s r❡s♣❡❝✲

t✐✈❡s r ❡t s✳ ❖♥ ♥♦t❡ ❛❧♦rs i0 ❧❡ ♣❧✉s ♣❡t✐t ❡♥t✐❡r i t❡❧ q✉❡ (r(i0), s(i0)) = (r, s) ❀

✐✐✮ s♦✐t i ≥ 1 t❡❧ q✉❡ r(i) 6= r ❡t s(i) 6= s✳ ❆❧♦rs r(i) ∈ {s(i) + 1, s(i) + 2} ❀

✐✐✐✮ s♦✐t i ≥ 1 t❡❧ q✉❡ r(i) 6= r✳ ❆❧♦rs r(i) ≥ s(i) + 1 ❀

✐✈✮ ♣♦✉r t♦✉t i ≥ 0✱ ♦♥ ❛ q✉❡ r(i) ≥ s(i) ❀

✈✮ s♦✐t i ≥ 0 t❡❧ q✉❡ s(i) 6= s✳ ❆❧♦rs r(i) ≤ s(i) + 2✳

❉é♠♦♥str❛t✐♦♥✳ i) ❘❡♠❛rq✉♦♥s q✉❡ ❧❡s s✉✐t❡s (r(i))i ❡t (s(i))i s♦♥t ❝r♦✐ss❛♥t❡s
❡t ♠❛❥♦ré❡s r❡s♣❡❝t✐✈❡♠❡♥t ♣❛r r ❡t s✳ ❊❧❧❡s s♦♥t ❞♦♥❝ st❛t✐♦♥♥❛✐r❡s✳ ◆♦t♦♥s r′

❧❛ ❧✐♠✐t❡ ❞❡ (r(i))i ❡t s′ ❝❡❧❧❡ ❞❡ (s(i))i✳ ◆♦t♦♥s i1 ❧❡ ♣❧✉s ♣❡t✐t ❡♥t✐❡r t❡❧ q✉❡
s(i1) = s′✳

❙✉♣♣♦s♦♥s ♣❛r ❧✬❛❜s✉r❞❡ q✉❡ s′ < s✳ ❙✉♣♣♦s♦♥s é❣❛❧❡♠❡♥t ♣❛r ❧✬❛❜s✉r❞❡ q✉❡
r′ < r✳ ❙♦✐t i ≥ i1 ✉♥ ❡♥t✐❡r✳ ❖♥ ♥❡ ♣❡✉t ❞♦♥❝ ♣❛s ❛✈♦✐r r(i) 6= s(i) + 1 ❝❛r ❝❡❧❛
s✐❣♥✐✜❡r❛✐t✱ ❞✬❛♣rès ✭✶✳✸✹✮✱ q✉❡ s′ = s′ + 1✱ ❝❡ q✉✐ ❡st ❛❜s✉r❞❡✳ ■❧ s✬❡♥s✉✐t ❞♦♥❝
q✉❡ r(i) = s(i) +1 = s′ +1 ♣♦✉r t♦✉t i ≥ i1✱ ❝❡ q✉✐ ❡st ✉♥❡ ♥♦✉✈❡❧❧❡ ❢♦✐s ❛❜s✉r❞❡
♣✉✐sq✉❡ ❞✬❛♣rès ✭✶✳✸✹✮✱ ♦♥ ❛✉r❛✐t q✉❡ s′ + 1 = s′ + 2✳ ❖♥ ❛ ❛✐♥s✐ ♠♦♥tré q✉❡
r′ = r✳

❈♦♠♠❡ s′ < s ❡t r′ = r✱ ♦♥ ❞é❞✉✐t ❛❧♦rs ❞❡ ✭✶✳✸✹✮ q✉❡ s′ = s′ + 1✱ ❝❡ q✉✐ ❡st
❡♥❝♦r❡ ✉♥❡ ❢♦✐s ❛❜s✉r❞❡✳

❖♥ ❛ ❛✐♥s✐ ♠♦♥tré q✉❡ s′ = s✳ ❊♥ ✉t✐❧✐s❛♥t ✉♥❡ ❢♦✐s ❡♥❝♦r❡ ✭✶✳✸✹✮✱ ♦♥ ❡♥
❞é❞✉✐t q✉❡ r′ = min{r, r′ + 1}✱ ❡t ❞♦♥❝ q✉❡ r′ = r✱ ❝❡ q✉✐ ♠♦♥tr❡ i)✳

ii) ■❧ ❡st ❝❧❛✐r q✉❡ ii) ❡st ✈✐❞❡ s✐ s = 0 ♣✉✐sq✉❡ s(0) = 0✳ ❙✉♣♣♦s♦♥s ❞♦♥❝ q✉❡
s > 0✳ ❈♦♠♠❡ r ≥ 1 ❡t q✉❡ r(0) = s(0) = 0✱ ♦♥ ❞é❞✉✐t ❛❧♦rs ❞✉ i) q✉✬✐❧ ❡①✐st❡ ✉♥
♣❧✉s ❣r❛♥❞ ❡♥t✐❡r i1 ≥ 0 t❡❧ q✉❡ r(i) 6= r ♣♦✉r t♦✉t i ≤ i1✳

❘❡♠❛rq✉♦♥s q✉❡ s✐ i1 = 0✱ ❛❧♦rs ii) ❡st ✈✐❞❡✳ ❙✐ i1 = 1✱ ❛❧♦rs ii) ❡st ❝❧❛✐r
♣✉✐sq✉❡ r(1) = 1 ❡t s(1) = 0✳ ◆♦✉s ❛❧❧♦♥s ♠❛✐♥t❡♥❛♥t ♠♦♥tr❡r ii) ❞❛♥s ❧❡ ❝❛s ♦ù
i1 ≥ 2✳
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▼♦♥tr♦♥s ii) ♣❛r ré❝✉rr❡♥❝❡ ♣♦✉r i ∈ {1, . . . , i1}✳ P♦✉r i = 1✱ ❝✬❡st ❝❧❛✐r ❝❛r
r(1) = 1 ❡t s(1) = 0✳ ❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ ii) s♦✐t s❛t✐s❢❛✐t ♣♦✉r ✉♥ ❝❡rt❛✐♥
i ∈ {1, . . . , i1 − 1} ❡t ♠♦♥tr♦♥s q✉✬✐❧ ❧✬❡st ❡♥❝♦r❡ ❛✉ r❛♥❣ i+ 1✳

❙✉♣♣♦s♦♥s q✉❡ r(i) = s(i)+1✳ ❈♦♠♠❡ s(i) 6= s ❡t q✉❡ r(i) 6= r ♣❛r ❤②♣♦t❤ès❡✱
♦♥ ❞é❞✉✐t ❛❧♦rs ❞❡ ✭✶✳✸✹✮ q✉❡ s(i+1) = s(i) ❡t q✉❡

r(i+1) = r(i) + 1 = s(i) + 2 = s(i+1) + 2,

❝❡ q✉✐ ♠♦♥tr❡ ❧✬❤éré❞✐té✳
❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ r(i) = s(i) + 2✳ ❈♦♠♠❡ s(i) 6= s ❡t q✉❡ r(i) 6= r

♣❛r ❤②♣♦t❤ès❡✱ ♦♥ ❞é❞✉✐t ❛❧♦rs ❞❡ ✭✶✳✸✹✮ q✉❡ s(i+1) = s(i) + 1 ❡t q✉❡

r(i+1) = r(i) = s(i) + 2 = s(i+1) + 1,

❝❡ q✉✐ ♠♦♥tr❡ à ♥♦✉✈❡❛✉ ❧✬❤éré❞✐té✳ ❖♥ ❛ ❛✐♥s✐ ♠♦♥tré ii)✳

iii) ❈♦♠♠❡ r ≥ 1✱ ♦♥ ❞é❞✉✐t ❛❧♦rs ❞✉ i) q✉✬✐❧ ❡①✐st❡ ✉♥ ♣❧✉s ❣r❛♥❞ ❡♥t✐❡r i1
t❡❧ q✉❡ r(i) 6= r ♣♦✉r t♦✉t i ≤ i1✳ ❘❡♠❛rq✉♦♥s q✉❡ iii) ❡st ✈✐❞❡ s✐ i1 = 0✳ ❙✐
i1 = 1✱ ❛❧♦rs iii) ❡st ❝❧❛✐r ♣✉✐sq✉❡ r(1) = 1 ❡t s(1) = 0✳ ◆♦✉s ❛❧❧♦♥s ♠❛✐♥t❡♥❛♥t
♠♦♥tr❡r iii) ❞❛♥s ❧❡ ❝❛s ♦ù i1 ≥ 2✳

▼♦♥tr♦♥s iii) ♣❛r ré❝✉rr❡♥❝❡ ♣♦✉r i ∈ {1, . . . , i1}✳ P♦✉r i = 1✱ ❝✬❡st ❝❧❛✐r
♣✉✐sq✉❡ r(1) = 1 ❡t s(0) = 0✳ ❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ iii) s♦✐t ✈r❛✐ ♣♦✉r ✉♥
❝❡rt❛✐♥ ❡♥t✐❡r i ∈ {1, . . . , i1 − 1} ❡t ♠♦♥tr♦♥s q✉❡ iii) ❡st ❡♥❝♦r❡ ✈ér✐✜é ❛✉ r❛♥❣
i+ 1✳

❙✐ s(i+1) 6= s✱ ❛❧♦rs ❝♦♠♠❡ r(i+1) 6= r✱ ♦♥ ❛ q✉❡ r(i+1) ≥ s(i+1) + 1 ❞✬❛♣rès
ii)✳ ❙✐ ♦♥ s✉♣♣♦s❡ ♠❛✐♥t❡♥❛♥t q✉❡ s(i) = s✱ ❛❧♦rs ❞✬❛♣rès ✭✶✳✸✹✮✱ ♦♥ ♦❜t✐❡♥t ❞♦♥❝
q✉❡ s(i+1) = s(i) ❡t q✉❡ r(i+1) = min{r, r(i) + 1}✳ ❖r✱ r(i) 6= r ❡t r(i) ≥ s(i) + 1
♣❛r ❤②♣♦t❤ès❡ ❞❡ ré❝✉rr❡♥❝❡✳ ■❧ s✬❡♥s✉✐t ❞♦♥❝ q✉❡

r(i+1) = r(i) + 1 ≥ s(i) + 2 = s(i+1) + 2 ≥ s(i+1) + 1,

❝❡ q✉✐ ♠♦♥tr❡✱ ✉♥❡ ❢♦✐s ❡♥❝♦r❡✱ ❧✬❤éré❞✐té ❞❛♥s ❝❡ ❝❛s✳
❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ s(i+1) = s ❡t q✉❡ s(i) 6= s✳ ❈♦♠♠❡ s(i+1) 6= s(i)✱

♦♥ ❞é❞✉✐t ❛❧♦rs ❞❡ ✭✶✳✸✹✮ q✉❡ s(i+1) = s(i)+1 ❡t q✉❡ r(i+1) = r(i)✳ ❉❡ ♣❧✉s✱ ❝♦♠♠❡
r(i) 6= r✱ ❝❡tt❡ s✐t✉❛t✐♦♥ ♥❡ ♣❡✉t s❡ ♣r♦❞✉✐r❡ q✉❡ s✐ r(i) 6= s(i)+1✳ ❈♦♠♠❡ s(i) 6= s✱
♦♥ ❞é❞✉✐t ❛❧♦rs ❞✉ ii) q✉❡ r(i) = s(i) + 2✳ ❉❡s ❞✐✛ér❡♥t❡s ❢♦r♠✉❧❡s q✉❡ ❧✬♦♥ ❛
♠♦♥tré❡s✱ ♦♥ ♦❜t✐❡♥t ❛❧♦rs q✉❡

r(i+1) = r(i) = s(i) + 2 = s(i+1) + 1,

❝❡ q✉✐ ♠♦♥tr❡ à ♥♦✉✈❡❛✉ ❧✬❤éré❞✐té ❞❛♥s ❝❡ ❝❛s✳ ❖♥ ❡♥ ❞é❞✉✐t ♠❛✐♥t❡♥❛♥t iii)✳

iv) ❙✐ i = 0✱ ❛❧♦rs iv) ❡st ❝❧❛✐r ♣✉✐sq✉❡ r(0) = s(0) = 0✳ ❙✉♣♣♦s♦♥s ❞♦♥❝ q✉❡
i ≥ 1✳ ❙✐ r(i) 6= r✱ ❛❧♦rs ❧❡ ❢❛✐t q✉❡ r(i) ≥ s(i) ❞é❝♦✉❧❡ ❞✉ iii) ❞❡ ❝❡ ❧❡♠♠❡✳ ❊♥
r❡✈❛♥❝❤❡✱ s✐ r(i) = r✱ ❛❧♦rs ❝♦♠♠❡ r ≥ s ❡t q✉❡ s ≥ s(i) ❞✬❛♣rès ❧❡ i)✱ ♦♥ ❡♥
❞é❞✉✐t ❛✉ss✐tôt q✉❡ r(i) ≥ s(i) ❡t iv) s✬❡♥s✉✐t✳

v) ❈❧❛✐r❡♠❡♥t✱ v) ❡st ✈✐❞❡ s✐ s = 0 ♣✉✐sq✉❡ s(0) = 0✳ ❙✉♣♣♦s♦♥s ❞♦♥❝ à ♣❛rt✐r
❞❡ ♠❛✐♥t❡♥❛♥t q✉❡ s ≥ 1✳ ❉✬❛♣rès i)✱ ✐❧ ❡①✐st❡ ✉♥ ♣❧✉s ❣r❛♥❞ ❡♥t✐❡r i1 t❡❧ q✉❡
s(i) 6= s ♣♦✉r t♦✉t i ≤ i1✳
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❙✐ i1 = 0✱ ❛❧♦rs v) ❡st ❝❧❛✐r ♣✉✐sq✉❡ r(0) = 0 ❡t s(0) = 0✳ ❉❡ ♠ê♠❡✱ s✐ i1 = 1✱
❛❧♦rs v) ❡st ❝❧❛✐r ♣✉✐sq✉❡ r(1) = 1 ❡t s(1) = 0✳ ❙✉♣♣♦s♦♥s ❞♦♥❝ q✉❡ i1 ≥ 2✳

▼♦♥tr♦♥s v) ♣❛r ré❝✉rr❡♥❝❡ ♣♦✉r i ∈ {0, . . . , i1}✳ P♦✉r i = 0 ❡t i = 1✱ ❝✬❡st
❝❧❛✐r ❞✬❛♣rès ❧❡ ♣❛r❛❣r❛♣❤❡ ♣ré❝é❞❡♥t✳ ❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ v) s♦✐t ✈r❛✐
♣♦✉r ✉♥ ❝❡rt❛✐♥ ❡♥t✐❡r i ∈ {1, . . . , i1 − 1} ❡t ♠♦♥tr♦♥s q✉❡ v) ❡st ❡♥❝♦r❡ ✈ér✐✜é
❛✉ r❛♥❣ i+ 1✳

❙✐ r(i+1) 6= r✱ ❛❧♦rs✱ ❝♦♠♠❡ s(i+1) 6= s✱ ♦♥ ❛ q✉❡ r(i+1) ≤ s(i+1)+2 ❞✬❛♣rès ❧❡
ii) ❞❡ ❝❡ ❧❡♠♠❡✳ ❙✐ ♦♥ s✉♣♣♦s❡ ♠❛✐♥t❡♥❛♥t q✉❡ r(i) = r✱ ❛❧♦rs ❝♦♠♠❡ s(i) 6= s✱ ♦♥
❞é❞✉✐t ❞❡ ✭✶✳✸✹✮ q✉❡ r(i+1) = r(i) ❡t q✉❡ s(i+1) = s(i) +1✳ ❈♦♠♠❡ s(i) +2 ≥ r(i)

♣❛r ❤②♣♦t❤ès❡ ❞❡ ré❝✉rr❡♥❝❡✱ ♦♥ ❡♥ ❞é❞✉✐t ❛❧♦rs q✉❡

s(i+1) + 2 = s(i) + 3 ≥ r(i) + 1 = r(i+1) + 1,

❝❡ q✉✐ ♠♦♥tr❡ ✉♥❡ ❢♦✐s ❡♥❝♦r❡ ❧✬❤éré❞✐té ❞❛♥s ❝❡ ❝❛s✳
❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ r(i+1) = r ❡t q✉❡ r(i) 6= r✳ ❈♦♠♠❡ r(i+1) 6= r(i)✱

♦♥ ❞é❞✉✐t ❛❧♦rs ❞❡ ✭✶✳✸✹✮ q✉❡ r(i+1) = r(i) + 1 ❡t q✉❡ s(i+1) = s(i)✳ ❉❡ ♣❧✉s✱
❝♦♠♠❡ s(i) 6= s ❡t q✉❡ r(i) 6= r✱ ❛❧♦rs ❞✬❛♣rès ✭✶✳✸✹✮✱ ❝❡tt❡ s✐t✉❛t✐♦♥ ♥❡ ♣❡✉t s❡
♣r♦❞✉✐r❡ q✉❡ s✐ r(i) = s(i) + 1✳ ❉❡s ❞✐✛ér❡♥t❡s ❢♦r♠✉❧❡s q✉❡ ❧✬♦♥ ❛ ♠♦♥tré❡s✱ ♦♥
♦❜t✐❡♥t ❛❧♦rs q✉❡

s(i+1) + 2 = s(i) + 2 = r(i) + 1 = r(i+1),

❝❡ q✉✐ ♠♦♥tr❡ à ♥♦✉✈❡❛✉ ❧✬❤éré❞✐té ❞❛♥s ❝❡ ❝❛s✳ ❖♥ ❡♥ ❞é❞✉✐t ♠❛✐♥t❡♥❛♥t v)✳

❖♥ ♣❡✉t ♠❛✐♥t❡♥❛♥t ♣r♦✉✈❡r ❧❡ t❤é♦rè♠❡ ✶✳✶✳✻✳ ▲✬❛✣r♠❛t✐♦♥ ✐✮ ❞❡ ❝❡ t❤é♦✲
rè♠❡ ❛②❛♥t été ❞é❥à ♣r♦✉✈é ❞❛♥s ❧❡ ❧❡♠♠❡ ✶✳✹✳✻✱ ✐❧ ♥♦✉s r❡st❡ à ♠♦♥tr❡r ✿

❚❤é♦rè♠❡ ✶✳✹✳✼✳ ❙✉♣♣♦s♦♥s q✉❡ p ∤ vF (a)✳ ❙♦✐❡♥t r ≥ s ❞❡s ❡♥t✐❡rs ♣♦s✐t✐❢s
t❡❧s q✉❡ r ≥ 1✳ ❘❡♣r❡♥♦♥s ❧❡s s✉✐t❡s (r(i))i ❡t (s

(i))i ❞é✜♥✐❡s ❞❛♥s ❧❡ ❧❡♠♠❡ ✶✳✹✳✻✳
❆❧♦rs ❧❡s i0 ✭❝❢ ❧❡♠♠❡ ✶✳✹✳✻✱ i)✮ s❛✉ts ❞❡ Fr,s/F s♦♥t τ0 = t1(1, 0) = 0 ❡t ❧❡s

τi =



















t1(r
(i+1), s(i+1)) s✐ s(i) = s

t2(r
(i+1), s(i+1)) s✐ s(i) 6= s ❡t r(i) = r

t1(r
(i+1), s(i+1)) s✐ s(i) 6= s, r(i) 6= r ❡t r(i) = s(i) + 1

t2(r
(i+1), s(i+1)) s✐ s(i) 6= s, r(i) 6= r ❡t r(i) 6= s(i) + 1

,

❛✈❡❝ i ∈ {1, . . . , i0 − 1}✳ ❉❡ ♣❧✉s✱ ♣♦✉r i ∈ {0, . . . , i0 − 1}✱ ♦♥ ❛ ✿

Gal(Fr,s/F )τi = Gal(Fr,s/Fr(i),s(i)).

❉é♠♦♥str❛t✐♦♥✳ P❛r ❞é✜♥✐t✐♦♥ ❞❡ i0✱ ♦♥ ❛ (r(i), s(i)) 6= (r, s) = (r(i0), s(i0)) ♣♦✉r
t♦✉t i < i0✳ ❘❡♠❛rq✉♦♥s q✉❡ s✐ i0 = 1✱ ❛❧♦rs ❧❡ t❤é♦rè♠❡ ❡st ✈ér✐✜é✳ ❊♥ ❡✛❡t✱ s✐
i0 = 1✱ ❛❧♦rs (r, s) = (r(1), s(1)) = (1, 0)✳ ❉✬❛♣rès ❧❡ ❧❡♠♠❡ ✶✳✶✳✹✱ F1,0/F ❛ ✉♥
✉♥✐q✉❡ s❛✉t é❣❛❧ à t1(1, 0)✳ ❉✬❛♣rès ❧❡ ❧❡♠♠❡ ✶✳✸✳✸✱ ❝❡ s❛✉t ✈❛✉t 0✳ ❊♥ ♣❛rt✐❝✉❧✐❡r✱
0 ❡st ❧❡ ♣r❡♠✐❡r s❛✉t ❞❡ F1,0/F ✱ ✐✳❡✳

Gal(F1,0/F )0 = Gal(F1,0/F ).

❖♥ ❡♥ ❞é❞✉✐t ❞♦♥❝ ❧❡ t❤é♦rè♠❡ ❞❛♥s ❧❡ ❝❛s ♦ù i0 = 1 ♣✉✐sq✉❡ τ0 = t1(1, 0) = 0
❡t q✉❡ r(0) = s(0) = 0 ♣❛r ❝♦♥str✉❝t✐♦♥ ❞❡s s✉✐t❡s (r(i))i ❡t (s(i))i✳ ❙✉♣♣♦s♦♥s à
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♣❛rt✐r ❞❡ ♠❛✐♥t❡♥❛♥t q✉❡ i0 ≥ 2✳

P♦✉r t♦✉t i ≥ 0✱ ♥♦t♦♥s Ki = Fr(i),s(i) ✳ P❛r ❞é✜♥✐t✐♦♥ ❞❡s s✉✐t❡s (r(i))i ❡t
(s(i))i ❡t ❞❡s s❛✉ts t1(., .) ❡t t2(., .) ✭❝❢✳ ❧❡♠♠❡ ✶✳✶✳✹✮✱ ♦♥ r❡♠❛rq✉❡ ❛❧♦rs q✉❡ τi
❡st ❧✬✉♥✐q✉❡ s❛✉t ❞❡ Ki+1/Ki✳

❖♥ s♦✉❤❛✐t❡ ♠♦♥tr❡r q✉❡ 0 = τ0 < · · · < τi0−1✳ ❙♦✐t i ∈ {0, . . . , i0 − 2} ❡t
♠♦♥tr♦♥s q✉❡ τi < τi+1✳

❙✉♣♣♦s♦♥s i = 0✳ ❖♥ ❞é❞✉✐t ❛❧♦rs ❞❡ ✭✶✳✸✹✮ q✉❡

(r(2), s(2)) =



















(2, 0) s✐ s(1) = s

(1, 1) s✐ s(1) 6= s ❡t s✐ r(1) = r

(2, 0) s✐ s(1) 6= s, s✐ r(1) 6= r ❡t s✐ r(1) = s(1) + 1

(1, 1) s✐ s(1) 6= s, s✐ r(1) 6= r ❡t s✐ r(1) 6= s(1) + 1

.

❈♦♠♠❡ (r(1), s(1)) = (1, 0) 6= (r, s) ❝❛r i0 ≥ 2✱ ✐❧ ❡♥ rés✉❧t❡ ❞♦♥❝ q✉❡

τ1 =

{

t1(2, 0) s✐ s = 0 ♦✉ r 6= 1

t2(1, 1) s✐ s 6= 0 ❡t r = 1
.

❖r✱ t1(2, 0) = p−1 ❞✬❛♣rès ❧❡ ❧❡♠♠❡ ✶✳✸✳✸ ❡t t2(1, 1) = p ❞✬❛♣rès ❧❡ ii) ❞✉ ❧❡♠♠❡
✶✳✸✳✹✳ ❉✬♦ù 0 = τ0 < τ1✳

❙✉♣♣♦s♦♥s à ♣❛rt✐r ❞❡ ♠❛✐♥t❡♥❛♥t q✉❡ i ≥ 1✳ ❙✉♣♣♦s♦♥s é❣❛❧❡♠❡♥t q✉❡
s(i) = s✳ ❈♦♠♠❡ i ≤ i0 − 2✱ ♦♥ ❛ ❛❧♦rs✱ ♣❛r ❞é✜♥✐t✐♦♥ ❞❡ i0✱ q✉❡ r(i) < r ❡t q✉❡
r(i+1) < r✳ ❉❡ ✭✶✳✸✹✮✱ ♦♥ ❛ ❛❧♦rs q✉❡

(r(i+1), s(i+1)) = (r(i) + 1, s) ❡t (r(i+2), s(i+2)) = (r(i) + 2, s).

❆✐♥s✐✱
τi = t1(r

(i) + 1, s) ❡t τi+1 = t1(r
(i) + 2, s).

❊♥ ❛♣♣❧✐q✉❛♥t ❧❛ r❡♠❛rq✉❡ ✶✳✶✳✸ ❛✈❡❝ r = 2, r′ = 1 ❡t ❛✈❡❝ s′ = s✱ ♦♥ ♦❜t✐❡♥t
❛❧♦rs q✉❡ F2,s/F1,s ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é✳ ■❧ s✬❡♥s✉✐t✱ ❡♥ ❛♣♣❧✐q✉❛♥t ❧❛ ♣r♦♣♦s✐✲
t✐♦♥ ✶✳✷✳✾ à K = F1,s ❡t à α = ζp ✭❡t ❞♦♥❝✱ K1 = F2,s✮✱ q✉❡ ❧❛ s✉✐t❡ (t1(j, s))j≥1

❡st str✐❝t❡♠❡♥t ❝r♦✐ss❛♥t❡✳ ❊♥ ♣❛rt✐❝✉❧✐❡r✱ τi < τi+1✳

➚ ♣❛rt✐r ❞❡ ♠❛✐♥t❡♥❛♥t✱ s✉♣♣♦s♦♥s q✉❡ s(i) 6= s✳ ❙✉♣♣♦s♦♥s é❣❛❧❡♠❡♥t q✉❡
r(i) = r✳ ❈♦♠♠❡ i ≤ i0 − 2✱ ♦♥ ❛ ❛❧♦rs✱ ♣❛r ❞é✜♥✐t✐♦♥ ❞❡ i0✱ q✉❡ s(i) < s ❡t q✉❡
s(i+1) < s✳ ❉❡ ✭✶✳✸✹✮✱ ♦♥ ❛ ❛❧♦rs q✉❡

(r(i+1), s(i+1)) = (r, s(i) + 1) ❡t (r(i+2), s(i+2)) = (r, s(i) + 2).

❆✐♥s✐✱
τi = t2(r, s

(i) + 1) ❡t τi+1 = t2(r, s
(i) + 2).

❊♥ ❛♣♣❧✐q✉❛♥t ❧❛ r❡♠❛rq✉❡ ✶✳✶✳✸ ❛✈❡❝ s = 1, r′ = r ❡t ❛✈❡❝ s′ = 0✱ ♦♥ ♦❜t✐❡♥t
❛❧♦rs q✉❡ Fr,1/Fr,0 ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é✳ ■❧ s✬❡♥s✉✐t✱ ❡♥ ❛♣♣❧✐q✉❛♥t ❧❛ ♣r♦♣♦s✐✲
t✐♦♥ ✶✳✷✳✾ à K = Fr,0 ❡t à α = a ✭❡t ❞♦♥❝✱ K1 = Fr,1✮✱ q✉❡ ❧❛ s✉✐t❡ (t2(r, j))j≥1

❡st str✐❝t❡♠❡♥t ❝r♦✐ss❛♥t❡✳ ❊♥ ♣❛rt✐❝✉❧✐❡r✱ τi < τi+1✳
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❙✉♣♣♦s♦♥s ❡♥ ♣❧✉s à ♣❛rt✐r ❞❡ ♠❛✐♥t❡♥❛♥t q✉❡ r(i) 6= r✳ ❙✉♣♣♦s♦♥s é❣❛❧❡♠❡♥t
q✉❡ r(i) 6= s(i) +1✳ ❉✉ ii) ❞✉ ❧❡♠♠❡ ✶✳✸✹✱ ✐❧ s✬❡♥s✉✐t ❛❧♦rs q✉❡ r(i) = s(i) +2✳ ❉❡
✭✶✳✸✹✮✱ ♦♥ ❡♥ ❞é❞✉✐t ❛❧♦rs q✉❡

(r(i+1), s(i+1)) = (s(i) + 2, s(i) + 1).

❘❡♠❛rq✉♦♥s q✉❡ r(i+1) 6= r ♣✉✐sq✉❡ r(i+1) = r(i) 6= r✳ ❘❡♠❛rq✉♦♥s é❣❛❧❡♠❡♥t
q✉❡ r(i+1) = s(i+1) + 1✳ ❆✐♥s✐✱ q✉❡ ❧✬♦♥ ❛✐❧❧❡ s(i) = s ♦✉ s(i) 6= s✱ ♦♥ ❞é❞✉✐t ❛❧♦rs
❞❡ ✭✶✳✸✹✮ q✉❡

(r(i+2), s(i+2)) = (r(i+1) + 1, s(i+1)) = (s(i) + 3, s(i) + 1).

❖♥ ♦❜t✐❡♥t ❞♦♥❝ q✉❡

τi = t2(s
(i) + 2, s(i) + 1) ❡t τi+1 = t1(s

(i) + 3, s(i) + 1).

▲❡ i) ❞✉ ❧❡♠♠❡ ✶✳✹✳✺✱ ❛♣♣❧✐q✉é à s = s(i) + 1✱ ♠♦♥tr❡ ❛❧♦rs q✉❡ τi < τi+1✳

❊♥✜♥✱ s✉♣♣♦s♦♥s q✉❡ r(i) = s(i) + 1✳ ❉❡ ✭✶✳✸✹✮✱ ♦♥ ❡♥ ❞é❞✉✐t ❛❧♦rs q✉❡

(r(i+1), s(i+1)) = (s(i) + 2, s(i)).

❘❡♠❛rq✉♦♥s q✉❡ s(i+1) 6= s ♣✉✐sq✉❡ s(i+1) = s(i) 6= s✳ ❘❡♠❛rq✉♦♥s é❣❛❧❡♠❡♥t
q✉❡ r(i+1) = s(i+1) + 2✳ ❆✐♥s✐✱ q✉❡ ❧✬♦♥ ❛✐❧❧❡ r(i) = r ♦✉ r(i) 6= r✱ ♦♥ ❞é❞✉✐t ❞❡
✭✶✳✸✹✮ q✉❡

(r(i+2), s(i+2)) = (r(i+1), s(i+1) + 1) = (s(i) + 2, s(i) + 1).

❖♥ ♦❜t✐❡♥t ❛❧♦rs q✉❡

τi = t1(s
(i) + 2, s(i)) ❡t τi+1 = t2(s

(i) + 2, s(i) + 1).

▲❡ ii) ❞✉ ❧❡♠♠❡ ✶✳✹✳✺✱ ❛♣♣❧✐q✉é à s = s(i) + 1✱ ♠♦♥tr❡ ❛❧♦rs q✉❡ τi < τi+1✳

❖♥ ❛ ❞♦♥❝ ♠♦♥tré q✉❡ τ0 < · · · < τi0−1✳ ❉✬❛♣rès ❧❡ iv) ❞✉ ❧❡♠♠❡ ✶✳✹✳✻✱ r(i) ≥
s(i) ♣♦✉r t♦✉t i ≥ 0✳ ▲✬❡①t❡♥s✐♦♥ Ki/F ❡st ❞♦♥❝ ❣❛❧♦✐s✐❡♥♥❡ ♣♦✉r t♦✉t i✳ ❈♦♠♠❡
τi ❡st ❧✬✉♥✐q✉❡ s❛✉t ❞❡ Ki+1/Ki✱ ❧❡ ❝♦r♦❧❧❛✐r❡ ✶✳✷✳✸ ♠♦♥tr❡ ❞♦♥❝ q✉❡ ❧❡s s❛✉ts
❞❡ Fr,s/F s♦♥t ❧❡s τ0, . . . , τi0−1 ❡t q✉❡ Gal(Fr,s/F )τi = Gal(Fr,s/Ki)✱ ❝❡ q✉✐
❝♦rr❡s♣♦♥❞ ♣ré❝✐sé♠❡♥t ❛✉① s❛✉ts ❡t ❛✉① ❣r♦✉♣❡s é♥♦♥❝és ❞❛♥s ❧❡ t❤é♦rè♠❡✳

❉❛♥s ❧❡ ❝♦r♦❧❧❛✐r❡ ❝✐✲❞❡ss♦✉s✱ ♥♦✉s ❞♦♥♥♦♥s ❡①♣❧✐❝✐t❡♠❡♥t ❧❛ ✈❛❧❡✉r ❞✉ ❞❡r♥✐❡r
s❛✉t ❞❡ Gal(Fr,s/F )✱ ❛✐♥s✐ q✉❡ ❧❡ ❞❡r♥✐❡r ❣r♦✉♣❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ♥♦♥ tr✐✈✐❛❧✳

❈♦r♦❧❧❛✐r❡ ✶✳✹✳✽✳ ❙✉♣♣♦s♦♥s q✉❡ p ∤ vF (a)✳ ❙♦✐❡♥t r ≥ s ❞❡s ❡♥t✐❡rs ♣♦s✐t✐❢s
t❡❧s q✉❡ r ≥ 1✳ ❆❧♦rs ❧❡ ❞❡r♥✐❡r s❛✉t ❞❡ ❧✬❡①t❡♥s✐♦♥ Fr,s/F ❡st τ0 = 0 s✐ i0 = 1
✭❧❡♠♠❡ ✶✳✹✳✻✱ i)✮ ❡t

τi0−1 =

{

t1(r, s) s✐ r > s+ 1

t2(r, s) s✐ r ∈ {s, s+ 1}

s✐ i0 ≥ 2✳ ❉❡ ♣❧✉s✱ ❧❡ ❞❡r♥✐❡r ❣r♦✉♣❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ♥♦♥ tr✐✈✐❛❧ ❡st é❣❛❧ à
Gal(Fr,s/F ) s✐ i0 = 1 ❡t

Gal(Fr,s/F )τi0−1
=

{

Gal(Fr,s/Fr−1,s) s✐ r > s+ 1

Gal(Fr,s/Fr,s−1) s✐ r ∈ {s, s+ 1}
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s✐ i0 ≥ 2✳

❉é♠♦♥str❛t✐♦♥✳ ❘❛♣♣❡❧♦♥s q✉❡ r(0) = s(0) = 0✳ ❙✐ i0 = 1✱ ❛❧♦rs ❞✬❛♣rès ❧❡
t❤é♦rè♠❡ ✶✳✹✳✼✱ τ0 = 0 ❡st ❧✬✉♥✐q✉❡ s❛✉t ❞❡ Fr,s/F ✳ ❉❡ ♣❧✉s✱ ❝♦♠♠❡ Fr,s/F ❡st
t♦t❛❧❡♠❡♥t r❛♠✐✜é ❞✬❛♣rès ❧❡ ❧❡♠♠❡ ✶✳✶✳✷✱ ✐❧ s✬❡♥s✉✐t q✉❡

Gal(Fr,s/F )0 = Gal(Fr,s/F ).

▲❡ ❝♦r♦❧❧❛✐r❡ ❡st ❛✐♥s✐ ✈ér✐✜é ❞❛♥s ❧❡ ❝❛s ♦ù i0 = 1✳ ❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡
i0 ≥ 2✳

P❛r ❞é✜♥✐t✐♦♥ ❞❡ i0✱ ♦♥ ❛ q✉❡ (r(i0), s(i0)) = (r, s)✳ ❉❡ ♣❧✉s✱ ❞✬❛♣rès ❧❡ ✭✶✳✸✹✮
❞✉ ❧❡♠♠❡ ✶✳✹✳✻✱ ✐❧ ❡st ❝❧❛✐r q✉❡

(r(i0−1), s(i0−1)) ∈ {(r − 1, s), (r, s− 1)}. ✭✶✳✸✺✮

❆✐♥s✐✱ ♦♥ ❛ s♦✐t r(i0−1) = r✱ s♦✐t s(i0−1) = s✳ ❉✉ t❤é♦rè♠❡ ✶✳✹✳✼✱ ♦♥ ❡♥ ❞é❞✉✐t
❛❧♦rs q✉❡

τi0−1 =

{

t1(r
(i0), s(i0)) = t1(r, s) s✐ s(i0−1) = s

t2(r
(i0), s(i0)) = t2(r, s) s✐ s(i0−1) 6= s

❡t q✉❡ ❧❡ ❞❡r♥✐❡r ❣r♦✉♣❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ♥♦♥ tr✐✈✐❛❧ ❡st

Gal(Fr,s/F )τi0−1 = Gal(Fr,s/Fr(i0−1),s(i0−1)).

❆✐♥s✐✱ ♣♦✉r ♠♦♥tr❡r ❧✬❛✣r♠❛t✐♦♥ ❝♦♥❝❡r♥❛♥t ❧❡ ❞❡r♥✐❡r s❛✉t✱ ✐❧ s✉✣t ❞❡ ♠♦♥✲
tr❡r q✉❡

r > s+ 1 ⇔ s(i0−1) = s.

❉❡ ♣❧✉s✱ ♣♦✉r ♠♦♥tr❡r ❧✬❛✣r♠❛t✐♦♥ ❝♦♥❝❡r♥❛♥t ❧❡ ❞❡r♥✐❡r ❣r♦✉♣❡ ❞❡ r❛♠✐✜❝❛t✐♦♥✱
✐❧ s✉✣t ❞❡ ♠♦♥tr❡r q✉❡

r(i0−1) = r − 1 ⇔ r > s+ 1.

❊♥ rés✉♠é✱ ♣♦✉r ♠♦♥tr❡r ❧❡ ❝♦r♦❧❧❛✐r❡✱ ✐❧ s✉✣t ❞❡ ♠♦♥tr❡r q✉❡ ❧❡s ❛ss❡rt✐♦♥s
s✉✐✈❛♥t❡s s♦♥t éq✉✐✈❛❧❡♥t❡s ✿

✐✮ r(i0−1) = r − 1 ❀

✐✐✮ s(i0−1) = s ❀

✐✐✐✮ r > s+ 1✳

i) ⇒ ii) ✿ ❝✬❡st ❝❧❛✐r ❝❛r s✐ r(i0−1) = r − 1✱ ❛❧♦rs s(i0−1) = s ❞✬❛♣rès ✭✶✳✸✺✮✳

ii) ⇒ iii) ✿ s✉♣♣♦s♦♥s q✉❡ s(i0−1) = s✱ ❡t ❞♦♥❝ q✉❡ r(i0−1) = r − 1 ❞✬❛♣rès
✭✶✳✸✺✮✳ ❉✬❛♣rès ❧❡ iii) ❞✉ ❧❡♠♠❡ ✶✳✹✳✻✱ ♦♥ ❡♥ ❞é❞✉✐t ❛❧♦rs q✉❡

r = r(i0−1) + 1 ≥ s(i0−1) + 2 = s+ 2,

❝❡ q✉✐ ♠♦♥tr❡ ❧✬✐♠♣❧✐❝❛t✐♦♥ s♦✉❤❛✐té❡✳

iii) ⇒ i) ✿ s✉♣♣♦s♦♥s ♣❛r ❧✬❛❜s✉r❞❡ q✉❡ r(i0−1) 6= r − 1✳ ❉✬❛♣rès ✭✶✳✸✺✮✱ ❝❡❧❛
s✐❣♥✐✜❡ q✉❡ r(i0−1) = r ❡t q✉❡ s(i0−1) = s− 1✳ ❈♦♠♠❡ r > s+ 1✱ ✐❧ s✬❡♥s✉✐t q✉❡
r(i0−1) > s(i0−1) + 2✱ ❝❡ q✉✐ ❝♦♥tr❡❞✐t ❧❡ v) ❞✉ ❧❡♠♠❡ ✶✳✹✳✻✳ ❖♥ ❛ ❛✐♥s✐ ♠♦♥tré
❧✬✐♠♣❧✐❝❛t✐♦♥ s♦✉❤❛✐té❡✱ ❡t ❞♦♥❝ ❧❡ ❝♦r♦❧❧❛✐r❡✳



✶✳✹✳ ❈❆▲❈❯▲ ❉❊❙ ●❘❖❯P❊❙ ❉❊ ❘❆▼■❋■❈❆❚■❖◆ ❉❊ GAL(FR,S/F )✳ ✹✸

◆♦✉s ❛❧❧♦♥s ❝♦♥❝❧✉r❡ ❝❡tt❡ s❡❝t✐♦♥ ❡♥ ♠♦♥tr❛♥t q✉❡ ❧❡ ❞❡r♥✐❡r s❛✉t ❞❡ ❧✬❡①✲
t❡♥s✐♦♥ Fr,s/F ❡st ♣r♦❝❤❡ ❞❡ ❧✬✐♥❞✐❝❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞❡ ❝❡tt❡ ❡①t❡♥s✐♦♥✳ P❧✉s
♣ré❝✐sé♠❡♥t✱ ♥♦✉s ❛✈♦♥s ✿

Pr♦♣♦s✐t✐♦♥ ✶✳✹✳✾✳ ❙♦✐❡♥t r ≥ s ❞❡s ❡♥t✐❡rs ♣♦s✐t✐❢s ❛✈❡❝ (r, s) 6= (1, 0)✳ ◆♦t♦♥s
T ❧❡ ❞❡r♥✐❡r s❛✉t ❞❡ Fr,s/F ✳ ❆❧♦rs p

3T ≥ e(Fr,s|F )✳
❉é♠♦♥str❛t✐♦♥✳ ❈♦♠♠❡ (r(i), s(i)) = (1, 0)✱ ❧✬❤②♣♦t❤ès❡ (r, s) 6= (1, 0) éq✉✐✈❛✉t
à ❞✐r❡ q✉❡ i0 ≥ 2 ✭❧❡♠♠❡ ✶✳✹✳✻✱ i)✮✳ ❘❛♣♣❡❧♦♥s✱ ❞✬❛♣rès ❧❡ ❧❡♠♠❡ ✶✳✶✳✷✱ q✉❡
e(Fr,s|F ) = (p − 1)pr+s−1✳ ❈♦♠♠❡♥ç♦♥s ♣❛r ❧❡ ❝❛s ♦ù p | vF (a)✳ ❉✬❛♣rès ❧❡
❝♦r♦❧❧❛✐r❡ ✶✳✹✳✹✱ ♦♥ ❛ ❛❧♦rs q✉❡

T =

{

t1(r, s) s✐ r > s

t2(s, s) s✐♥♦♥
.

❉✬❛♣rès ❧❡ t❤é♦rè♠❡ ✶✳✸✳✺✱ ✐❧ s✬❡♥s✉✐t q✉❡

T =











pr+s−1 − p2s + p−1
p+1 (p

2s − 1) s✐ r > s

p2s−1 − p−1
p+1 (p

2s−1 − 1) s✐♥♦♥

.

❘❡♠❛rq✉♦♥s q✉❡✱ à q✉❡❧q✉❡s ❝❛❧❝✉❧s é❧é♠❡♥t❛✐r❡s ♣rès✱ T ❝♦rr❡s♣♦♥❞ ♣ré❝✐sé♠❡♥t
❛✉ ♥♦♠❜r❡ l ❞❡ ❬✷✱ Pr♦♣♦s✐t✐♦♥ ✷✳✶ ✷✮❪✳ ❈♦♠♠❡ p3T ≥ p2(T + 1)✱ ❧❡ ❬✷✱ ▲❡♠♠❛
✷✳✷❪ ♣❡r♠❡t ❛❧♦rs ❞❡ ♠♦♥tr❡r ❧✬✐♥é❣❛❧✐té s♦✉❤❛✐té❡ ❞❛♥s ❧❡ ❝❛s ♦ù p | vF (a)✳

❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ p ∤ vF (a)✳ ❉✬❛♣rès ❧❡ ❝♦r♦❧❧❛✐r❡ ✶✳✹✳✽✱ ♦♥ ❛ ❛❧♦rs
q✉❡

T =

{

t1(r, s) s✐ r > s+ 1

t2(r, s) s✐♥♦♥
.

❉✬❛♣rès ❧❡ t❤é♦rè♠❡ ✶✳✸✳✺✱ ✐❧ s✬❡♥s✉✐t ❛❧♦rs q✉❡

T =































p2s+p2s−2+p−1
p+1 s✐ r = s

2p2s+p−1
p+1 s✐ r = s+ 1

pr+s−1 − p2s − 2p2s+1−p+1
p+1 s✐ r > s+ 1

.

❈♦♠♠❡♥ç♦♥s ♣❛r ❧❡ ❝❛s r = s✳ ◆♦✉s ❛❧❧♦♥s ♠♦♥tr❡r ❧✬✐♥é❣❛❧✐té ❝✐✲❞❡ss♦✉s✱ q✉✐
❡st ♣❧✉s ❢♦rt❡ q✉❡ ❝❡❧❧❡ ❞❡♠❛♥❞é❡✱

p2T ≥ (p− 1)p2s = e(Fs+1,s|F ).

P❛r q✉❡❧q✉❡s ❝❛❧❝✉❧s é❧é♠❡♥t❛✐r❡s✱ ❝❡tt❡ ✐♥é❣❛❧✐té ❡st éq✉✐✈❛❧❡♥t❡ à ❧✬✐♥é❣❛❧✐té
2p2s + p3 − p2 > 0✱ q✉✐ ❡st ❝❧❛✐r❡♠❡♥t s❛t✐s❢❛✐t❡✳ ▲❡ ❧❡♠♠❡ ❡st ❞♦♥❝ ✈ér✐✜é ❞❛♥s
❧❡ ❝❛s r = s✳

❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ r = s+ 1✳ ❈♦♠♠❡

T >
p2s + p2s−2 + p− 1

p+ 1
,
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♦♥ ❡♥ ❞é❞✉✐t ❛❧♦rs q✉❡ p2T ≥ (p− 1)p2s ❞✬❛♣rès ❧❡ ♣❛r❛❣r❛♣❤❡ ♣ré❝é❞❡♥t✳ ▲✬✐♥✲
é❣❛❧✐té ❞✉ ❧❡♠♠❡ ❡st ❛✐♥s✐ é❣❛❧❡♠❡♥t s❛t✐s❢❛✐t❡ ❞❛♥s ❧❡ ❝❛s ♦ù r = s+ 1✳

P♦✉r ✜♥✐r✱ s✉♣♣♦s♦♥s q✉❡ r > s + 1✳ P♦✉r ♣♦✉✈♦✐r ❝♦♥❝❧✉r❡✱ ✐❧ s✉✣t ❞❡
♠♦♥tr❡r q✉❡

p3
(

pr+s−1 − p2s − 2p2s+1 − p+ 1

p+ 1

)

≥ (p− 1)pr+s−1.

❈❡tt❡ ✐♥é❣❛❧✐té éq✉✐✈❛✉t à ♠♦♥tr❡r

pr+s+2 − pr+s + pr+s−1 ≥ p2s+3 +
2p2s+4 − p4 + p3

p+ 1
.

■❧ ❡st ❝❧❛✐r q✉❡ s✐ ❝❡tt❡ ✐♥é❣❛❧✐té ❡st ✈r❛✐❡ ♣♦✉r r = s+2✱ ❛❧♦rs ❡❧❧❡ ❡st ✈r❛✐❡ ♣♦✉r
t♦✉t r > s+ 2✳ ▼♦♥tr♦♥s ❞♦♥❝ q✉❡

p2s+4 − p2s+3 − p2s+2 + p2s+1 ≥ 2p2s+4 − p4 + p3

p+ 1
.

P❛r q✉❡❧q✉❡s ♦♣ér❛t✐♦♥s é❧é♠❡♥t❛✐r❡s✱ ❝❡tt❡ ✐♥é❣❛❧✐té ❡st éq✉✐✈❛❧❡♥t❡ à ✿

p2s+2(p3 − 2p2 − 2p+ 1) ≥ −p4 + p3,

q✉✐ ❡st ❝❧❛✐r❡♠❡♥t ✈ér✐✜é❡ ♣✉✐sq✉❡ ❧❡ t❡r♠❡ ❞❡ ❞r♦✐t❡ ❡st ♥é❣❛t✐❢✱ t❛♥❞✐s q✉❡ ❝❡❧✉✐
❞❡ ❣❛✉❝❤❡ ❡st ♣♦s✐t✐❢✳ ❈❡❝✐ ♣r♦✉✈❡ ❧❡ ❧❡♠♠❡✳



❈❤❛♣✐tr❡ ✷

●é♥ér❛❧✐s❛t✐♦♥ ❞✬✉♥ t❤é♦rè♠❡

❞❡ ●❛❧❛t❡❛✉

❈❡ ❝❤❛♣✐tr❡ ❡st q✉❛s✐♠♠❡♥t ✉♥ ❝♦♣✐❡r✲❝♦❧❧❡r ❞❡ ❧✬❛rt✐❝❧❡ ❬✸✹❪✳ ▲❛ s❡✉❧❡ ❞✐✛ér❡♥❝❡
❡♥tr❡ ❬✸✹❪ ❡t ❝❡ ❝❤❛♣✐tr❡ ❡st ❧❡ t❡①t❡ ✐♥tr♦❞✉❝t✐❢ ❞❡ ❧❛ s❡❝t✐♦♥ ✷✳✷ q✉✐ ❛ été r❛❥♦✉té
✭❡t q✉✐ ❡st ❧✉✐ ❛✉ss✐ ✉♥ ❝♦♣✐❡r✲❝♦❧❧❡r ❞✬✉♥❡ ♣❛rt✐❡ ❞❡ ❧✬✐♥tr♦❞✉❝t✐♦♥ ❞❡ ❝❡tt❡ t❤ès❡✮✳

✷✳✶ ❘❛♣♣❡❧s ❡t ♥♦t❛t✐♦♥s✳

✷✳✶✳✶ ❍❛✉t❡✉r ❞❡ ❲❡✐❧✳

❙♦✐❡♥t K ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s✱ x ∈ K ❡t p ✉♥ ✐❞é❛❧ ♣r❡♠✐❡r ❞❡ OK ❛✉✲❞❡ss✉s
❞✬✉♥ ♣r❡♠✐❡r p ∈ Q✳ ◆♦t♦♥s vp(x) ❧❛ ✈❛❧✉❛t✐♦♥ ❞❡ x ❡♥ p ✭✐✳❡✳ ❧✬❡①♣♦s❛♥t ❞❡
p ❞❛♥s ❧❛ ❞é❝♦♠♣♦s✐t✐♦♥ ❡♥ ✐❞é❛✉① ♣r❡♠✐❡rs ❞❡ xOK✮ ❡t |x|p = p−vp(x)/vp(p)✳
▲✬❡♥s❡♠❜❧❡ ❞❡s ♣❧❛❝❡s ✜♥✐❡s ❞❡ K ❡st ♥♦té M0(K) ❡t ❝❡❧✉✐ ❞❡s ♣❧❛❝❡s ✐♥✜♥✐❡s
M∞(K)✳ ◆♦t♦♥s é❣❛❧❡♠❡♥tM(K) = M0(K)∪M∞(K)✳ P♦✉r t♦✉t ν ∈ M0(K)✱
♦♥ ❝♦♥❢♦♥❞ ν ❡t s♦♥ ✐❞é❛❧ ♣r❡♠✐❡r ❛ss♦❝✐é✳ ❉❡ ♠ê♠❡✱ ♣♦✉r t♦✉t ν ∈ M∞(K)✱
♦♥ ❝♦♥❢♦♥❞ ν ❡t s❡s ♣❧♦♥❣❡♠❡♥ts ❛ss♦❝✐és✳

❙♦✐t ν ✉♥❡ ♣❧❛❝❡ ❞❡ K✳ ❖♥ ♥♦t❡ Kν ❧❡ ❝♦♠♣❧été ❞❡ K ❡♥ ν✳ ❙✐ ν ∈ M0(K)✱
♦♥ ♥♦t❡ dν ❧❡ ❞❡❣ré ❧♦❝❛❧ [Kν : Qp] ♦ù p ❡st ❧❡ ♣r❡♠✐❡r ❛✉✲❞❡ss♦✉s ❞❡ ν✳ ❉❡ ❧❛
♠ê♠❡ ❢❛ç♦♥✱ s✐ ν ∈ M∞(K)✱ ♦♥ ♥♦t❡ dν = [Kν : R]✳

❆✈❡❝ ❝❡s ❞✐✛ér❡♥t❡s ♥♦t❛t✐♦♥s✱ ♦♥ ❛ ✿

Pr♦♣♦s✐t✐♦♥ ✷✳✶✳✶ ✭❋♦r♠✉❧❡ ❞✉ ♣r♦❞✉✐t✱ Pr♦♣♦s✐t✐♦♥ ✶✳✹✳✹✱ ❬✶✵❪✮✳ P♦✉r t♦✉t
x ∈ K∗✱

∑

ν∈M(K)

dν log |x|ν = 0.

❉é✜♥✐ss♦♥s ♠❛✐♥t❡♥❛♥t ❧❛ ❤❛✉t❡✉r ❧♦❣❛r✐t❤♠✐q✉❡ ❡t ❛❜s♦❧✉❡ ❞❡ ❲❡✐❧✳

❉é✜♥✐t✐♦♥ ✷✳✶✳✷✳ ❙♦✐❡♥t x ∈ Q
∗
❡t K ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s ❧❡ ❝♦♥t❡♥❛♥t✳ ❖♥

❞é✜♥✐t ❧❛ ❤❛✉t❡✉r ❧♦❣❛r✐t❤♠✐q✉❡ ❡t ❛❜s♦❧✉❡ ❞❡ ❲❡✐❧✱ ♥♦té❡ h(x)✱ ♣❛r ✿

h(x) =
1

[K : Q]

∑

ν∈M(K)

dν logmax{1, |x|ν}.

✹✺
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❘❡♠❛rq✉❡ ✷✳✶✳✸✳ ❈❡tt❡ ❤❛✉t❡✉r ❡st ❛♣♣❡❧é❡ ❛❜s♦❧✉❡ ❝❛r ❡❧❧❡ ♥❡ ❞é♣❡♥❞ ♣❛s ❞✉
❝♦r♣s ❝♦♥t❡♥❛♥t x ✭❝❢ ❬✶✵✱ ➓✶✳✺❪✮✳

P♦✉r s✐♠♣❧✐✜❡r✱ ♦♥ ❞és✐❣♥❡ ♣❛r ❧❡ ♠♦t ✧❤❛✉t❡✉r✧ ❧❛ ❤❛✉t❡✉r ❧♦❣❛r✐t❤♠✐q✉❡ ❡t
❛❜s♦❧✉❡ ❞❡ ❲❡✐❧✳ ❈❡tt❡ ❤❛✉t❡✉r ♣♦ssè❞❡ ❞✬❛✉tr❡s ♣r♦♣r✐étés ✐♠♣♦rt❛♥t❡s ❝♦♠♠❡
❝❡❧❧❡s ❝✐✲❞❡ss♦✉s ✭❝❢ ❬✶✵✱ Pr♦♣♦s✐t✐♦♥ ✶✳✺✳✶✼✱ ▲❡♠♠❛ ✶✳✺✳✶✽❪✮ ✿

Pr♦♣♦s✐t✐♦♥ ✷✳✶✳✹✳ ❙♦✐❡♥t x ∈ Q ❡t λ ∈ Z✳ ❆❧♦rs h(xλ) = |λ|h(x) ❡t✱ ♣♦✉r t♦✉t
σ ∈ Gal(Q/Q)✱ ♦♥ ❛ h(σ(x)) = h(x)✳

▲❛ ❤❛✉t❡✉r ❡st ❛✉ss✐ ✉t✐❧✐sé❡ ♣♦✉r ♣r♦✉✈❡r ❧❛ ✜♥✐t✉❞❡ ❞✬✉♥ ❡♥s❡♠❜❧❡ ❞❡ ♣♦✐♥ts
❛❧❣é❜r✐q✉❡s ✈✐❛ ❧❡ t❤é♦rè♠❡ ❢♦♥❞❛♠❡♥t❛❧ ❝✐✲❞❡ss♦✉s ✿

❚❤é♦rè♠❡ ✷✳✶✳✺ ✭◆♦rt❤❝♦tt✱ ➓✶✳✻✱ ❬✶✵❪✮✳ ❋✐①♦♥s B,D > 0✳ ❆❧♦rs ❧✬❡♥s❡♠❜❧❡

{α ∈ Q
∗| h(α) ≤ B ❡t [Q(α) : Q] ≤ D}

❡st ✜♥✐✳

❙♦✐t α ∈ Q
∗
t❡❧ q✉❡ h(α) = 0✳ ❆❧♦rs✱ ♣♦✉r t♦✉t ❡♥t✐❡r k ≥ 1✱

h(αk) = k h(α) = 0.

P❛r ❧❡ t❤é♦rè♠❡ ✷✳✶✳✺✱ ❧❛ s✉✐t❡ (αk)k≥1 ♥❡ ♣♦ssè❞❡ ❛❧♦rs q✉✬✉♥ ♥♦♠❜r❡ ✜♥✐ ❞❡
t❡r♠❡s ❞✐st✐♥❝ts✳ ❆✐♥s✐✱ α ∈ µ∞✳ ▲❛ ré❝✐♣r♦q✉❡ ét❛♥t tr✐✈✐❛❧❡✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ ✿

Pr♦♣♦s✐t✐♦♥ ✷✳✶✳✻✳ ❙♦✐t α ∈ Q
∗
✳ ❆❧♦rs✱ h(α) = 0 s✐ ❡t s❡✉❧❡♠❡♥t s✐ α ∈ µ∞✳

✷✳✶✳✷ ❈♦r♣s ❞❡ r❛②♦♥s✳

❉❛♥s t♦✉t❡ ❝❡tt❡ s♦✉s✲s❡❝t✐♦♥✱ K ❞és✐❣♥❡ ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s✳ ◆♦✉s ❛❧❧♦♥s
r❛♣♣❡❧❡r q✉❡❧q✉❡s ♣r♦♣r✐étés ✉t✐❧❡s s✉r ❧❡s ❝♦r♣s ❞❡ ❝❧❛ss❡s ❞❡ r❛②♦♥s✳

❉é✜♥✐t✐♦♥ ✷✳✶✳✼✳ ❯♥ K✲ ♠♦❞✉❧❡ ❡st ✉♥ ♣r♦❞✉✐t ❢♦r♠❡❧ m = mf∞ ♦ù ∞ ❞és✐❣♥❡
❧❡ ♣r♦❞✉✐t ❢♦r♠❡❧ ❞❡ t♦✉s ❧❡s ♣❧♦♥❣❡♠❡♥ts ré❡❧s ❞❡ K ❡t mf ✭❛♣♣❡❧é❡ ❧❛ ♣❛rt✐❡
✜♥✐❡✮ ❡st ✉♥ ✐❞é❛❧ ♥♦♥✲♥✉❧ ❞❡ OK ✳

➚ ♣❛rt✐r ❞❡ ♠❛✐♥t❡♥❛♥t✱ m = mf∞ ❞és✐❣♥❡ ✉♥ K✲♠♦❞✉❧❡ ❡t ♦♥ ❝♦♥❢♦♥❞r❛
s♦✉✈❡♥t m ❡t mf ✳ ❉❡ ❝❡ ♠♦❞✉❧❡✱ ♦♥ ♣❡✉t ❝♦♥str✉✐r❡ ❞❡✉① ❣r♦✉♣❡s ✐♠♣♦rt❛♥ts✳ ▲❡
♣r❡♠✐❡r✱ ❡st ❧❡ ❣r♦✉♣❡ ❛❜é❧✐❡♥ Jm(K) ❝♦♠♣♦sé ❞❡ t♦✉s ❧❡s ✐❞é❛✉① ❢r❛❝t✐♦♥♥❛✐r❡s
❞❡ K ♣r❡♠✐❡rs à mf ❡t ❧❡ s❡❝♦♥❞✱ ♥♦té Pm(K)✱ ❡st ❧❡ s♦✉s✲❣r♦✉♣❡ ❞❡s ✐❞é❛✉①
♣r✐♥❝✐♣❛✉① ❞❡ Jm(K) ❡♥❣❡♥❞rés ♣❛r a/b ♦ù

✐✮ a, b ∈ OK\{0} ❡t pgcd((a), (b)) = 1✱

✐✐✮ a ≡ b mod m✱

✐✐✐✮ σ
(

a
b

)

> 0 ♣♦✉r t♦✉t ♣❧♦♥❣❡♠❡♥t ré❡❧ σ ❞❡ K✳

❯♥ ❣r♦✉♣❡ H ❡st ❛♣♣❡❧é ❣r♦✉♣❡ ✐❞é❛❧ ❞❡ ♠♦❞✉❧❡ m s✐ Pm(K) ⊂ H ⊂ Jm(K)✳
◆♦t♦♥s Clm(K,H) ❧❡ ❣r♦✉♣❡ q✉♦t✐❡♥t Jm(K)/H✳ ❆❧♦rs ✿

❚❤é♦rè♠❡ ✷✳✶✳✽✳ ✭❬✸✷✱ ❝❤❛♣t❡r ✻✱ Pr♦♣♦s✐t✐♦♥ ✶✳✽❪✮ P♦✉r t♦✉t ❣r♦✉♣❡ ✐❞é❛❧ H
❞❡ ♠♦❞✉❧❡ m✱ Clm(K,H) ❡st ✜♥✐✳



✷✳✶✳ ❘❆PP❊▲❙ ❊❚ ◆❖❚❆❚■❖◆❙✳ ✹✼

❊♥ ♣❛rt✐❝✉❧✐❡r✱ ❧❡ t❤é♦rè♠❡ ✷✳✶✳✽ ❛♣♣❧✐q✉é à mf = (1) ❡t à H = P(1)(K)
♠♦♥tr❡ q✉❡ ❧❡ ❣r♦✉♣❡ ❞❡s ❝❧❛ss❡s ❝❧❛ss✐q✉❡ ❡st ✜♥✐✳

❙♦✐❡♥t K ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s✱ L/K ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ ❡t m ✉♥ K✲♠♦❞✉❧❡✳
◆♦t♦♥s

Nm(L/K) = {a ⊂ K|a = NL/K(A), A ✉♥ ✐❞é❛❧ ❢r❛❝t✐♦♥♥❛✐r❡ ❞❡ L, pgcd(a,mf ) = 1}

❡t
Hm(L/K) = Pm(K)Nm(L/K).

❙✐ L/K ❡st ❣❛❧♦✐s✐❡♥♥❡ ❛❧♦rs✱ ♣❛r ✉♥ t❤é♦rè♠❡ ❞❡ ❲❡❜❡r ✭❝❢ ❬✷✸❪✮✱

[Jm(K) : Hm(L/K)] ≤ [L : K]. ✭✷✳✶✮

❖♥ ❞✐t q✉❡ L ❡st ✉♥ ❝♦r♣s ❞❡ ❝❧❛ss❡s ✭❛✉ s❡♥s ❞❡ ❚❛❦❛❣✐✮ s✉r K s✬✐❧ ❡①✐st❡ ✉♥ K✲
♠♦❞✉❧❡ m t❡❧ q✉❡ ✭✷✳✶✮ s♦✐t ✉♥❡ é❣❛❧✐té✳ ❯♥ t❡❧ K✲♠♦❞✉❧❡ ❡st ❛♣♣❡❧é ✉♥ ♠♦❞✉❧❡
❛❞♠✐ss✐❜❧❡ ♣♦✉r L/K✳ ❖♥ ❞✐t é❣❛❧❡♠❡♥t q✉✬✉♥ ❣r♦✉♣❡ ✐❞é❛❧ H ✭❛ss♦❝✐é ❛✉ K✲
♠♦❞✉❧❡ m✮ ❛❞♠❡t ✉♥ ❝♦r♣s ❞❡ ❝❧❛ss❡s L s✐ H = Hm(L/K) ❡t s✐ ✭✷✳✶✮ ❡st ✉♥❡
é❣❛❧✐té✳

❚❤é♦rè♠❡ ✷✳✶✳✾ ✭❚❛❦❛❣✐✮✳ ❙♦✐t H ✉♥ ❣r♦✉♣❡ ✐❞é❛❧ ❞✬✉♥ K✲♠♦❞✉❧❡ m✳ ❆❧♦rs ✿

✐✮ ✭❊①✐st❡♥❝❡✮ H ❛❞♠❡t ✉♥ ❝♦r♣s ❞❡ ❝❧❛ss❡s L✳

✐✐✮ ✭■s♦♠♦r♣❤✐s♠❡✮ s✐ H ❛❞♠❡t ✉♥ ❝♦r♣s ❞❡ ❝❧❛ss❡s L✱ ❛❧♦rs Gal(L/K) ≃
Clm(K,H)✳

✐✐✐✮ ✭❈♦♠♣❧ét✉❞❡✮ t♦✉t❡ ❡①t❡♥s✐♦♥ ❛❜é❧✐❡♥♥❡ ❞❡ K ❡st ✉♥ ❝♦r♣s ❞❡ ❝❧❛ss❡s s✉r
K✳

✐✈✮ ✭❈♦♠♣❛r❛✐s♦♥✮ s✐ H1 ✭r❡s♣✳ H2✮ ❡st ✉♥ ❣r♦✉♣❡ ✐❞é❛❧ ❛ss♦❝✐é ❛✉ K✲♠♦❞✉❧❡
m ❡t ❛❞♠❡t ✉♥ ❝♦r♣s ❞❡ ❝❧❛ss❡s L1 ✭r❡s♣✳ L2✮✱ ❛❧♦rs

L1 ⊂ L2 ⇔ H2 ⊂ H1.

✈✮ ✭❉é❝♦♠♣♦s✐t✐♦♥✮ s✐ H ❛❞♠❡t ✉♥ ❝♦r♣s ❞❡ ❝❧❛ss❡s L✱ ❛❧♦rs t♦✉t ♣r❡♠✐❡r p ❞❡
OK ♥❡ ❞✐✈✐s❛♥t ♣❛s m ❡st ♥♦♥ r❛♠✐✜é ❞❛♥s L ❡t s♦♥ ❞❡❣ré rés✐❞✉❡❧ fp(L|K)
❡st é❣❛❧ à ❧✬♦r❞r❡ ❞❡ p ❞❛♥s Jm(K)/H✳

❙♦✐❡♥t m ✉♥ K✲ ♠♦❞✉❧❡ ❡t H ✉♥ ❣r♦✉♣❡ ✐❞é❛❧ ❞❡ ♠♦❞✉❧❡ m✳ ▲❡ i) ❡t ❧❡ iv)
❞✉ t❤é♦rè♠❡ ✷✳✶✳✾ ♣r♦✉✈❡♥t r❡s♣❡❝t✐✈❡♠❡♥t ❧✬❡①✐st❡♥❝❡ ❡t ❧✬✉♥✐❝✐té ❞✉ ❝♦r♣s ❞❡
❝❧❛ss❡s ♣♦✉r H✳ ❙✐ H = Pm(K)✱ ❧❡ ❝♦r♣s ❞❡ ❝❧❛ss❡s ♣♦✉r H ❡st ❛♣♣❡❧é ❝♦r♣s ❞❡
r❛②♦♥ ❡t ❡st ♥♦té Km✳

❙♦✐t L/K ✉♥❡ ❡①t❡♥s✐♦♥ ❛❜é❧✐❡♥♥❡ ✜♥✐❡✳ ❆❧♦rs✱ ♣❛r ❧❡ iii) ❞✉ t❤é♦rè♠❡ ✷✳✶✳✾✱
♦♥ ♣❡✉t tr♦✉✈❡r ✉♥ K✲♠♦❞✉❧❡ m1 ❡t ✉♥ ❣r♦✉♣❡ ✐❞é❛❧ H1 ❞❡ ♠♦❞✉❧❡ m1 t❡❧s q✉❡
L ❡st ✉♥ ❝♦r♣s ❞❡ ❝❧❛ss❡s ♣♦✉r H1✳ ❖r✱ Pm1

(K) ⊂ H1 ❡t ❞♦♥❝ L ⊂ Km1
❞✬❛♣rès

❧❡ iv) ❞✉ t❤é♦rè♠❡ ✷✳✶✳✾✳ ❆✐♥s✐✱ ❧❡s ❝♦r♣s ❞❡ r❛②♦♥s ❥♦✉❡♥t ❧❡ rô❧❡ ❞❡s ❡①t❡♥s✐♦♥s
❝②❝❧♦t♦♠✐q✉❡s ❞❛♥s ❧❡ s❡♥s ♦ù t♦✉t❡ ❡①t❡♥s✐♦♥ ❛❜é❧✐❡♥♥❡ ✜♥✐❡ ❞❡ K ❡st ❝♦♥t❡♥✉❡
❞❛♥s ✉♥ ❝♦r♣s ❞❡ r❛②♦♥ ❞❡ K✳

▲❡ ❝❛s m = (1) ❢♦✉r♥✐t ❞❡s rés✉❧t❛ts ❞é❥à ❝♦♥♥✉s s✉r ❧❡s ❝♦r♣s ❞❡ ❍✐❧❜❡rt✳
❉❛♥s ❝❡ ❝❛s✱ ❧❡ ❝♦r♣s ❞❡ r❛②♦♥ ❡st ❧❡ ❝♦r♣s ❞❡ ❍✐❧❜❡rt ❞✉ ❝♦r♣s K✳
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✷✳✶✳✸ ▼❛❥♦r❛t✐♦♥ ❞✉ ❞❡❣ré ❞✬✐♥❡rt✐❡✳

❖♥ s✬✐♥tér❡ss❡ ♠❛✐♥t❡♥❛♥t à ❧❛ ♠❛❥♦r❛t✐♦♥ ❞✉ ❞❡❣ré ❞✬✐♥❡rt✐❡ ❞❛♥s ✉♥ ❝♦♠♣♦s✐✲
t✉♠ ❞❡ ❝♦r♣s✳ ❏✉sq✉✬à ❧❛ ✜♥ ❞❡ ❝❡tt❡ s♦✉s✲s❡❝t✐♦♥✱ ✜①♦♥s ✉♥ ♣r❡♠✐❡r r❛t✐♦♥♥❡❧ p
❡t ✉♥ ❝♦r♣s ❧♦❝❛❧ F/Qp✳ ❘❛♣♣❡❧♦♥s ❞✬❛❜♦r❞ ✉♥ rés✉❧t❛t ❞❡ ❑r❛s♥❡r q✉✐ ❞♦♥♥❡ ❧❡
♥♦♠❜r❡ ❞✬❡①t❡♥s✐♦♥s ❡t ❞✬❡①t❡♥s✐♦♥s t♦t❛❧❡♠❡♥t r❛♠✐✜é❡s ❞❡ F ❞❡ ❞❡❣ré ✜①é✳

❚❤é♦rè♠❡ ✷✳✶✳✶✵ ✭❑r❛s♥❡r✱ ❚❤é♦rè♠❡ ✷✱ ❬✷✽❪✮✳ ◆♦t♦♥s NF,d ❧❡ ♥♦♠❜r❡ ❞✬❡①✲
t❡♥s✐♦♥s K/F ❞❡ ❞❡❣ré d = hpm ❛✈❡❝ (h, p) = 1 ❡t D = d[F : Qp]✳ ❆❧♦rs

NF,d =





∑

l|h
l





(

m
∑

s=0

pm+s+1 − p2s

p− 1
(pǫ(s)D − pǫ(s−1)D)

)

,

♦ù ǫ(s) = p−1 + p−2 + ...+ p−s s✐ s > 0✱ ǫ(0) = 0 ❡t pǫ(s−1)D = 0 s✐ s = 0✳

❉❡ ♣❧✉s✱ s✐ N (r)
F,d ❞és✐❣♥❡ ❧❡ ♥♦♠❜r❡ ❞✬❡①t❡♥s✐♦♥s t♦t❛❧❡♠❡♥t r❛♠✐✜é❡s K/F

❞❡ ❞❡❣ré d✱ ❛❧♦rs

N (r)
F,d = d

m
∑

s=0

ps(pǫ(s)D − pǫ(s−1)D).

▲❡ t❤é♦rè♠❡ ❞❡ ❑r❛s♥❡r ❞♦♥♥❡ ❡♥ ♣❛rt✐❝✉❧✐❡r ✉♥❡ ♠❛❥♦r❛t✐♦♥ ❞❡ ❧✬✐♥❞✐❝❡ ❞❡
r❛♠✐✜❝❛t✐♦♥ ❡t ❞✉ ❞❡❣ré ❞✬✐♥❡rt✐❡ ❞✉ ❝♦♠♣♦s✐t✉♠ ❞✬✉♥❡ ❢❛♠✐❧❧❡ ❞✬❡①t❡♥s✐♦♥s ❞❡
F ✳

❈♦r♦❧❧❛✐r❡ ✷✳✶✳✶✶✳ ❙♦✐t (Ki/F )i∈N ✉♥❡ ❢❛♠✐❧❧❡ ❞✬❡①t❡♥s✐♦♥s ✜♥✐❡s t❡❧❧❡ q✉❡ ❧❛
s✉✐t❡ ([Ki : F ])i ❡st ♠❛❥♦ré❡✳ ◆♦t♦♥s Γ = {[Ki : F ], i ∈ N} ❡t K ❧❡ ❝♦♠♣♦s✐t✉♠
❞❡s Ki✳ ❆❧♦rs

e(K|F ), f(K|F ) ≤ e(K|F )f(K|F ) = [K : F ] ≤
∏

d∈Γ

dNF,d .

◆♦✉s ♥♦✉s ♣r♦♣♦s♦♥s ❞❡ ❞♦♥♥❡r ✉♥❡ ♠❛❥♦r❛t✐♦♥ ♣❧✉s ✜♥❡ q✉✐ s❡r❛ ♣r♦✉✲
✈é❡ ❞❛♥s ❧✬❛♣♣❡♥❞✐❝❡✳ P❛r ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✵✱ ❧❛ ❢❛♠✐❧❧❡ (Ki/F )i∈N q✉✐ ✐♥t❡r✲
✈✐❡♥t ❞❛♥s ❧❡ ❝♦r♦❧❧❛✐r❡ ✷✳✶✳✶✶ ❡st ✉♥❡ ❢❛♠✐❧❧❡ ✜♥✐❡ ❀ ♦♥ ❧❛ ♥♦t❡ ♠❛✐♥t❡♥❛♥t
{K1/F, . . . ,Kn/F}✳ ◗✉✐tt❡ à ♣❡r♠✉t❡r ❧❡s ❝♦r♣s K1, . . . ,Kn✱ ♦♥ s✉♣♣♦s❡ q✉❡
K1/F, ...,Km/F s♦♥t ♥♦♥ s❛✉✈❛❣❡♠❡♥t r❛♠✐✜és ❡t q✉❡ Km+1/F, ...,Kn/F s♦♥t
s❛✉✈❛❣❡♠❡♥t r❛♠✐✜és✳ ◆♦t♦♥s ei = e(Ki|F ) ❡t fi = f(Ki|F )✳ P♦✉r t♦✉t r ∈
{1, . . . , n}✱ ♣♦s♦♥s

Λr = {e1, . . . , er}. ✭✷✳✷✮

❙♦✐t e ∈ Λn✳ ◆♦t♦♥s N (e) ❧❡ ♥♦♠❜r❡ ❞✬❡①t❡♥s✐♦♥s Ki/F ❞✬✐♥❞✐❝❡ ❞❡ r❛♠✐✜❝❛t✐♦♥
e✳ ❊♥✜♥✱ ♣♦✉r t♦✉t ♣r❡♠✐❡r q✱ ♦♥ ♥♦t❡

ar(q) :=

(

∑

e∈Λr

vq(e)

)

−max
e∈Λr

(vq(e)). ✭✷✳✸✮

❚❤é♦rè♠❡ ✷✳✶✳✶✷✳ ❙✐ m = n✱ ❛❧♦rs e(K1 . . .Kn|F ) = ppcm(e1, . . . , en)✳ ❙✐
m < n✱ ❛❧♦rs

e(K1 . . .Kn|F ) ≤ ppcm(e1, . . . , em+1)e
N (em+1)−1
m+1

∏

e∈Λn\Λm+1

eN (e).
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❖♥ ❛ é❣❛❧❡♠❡♥t
f(K1...Kn|F ) ≤ ppcm(f1, ..., fn)E

♦ù
E =

∏

e∈Λn

eN (e)−1
∏

q∈P
qan(q) ✭✷✳✹✮

s✐ m ≥ n− 2 ❡t
E =

∏

e∈Λm+2

e−1
∏

q∈P
qam+2(q)

∏

e∈Λn

eN (e) ✭✷✳✺✮

s✐ m < n− 2✳

▲❛ ✈❛❧❡✉r ❞❡ e(K1 . . .Kn|F ) ❞❛♥s ❧❡ ❝❛s ♦ù m = n ❞❛♥s ❧❡ t❤é♦rè♠❡ ❝✐✲❞❡ss✉s
❞é❝♦✉❧❡ ✐♠♠é❞✐❛t❡♠❡♥t ❞✉ ❧❡♠♠❡ ❞✬❆❜❤②❛♥❦❛r ❝✐✲❞❡ss♦✉s ✿

❚❤é♦rè♠❡ ✷✳✶✳✶✸ ✭▲❡♠♠❡ ❞✬❆❜❤②❛♥❦❛r✱ ❚❤❡♦r❡♠ ✸✱ ❬✶✼❪✮✳ ❙♦✐t F/Qp ✉♥❡ ❡①✲
t❡♥s✐♦♥ ✜♥✐❡✳ ❙♦✐❡♥t L1/F ❡t L2/F ❞❡✉① ❡①t❡♥s✐♦♥s ✜♥✐❡s t❡❧❧❡s q✉❡ p ∤ e(L1|F )
♦✉ p ∤ e(L2|F )✳ ❆❧♦rs

e(L1L2|F ) = ppcm(e(L1|F ), e(L2|F )).

■❧ ♥✬❡st ♣❛s t♦✉❥♦✉rs ❛✐sé ❞❡ s❛✈♦✐r s✐ ❞❡✉① ❡①t❡♥s✐♦♥s ❞❡ F s♦♥t é❣❛❧❡s✳ ▲❡
♥♦♠❜r❡ N (e) ♥✬❡st ❞♦♥❝ ♣❛s t♦✉❥♦✉rs ❢❛❝✐❧❡ à ❝❛❧❝✉❧❡r✳ ❙✐ ❧✬♦♥ ✈❡✉t ✉♥❡ ♠❛❥♦✲
r❛t✐♦♥ ♣❧✉s ❡①♣❧✐❝✐t❡ ❞✉ ❞❡❣ré rés✐❞✉❡❧ f(K1 . . .Kn|F )✱ ♦♥ ♣❡✉t ♠❛❥♦r❡r N (e)
❝♦♠♠❡ s✉✐t ✿ s♦✐❡♥t e ∈ Λn ❡t f ∈ N∗ ❡t ❝❤❡r❝❤♦♥s ❧❡ ♥♦♠❜r❡ ❞✬❡①t❡♥s✐♦♥s L/F
t❡❧❧❡s q✉❡

{

e(L|F ) = e

f(L|F ) = f
.

◆♦t♦♥s F{f} ❧✬✉♥✐q✉❡ ❡①t❡♥s✐♦♥ ♥♦♥ r❛♠✐✜é❡ ❞❡ F ❞❡ ❞❡❣ré f ✭❝❢ ❬✷✹✱ ❈❤❛♣t❡r
■■■✱ ❚❤❡♦r❡♠ ✷✺❪✮✳ ❆❧♦rs✱ ❧❡ ♥♦♠❜r❡ ❞✬❡①t❡♥s✐♦♥s ❞❡ F ❞❡ ❞❡❣ré ef ❡t ❞✬✐♥❞✐❝❡ ❞❡
r❛♠✐✜❝❛t✐♦♥ e ❡st é❣❛❧ ❛✉ ♥♦♠❜r❡ ❞✬❡①t❡♥s✐♦♥s t♦t❛❧❡♠❡♥t r❛♠✐✜é❡s ❞❡ F{f} ❞❡
❞❡❣ré e✱ ✐✳❡✳ à N (r)

F{f},e q✉✐ s❡ ❝❛❧❝✉❧❡ à ❧✬❛✐❞❡ ❞✉ t❤é♦rè♠❡ ✷✳✶✳✶✵✳ ❖♥ ❡♥ ❞é❞✉✐t
❞♦♥❝ q✉❡

N (e) ≤
∑

f∈Λ(e)

N (r)
F{f},e, ✭✷✳✻✮

♦ù Λ(e) = {f ∈ N∗| ∃i ∈ {1, . . . , n}, e = ei ❡t f = fi}✳

❘❡♠❛rq✉❡ ✷✳✶✳✶✹✳ P♦✉r ❞✬❛✉tr❡s rés✉❧t❛ts ❝♦♥❝❡r♥❛♥t ❧✬✐♥❞✐❝❡ ❞❡ r❛♠✐✜❝❛t✐♦♥
❞❛♥s ✉♥ ❝♦♠♣♦s✐t✉♠ ❞✬❡①t❡♥s✐♦♥s s❛✉✈❛❣❡s ❜✐❡♥ ♣❛rt✐❝✉❧✐èr❡s✱ ❧❡ ❧❡❝t❡✉r ✐♥tér❡ssé
♣♦✉rr❛ ✈♦✐r ❬✶✷❪ ♦✉ ❬✷✵❪✳

✷✳✷ ❘és✉❧t❛t ♣r✐♥❝✐♣❛❧✳

P♦✉r ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s K✱ ♦♥ ♥♦t❡ H(K) ❧❡ ❝♦r♣s ❞❡ ❍✐❧❜❡rt ❞❡ K✳ ❘é❝❡♠✲
♠❡♥t✱ ●❛❧❛t❡❛✉ ❛ ♠♦♥tré q✉❡ ✿

❚❤é♦rè♠❡ ✷✳✷✳✶ ✭●❛❧❛t❡❛✉✱ ➓✺✱ ❬✷✺❪✮✳ ❙♦✐t (Kn/Q)n ✉♥❡ s✉✐t❡ ❞✬❡①t❡♥s✐♦♥s
✜♥✐❡s t❡❧❧❡ q✉❡ ❧❛ s✉✐t❡ ([Kn : Q])n ❡st ♠❛❥♦ré❡✳ ❙✐ ✿

✐✮ Kn/Q ❡st ❣❛❧♦✐s✐❡♥♥❡ ♣♦✉r t♦✉t n ❀
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✐✐✮ ✐❧ ❡①✐st❡ ✉♥ ♣r❡♠✐❡r p ✐♥❡rt❡ ❞❛♥s t♦✉s ❧❡s Kn ❀

✐✐✐✮ ❧❡s ❞✐s❝r✐♠✐♥❛♥ts ❞❡s Kn s♦♥t ❞❡✉① à ❞❡✉① ♣r❡♠✐❡rs ❡♥tr❡ ❡✉① ❀

❛❧♦rs ❧❡ ❝♦♠♣♦s✐t✉♠ L ❞❡ t♦✉s ❧❡s H(Kn) s❛t✐s❢❛✐t ❧❛ ♣r♦♣r✐été ✭❇✮✳

▲❛ ❝♦♥❞✐t✐♦♥ iii) ❡st ❛ss❡③ r❡str✐❝t✐✈❡✳ P❛r ✉♥ t❤é♦rè♠❡ ❞❡ ❉✐r✐❝❤❧❡t ✭❝❢ ❬✷✹✱
❈❤❛♣t❡r ■■■✱ t❤❡♦r❡♠ ✷✷❪✮✱ ❝❡❧❛ ✐♠♣❧✐q✉❡ q✉❡ t♦✉t ♣r❡♠✐❡r q ∈ Q ❞♦✐t êtr❡ r❛♠✐✜é
❞❛♥s ❛✉ ♣❧✉s ✉♥ ❞❡s Kn✳ ●❛❧❛t❡❛✉ ❛ ❝♦♥❥❡❝t✉ré q✉✬à ❧✬❛✐❞❡ ❞✬✉♥❡ ét✉❞❡ ❧♦❝❛❧❡✱
♦♥ ♣♦✉✈❛✐t s❡ ♣❛ss❡r ❞❡ ❝❡tt❡ ❝♦♥❞✐t✐♦♥✳

◆♦tr❡ rés✉❧t❛t ♣r✐♥❝✐♣❛❧ ❝♦♥s✐st❡ à s✉♣♣r✐♠❡r ❧❡s ❝♦♥❞✐t✐♦♥s i) ❡t iii) ❞✉
t❤é♦rè♠❡ ✷✳✷✳✶ ❛✐♥s✐ q✉✬ à ❛✛❛✐❜❧✐r ❧❛ ❝♦♥❞✐t✐♦♥ ii) ❡♥ s✉♣♣♦s❛♥t s❡✉❧❡♠❡♥t q✉✬✐❧
❡①✐st❡ ✉♥ ✉♥✐q✉❡ ✐❞é❛❧ ♣r❡♠✐❡r ❞❡ OKn

❛✉✲❞❡ss✉s ❞❡ p✳ ❊♥ ♣❛rt✐❝✉❧✐❡r✱ ♦♥ ❛✉t♦r✐s❡
p à êtr❡ r❛♠✐✜é ❞❛♥s Kn✳

❚❤é♦rè♠❡ ✷✳✷✳✷✳ ❙♦✐t (Kn/Q)n ✉♥❡ s✉✐t❡ ❞✬❡①t❡♥s✐♦♥s ✜♥✐❡s t❡❧❧❡ q✉❡ ❧❛ s✉✐t❡
([Kn : Q])n ❡st ♠❛❥♦ré❡✳ ❙✉♣♣♦s♦♥s q✉✬✐❧ ❡①✐st❡ ✉♥ ♣r❡♠✐❡r p ∈ Q t❡❧ q✉❡ ♣♦✉r
t♦✉t n✱ ✐❧ ❡①✐st❡ ✉♥ ✉♥✐q✉❡ ✐❞é❛❧ ♣r❡♠✐❡r pn ❞❡ OKn

❛✉✲❞❡ss✉s ❞❡ p✳ ❆❧♦rs ❧❡
❝♦♠♣♦s✐t✉♠ L ❞❡ t♦✉s ❧❡s H(Kn) s❛t✐s❢❛✐t ❧❛ ♣r♦♣r✐été ✭❇✮✳

❆✈❡❝ ♥♦tr❡ ✐❞é❡✱ ✐❧ ❡st ❡♥ ❢❛✐t ♣♦ss✐❜❧❡ ❞❡ ❣é♥ér❛❧✐s❡r ❧❡ t❤é♦rè♠❡ ✷✳✷✳✷ ❡♥
❝♦♥s✐❞ér❛♥t ❞❡s ❝♦r♣s ❞❡ r❛②♦♥s ♣❧✉tôt q✉❡ ❞❡s ❝♦r♣s ❞❡ ❍✐❧❜❡rt✳ ❉❛♥s ❝❡tt❡
s❡❝t✐♦♥✱ ♦♥ s❡ ♣r♦♣♦s❡ ❞❡ ♠♦♥tr❡r ❧❡ t❤é♦rè♠❡ s✉✐✈❛♥t ✿

❚❤é♦rè♠❡ ✷✳✷✳✸✳ ❙♦✐❡♥t K ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s ❡t p ✉♥ ✐❞é❛❧ ♣r❡♠✐❡r ❞❡ OK ✳
❙♦✐t (Kn/K)n∈N ✉♥❡ s✉✐t❡ ❞✬❡①t❡♥s✐♦♥s ✜♥✐❡s t❡❧❧❡ q✉❡ ❧❛ s✉✐t❡ ([Kn : K])n ❡st
♠❛❥♦ré❡ ❡t t❡❧❧❡ q✉❡ ♣♦✉r t♦✉t n✱ ✐❧ ❡①✐st❡ ✉♥ ✉♥✐q✉❡ ✐❞é❛❧ ♣r❡♠✐❡r pn ❞❡ OKn

❛✉✲❞❡ss✉s ❞❡ p✳ ❋✐①♦♥s M ≥ 1 ✉♥ ❡♥t✐❡r✳ P♦✉r n ∈ N✱ ♥♦t♦♥s

Ωn = {✐❞é❛✉① m ⊂ OKn
| ∃m ≤M, p ∤ m, ❡t m ❛✉✲❞❡ss✉s ❞❡ ♠}.

P♦✉r m ∈ Ωn✱ ♥♦t♦♥s Kn,m ❧❡ ❝♦r♣s ❞❡ r❛②♦♥ ❞❡ Kn ❛ss♦❝✐é à m✳ ❆❧♦rs ❧❡
❝♦♠♣♦s✐t✉♠ L ❞❡ t♦✉s ❧❡s Kn,m ❛ ❧❛ ♣r♦♣r✐été (B)✳

P♦✉r r❡tr♦✉✈❡r ❧❡ t❤é♦rè♠❡ ✷✳✷✳✷✱ ✐❧ s✉✣t ❞❡ ♣r❡♥❞r❡ K = Q✱ p = pZ ❡t
M = 1✳

▲❛ ❞é♠♦♥str❛t✐♦♥ r❡♣♦s❡ s✉r ✉♥❡ ♠ét❤♦❞❡ ❞és♦r♠❛✐s ❝❧❛ss✐q✉❡ ❡t q✉✐ s❡r❛
✉t✐❧✐sé❡ ❞❛♥s ❧❡ ❧❡♠♠❡ ❝✐✲❞❡ss♦✉s✳

✷✳✷✳✶ Pr❡✉✈❡ ❞✉ rés✉❧t❛t ♣r✐♥❝✐♣❛❧

❙♦✐❡♥t K ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s✱ L/K ✉♥❡ ❡①t❡♥s✐♦♥ ❛❧❣é❜r✐q✉❡ ❡t p ✉♥ ✐❞é❛❧
♣r❡♠✐❡r ❞❡ OK ❛✉✲❞❡ss✉s ❞✬✉♥ ♣r❡♠✐❡r r❛t✐♦♥♥❡❧ p✳

❉é✜♥✐t✐♦♥ ✷✳✷✳✹✳ P♦✉r e ∈ N∗✱ ♦♥ ❞é✜♥✐t ❧❡s ré❡❧s λ(e, p) ❡t β(e, p) ❞❡ ❧❛ ❢❛ç♦♥
s✉✐✈❛♥t❡✳ ❙♦✐t k ❧✬✉♥✐q✉❡ ❡♥t✐❡r t❡❧ q✉❡

pk−1(p− 1) ≤ e < pk(p− 1),

❡t ♥♦t♦♥s✱ ♣♦✉r λ ∈ N✱ βλ(e, p) = pmin{λ,k}/e + max{0, λ − k}✳ ❆❧♦rs ♦♥ ♥♦t❡
λ(e, p) ❧❡ ♣❧✉s ♣❡t✐t ❡♥t✐❡r ♣♦s✐t✐❢ t❡❧ q✉❡

βλ(e,p)(e, p) [Kp : Qp] log p > [K : Q] log 2,

❡t ♦♥ ♥♦t❡ β(e, p) := βλ(e,p)(e, p)✳
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▲❡♠♠❡ ✷✳✷✳✺✳ ❙♦✐t ν | p ✉♥❡ ♣❧❛❝❡ ✜♥✐❡ ❞❡ OL✳ ❙✉♣♣♦s♦♥s q✉❡ ❧❡s ❢❛♠✐❧❧❡s
❞❡ ré❡❧s (fν(L|Q))ν|p ❡t (eν(L|Q))ν|p s♦✐❡♥t ♠❛❥♦ré❡s r❡s♣❡❝t✐✈❡♠❡♥t ♣❛r f ❡t e✳
❆❧♦rs L ❛ ❧❛ ♣r♦♣r✐été (B)✳ ❉❡ ♣❧✉s✱ ♣♦✉r t♦✉t x ∈ L\µ∞✱

h(x) ≥ 1

pf+λ + pλ

(

β[Kp : Qp]

[K : Q]
log p− log 2

)

> 0

♦ù λ = λ(e, p) ❡t β = β(e, p)✳

❉é♠♦♥str❛t✐♦♥✳ ❙♦✐t M ⊂ L ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s ❝♦♥t❡♥❛♥t K✳ ❙♦✐t w ✉♥❡
♣❧❛❝❡ ❞❡ OM ❛✉✲❞❡ss✉s ❞❡ p✳ ◆♦t♦♥s fw = fw(M |Q) ❡t ew = ew(M |Q)✳ ❈♦♠♠❡
OM/wOM ≃ OMw

/wOMw
❡t ew ≤ e✱ ♦♥ ❞é❞✉✐t ❞✉ ♣❡t✐t t❤é♦rè♠❡ ❞❡ ❋❡r♠❛t

q✉❡
|xpfw − x|w ≤ p−1/e

♣♦✉r t♦✉t x ∈ OMw
✳ ❉✬❛♣rès ❬✸✱ ▲❡♠♠❛ ✷✳✶❪ ✶ ❛✈❡❝ ρ = 1/e✱ ♦♥ ❛

|xpfw+λ − xp
λ |w ≤ p−β .

P♦✉r ❛✈♦✐r ✉♥❡ ♠❛❥♦r❛t✐♦♥ s✉r t♦✉t M ✱ ♦♥ ✉t✐❧✐s❡ ✉♥ ❛r❣✉♠❡♥t ❞✬❍❛❜❡❣❣❡r ✭❝❢
❬✷✻✱ ▲❡♠♠❛ ✹✳✷❪✮✳ ❙♦✐t x ∈Mw t❡❧ q✉❡ x ∈ OMw

✳ ❆❧♦rs

|xpfw+λ − xp
λ |w ≤ p−β .

❙♦✐t x ∈Mw t❡❧ q✉❡ x /∈ OMw ✳ ❆❧♦rs x−1 ∈ OMw ❝❛r OMw ❡st ✉♥ ❛♥♥❡❛✉ ❞❡
✈❛❧✉❛t✐♦♥✳ ❆✐♥s✐✱ |x−pfw+λ − x−p

λ |w ≤ p−β ♦✉ ❡♥❝♦r❡

|xpfw+λ − xp
λ |w ≤ p−β |x|pfw+λ+pλ

w .

■❧ s✬❡♥s✉✐t ❞♦♥❝ q✉❡ ♣♦✉r t♦✉t x ∈Mw✱ ❡t ♣❛r ❝♦♥séq✉❡♥t ♣♦✉r t♦✉t x ∈M ✱ q✉❡

|xpfw+λ − xp
λ |w ≤ p−β max{1, |x|w}p

fw+λ+pλ

≤ p−β max{1, |x|w}p
f+λ+pλ

✭✷✳✼✮

❝❛r fw ≤ f ✳
❙♦✐t x ∈ M∗\µ∞✳ ❆❧♦rs xp

fw+λ − xp
λ 6= 0 ❡t✱ ♣❛r ❧❛ ❢♦r♠✉❧❡ ❞✉ ♣r♦❞✉✐t✱ ♦♥

♦❜t✐❡♥t

0 =
∑

w∈M(M)

dw
[M : Q]

log |xpfw+λ − xp
λ |w

=
∑

w|p

dw
[M : Q]

log |xpfw+λ − xp
λ |w +

∑

w∤p

dw
[M : Q]

log |xpfw+λ − xp
λ |w.

❊♥ ✉t✐❧✐s❛♥t ❧❛ ♠❛❥♦r❛t✐♦♥ ✭✷✳✼✮ ❡t ❧❛ ❢♦r♠✉❧❡ ✭❝❢ ❬✶✵✱ ❈♦r♦❧❧❛✐r❡ ✶✳✸✳✷❪✮
∑

w|p
dw = [M : K][Kp : Qp]

✶❯♥❡ ✐♠♣ré❝✐s✐♦♥ s✬❡st ❣❧✐ssé❡ ❞❛♥s ❝❡ ❧❡♠♠❡✳ ▲❛ ❞❡r♥✐èr❡ ❢♦r♠✉❧❡ ❞❡ ❧✬é♥♦♥❝é ❞♦✐t s✬é❝r✐r❡

sp,ρ(λ) = pmin{λ,k}ρ+max{0, λ− k}
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s✉r ❧❡s ♣❧❛❝❡s ❞✐✈✐s❛♥t p✱ ♦♥ ♦❜t✐❡♥t q✉❡

0 ≤ −β [Kp : Qp]

[K : Q]
log p+ (pf+λ + pλ)

∑

w|p

dw
[M : Q]

logmax{1, |x|w}

+
∑

w∤p

dw
[M : Q]

log |xpfw+λ − xp
λ |w.

✭✷✳✽✮

❊♥ ✉t✐❧✐s❛♥t ❧❡s ✐♥é❣❛❧✐tés ✉❧tr❛♠étr✐q✉❡s ❡t tr✐❛♥❣✉❧❛✐r❡s ❛✐♥s✐ q✉❡ ❧❛ ❢♦r♠✉❧❡

∀ a, b ∈ R+∗, log(a+ b) ≤ logmax{1, a}+ logmax{1, b}+ log 2,

✐❧ ❡♥ rés✉❧t❡ q✉❡

∑

w∤p

dw
[M : Q]

log |xpfw+λ−xpλ |w ≤
∑

w∤p,
w∈M0(M)

dw
[M : Q]

logmax{|xpfw+λ |w, |xp
λ |w}

+
∑

σ∈M∞(M)

dσ
[M : Q]

(

logmax{1, |xpfw+λ |w}+ logmax{1, |xpλ |w}+ log 2
)

.

❊♥ ✐♥❥❡❝t❛♥t ❝❡tt❡ ✐♥é❣❛❧✐té ❞❛♥s ✭✷✳✽✮ ❡t ❡♥ ✉t✐❧✐s❛♥t ❧❡ ❢❛✐t q✉❡ fw ≤ f ✱ ♦♥ ❡♥
❞é❞✉✐t q✉❡

0 ≤ (pf+λ + pλ)h(x)− β
[Kp : Qp]

[K : Q]
log p+ log 2

❡t ❞♦♥❝ q✉❡

h(x) ≥ 1

pf+λ + pλ

(

β[Kp : Qp]

[K : Q]
log p− log 2

)

> 0

♣❛r ❞é✜♥✐t✐♦♥ ❞❡ β✳

◆♦✉s s♦♠♠❡s ♠❛✐♥t❡♥❛♥t ❡♥ ♠❡s✉r❡ ❞❡ ♣r♦✉✈❡r ♥♦tr❡ t❤é♦rè♠❡ ✿

❉é♠♦♥str❛t✐♦♥ ❞✉ t❤é♦rè♠❡ ✷✳✷✳✸ ✿
❋✐①♦♥s K ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s ❡t (Kn/K)n ✉♥❡ s✉✐t❡ ❞✬❡①t❡♥s✐♦♥s ✜♥✐❡s t❡❧❧❡

q✉❡ ❧❛ s✉✐t❡ (dn)n ❛✈❡❝ dn = [Kn : K] ❡st ♠❛❥♦ré❡✳ ❋✐①♦♥s é❣❛❧❡♠❡♥t ✉♥ ✐❞é❛❧
♣r❡♠✐❡r p ❞❡ OK ❛✉✲❞❡ss✉s ❞✬✉♥ ♣r❡♠✐❡r r❛t✐♦♥♥❡❧ p✳ ❋✐①♦♥s M ≥ 1 ✉♥ ❡♥t✐❡r✳
P♦✉r n ∈ N✱ ♥♦t♦♥s

Ωn = {✐❞é❛✉① m ⊂ OKn
| ∃m ≤M, p ∤ m, ❡t m ❛✉✲❞❡ss✉s ❞❡ m}.

P♦✉r m ∈ Ωn✱ ♥♦t♦♥s Kn,m ❧❡ ❝♦r♣s ❞❡ r❛②♦♥ ❞❡ Kn ❛ss♦❝✐é à m✳
❖♥ s✉♣♣♦s❡ q✉❡ ♣♦✉r t♦✉t n✱ ✐❧ ❡①✐st❡ ✉♥ ✉♥✐q✉❡ ✐❞é❛❧ ♣r❡♠✐❡r pn ❞❡ OKn

❛✉✲❞❡ss✉s ❞❡ p✳ ❖♥ s❡ ♣r♦♣♦s❡ ❞❡ ♠♦♥tr❡r q✉❡ ❧❡ ❝♦♠♣♦s✐t✉♠ L ❞❡ t♦✉s ❧❡s
Kn,m ❛ ❧❛ ♣r♦♣r✐été (B)✳ ❈♦♠♠❡ K ❡st ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s ✜①é✱ ♦♥ ❞é❞✉✐t
❞✉ ❧❡♠♠❡ ✷✳✷✳✺ q✉✬✐❧ s✉✣t ❞❡ ♠♦♥tr❡r q✉❡ ❧❡s ❢❛♠✐❧❧❡s ❞❡ ré❡❧s (eν(L|K))ν|p ❡t
(fν(L|K))ν|p s♦♥t ♠❛❥♦ré❡s✳

P♦✉r ❝❡❧❛✱ ✜①♦♥s ν ✉♥❡ ♣❧❛❝❡ ❞❡ L ❛✉✲❞❡ss✉s ❞❡ p✳ P♦✉r n ∈ N ❡t m ∈ Ωn✱
♥♦t♦♥s νn,m ❧❛ ♣❧❛❝❡ ❞❡ Kn,m ❛✉✲❞❡ss♦✉s ❞❡ ν✳ ❖♥ ✈❛ ♠♦♥tr❡r q✉❡ ❧❛ ❢❛♠✐❧❧❡ ❞❡s
❞❡❣rés ❧♦❝❛✉① [(Kn,m)νn,m

: Kp] ❡st ♠❛❥♦ré❡ ✭♣❛r ✉♥ ré❡❧ ✐♥❞é♣❡♥❞❛♥t ❞❡ ν, n
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❡t m✮✳ ❈❛r ❛❧♦rs✱ ❧❡s ❝♦♠♣❧étés (Kn,m)νn,m
✭(n,m) ∈ N × Ωn✮ ét❛♥t ❡♥ ♥♦♠❜r❡

✜♥✐ ❞✬❛♣rès ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✵✱ ♦♥ ❛✉r❛ q✉❡ Lν ❡st é❣❛❧ ❛✉ ❝♦♠♣♦s✐t✉♠ ❞❡ t♦✉s
❧❡s (Kn,m)νn,m

❡t ❧❡ ❝♦r♦❧❧❛✐r❡ ✷✳✶✳✶✶ ❞♦♥♥❡r❛ ❜✐❡♥ ❧✬❡①✐st❡♥❝❡ ❞✬✉♥❡ ❝♦♥st❛♥t❡ C
✐♥❞é♣❡♥❞❛♥t❡ ❞❡ ν, n,m t❡❧❧❡ q✉❡ eν(L|K) ≤ C ❡t fν(L|K) ≤ C✳

❈♦♠♠❡ [(Kn,m)νn,m
: Kp] = eνn,m

(Kn,m|K)fνn,m
(Kn,m|K)✱ ✐❧ s✉✣t ❛❧♦rs ❞❡

♠❛❥♦r❡r eνn,m(Kn,m|K) ❡t fνn,m(Kn,m|K) ♣❛r ✉♥ ré❡❧ ✐♥❞é♣❡♥❞❛♥t ❞❡ ν, n,m✳

❈♦♠♠❡♥ç♦♥s ♣❛r eνn,m
(Kn,m|Kn)✳ P❛r ❤②♣♦t❤ès❡✱ m ❡t p s♦♥t ♣r❡♠✐❡rs ❡♥tr❡

❡✉①✳ ❈♦♠♠❡ pn | p✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ pn ∤ m✳ ❆✐♥s✐✱ ❞✬❛♣rès ❧❡ v) ❞✉ t❤é♦rè♠❡
✷✳✶✳✾✱

eνn,m(Kn,m|Kn) = 1. ✭✷✳✾✮

■♥tér❡ss♦♥s ♥♦✉s ♠❛✐♥t❡♥❛♥t ❛✉ ❞❡❣ré ❞✬✐♥❡rt✐❡ fνn,m(Kn,m|Kn)✳ ❉✬❛♣rès ❧❡
v) ❞✉ t❤é♦rè♠❡ ✷✳✶✳✾✱ fνn,m

(Kn,m|Kn) ❡st ❧❡ ♣❧✉s ♣❡t✐t ❡♥t✐❡r h t❡❧ q✉❡ phn ∈
Pm(Kn)✱ ✐✳❡✳ t❡❧ q✉❡

✐✮ phn ❡st ♣r✐♥❝✐♣❛❧✳ ◆♦t♦♥s γ ∈ OKn
✉♥ ❣é♥ér❛t❡✉r ❞❡ phn✳

✐✐✮ γ ≡ 1 mod m✱

✐✐✐✮ ♣♦✉r t♦✉t ♣❧♦♥❣❡♠❡♥t ré❡❧ σ : Kn →֒ R✱ ♦♥ ❛ σ(γ) > 0✳

◆♦t♦♥s

N = ppcm(j | j = 1, . . . ,M , pgcd(j, p) = 1). ✭✷✳✶✵✮

◆♦t♦♥s é❣❛❧❡♠❡♥t fp(K) ❧✬♦r❞r❡ ❞❡ p ❞❛♥s Cl(K) ✭❧❡ ❣r♦✉♣❡ ❞❡s ❝❧❛ss❡s ❞❡ K✮
❡t (α) ❧✬✐❞é❛❧ pfp(K)✳

❙✐ N 6= 1✱ ❛❧♦rs ❝♦♠♠❡ p ❡st ❛✉✲❞❡ss✉s ❞❡ p ❡t q✉❡ p ∤ N ✱ ♦♥ ❛

α ∈ (OK/NOK)
×
.

❆✐♥s✐✱ ♣♦✉r t♦✉t N ✱ ✐❧ ❡①✐st❡ ✉♥ ♣❧✉s ♣❡t✐t ❡♥t✐❡r str✐❝t❡♠❡♥t ♣♦s✐t✐❢ g t❡❧ q✉❡
αg ≡ 1 mod NOK ✭♦♥ ❛ g = 1 s✐ N = 1✮✳

P❛r ❤②♣♦t❤ès❡✱ ✐❧ ❡①✐st❡ ✉♥ ✉♥✐q✉❡ ✐❞é❛❧ pn ❞❡ OKn
❛✉✲❞❡ss✉s ❞❡ p✳ P❛r

❝♦♥séq✉❡♥t✱ pOKn = p
epn (Kn|K)
n ✳ ❆✐♥s✐✱ phn

n ❛✈❡❝

hn := 2fp(K)epn(Kn|K)g ✭✷✳✶✶✮

✈ér✐✜❡ ❧❡s ❝♦♥❞✐t✐♦♥s i)✱ ii) ❡t iii) ❝✐✲❞❡ss✉s✳ ❊♥ ❡✛❡t✱ ✉♥ r❛♣✐❞❡ ❝❛❧❝✉❧ ♠♦♥tr❡ q✉❡
phn
n = (α2g)✳ ❆✐♥s✐✱ i) ❡st ✈ér✐✜é✳ ❈♦♠♠❡ αg ≡ 1 mod NOK ❡t q✉❡ m | NOKn ✱
✐❧ s✬❡♥s✉✐t q✉❡ α2g ≡ 1 mod m✱ ❝❡ q✉✐ ♠♦♥tr❡ ii)✳ ❊♥✜♥✱ iii) ❡st ✈ér✐✜é ❝❛r s✐
σ : Kn →֒ R✱ ❛❧♦rs σ(α2g) = (σ(α))2g > 0✳ ❆✐♥s✐✱ phn

n ∈ Pm(Kn)✳
❖♥ ❛ ❞♦♥❝ ♠♦♥tré ❧✬✐♥é❣❛❧✐té fνn,m

(Kn,m|Kn) ≤ hn✳ P❛r ❛✐❧❧❡✉rs✱ ❧❛ s✉✐t❡
(dn)n ❡st ♠❛❥♦ré❡ ♣❛r ❤②♣♦t❤ès❡✳ P❛r ❝♦♥séq✉❡♥t✱ ❧❛ s✉✐t❡ (epn(Kn|K))n ❡st
♠❛❥♦ré❡✳ ❉❡ ✭✷✳✶✶✮✱ ✐❧ ❞❡✈✐❡♥t ❛❧♦rs ❝❧❛✐r q✉❡ ❧❛ s✉✐t❡ (hn)n ❡st ♠❛❥♦ré❡✳ ❖♥ ❛
❛✐♥s✐ ♠❛❥♦ré fνn,m

(Kn,m|Kn) ♣❛r ✉♥❡ ❝♦♥st❛♥t❡ ♥❡ ❞é♣❡♥❞❛♥t ♣❛s ❞❡ ν✱ n ❡t m✳
❈❡❝✐ ♣r♦✉✈❡ ❧❡ t❤é♦rè♠❡✳

❘❡♠❛rq✉♦♥s q✉❡ s✐ M = 1✱ ❛❧♦rs Kn,m ❝♦rr❡s♣♦♥❞ ❛✉ ❝♦r♣s ❞❡ ❍✐❧❜❡rt ❞❡
Kn✳ ❆✐♥s✐✱ ❧❡ ❝❛s M = 1 ❡t K = Q ❞❡ ❝❡ t❤é♦rè♠❡ ❝♦rr❡s♣♦♥❞ ❛✉ t❤é♦rè♠❡
✷✳✷✳✷✳
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❘❡♠❛rq✉❡ ✷✳✷✳✻✳ ❊♥ ✉t✐❧✐s❛♥t ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✷ à ❧❛ ♣❧❛❝❡ ❞✉ ❝♦r♦❧❧❛✐r❡
✷✳✶✳✶✶✱ ✐❧ ❡st ♣♦ss✐❜❧❡ ❞❡ ❞♦♥♥❡r ✉♥❡ ♠❛❥♦r❛t✐♦♥ ❡①♣❧✐❝✐t❡ ♣❧✉s ♣ré❝✐s❡ ❞❡s ❢❛✲
♠✐❧❧❡s (eν(L|Q))ν|p ❡t (fν(L|Q))ν|p✳ P✉✐s✱ ❡♥ ✉t✐❧✐s❛♥t ❧❡ ❧❡♠♠❡ ✷✳✷✳✺✱ ♦♥ ❡♥
❞é❞✉✐t ✉♥❡ ♠✐♥♦r❛t✐♦♥ ❡①♣❧✐❝✐t❡ ❞❡ ❧❛ ❤❛✉t❡✉r✳

❖♥ r❡♣r❡♥❞ ❧❡s ♥♦t❛t✐♦♥s ❞✉ t❤é♦rè♠❡ ✷✳✷✳✸✳ P♦✉r n ∈ N✱ ♣♦s♦♥s en =
epn

(Kn|K)✳ ❙♦✐t ν ∈ M(L) ❛✉✲❞❡ss✉s ❞❡ p✳ ❉❡ ✭✷✳✾✮✱ ♦♥ ❛ en = eνn,m
(Kn,m|K)

♣♦✉r t♦✉t m ∈ Ωn✳
◆♦t♦♥s Λ ❧✬❡♥s❡♠❜❧❡ ❞❡s ❡♥t✐❡rs en ❞✐✈✐s✐❜❧❡s ♣❛r p✳ ❙✐ Λ = ∅✱ ❛❧♦rs ❞✬❛♣rès

❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✷✱ ✉♥ ♠❛❥♦r❛♥t ❞❡ eν(L|Q) ❡st

e := ep(K|Q)ppcmn∈N(en) ✭✷✳✶✷✮

✭❝❛r ♥♦✉s ♥✬❛✈♦♥s ♣❛s ❞✬❡①t❡♥s✐♦♥s s❛✉✈❛❣❡♠❡♥t r❛♠✐✜é❡s ❡t ❞♦♥❝ m = n✮✳
❘❡♠❛rq✉♦♥s q✉❡ ❞❛♥s ❝❡ ❝❛s✱ e ♥❡ ❞é♣❡♥❞ ♣❛s ❞❡ ν✳

❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ Λ 6= ∅✳ ❙♦✐t ẽ ∈ Λ✳ ❆❧♦rs ❞✬❛♣rès ❧❡ t❤é♦rè♠❡
✷✳✶✳✶✷✱ ✉♥ ♠❛❥♦r❛♥t ❞❡ eν(L|K) ❡st

e := ep(K|Q) ppcm
m∈N, p∤em

(em, ẽ) ẽ
N (ẽ)−1

∏

e′∈Λ
e′ 6=ẽ

e′
N (e′) ✭✷✳✶✸✮

♦ù N (e′) ❞és✐❣♥❡ ❧❡ ♥♦♠❜r❡ ❞✬❡①t❡♥s✐♦♥s {(Kn,m)νn,m/Kp| n ∈ N,m ∈ Ωn}
❞♦♥t ❧✬✐♥❞✐❝❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ❡st ♣ré❝✐sé♠❡♥t e′✳ ❈♦♠♠❡ eνn,m(Kn,m|Kn) = 1 ✭❝❢
✭✷✳✾✮✮✱ ❝❡❧❛ ✐♠♣❧✐q✉❡ q✉❡ N (e′) ❡st ❛✉ss✐ ❧❡ ♥♦♠❜r❡ ❞✬❡①t❡♥s✐♦♥s {Kn/K, n ∈ N}
❞♦♥t ❧✬✐♥❞✐❝❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ❡st ♣ré❝✐sé♠❡♥t e′✳ ❆✐♥s✐✱ N (e′)✱ ❡t ❞♦♥❝ e✱ ♥❡
❞é♣❡♥❞ ♣❛s ❞❡ ν✳

❈❛❧❝✉❧♦♥s ♠❛✐♥t❡♥❛♥t ✉♥ ♠❛❥♦r❛♥t ❞❡ ❧❛ ❢❛♠✐❧❧❡ (fν(L|K))ν|p✳ ◆♦t♦♥s✱ ❝♦♠♠❡
❞❛♥s ❧❛ ♣r❡✉✈❡ ❞✉ t❤é♦rè♠❡ ✷✳✷✳✸✱ α ✉♥ ❣é♥ér❛t❡✉r ❞❡ pfp(K)✳ ◆♦t♦♥s gm ❧❡ ♣❧✉s
♣❡t✐t ❡♥t✐❡r str✐❝t❡♠❡♥t ♣♦s✐t✐❢ t❡❧ q✉❡ αgm ≡ 1 mod m✳ ❉é✜♥✐ss♦♥s é❣❛❧❡♠❡♥t
ǫm ❝♦♠♠❡ s✉✐t ✿ εm ✈❛✉t 1 s✐ σ(αgm) > 0 ♣♦✉r t♦✉t ♣❧♦♥❣❡♠❡♥t ré❡❧ σ : Kn →֒ R
❡t 2 s✐♥♦♥✳ P❛r ✉♥ ❝❛❧❝✉❧ s✐♠✐❧❛✐r❡ à ❝❡❧✉✐ ❡✛❡❝t✉é ❞❛♥s ❧❛ ♣r❡✉✈❡ ❞✉ t❤é♦rè♠❡
✷✳✷✳✸✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡

fνn,m
(Kn,m|Kn) | εm fp(K) engm.

❈♦♠♠❡ dn = enfpn(Kn|K)✱ ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✷ ♠♦♥tr❡ q✉✬✉♥ ♠❛❥♦r❛♥t ❞❡
fν(L|Q) ❡st

f := fp(K|Q)fp(K) ppcm
n∈N,m∈Ωn

(εm gmdn)E ✭✷✳✶✹✮

♣♦✉r ✉♥ ❝❡rt❛✐♥ E ❡①♣❧✐❝✐t❡♠❡♥t ❝❛❧❝✉❧❛❜❧❡ ✭❝❢ ✭✷✳✹✮ ❡t ✭✷✳✺✮✮ ♥❡ ❞é♣❡♥❞❛♥t ♣❛s
❞❡ ν✳

❊♥ r❡♣r❡♥❛♥t ❧❡s ♥♦t❛t✐♦♥s ❞❡ ❧❛ ❞é✜♥✐t✐♦♥ ✷✳✷✳✹✱ ♦♥ ❞é❞✉✐t ❞✉ ❧❡♠♠❡ ✷✳✷✳✺
q✉❡ ♣♦✉r t♦✉t x ∈ L∗\µ∞✱

h(x) ≥ 1

pf+λ + pλ

(

β[Kp : Qp]

[K : Q]
log p− log 2

)

> 0

♦ù λ = λ(e, p) ❡t β = β(e, p)✳

❘❡♠❛rq✉♦♥s q✉❡ ❧❛ ♠✐♥♦r❛t✐♦♥ ❞❡ ❧❛ ❤❛✉t❡✉r ❝✐✲❞❡ss✉s r❡st❡ str✐❝t❡♠❡♥t
♣♦s✐t✐✈❡ s✐✱ à ❧❛ ♣❧❛❝❡ ❞❡ e✱ ♦♥ ♣r❡♥❞ ✉♥ ♠❛❥♦r❛♥t q✉❡❧❝♦♥q✉❡ ❞❡ ❧❛ ❢❛♠✐❧❧❡
(eν(L|Q))ν|p✳
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❉❛♥s ❝❡tt❡ s♦✉s✲s❡❝t✐♦♥✱ ♦♥ ❞♦♥♥❡ q✉❛tr❡ ❡①❡♠♣❧❡s ❞❡ ❝♦r♣s ❛②❛♥t ❧❛ ♣r♦♣r✐été
✭❇✮ ❛✐♥s✐ q✉✬✉♥❡ ♠✐♥♦r❛t✐♦♥ ❡①♣❧✐❝✐t❡ ❞❡ ❧❛ ❤❛✉t❡✉r✳ ▲❡s ❞❡✉① ♣r❡♠✐❡rs s♦♥t ❞❡s
❣é♥ér❛❧✐s❛t✐♦♥s ❞✬❡①❡♠♣❧❡s ❞é❥à ✐❧❧✉strés ❞❛♥s ❬✷✺❪✳

❉❛♥s ❝❡s q✉❛tr❡ ❡①❡♠♣❧❡s✱ ♦♥ s❡ ♣❧❛❝❡ ❞❛♥s ❧❡ ❝❛s ♣❛rt✐❝✉❧✐❡r ♦ù M = 1 ❡t
K = Q✳ P❛r ❝♦♥séq✉❡♥t✱ fp(K) = 1✳ ■❧ s✬❡♥s✉✐t ❞♦♥❝ q✉❡ (α) = p = pZ✳ ❖♥
♣❡✉t ❛✐♥s✐ s✉♣♣♦s❡r q✉❡ α = p✳ ❈♦♠♠❡ M = 1✱ ✐❧ s✬❡♥s✉✐t q✉❡ Ωn = {OKn} ❡t
❞♦♥❝ q✉❡ m = (1)✳ ❆✐♥s✐✱ Kn,m = H(Kn)✳ ❉❡ ♣❧✉s✱ ♣❛r ❞é✜♥✐t✐♦♥ ❞❡ gm ❡t ❞❡
ǫm✱ ✐❧ s✬❡♥s✉✐t q✉❡ gm = ǫm = 1✳ ❉❡ ✭✷✳✶✹✮✱ ✐❧ ❡♥ rés✉❧t❡✱ ❞❛♥s ❝❡tt❡ s✐t✉❛t✐♦♥✱
q✉❡ f = ppcmn∈N(dn)E ♦ù dn = [Kn : Q] ❡t ♦ù E ❡st ❞é✜♥✐ ❝♦♠♠❡ ❞❛♥s ✭✷✳✹✮
♦✉ ✭✷✳✺✮✳

P♦✉r ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s K✱ ♥♦t♦♥s ∆K s♦♥ ❞✐s❝r✐♠✐♥❛♥t✳

❊①❡♠♣❧❡ ✷✳✷✳✼✳ ❋✐①♦♥s ✉♥ ♣r❡♠✐❡r p > 3✳ P♦✉r ✉♥ ❡♥t✐❡r D ♥♦♥ ♥✉❧ ❡t s❛♥s
❢❛❝t❡✉r ❝❛rré✱ ♥♦t♦♥s KD = Q(

√
D)✳ ◆♦t♦♥s é❣❛❧❡♠❡♥t

D = {D ∈ Z\{0} | pOKD
❡st ♣r❡♠✐❡r ♦✉ t♦t❛❧❡♠❡♥t r❛♠✐✜é}

❡t L ❧❡ ❝♦♠♣♦s✐t✉♠ ❞❡s H(KD) ❛✈❡❝ D ∈ D✳ ❖♥ s♦✉❤❛✐t❡ ♠✐♥♦r❡r ❧❛ ❤❛✉t❡✉r
❞❡s é❧é♠❡♥ts ❞❡ L∗\µ∞✳

▲❡ t❤é♦rè♠❡ ✷✳✶✳✶✵ ♠♦♥tr❡ q✉✬✐❧ ② ❛ ❞❡✉① ❡①t❡♥s✐♦♥s q✉❛❞r❛t✐q✉❡s ❞❡ Qp
t♦t❛❧❡♠❡♥t r❛♠✐✜é❡s ✭q✉❡ ❧✬♦♥ ♥♦t❡ K1 ❡t K2✮ ❡t ✉♥❡ s❡✉❧❡ ♥♦♥ r❛♠✐✜é❡ ✭q✉❡ ❧✬♦♥
♥♦t❡ K3✮✳ ■❧ s✬❡♥s✉✐t ❞♦♥❝ q✉❡ a3(q) = 0 ✭❝❢ ✭✷✳✸✮✮ ♣♦✉r t♦✉t ♣r❡♠✐❡r q✳ ❈♦♠♠❡
❛✉❝✉♥❡ ❡①t❡♥s✐♦♥ ♥✬❡st s❛✉✈❛❣❡♠❡♥t r❛♠✐✜é❡✱ ♦♥ ❡♥ ❞é❞✉✐t ❛❧♦rs q✉❡ E = 2 ✭❝❢
✭✷✳✹✮✮ ❡t q✉❡ e = 2✳ ❖♥ ❛ é❣❛❧❡♠❡♥t dn = 2 ♣♦✉r t♦✉t n✳ P❛r ❝♦♥séq✉❡♥t✱ f = 4✳
❆✈❡❝ ❧❡s ♥♦t❛t✐♦♥s ❞❡ ❧❛ ❞é✜♥✐t✐♦♥ ✷✳✷✳✹✱ ♦♥ ♦❜t✐❡♥t λ(e, p) = 0 ❝❛r p ≥ 5 ❡t
β(e, p) = 1/2✳ ▲❛ ♠✐♥♦r❛t✐♦♥ ❞❡ ❧❛ ❤❛✉t❡✉r q✉❡ ❧✬♦♥ ❛ ♦❜t❡♥✉❡ ❞❛♥s ❧❛ r❡♠❛rq✉❡
✷✳✷✳✻ ♠♦♥tr❡ ❞♦♥❝ q✉❡ ♣♦✉r t♦✉t x ∈ L∗\µ∞✱

h(x) ≥ log(p/4)

2(p4 + 1)
.

❉❛♥s ❬✷✺✱ ➓ ✺❪✱ ❧✬❛✉t❡✉r ♦❜t❡♥❛✐t ❧❛ ♠✐♥♦r❛t✐♦♥ (log(p/2))/(p2 + 1)✳ ❈❡♣❡♥✲
❞❛♥t✱ ✐❧ ♠♦♥tr❛ q✉❡ ❝❡tt❡ ♠✐♥♦r❛t✐♦♥ ❡st ✈❛❧❛❜❧❡ ♥♦♥ ♣❛s ♣♦✉r L✱ ♠❛✐s ♣♦✉r ❧❡
❝♦♠♣♦s✐t✉♠ ❞❡s H(KD) ❛✈❡❝ D ∈ D0 ♦ù

D0 = {D ∈ N∗ | D ❡st ♣r❡♠✐❡r, pOK−D
❡st ♣r❡♠✐❡r ❡t D ≡ 3 mod 4}.

■❧ ❞♦✐t s✉♣♣♦s❡r ❡♥ ♣❧✉s q✉❡ D ≡ 3 mod 4 ❛✜♥ q✉❡ ∆Q(
√
−D) = −D ❡t q✉❡

D = p ❡st ♣r❡♠✐❡r ❛✜♥ q✉❡ ❧❡s ∆Q(
√−p) s♦✐❡♥t ❞❡✉① à ❞❡✉① ♣r❡♠✐❡rs ❡♥tr❡ ❡✉①✳

▲❛ ❞✐✛ér❡♥❝❡ ❡♥tr❡ ♥♦s ❞❡✉① ♠✐♥♦r❛t✐♦♥s ♣r♦✈✐❡♥t ❞✉ ❢❛✐t q✉❡ ❞❛♥s ♥♦tr❡
s✐t✉❛t✐♦♥✱ p s❡ r❛♠✐✜❡✳ ❙✐ p ♥❡ s❡ r❛♠✐✜❡ ♣❛s ✭❝♦♠♠❡ ❝✬❡st ❧❡ ❝❛s s✐ ♦♥ ❝♦♥s✐❞èr❡
❧✬❡♥s❡♠❜❧❡ ❞❡s ❡♥t✐❡rs D ♥♦♥ ♥✉❧s ❡t s❛♥s ❢❛❝t❡✉r ❝❛rré t❡❧s q✉❡ pOKD

❡st ♣r❡✲
♠✐❡r✮✱ ♦♥ ❛ e = 1✱ E = 1 ❡t β(e, p) = 1✳ ❖♥ ♦❜t✐❡♥t ❛✐♥s✐ (log(p/2))/(p2 + 1)
❝♦♠♠❡ ♠✐♥♦r❛t✐♦♥ ❛✉ ❧✐❡✉ ❞❡ (log(p/4))/(2(p4 + 1))✳ ❈❡tt❡ ♠✐♥♦r❛t✐♦♥ ❛ é❣❛❧❡✲
♠❡♥t été ♦❜t❡♥✉❡ ♣❛r P♦tt♠❡②❡r ❞❛♥s ❬✸✺✱ ❚❤❡♦r❡♠ ✷✳✸❪✳

❊①❡♠♣❧❡ ✷✳✷✳✽✳ ❉❛♥s ❬✹✶❪✱ ❧✬❛✉t❡✉r ét✉❞✐❡ ❧❡ ❝♦r♣s ❞❡ ❞é❝♦♠♣♦s✐t✐♦♥ ✭✓ s✐♠✲
♣❧❡st ❝✉❜✐❝ ✜❡❧❞ ✔✮ Km ❞✉ ♣♦❧②♥ô♠❡

Pm(X) = X3 −mX2 − (m+ 3)X − 1
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❛✈❡❝ m ∈ N✳ P♦✉r t♦✉t m✱ ❧✬❡①t❡♥s✐♦♥ Km/Q ❡st ❣❛❧♦✐s✐❡♥♥❡ ❞❡ ❞❡❣ré 3✳ ❆✐♥s✐✱
Km = Q(xm) ♦ù xm ❡st ✉♥❡ r❛❝✐♥❡ ❞❡ Pm✳ ❖♥ ❛ é❣❛❧❡♠❡♥t q✉❡ ❧❡ ❞✐s❝r✐♠✐♥❛♥t
disc(Pm) ❞✉ ♣♦❧②♥ô♠❡ Pm ✈❛✉t (m2 + 3m+ 9)2✳

▼♦♥tr♦♥s q✉❡ 2 ❡st ✐♥❡rt❡ ❞❛♥s t♦✉s ❧❡sKm✳ ■❧ ❡st ❝❧❛✐r q✉❡ Pm✱ ✈✉ ❝♦♠♠❡ ✉♥
♣♦❧②♥ô♠❡ ❞❡ F2[X]✱ ❡st ✐rré❞✉❝t✐❜❧❡ ✭❝✬❡st ✉♥ ♣♦❧②♥ô♠❡ ❞❡ ❞❡❣ré 3 ♥❡ ♣♦ssé❞❛♥t
♣❛s ❞❡ r❛❝✐♥❡ ❞❛♥s F2✮✳ P❛r ❝♦♥séq✉❡♥t✱ Pm ❡st ✐rré❞✉❝t✐❜❧❡ ❞❛♥s Z2[X]✳ ❈♦♠♠❡
Km = Q(xm)✱ ♦♥ ❞é❞✉✐t ❞✬✉♥ ❧❡♠♠❡ ❞❡ ❑✉♠♠❡r ✭❝❢ ❬✶✸✱ ❈❤❛♣t❡r ✷✱ s❡❝t✐♦♥ ✶✵❪✮
q✉✬✐❧ ♥✬② ❛ q✉✬✉♥ s❡✉❧ ✐❞é❛❧ ♣r❡♠✐❡r ❛✉✲❞❡ss✉s ❞❡ 2✳ ❈♦♠♠❡ 2 ♥❡ s❡ r❛♠✐✜❡ ♣❛s
❞❛♥sKm ✭❝❛r disc(Pm) ❡st ✐♠♣❛✐r ❡t q✉❡ ❧✬♦♥ ❛ disc(Pm) = [OKm

: Z[xm]]
2∆Km

✮✱
✐❧ s✬❡♥s✉✐t q✉❡ 2 ❡st ❜✐❡♥ ✐♥❡rt❡ ❞❛♥s Km✳

❉✬❛♣rès ❧❡ t❤é♦rè♠❡ ✷✳✷✳✸✱ ❧❡ ❝♦♠♣♦s✐t✉♠ L ❞❡ t♦✉s ❧❡s H(Km) ❛ ❧❛ ♣r♦♣r✐été
✭❇✮✳ ◆♦✉s ♣♦✉✈♦♥s êtr❡ ♣❧✉s ❡①♣❧✐❝✐t❡✳ ■❝✐✱ ♦♥ ❡st ❞❛♥s ❧❡ ❝❛s ♦ù p = 2✳ ❈♦♠♠❡ ✐❧
♥✬② ❛ ♣❛s ❞❡ r❛♠✐✜❝❛t✐♦♥✱ ♦♥ ❛ e = 1 ❞✬❛♣rès ✭✷✳✶✷✮ ❡t E = 1 ❞✬❛♣rès ✭✷✳✹✮✳ ❖♥ ❛
é❣❛❧❡♠❡♥t dn = 3 ♣♦✉r t♦✉t n✳ P❛r ❝♦♥séq✉❡♥t✱ f = 3✳ ❊♥✜♥✱ ❛✈❡❝ ❧❡s ♥♦t❛t✐♦♥s
❞❡ ❧❛ ❞é✜♥✐t✐♦♥ ✷✳✷✳✹✱ ♦♥ ❛ λ(e, p) = 1 ❡t ❞♦♥❝ β(e, p) = 2✳ ▲❛ ♠✐♥♦r❛t✐♦♥ ❞❡ ❧❛
❤❛✉t❡✉r q✉❡ ❧✬♦♥ ❛ ♦❜t❡♥✉❡ ♠♦♥tr❡ ❞♦♥❝ q✉❡ ♣♦✉r t♦✉t x ∈ L∗\µ∞✱

h(x) ≥ log 2

18
.

➚ ❝❛✉s❡ ❞❡s r❡str✐❝t✐♦♥s ♥é❝❡ss❛✐r❡s ♣♦✉r ❛♣♣❧✐q✉❡r s♦♥ t❤é♦rè♠❡✱ ●❛❧❛t❡❛✉
s✬✐♥tér❡ss❡ ❛✉① ❝♦r♣s Km ❞♦♥t ❧✬❛♥♥❡❛✉ ❞❡s ❡♥t✐❡rs ❡st Z[xm]✱ ❝❡ q✉✐ ♣❡r♠❡t ❞✬❡♥
❞é❞✉✐r❡ ❧❛ r❡❧❛t✐♦♥ disc(Pm) = ∆Km

❡t ❞♦♥❝ q✉❡ ∆Km
= (m2 + 3m + 9)2✳ ■❧ ❛

❡♥s✉✐t❡ ♠♦♥tré q✉✬✐❧ ❡①✐st❡ ✉♥ ❡♥s❡♠❜❧❡ ✐♥✜♥✐ N t❡❧ q✉❡ ❧✬❛♥♥❡❛✉ ❞❡s ❡♥t✐❡rs ❞❡
Km✱ ♣♦✉rm ∈ N ✱ ❡st Z[xm] ❡t t❡❧ q✉❡ ❧❡s (∆Km)m∈N s♦♥t ❞❡✉① à ❞❡✉① ♣r❡♠✐❡rs
❡♥tr❡ ❡✉①✳ ■❧ ♣❡✉t ❛✐♥s✐ ❛♣♣❧✐q✉❡r s♦♥ t❤é♦rè♠❡ ❡t ♦❜t❡♥✐r q✉❡ ❧❡ ❝♦♠♣♦s✐t✉♠ L0

❞❡s H(Km) ❛✈❡❝ m ∈ N ❛ ❧❛ ♣r♦♣r✐été ✭❇✮✳ P♦✉r ❝❡ ❝♦r♣s✱ ✐❧ ♦❜t✐❡♥t ❧❛ ♠ê♠❡
♠✐♥♦r❛t✐♦♥ q✉❡ ❧❛ ♥ôtr❡✳

◆♦tr❡ t❤é♦rè♠❡ ♣❡r♠❡t ❞✬♦❜t❡♥✐r ❞✬❛✉tr❡s ❡①❡♠♣❧❡s✳ ◆♦✉s ❛❧❧♦♥s ❡♥ ✈♦✐r
❞❡✉①✳ ▲❡ ♣r❡♠✐❡r ♥❡ ❝♦♥t✐❡♥t q✉❡ ❞❡s ❡①t❡♥s✐♦♥s ♥♦♥ s❛✉✈❛❣❡♠❡♥t r❛♠✐✜é❡s
t❛♥❞✐s q✉❡ ❧❡ s❡❝♦♥❞ ❡♥ ❝♦♥t✐❡♥❞r❛✳

▲❡ ❧❡❝t❡✉r ♣♦✉rr❛ r❡♠❛rq✉❡r q✉❡ ❧❛ ♠✐♥♦r❛t✐♦♥ ❞❡ ❧❛ ❤❛✉t❡✉r ❞❛♥s ❧✬❡①❡♠♣❧❡
✷✳✷✳✾ ❡st ❞❡ ❜✐❡♥ ♠❡✐❧❧❡✉r❡ q✉❛❧✐té q✉❡ ❞❛♥s ❧✬❡①❡♠♣❧❡ ✷✳✷✳✶✵✳

❊①❡♠♣❧❡ ✷✳✷✳✾✳ P❧❛ç♦♥s ♥♦✉s ❞❛♥s ❧❡ ❝❛s ♦ù p = 3✳ ❙♦✐t S ❧✬❡♥s❡♠❜❧❡ ❞❡s ❝♦r♣s
❞❡ ❞❡❣rés 2✱ 4 ♦✉ 5 t❡❧ q✉❡ ♣♦✉r t♦✉t K ∈ S✱ ✐❧ ❡①✐st❡ ✉♥ ✉♥✐q✉❡ ✐❞é❛❧ ♣r❡♠✐❡r pK
❞❡ OK ❛✉✲❞❡ss✉s ❞❡ 3✳ ◆♦t♦♥s L ❧❡ ❝♦♠♣♦s✐t✉♠ ❞❡ t♦✉s ❧❡s H(K) ♣♦✉r K ∈ S✳

❈♦♠♠❡ ❧❛ s✉✐t❡ ([KpK
: Q3])K∈S ❡st ♠❛❥♦ré❡ ♣❛r 5✱ ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✵

♠♦♥tr❡ q✉❡ ❧✬❡♥s❡♠❜❧❡ {KpK
,K ∈ S} ❡st ✜♥✐✳ ◆♦t♦♥s K1, . . . ,Kn ❧❡s ❧♦❝❛❧✐sés

KpK
❛✈❡❝ K ∈ S✳

❙♦✐t ν ✉♥❡ ♣❧❛❝❡ ❞❡ OL ❛✉✲❞❡ss✉s ❞❡ 3 ✭ν ❡st ❞♦♥❝ ❛✉✲❞❡ss✉s ❞❡ ❝❤❛❝✉♥
❞❡s pK ♣❛r ✉♥✐❝✐té ❞❡ ❧✬✐❞é❛❧ ♣r❡♠✐❡r ❛✉✲❞❡ss✉s ❞❡ 3✮✳ ❈♦♠♠❡ Kj/Q3 ❡st ♥♦♥
s❛✉✈❛❣❡♠❡♥t r❛♠✐✜é ♣♦✉r t♦✉t j ≤ n✱ ✐❧ ❞é❝♦✉❧❡ ❞❡ ✭✷✳✶✷✮ q✉❡

e = ppcm(1, 2, 4, 5) = 20.

❈♦♠♠❡ 2 33−1 ≤ 20 < 2 33✱ ♦♥ ❡♥ ❞é❞✉✐t✱ ❛✈❡❝ ❧❡s ♥♦t❛t✐♦♥s ❞❡ ❧❛ ❞é✜♥✐t✐♦♥
✷✳✷✳✹✱ q✉❡ λ(e, p) = 3 ❡t ❞♦♥❝ q✉❡ β(e, p) = 1, 35✳



✷✳✷✳ ❘➱❙❯▲❚❆❚ P❘■◆❈■P❆▲✳ ✺✼

❊♥✜♥✱ f(Kj |Q3)e(Kj |Q3) ≤ 5✳ ❖♥ ♦❜t✐❡♥t ❞♦♥❝ q✉❡











f(Kj |Q3) = 1 s✐ e(Kj |Q3) ≥ 3

f(Kj |Q3) ∈ {1, 2} s✐ e(Kj |Q3) = 2

f(Kj |Q3) ≤ 5 s✐ e(Kj |Q3) = 1

.

❖♥ ❞é❞✉✐t ❛❧♦rs ❞❡ ✭✷✳✻✮ ❡t ❞✉ t❤é♦rè♠❡ ✷✳✶✳✶✵ q✉❡ N (2) ≤ 2+2 = 4; N (4) ≤ 4
❡t N (5) ≤ 5✳ ❊♥✜♥✱ an(2) = 1 ❡t an(q) = 0 ♣♦✉r ❧❡s ♣r❡♠✐❡rs ✐♠♣❛✐rs ✭❝❢ ✭✷✳✸✮✮✳
❖♥ ❡♥ ❞é❞✉✐t q✉❡

f ≤ ppcm(2, 4, 5) 23 43 54 2 = 20 23 43 54 2 = 1.28 107.

❆✐♥s✐✱ ♣♦✉r t♦✉t x ∈ L∗\µ∞✱ ♦♥ ❛

h(x) ≥ 0.78

3f+3 + 33
≥ e−1.41 107 .

❊①❡♠♣❧❡ ✷✳✷✳✶✵✳ P❧❛ç♦♥s ♥♦✉s ❞❡ ♥♦✉✈❡❛✉ ❞❛♥s ❧❡ ❝❛s ♦ù p = 3✳ ❙♦✐t S ❧✬❡♥✲
s❡♠❜❧❡ ❞❡s ❝♦r♣s ❞❡ ❞❡❣ré ≤ 5 t❡❧ q✉❡ ♣♦✉r t♦✉t K ∈ S✱ ✐❧ ❡①✐st❡ ✉♥ ✉♥✐q✉❡ ✐❞é❛❧
♣r❡♠✐❡r pK ❞❡ OK ❛✉✲❞❡ss✉s ❞❡ 3✳ ◆♦t♦♥s L ❧❡ ❝♦♠♣♦s✐t✉♠ ❞❡ t♦✉s ❧❡s H(K)
♣♦✉r K ∈ S✳

❈♦♠♠❡ ❧❛ s✉✐t❡ ([KpK
: Q3])K∈S ❡st ♠❛❥♦ré❡ ♣❛r 5✱ ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✵

♠♦♥tr❡ q✉❡ ❧✬❡♥s❡♠❜❧❡ {KpK
,K ∈ S} ❡st ✜♥✐✳ ◆♦t♦♥s K1, . . . ,Kn ❧❡s ❧♦❝❛❧✐sés

KpK
❛✈❡❝ K ∈ S✳

◆♦t♦♥s m ❧❡ ♥♦♠❜r❡ ❞✬❡①t❡♥s✐♦♥s Kj/Q3 ♥♦♥ s❛✉✈❛❣❡♠❡♥t r❛♠✐✜é❡s✳ ◗✉✐tt❡
à r❡♥✉♠ér♦t❡r✱ ♦♥ ♣❡✉t s✉♣♣♦s❡r q✉❡ ❝❡s m ❡①t❡♥s✐♦♥s s♦♥t K1/Q3, . . . ,Km/Q3✳
▲❡s ❡①t❡♥s✐♦♥s s❛✉✈❛❣❡♠❡♥t r❛♠✐✜é❡s ♦♥t ✉♥ ✐♥❞✐❝❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ é❣❛❧ à 3✳
❆✐♥s✐✱ ✭❝❢ ✭✷✳✷✮ ♣♦✉r ❧❛ ❞é✜♥✐t✐♦♥ ❞❡ Λr✮

Λm+1 = Λm+2 = Λn = {1, . . . , 5}.

❈♦♠♠❡ f(Lj |Q3)e(Lj |Q3) ≤ 5✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡











f(Kj |Q3) = 1 s✐ e(Kj |Q3) ≥ 3

f(Kj |Q3) ∈ {1, 2} s✐ e(Kj |Q3) = 2

f(Kj |Q3) ≤ 5 s✐ e(Kj |Q3) = 1

.

P❛r ❝♦♥séq✉❡♥t✱ ❧❡ ✭✷✳✻✮ ❡t ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✵ ♠♦♥tr❡♥t q✉❡ N (2) ≤ 2 + 2 =
4, N (3) ≤ 21, N (4) ≤ 4 ❡t N (5) ≤ 5✳ ❊♥✜♥✱ am+2(2) = 1 ❡t am+2(q) = 0 ♣♦✉r
❧❡s ♣r❡♠✐❡rs ✐♠♣❛✐rs q✳ P❛r ❝♦♥séq✉❡♥t✱

f ≤ ppcm(1, 2, . . . , 5)
1

5!
2 24 321 44 55.

❉❡ ♣❧✉s✱ ❞✬❛♣rès ✭✷✳✶✸✮✱ ppcm(1, 2, . . . , 5) 3N (3)−1 ❡st ✉♥ ♠❛❥♦r❛♥t ❞❡ ❧❛ ❢❛♠✐❧❧❡
(eν(L|Q))ν|3✳ ■❧ s✬❡♥s✉✐t ❞♦♥❝ q✉❡ e1 = 60 320 ❡st ✉♥ ♠❛❥♦r❛♥t ❞❡ ❧❛ ❢❛♠✐❧❧❡
(eν(L|Q))ν|3✳

❆✈❡❝ ❧❡s ♥♦t❛t✐♦♥s ❞❡ ❧❛ ❞é✜♥✐t✐♦♥ ✷✳✷✳✹✱ ♦♥ ❛ λ(e1, p) = 24✳ ❆✐♥s✐✱ β(e1, p) =
1, 35 ❡t ❞♦♥❝✱ ♣♦✉r t♦✉t x ∈ L∗\µ∞✱ ♦♥ ❛

h(x) ≥ 0.78

3f+24 + 324
≥ e−3.6 1018 .
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✷✳✸ ❯♥ ♣r♦❜❧è♠❡ ❞❡ ❞❡♥s✐té✳

❋✐①♦♥s ✉♥ ♣r❡♠✐❡r q✳ P♦✉r ✉♥ ❝♦r♣s K✱ ♦♥ ♥♦t❡r❛ ∆K s♦♥ ❞✐s❝r✐♠✐♥❛♥t✳ ❉❛♥s
❬✷✺❪✱ ●❛❧❛t❡❛✉ s✬❡st ✐♥tér❡ssé à ❧❛ ❞❡♥s✐té ❞❡ ❝♦r♣s q✉❛❞r❛t✐q✉❡s t❡❧s q✉❡ q ❡st
✐♥❡rt❡ ❞❛♥s ❝❤❛❝✉♥ ❞❡ ❝❡s ❝♦r♣s ❡t t❡❧s q✉❡ ❧❡✉rs ❞✐s❝r✐♠✐♥❛♥ts s♦♥t ❞❡✉① à ❞❡✉①
♣r❡♠✐❡rs ❡♥tr❡ ❡✉①✱ ❝♦♥❞✐t✐♦♥s ♥é❝❡ss❛✐r❡s ❞❛♥s s❛ ♣r❡✉✈❡✳ ❈♦♠♠❡ ✉♥ ❝♦r♣s
q✉❛❞r❛t✐q✉❡ ❡st ❞❡ ❧❛ ❢♦r♠❡ Q(

√
D) ♣♦✉r ✉♥ ❝❡rt❛✐♥ ❡♥t✐❡r D ♥♦♥ ♥✉❧ s❛♥s

❢❛❝t❡✉r ❝❛rré✱ ❝❡❧❛ r❡✈✐❡♥t à ❞ét❡r♠✐♥❡r ❧❛ ❞❡♥s✐té ♥❛t✉r❡❧❧❡ ❞✬❡♥s❡♠❜❧❡s ❞✬❡♥t✐❡rs
s❛♥s ❢❛❝t❡✉r ❝❛rré D ✈ér✐✜❛♥t ❧❡s ❝♦♥❞✐t✐♦♥s ❞❡ ❧✬❤②♣♦t❤ès❡ ❝✐✲❞❡ss♦✉s✱ ♣♦✉r q
✉♥ ♣r❡♠✐❡r ✜①é ✿

❍②♣♦t❤ès❡ ✷✳✸✳✶✳

✐✮ q ❡st ✐♥❡rt❡ ❞❛♥s Q(
√
D) ❀

✐✐✮ ❧❡s ∆Q(
√
D) s♦♥t ❞❡✉① à ❞❡✉① ♣r❡♠✐❡rs ❡♥tr❡ ❡✉①✳

❈❡tt❡ ❞❡♥s✐té ✈❛❧❛♥t 0 ♣✉✐sq✉❡ ❧❡s D ❞♦✐✈❡♥t êtr❡ ❞❡✉① à ❞❡✉① ♣r❡♠✐❡rs ❡♥tr❡
❡✉①✱ ❧✬❛✉t❡✉r ❝♦♥s✐❞èr❡ ♣❧✉tôt ❧❛ ❞❡♥s✐té ❞❡ ❉✐r✐❝❤❧❡t ❞❡s ♣r❡♠✐❡rs D ✈ér✐✜❛♥t
❧❡s ❝♦♥❞✐t✐♦♥s ❞❡ ❧✬❤②♣♦t❤ès❡ ✷✳✸✳✶✳

◆♦t♦♥s P ❧✬❡♥s❡♠❜❧❡ ❞❡s ♥♦♠❜r❡s ♣r❡♠✐❡rs✳ ❙♦✐t X ✉♥ s♦✉s✲❡♥s❡♠❜❧❡ ❞❡ P✳
❙✐ ❧❛ ❧✐♠✐t❡

lim
s→1+

−1

log(s− 1)

∑

p∈X

1

ps

❡①✐st❡✱ ❛❧♦rs ♦♥ ❞✐r❛ q✉❡ X ❛❞♠❡t ✉♥❡ ❞❡♥s✐té ❞❡ ❉✐r✐❝❤❧❡t✱ ♥♦té❡ D(X)✱ é❣❛❧❡ à
❧❛ ✈❛❧❡✉r ❞❡ ❝❡tt❡ ❧✐♠✐t❡✳ P❛r ❡①❡♠♣❧❡✱ s✐ X ❡st ✜♥✐✱ ❛❧♦rs D(X) = 0 ❡t D(P) = 1
✭t❤é♦rè♠❡ ❞❡ ❉✐r✐❝❤❧❡t✮✳

●❛❧❛t❡❛✉ ❛ ♠♦♥tré ✿

Pr♦♣♦s✐t✐♦♥ ✷✳✸✳✷✳ ✭❬✷✺✱ ▲❡♠♠❛ ✸✳✶❪✮ ■❧ ❡①✐st❡ ✉♥ ❡♥s❡♠❜❧❡ ❞❡ ♣r❡♠✐❡rs Pq✱ ❞❡
❞❡♥s✐té ❞❡ ❉✐r✐❝❤❧❡t é❣❛❧❡ à 1

4 ✱ t❡❧ q✉❡ ❧❡s ❡♥t✐❡rs D := −p ❛✈❡❝ p ∈ Pq ✈ér✐✜❡♥t
❧❡s ❝♦♥❞✐t✐♦♥s ❞❡ ❧✬❤②♣♦t❤ès❡ ✷✳✸✳✶✳

❉❛♥s ♥♦tr❡ s✐t✉❛t✐♦♥✱ ♥♦✉s ♥✬❛✈♦♥s ♣❧✉s ❧❛ ❝♦♥❞✐t✐♦♥ ii) ❞❡ ❧✬❤②♣♦t❤ès❡ ✷✳✸✳✶
q✉✐ ét❛✐t ♥é❝❡ss❛✐r❡ ❞❛♥s ❬✷✺❪✳ ❈❡❧❛ ♥♦✉s ♣❡r♠❡t ❞❡ ❝♦♥s✐❞ér❡r ❧❛ ❞❡♥s✐té ♥❛t✉r❡❧❧❡
❞♦♥t ♦♥ r❛♣♣❡❧❧❡ ❝✐✲❞❡ss♦✉s ❧❛ ❞é✜♥✐t✐♦♥ ❡♥ t♦✉t❡ ❣é♥ér❛❧✐té✳

▲❡ ❜✉t ❞❡ ❝❡tt❡ s❡❝t✐♦♥ ❡st ❞❡ ♠♦♥tr❡r q✉❡ ❞❛♥s ❝❡rt❛✐♥s ❝❛s✱ ❝❡tt❡ ❞❡♥s✐té
♣❡✉t êtr❡ str✐❝t❡♠❡♥t ♣♦s✐t✐✈❡✳ ▼ê♠❡ s✐ ❝❡❧❛ s❡♠❜❧❡ ♥❛t✉r❡❧✱ ❝❡❧❛ r❡♣♦s❡ s✉r ❞❡s
rés✉❧t❛ts ♣r♦❢♦♥❞s✳

P♦✉r d ∈ N∗ ❡t n ∈ N∗✱ ♥♦t♦♥s Nn(d) ❧❡ ♥♦♠❜r❡ ❞❡ ❝♦r♣s ❞❡ ❞❡❣ré n s✉r Q
❡t ❞❡ ❞✐s❝r✐♠✐♥❛♥ts ❜♦r♥és✱ ❡♥ ✈❛❧❡✉r ❛❜s♦❧✉❡✱ ♣❛r d✳

❉é✜♥✐t✐♦♥ ✷✳✸✳✸✳ ❙♦✐t En ✉♥ ❡♥s❡♠❜❧❡ ❞❡ ❝♦r♣s ❞❡ ❞❡❣ré n ✜①é✳ ❖♥ ♥♦t❡ En(d)
❧✬❡♥s❡♠❜❧❡ ❞❡s ❝♦r♣s ❞❡ En ❞❡ ❞✐s❝r✐♠✐♥❛♥ts ❜♦r♥és✱ ❡♥ ✈❛❧❡✉r ❛❜s♦❧✉❡✱ ♣❛r d✳

❖♥ ❞✐r❛ q✉❡ En ❛ ✉♥❡ ❞❡♥s✐té ♥❛t✉r❡❧❧❡ s✐ #En(d)
Nn(d)

❛ ✉♥❡ ❧✐♠✐t❡ q✉❛♥❞ d t❡♥❞

✈❡rs +∞ ❡t ♦♥ ❧❛ ♥♦t❡r❛✱ s✐ ❡❧❧❡ ❡①✐st❡✱ d(En)✳

◆♦t♦♥s I(p, n) ✭r❡s♣✳ R(p, n)✮ ❧✬❡♥s❡♠❜❧❡ ❞❡ t♦✉s ❧❡s ❝♦r♣s ❞❡ ❞❡❣ré n ❞❛♥s
❧❡sq✉❡❧s p ❡st ✐♥❡rt❡ ✭r❡s♣✳ t♦t❛❧❡♠❡♥t r❛♠✐✜é✮✳

❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t p > 2✳ ▲✬❡①✐st❡♥❝❡ ✭❡t ❞♦♥❝ ❧❡ ❝❛❧❝✉❧✮ ❞❡ d(R(p, n))
❡t ❞❡ d(I(p, n)) ❡st ✉♥ ♣r♦❜❧è♠❡ ♥♦♥✲tr✐✈✐❛❧ s❛✉❢ ♣♦✉r ❧❡ ❝❛s n = 2 q✉✐ ❛ été
tr❛✐té ♣❛r ●❛✉ss✳ P♦✉r ❧❡ ❝❛s n = 3✱ ❧❛ ♣r❡✉✈❡ r❡♣♦s❡ s✉r ✉♥❡ ♣r♦♣r✐été ♣r♦♣r❡
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❛✉① ❝♦r♣s ❝✉❜✐q✉❡s ✭❝❢ ❬✶✽❪✮✳ ▲❡s ❝❛s n = 4 ❡t n = 5 ♦♥t été tr❛✐tés ♣❛r ❇❤❛r❣❛✈❛
❡t r❡♣♦s❡♥t s✉r ❞❡s rés✉❧t❛ts très ♣r♦❢♦♥❞s ✭❝❢ ❬✼❪ ❡t ❬✽❪✮✳ P♦✉r ❧❛ ❝♦♠♠♦❞✐té ❞✉
❧❡❝t❡✉r✱ ♥♦✉s r❛♣♣❡❧♦♥s ❝❡s rés✉❧t❛ts✳

❚❤é♦rè♠❡ ✷✳✸✳✹ ✭●❛✉ss✮✳ P♦✉r n = 2✱ ♦♥ ❛

d(R(p, 2)) =
1

p+ 1

❡t
d(I(p, 2)) = p

2(p+ 1)
.

❚❤é♦rè♠❡ ✷✳✸✳✺ ✭❉❛✈❡♥♣♦rt✲❍❡✐❧❜r♦♥♥✮✳ P♦✉r n = 3✱ ♦♥ ❛

d(R(p, 3)) =
1

p2 + 1

❡t

d(I(p, 3)) = p(p− 1)

3(p2 + 1)
.

❚❤é♦rè♠❡ ✷✳✸✳✻ ✭❇❤❛r❣❛✈❛✮✳ P♦✉r n = 4✱

d(I(p, 4)) = 1

4

(

1− (p+ 1)2

p3 + p2 + 2p+ 1

)

.

P♦✉r n = 5✱

d(I(p, 5)) = 1

5

(

1− (p+ 1)(p2 + p+ 1)

p4 + p3 + 2p2 + 2p+ 1

)

.

❈❡s ❞✐✛ér❡♥ts t❤é♦rè♠❡s ♠♦♥tr❡♥t q✉❡ ❧❛ ❞❡♥s✐té ❞❡ ❝♦r♣sKm ❞❡ ❞❡❣ré n ≤ 5
✜①é s✉r Q t❡❧ q✉✬✐❧ ❡①✐st❡ ✉♥ ✉♥✐q✉❡ ✐❞é❛❧ ♣r❡♠✐❡r pm ❞❡ OKm

❛✉✲❞❡ss✉s ❞❡ p
❡st str✐❝t❡♠❡♥t ♣♦s✐t✐✈❡✳ ❈❡❧❛ ♠♦♥tr❡ q✉❡ ♥♦tr❡ t❤é♦rè♠❡ ♣r✐♥❝✐♣❛❧ ♣❡r♠❡t ❞❡
❝♦♥s✐❞ér❡r ❜❡❛✉❝♦✉♣ ♣❧✉s ❞❡ ❝♦r♣s q✉❡ ❧❡ t❤é♦rè♠❡ ✷✳✷✳✶✳

❉❡ ❝❡s rés✉❧t❛ts✱ ♥♦✉s ♣♦✉✈♦♥s ❝♦♥❥❡❝t✉r❡r q✉❡ ✿

❈♦♥❥❡❝t✉r❡ ✷✳✸✳✼✳ P♦✉r t♦✉t n✱ ♣♦✉r t♦✉t p✱ I(p, n) ❛ ✉♥❡ ❞❡♥s✐té ♥❛t✉r❡❧❧❡ ❡t

lim
p→+∞

d(I(p, n)) = 1

n
.

■❧ ♥✬❡①✐st❡ ♣❛s ❞❡ rés✉❧t❛ts ❝♦♥♥✉s ♣♦✉r n ≥ 6✳ ❉❡❧ ❈♦rs♦ ❡t ❉✈♦r♥✐❝✐❝❤ ♦♥t
ét✉❞✐é ❞❛♥s ❬✶✾❪ ✉♥ ❛✉tr❡ t②♣❡ ❞❡ ❞❡♥s✐té✳

◆♦t♦♥s Φn(N) ⊂ Z[X] ❧✬❡♥s❡♠❜❧❡ ❞❡s ♣♦❧②♥ô♠❡s ✐rré❞✉❝t✐❜❧❡s ❞❡ ❞❡❣ré n ✜①é
❞♦♥t ❧❡s ❝♦❡✣❝✐❡♥ts s♦♥t ♠❛❥♦rés ❡♥ ✈❛❧❡✉r ❛❜s♦❧✉❡ ♣❛r N > 0✳ ❙♦✐t Φn ⊂ Z[X]
✉♥ ❡♥s❡♠❜❧❡ ❞❡ ♣♦❧②♥ô♠❡s ✐rré❞✉❝t✐❜❧❡s ❞❡ ❞❡❣ré n✳ ❙✐ ❧❛ ❧✐♠✐t❡

lim
N→+∞

| Φn ∩ Φn(N) |
| Φn(N) |

❡①✐st❡✱ ♦♥ ❞✐t q✉❡ Φn ❛❞♠❡t ✉♥❡ ❞❡♥s✐té ♥❛t✉r❡❧❧❡✱ ♥♦té❡ D(Φn)✱ é❣❛❧❡ à ❧❛ ✈❛❧❡✉r
❞❡ ❝❡tt❡ ❧✐♠✐t❡✳

❙♦✐❡♥t e, f ∈ N∗✳ ◆♦t♦♥s A(p; (e, 1)) ✭r❡s♣✳ A(p; (1, f))✮✱ ❧✬❡♥s❡♠❜❧❡ ❞❡s ♣♦❧②✲
♥ô♠❡s ✉♥✐t❛✐r❡s ❡t ✐rré❞✉❝t✐❜❧❡s g ❞❡ ❞❡❣ré e ✭r❡s♣✳ f✮ t❡❧s q✉❡ p ❡st t♦t❛❧❡♠❡♥t
r❛♠✐✜é ✭r❡s♣✳ ✐♥❡rt❡✮ ❞❛♥s Q[X]/(g(X))✳ ❖♥ ❛ ❛❧♦rs



✻✵❈❍❆P■❚❘❊ ✷✳ ●➱◆➱❘❆▲■❙❆❚■❖◆ ❉✬❯◆ ❚❍➱❖❘➮▼❊ ❉❊ ●❆▲❆❚❊❆❯

❚❤é♦rè♠❡ ✷✳✸✳✽ ✭❬✶✾❪✱ ▼❛✐♥ ❚❤❡♦r❡♠✮✳ ■❧ ❡①✐st❡ ❞❡✉① ❢♦♥❝t✐♦♥s r❛t✐♦♥♥❡❧❧❡s
φe(X)✱ φf (X) ∈ Q(X) t❡❧❧❡s q✉❡ D(A(p, (e, 1)) ❡①✐st❡ ❡t ✈❛✉t φe(p) ♣♦✉r t♦✉t
♣r❡♠✐❡r p ♣r❡♠✐❡r à e ❡t t❡❧❧❡s q✉❡ D(A(p, (1, f)) ❡①✐st❡ ❡t ✈❛✉t φf (p) ♣♦✉r t♦✉t
♣r❡♠✐❡r p✳

▲❡ ❧❡❝t❡✉r ✐♥tér❡ssé ♣♦✉rr❛ ❝♦♥s✉❧t❡r ❬✶✾❪ ♣♦✉r ❞❡s rés✉❧t❛ts ♣❧✉s ❣é♥ér❛✉①✳

✷✳✹ ❆♣♣❡♥❞✐❝❡✳

❉❛♥s ❝❡t ❛♣♣❡♥❞✐❝❡✱ ♥♦✉s ❛❧❧♦♥s ♠♦♥tr❡r ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✷✳ P♦✉r ✉♥❡ ❡①t❡♥s✐♦♥
L/K ❞❡ ❝♦r♣s ❧♦❝❛✉①✱ ❧❡s ❞❡✉① ❞✐❛❣r❛♠♠❡s

L

e

f

K

❡t L

d

K

s✐❣♥✐✜❡♥t q✉❡ e = e(L|K)✱ f = f(L|K) ❡t d = [L : K]✳

❋✐①♦♥s ✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r p ❡t ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ F/Qp✳ ❙♦✐❡♥t n ≥ 2 ❡t
K1/F, . . . ,Kn/F ❞❡s ❡①t❡♥s✐♦♥s ❞❡✉① à ❞❡✉① ❞✐st✐♥❝t❡s✳ P♦s♦♥s ei = e(Ki|F ) ❡t
fi = f(Ki|F )✳

❈♦♠♠❡♥ç♦♥s ♣❛r ♠❛❥♦r❡r ❧❡ ❞❡❣ré ❞✬✐♥❡rt✐❡ ❞✬✉♥ ❝♦♠♣♦s✐t✉♠ ❞❡ ❞❡✉① ❝♦r♣s✳

Pr♦♣♦s✐t✐♦♥ ✷✳✹✳✶✳ ❖♥ ❛

f(K1K2|F ) ≤ ppcm(f1, f2) pgcd(e1, e2).

❉é♠♦♥str❛t✐♦♥✳ ◆♦t♦♥s Knr
i ❧✬❡①t❡♥s✐♦♥ ♠❛①✐♠❛❧❡ ♥♦♥✲r❛♠✐✜é❡ ❞❡ F ✐♥❝❧✉s❡

❞❛♥s Ki✳ P❛r ❬✷✹✱ ❝❤❛♣✐tr❡ ✸✱ t❤é♦rè♠❡ ✷✺❪✱ Ki/K
nr
i ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é❡ ❞❡

❞❡❣ré e(Ki|Knr
i ) = ei ❡t ❞♦♥❝ f(Ki|Knr

i ) = 1✳ P❛r ❝♦♥séq✉❡♥t✱ f(Knr
i |F ) = fi✳
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❈♦♥s✐❞ér♦♥s ❧❡ ❞✐❛❣r❛♠♠❡ s✉✐✈❛♥t ✿

K1K
nr
2

e1,5

f1,5

e1,4

f1,4

Knr
1 K2

e2,4

f2,4

e2,5

f2,5

K1

e1

1

Knr
1 Knr

2

e2,3

f2,3

e1,3

f1,3

K2

e2

1

Knr
1

1

f1,1

Knr
2

1

f2,1

Knr
1 ∩Knr

2

1

f1,0

F

❈♦♠♠❡ ❧❡ ❝♦♠♣♦s✐t✉♠ ❞❡ ❞❡✉① ❡①t❡♥s✐♦♥s ♥♦♥ r❛♠✐✜é❡s ❡st ♥♦♥ r❛♠✐✜é✱
♦♥ ❛ e1,3 = e2,3 = 1✳ ❈♦♠♠❡ ❧✬❡①t❡♥s✐♦♥ Knr

1 Knr
2 /Knr

i ❡st ♥♦♥ r❛♠✐✜é❡✱ ♦♥
❞é❞✉✐t ❞✉ t❤é♦rè♠❡ ✷✳✶✳✶✸ q✉❡ K1K

nr
2 /K1 ❡st ♥♦♥ r❛♠✐✜é ❡t ❞♦♥❝ e1,4 = 1✳ P❛r

❝♦♥séq✉❡♥t✱
e1,5 = e1,5 e1,3 = e1,4 e1 = e1.

❉❡ ♠ê♠❡✱ e2,4 = 1 ❡t e2,5 = e2✳
❈❛❧❝✉❧♦♥s ♠❛✐♥t❡♥❛♥t ❧❡s fi✳ ❈❡❧❛ s❡ ❢❛✐t ❡♥ ✉t✐❧✐s❛♥t ❧❡ ❧❡♠♠❡ s✉✐✈❛♥t ✿

❋❛✐t✳ ❖♥ ❛ pgcd(f1,1, f2,1) = 1✳

❉é♠♦♥str❛t✐♦♥✳ ▲❡s tr♦✐s ❡①t❡♥s✐♦♥s

Knr
1 /Knr

1 ∩Knr
2 , Knr

2 /Knr
1 ∩Knr

2 ❡t Knr
1 Knr

2 /Knr
1 ∩Knr

2

s♦♥t ♥♦♥✲r❛♠✐✜é❡s✳ ❈❡ s♦♥t ❞♦♥❝ ❞❡s ❡①t❡♥s✐♦♥s ❝②❝❧✐q✉❡s✳ ❖r✱

Gal(Knr
1 Knr

2 /Knr
1 ∩Knr

2 ) ≃ Gal(Knr
1 /Knr

1 ∩Knr
2 )×Gal(Knr

2 /Knr
1 ∩Knr

2 ).
✭✷✳✶✺✮

❖♥ ❛ ❞♦♥❝ ✉♥ ❣r♦✉♣❡ ❝②❝❧✐q✉❡ q✉✐ ❡st ✐s♦♠♦r♣❤❡ à ✉♥ ♣r♦❞✉✐t ❝❛rtés✐❡♥ ❞❡
❞❡✉① ❣r♦✉♣❡s ❝②❝❧✐q✉❡s✳ ■❧ ❡♥ rés✉❧t❡ ❞♦♥❝ q✉❡ ❧❡ ❝❛r❞✐♥❛❧ ❞❡Gal(Knr

1 /Knr
1 ∩Knr

2 )
❡t ❞❡ Gal(Knr

2 /Knr
1 ∩Knr

2 ) s♦♥t ♣r❡♠✐❡rs ❡♥tr❡ ❡✉①✳ ❈❡❝✐ ♣r♦✉✈❡ ❧❡ ❢❛✐t✳

❈♦♠♠❡ f1 = f1,1f1,0 ❡t f2 = f2,1f1,0✱ ♦♥ ❞é❞✉✐t ❞✉ ❢❛✐t q✉❡ f1,0 = pgcd(f1, f2)
❡t ppcm(f1,1, f2,1) = f1,1f2,1✳ ❊♥ ♣❛ss❛♥t ❛✉① ❝❛r❞✐♥❛✉① ❞❛♥s ✭✷✳✶✺✮✱ ♦♥ ❡♥ ❞é✲
❞✉✐t q✉❡ f1,3f1,1 = f1,1f2,1 ❡t ❞♦♥❝ q✉❡ f1,3 = f2,1✳
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❉❡ ❧✬✐♥é❣❛❧✐té [K1K
nr
2 : Knr

1 Knr
2 ] ≤ [K1 : Knr

1 ]✱ ✐❧ ❡♥ rés✉❧t❡ q✉❡

e1 f1,5 = e1,5 f1,5 ≤ e1

❡t ❞♦♥❝ f1,5 = 1✳ ❊♥✜♥✱
f1,4 = f1,3 f1,5 = f2,1.

P❛r s②♠étr✐❡✱ ♦♥ ❛ é❣❛❧❡♠❡♥t f2,4 = f2,3 = f1,1 ❡t f2,5 = 1✳
➪ ❧✬❛✐❞❡ ❞❡s ✈❛❧❡✉rs ❝❛❧❝✉❧é❡s✱ ♦♥ ♣❡✉t ♠❛✐♥t❡♥❛♥t ♠❛❥♦r❡r ❧❡ ❞❡❣ré ❞✬✐♥❡rt✐❡

f(K1K2|Knr
1 Knr

2 )✳ ❈♦♥s✐❞ér♦♥s ❧❡ ❞✐❛❣r❛♠♠❡ ❝✐✲❞❡ss♦✉s ✿

K1K2

D2≤d1
D1≤d2

K1K
nr
2

d1

e1

Knr
1 K2

d2

e2

K1K
nr
2 ∩Knr

1 K2

Knr
1 Knr

2

❖♥ r❡♠❛rq✉❡ q✉❡ [K1K2 : Knr
1 Knr

2 ] ≤ d2 e1✳ ■❧ s✬❡♥s✉✐t ❞♦♥❝ q✉❡ ✿

f(K1K2|Knr
1 Knr

2 ) ≤ d2 e1
e(K1K2|Knr

1 Knr
2 )

.

❖r✱ ppcm(e1, e2) ≤ e(K1K2|Knr
1 Knr

2 ) ❡t d2 ≤ e2✳ ❆✐♥s✐✱

f(K1K2|Knr
1 Knr

2 ) ≤ e1 e2
ppcm(e1, e2)

= pgcd(e1, e2).

❉♦♥❝✱ f(K1K2|F ) ≤ f1,1f2,1pgcd(e1, e2) ❡t ❧❛ ♣r♦♣♦s✐t✐♦♥ s✬❡♥s✉✐t ♣✉✐sq✉❡

pgcd(f1, f2) f1,1 f2,1 = f1,0f1,1f2,1

=
f1f2

pgcd(f1, f2)
= ppcm(f1, f2).

❈❡❝✐ t❡r♠✐♥❡ ❧❛ ♣r❡✉✈❡ ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✷✳✹✳✶✳

P♦✉r ♣r♦✉✈❡r ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✷✱ ♥♦✉s ❛✈♦♥s é❣❛❧❡♠❡♥t ❜❡s♦✐♥ ❞✉ ❧❡♠♠❡
❛r✐t❤♠ét✐q✉❡ é❧é♠❡♥t❛✐r❡ s✉✐✈❛♥t✳

▲❡♠♠❡ ✷✳✹✳✷✳ ❙♦✐❡♥t l ≥ 2 ✉♥ ❡♥t✐❡r ❡t a1, ..., al ∈ N∗✳ ❆❧♦rs

l−1
∏

i=1

pgcd(ppcm(a1, ..., ai), ai+1) = pgcd
j=1,...,l







l
∏

i=1
i 6=j

ai






. ✭✷✳✶✻✮
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❉é♠♦♥str❛t✐♦♥✳ ❙♦✐t q ✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r✳ ❆✜♥ ❞✬❛❧❧é❣❡r ❧❡s ♥♦t❛t✐♦♥s✱ ♥♦t♦♥s
P (i) = max{vq(a1), . . . , vq(ai)} ♣♦✉r t♦✉t ❡♥t✐❡r i✳ ❊♥ ♣❛ss❛♥t à ❧❛ ✈❛❧✉❛t✐♦♥ vq
❞❛♥s ✭✷✳✶✻✮✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ ♣♦✉r ♠♦♥tr❡r ❧❡ ❧❡♠♠❡✱ ✐❧ s✉✣t ❞❡ ♠♦♥tr❡r q✉❡

l−1
∑

i=1

min{P (i), vq(ai+1)} =

l
∑

i=1

vq(ai)− P (l) ✭✷✳✶✼✮

■❧ ❡st ❝❧❛✐r q✉❡

min{P (i), vq(ai+1)}+max{P (i), vq(ai+1)} = P (i) + vq(ai+1). ✭✷✳✶✽✮

❖r✱max{P (i), vq(ai+1)} = P (i+1)✳ ❆✐♥s✐✱ ❡♥ s♦♠♠❛♥t ❝❤❛q✉❡ t❡r♠❡ ❞❡ ❧✬é❣❛❧✐té
✭✷✳✶✽✮ ♣♦✉r i ❛❧❧❛♥t ❞❡ 1 à l − 1✱ ✐❧ s✬❡♥s✉✐t q✉❡

l−1
∑

i=1

min{P (i), vq(ai+1)}+
l−1
∑

i=1

(P (i+ 1)− P (i)) =

l−1
∑

i=1

vq(ai+1).

❈♦♠♠❡ P (1) = vq(a1)✱ ✉♥ r❛♣✐❞❡ ❝❛❧❝✉❧ ♣❡r♠❡t ❞✬❡♥ ❞é❞✉✐r❡ ✭✷✳✶✼✮✳ ❈❡❝✐ t❡r♠✐♥❡
❧❛ ♣r❡✉✈❡ ❞✉ ❧❡♠♠❡✳

◗✉✐tt❡ à ♣❡r♠✉t❡r ❧❡s ❝♦r♣sK1, . . . ,Kn✱ ♦♥ ♣❡✉t s✉♣♣♦s❡r q✉❡K1/F, ...,Km/F
s♦♥t ♥♦♥ s❛✉✈❛❣❡♠❡♥t r❛♠✐✜és ❡t q✉❡ Km+1/F, ...,Kn/F s♦♥t s❛✉✈❛❣❡♠❡♥t r❛✲
♠✐✜és✳

▼♦♥tr♦♥s ♠❛✐♥t❡♥❛♥t ❧❛ ♣r♦♣♦s✐t✐♦♥ s✉✐✈❛♥t❡ ✿

Pr♦♣♦s✐t✐♦♥ ✷✳✹✳✸✳ ❖♥ ❛

f(K1...Kn|F ) ≤ ppcm(f1, f2, ..., fn)E

♦ù

E = pgcd
j=1,...,n







n
∏

i=1
i 6=j

ei







s✐ m ≥ n− 2 ❡t

E = pgcd
j=1,...,m+2







m+2
∏

i=1
i 6=j

ei







n
∏

i=m+3

ei

s✐ m < n− 2✳

❉é♠♦♥str❛t✐♦♥✳ P♦✉r t♦✉t i✱ ♥♦t♦♥s Fi := f(K1K2...Ki|F ) ❡t Ei := e(K1K2...Ki|F )✳
❉✬❛♣rès ❧❛ ♣r♦♣♦s✐t✐♦♥ ✷✳✹✳✶ ♦ù ❧✬♦♥ ♣r❡♥❞ ❧❡ ❝♦♠♣♦s✐t✉♠ K1 . . .Ki−1 ♣♦✉r ❝♦r♣s
K1 ❡t Ki ♣♦✉r ❝♦r♣s K2✱ ♦♥ ❛✱ ♣♦✉r t♦✉t i ≥ 2✱

Fi = ppcm(Fi−1, fi)F
′
i

❛✈❡❝
F ′
i ∈ {1, ..., pgcd(Ei−1, ei)}.
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❆✐♥s✐✱

Fn ≤ ppcm(Fn−1, fn)pgcd(En−1, en)

= ppcm(ppcm(Fn−2, fn−1) F
′
n−1, fn)pgcd(En−1, en).

❉❡ ♣❧✉s✱ ♣♦✉r t♦✉s ❡♥t✐❡rs n ❡t a, a1, ..., an ∈ N∗✱

ppcm(a a1, a2, ..., an) ≤ a ppcm(a1, ..., an).

❖♥ ❡♥ ❞é❞✉✐t ❛❧♦rs q✉❡

Fn ≤ F ′
n−1 ppcm(Fn−2, fn−1, fn)pgcd(En−1, en)

≤ ppcm(Fn−2, fn−1, fn)pgcd(En−2, en−1)pgcd(En−1, en)

❝❛r F ′
n−1 ≤ pgcd(En−2, en−1)✳ P❛r ré❝✉rr❡♥❝❡ ❞❡s❝❡♥❞❛♥t❡✱

Fn ≤ ppcm(f1, ..., fn)

n
∏

i=2

pgcd(Ei−1, ei).

❙✉♣♣♦s♦♥s m ≥ n − 2✳ P❛r ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✸✱ Ek = ppcm(e1, ..., ek) ♣♦✉r
t♦✉t k ≤ n− 1✳ ■❧ s✬❡♥s✉✐t q✉❡

Fn ≤ ppcm(f1, ..., fn)

n
∏

i=2

pgcd(ppcm(e1, ..., ei−1), ei)

❡t ❧❛ ♣r❡♠✐èr❡ ❛ss❡rt✐♦♥ ❞✉ t❤é♦rè♠❡ s❡ ❞é❞✉✐t ❞✉ ❧❡♠♠❡ ✷✳✹✳✷✳
❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ m < n− 2✳ ❘❡♠❛rq✉♦♥s q✉❡

n
∏

i=2

pgcd(Ei−1, ei) =
m+2
∏

i=2

pgcd(Ei−1, ei)

n
∏

i=m+3

pgcd(Ei−1, ei).

❉✬❛♣rès ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✸✱ ♦♥ ❛ Ek = ppcm(e1, . . . , ek) ♣♦✉r t♦✉t k ≤ m + 1✳
❖♥ ❞é❞✉✐t ❛✐♥s✐ ❞✉ ❧❡♠♠❡ ✷✳✹✳✷ q✉❡

Fn ≤ ppcm(f1, ..., fn) pgcd
j=1,...,m+2







m+2
∏

i=1
i 6=j

ei







n
∏

i=m+3

pgcd(Ei−1, ei)

❡t ❧❛ s❡❝♦♥❞❡ ❛ss❡rt✐♦♥ ❞✉ t❤é♦rè♠❡ s✬❡♥s✉✐t ❝❛r pgcd(Ei−1, ei) ≤ ei✳

P♦✉r ❧❛ ❝♦♠♠♦❞✐té ❞✉ ❧❡❝t❡✉r✱ r❛♣♣❡❧♦♥s ❧❡s ❞✐✛ér❡♥t❡s ♥♦t❛t✐♦♥s ✉t✐❧✐sé❡s
♣♦✉r ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✷✳

P♦✉r t♦✉t r ∈ {1, . . . , n}✱ ♥♦t♦♥s

Λr = {e1, . . . , er}.

P♦✉r e ∈ Λn✱ ♥♦t♦♥s N (e) ❧❡ ♥♦♠❜r❡ ❞✬❡①t❡♥s✐♦♥s Ki/F ❞✬✐♥❞✐❝❡ ❞❡ r❛♠✐✜❝❛t✐♦♥
e✳ ❊♥✜♥✱ ♣♦✉r t♦✉t ♣r❡♠✐❡r q✱ ♥♦t♦♥s

ar(q) :=

(

∑

e∈Λr

vq(e)

)

−max
e∈Λr

{vq(e)}.



✷✳✹✳ ❆PP❊◆❉■❈❊✳ ✻✺

❚❤é♦rè♠❡✳ ❙✐ n = m✱ ❛❧♦rs e(K1 . . .Kn|F ) = ppcm(e1, . . . , en)✳ ❙✐ m < n✱
❛❧♦rs

e(K1 . . .Kn|F ) ≤ ppcm(e1, . . . , em+1)e
N (em+1)−1
m+1

∏

e∈Λn\Λm+1

eN (e).

❖♥ ❛ é❣❛❧❡♠❡♥t
f(K1...Kn|F ) ≤ ppcm(f1, f2, ..., fn)E

♦ù
E =

∏

e∈Λn

eN (e)−1
∏

q∈P
qan(q)

s✐ m ≥ n− 2 ❡t
E =

∏

e∈Λm+2

e−1
∏

q∈P
qam+2(q)

∏

e∈Λn

eN (e)

s✐ m < n− 2✳

❉é♠♦♥str❛t✐♦♥✳ ❘❛♣♣❡❧♦♥s q✉❡ ❧❛ ✈❛❧❡✉r ❞❡ e(K1 . . .Kn|F ) ❞❛♥s ❧❡ ❝❛s n = m
❛ ❞é❥à été ♠♦♥tré❡ ❥✉st❡ ❛♣rès ❧✬é♥♦♥❝é ❞✉ t❤é♦rè♠❡ ✷✳✶✳✶✷✳

▼♦♥tr♦♥s ❧❛ ♠❛❥♦r❛t✐♦♥ ❞❡ ❧✬✐♥❞✐❝❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞❛♥s ❧❡ ❝❛s ♦ù m < n✳
P❛r ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✸✱ ❧✬✐♥❞✐❝❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞✉ ❝♦♠♣♦s✐t✉♠ ❞❡ t♦✉t❡s ❧❡s
❡①t❡♥s✐♦♥s Ki/F ♥♦♥✲s❛✉✈❛❣❡♠❡♥t r❛♠✐✜é❡s ❡t ❞❡ Km+1 ❡st

ppcm(e1, . . . , em+1).

P❛r ❛✐❧❧❡✉rs✱ ❧✬✐♥❞✐❝❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞✬✉♥ ❝♦♠♣♦s✐t✉♠ ❞❡ ❝♦r♣s ❡st ♠❛❥♦ré ♣❛r
❧❡ ♣r♦❞✉✐t ❞❡s ✐♥❞✐❝❡s ❞❡ r❛♠✐✜❝❛t✐♦♥✳ ❆✐♥s✐✱ ❧✬✐♥❞✐❝❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞✉ ❝♦♠✲
♣♦s✐t✉♠ ❞❡ t♦✉t❡s ❧❡s ❡①t❡♥s✐♦♥s s❛✉✈❛❣❡♠❡♥t r❛♠✐✜é❡s s❛✉❢ Km+1 ❡st ♠❛❥♦ré
♣❛r

e
N (em+1)−1
m+1

∏

e∈Λn\Λm+1

eN (e), ✭✷✳✶✾✮

❝❡ q✉✐ ♠♦♥tr❡ ❧❛ ♠❛❥♦r❛t✐♦♥ s♦✉❤❛✐té❡ ❞❡ e(K1 . . .Kn|F )✳
▼♦♥tr♦♥s ♠❛✐♥t❡♥❛♥t ❧❛ ♠❛❥♦r❛t✐♦♥ ❞✉ ❞❡❣ré ❞✬✐♥❡rt✐❡✳ ▲❡ t❤é♦rè♠❡ ✷✳✶✳✶✷

❞❡✈✐❡♥t ♠❛✐♥t❡♥❛♥t ✉♥❡ réé❝r✐t✉r❡ ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ♣ré❝é❞❡♥t❡✳
P♦✉r t♦✉t e ∈ N ❡t t♦✉t r ∈ {1, . . . , n}✱ ♥♦t♦♥s Nr(e) ❧❡ ♥♦♠❜r❡ ❞✬❡①t❡♥s✐♦♥s

K1/F, . . .Kr/F ❞♦♥t ❧✬✐♥❞✐❝❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ✈❛✉t e✳

❋✐①♦♥s r ❡t e ∈ Λr✳ ❙♦✐t q ✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r✳ P♦s♦♥s A = pgcd
j=1,...,r





r
∏

i=1
i 6=j

ei



✳

❆❧♦rs vq(A) =
∑r
i=1 vq(ei) − max{vq(e1), . . . , vq(er)}✳ P❛r ❞é✜♥✐t✐♦♥ ❞❡ Nr(e)✱

♦♥ ♦❜t✐❡♥t q✉❡
r
∑

i=1

vq(ei) =
∑

e∈Λr

Nr(e)vq(e).

❯♥ r❛♣✐❞❡ ❝❛❧❝✉❧ ♠♦♥tr❡ q✉❡ vq(A) =
∑

e∈Λr
(Nr(e) − 1)vq(e) + ar(q)✳ ■❧ ❡♥

rés✉❧t❡ ❞♦♥❝ q✉❡

pgcd
j=1,...,r







r
∏

i=1
i 6=j

ei






=
∏

e∈Λr

eNr(e)−1
∏

q∈P
qar(q). ✭✷✳✷✵✮
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❙✉♣♣♦s♦♥s q✉❡m ≥ n−2✳ ❉❡ ❧❡ ♣r♦♣♦s✐t✐♦♥ ✷✳✹✳✸✱ ♦♥ ❛ E = pgcd
j=1,...,n

(

∏n
i=1
i 6=j

ei

)

✳

❊♥ ♣r❡♥❛♥t r = n ❞❛♥s ✭✷✳✷✵✮✱ ♦♥ ❡♥ ❞é❞✉✐t ❧❛ ♠❛❥♦r❛t✐♦♥ ❞❡ f(K1 . . .Kn|F )
s♦✉❤❛✐té❡✳

❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ m < n− 2✳ ❉❛♥s ❝❡ ❝❛s✱ ♦♥ ❛

E = pgcd
j=1,...,m+2







m+2
∏

i=1
i 6=j

ei







n
∏

i=m+3

ei.

❊♥ ♣r❡♥❛♥t ❝❡tt❡ ❢♦✐s✲❝✐ r = m+ 2 ❞❛♥s ✭✷✳✷✵✮✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡

E =
∏

e∈Λm+2

eNm+2(e)−1
∏

q∈P
qam+2(q)

n
∏

i=m+3

ei.

❈♦♠♠❡
∏

e∈Λm+2

eNm+2(e)
∏n
i=m+3 ei =

∏

e∈Λn
eN (e)✱ ❝❡❧❛ ♠♦♥tr❡ ❧❛ ♠❛❥♦r❛✲

t✐♦♥ s♦✉❤❛✐té❡ ❞❡ f(K1 . . .Kn|F )✱ ❝❡ q✉✐ ❛❝❤è✈❡ ❧❛ ♣r❡✉✈❡ ❞✉ t❤é♦rè♠❡ ✷✳✶✳✶✷✳

❘❡♠❛rq✉❡ ✷✳✹✳✹✳ ❙✐ ♦♥ s✉♣♣♦s❡ ❡♥ ♣❧✉s q✉❡ ❧❡s ❡①t❡♥s✐♦♥s (Ki/F )
n
i=1 s♦✐❡♥t

❣❛❧♦✐s✐❡♥♥❡s✱ ❛❧♦rs ♦♥ ♣❡✉t r❡♠♣❧❛❝❡r ✧✐♥❢ér✐❡✉r ♦✉ é❣❛❧✧ ♣❛r ✧❞✐✈✐s❡✧ ❞❛♥s ❧❡
t❤é♦rè♠❡ ✷✳✶✳✶✷ ❞✉ ❢❛✐t q✉❡ ❧✬✐♥❞✐❝❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞✬✉♥ ❝♦♠♣♦s✐t✉♠ ✜♥✐ ❞✬❡①✲
t❡♥s✐♦♥s ❣❛❧♦✐s✐❡♥♥❡s ❞❡ F ❞✐✈✐s❡ ❧❡ ♣r♦❞✉✐t ❞❡s ✐♥❞✐❝❡s ❞❡ r❛♠✐✜❝❛t✐♦♥✳

❙♦✐❡♥t K1/F, . . . ,Kn/F ❝♦♠♠❡ ❞❛♥s ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✷✳ P♦✉r ✉♥ ❡♥t✐❡r i ≤
n✱ ♥♦t♦♥s ei = e(Ki|F ) ❡t fi = f(Ki|F )✳ ❙✉♣♣♦s♦♥s q✉❡

✐✮ K1 . . .Ki/F ❡t Ki+1/F s♦♥t ❧✐♥é❛✐r❡♠❡♥t ❞✐s❥♦✐♥ts ♣♦✉r t♦✉t i ❀

✐✐✮ Ki/F ❡st ♥♦♥ s❛✉✈❛❣❡♠❡♥t r❛♠✐✜é ♣♦✉r t♦✉t i ❀

✐✐✐✮ ei = ej ♦✉ pgcd(ei, ej) = 1 ♣♦✉r t♦✉s i, j✳

❆❧♦rs ❞❛♥s ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✷✱ ♥♦tr❡ ♠❛❥♦r❛t✐♦♥ ❞✉ ❞❡❣ré ❞✬✐♥❡rt✐❡ ❡st ✉♥❡ é❣❛✲
❧✐té✳ ❊♥ ❡✛❡t✱ ✐❧ s✬❡♥s✉✐t ❞❡ ❧❛ ❝♦♥❞✐t✐♦♥ i) q✉❡

[K1 . . .Kn : F ] =

n
∏

i=1

[Ki : F ] =

n
∏

i=1

eifi.

❉❡ ♣❧✉s✱ ❧❡s ❡①t❡♥s✐♦♥s Ki/F s♦♥t ♥♦♥ s❛✉✈❛❣❡♠❡♥t r❛♠✐✜é❡s✳ ▲❡ t❤é♦rè♠❡
✷✳✶✳✶✸ ♣❡r♠❡t ❞♦♥❝ ❞✬❡♥ ❞é❞✉✐r❡ q✉❡

e(K1 . . .Kn|F ) = ppcm(e1, . . . , en). ✭✷✳✷✶✮

❉❡ ❧❛ ❝♦♥❞✐t✐♦♥ iii)✱ ♦♥ ♦❜t✐❡♥t q✉❡ an(q) = 0 ♣♦✉r t♦✉t ♣r❡♠✐❡r q✳ ❉❡ ♣❧✉s✱
❧❛ ❝♦♥❞✐t✐♦♥ iii) ❡t ✭✷✳✷✶✮ ♣❡r♠❡tt❡♥t ❞✬❡♥ ❞é❞✉✐r❡ q✉❡

e(K1 . . .Kn|F ) =
∏

e∈Λn

e.
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❈♦♠♠❡ [K1 . . .Kn : F ] = e(K1 . . .Kn|F )f(K1 . . .Kn|F )✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡

f(K1 . . .Kn|F ) =
∏

e∈Λn

eN (e)−1
n
∏

i=1

fi.

▲❡ t❤é♦rè♠❡ ✷✳✶✳✶✷ ♣❡r♠❡t ❞✬❡♥ ❞é❞✉✐r❡ q✉❡

n
∏

i=1

fi ≤ ppcm(f1, . . . , fn).

❈❡❧❛ ♠♦♥tr❡ ❞♦♥❝ q✉❡
∏n
i=1 fi = ppcm(f1, . . . , fn)✳ ❆✐♥s✐✱ ❧❛ ♠❛❥♦r❛t✐♦♥ ❞✉

❞❡❣ré ❞✬✐♥❡rt✐❡ ❞✉ t❤é♦rè♠❡ ✷✳✶✳✶✷ ❡st✱ ❞❛♥s ❝❡ ❝❛s✱ ✉♥❡ é❣❛❧✐té✳
◆♦✉s t❡r♠✐♥♦♥s ❝❡t ❛♣♣❡♥❞✐❝❡ ❛✈❡❝ ❞❡✉① ❡①❡♠♣❧❡s ♦ù ❧✬♦♥ ❝♦♠♣❛r❡ ❧❡s ❜♦r♥❡s

♦❜t❡♥✉❡s ❡♥ ✉t✐❧✐s❛♥t ❞✬✉♥ ❝ôté ❧❡ ❝♦r♦❧❧❛✐r❡ ✷✳✶✳✶✶ ❡t ❞❡ ❧✬❛✉tr❡ ❧❡ t❤é♦rè♠❡
✷✳✶✳✶✷✳ ▲✬✉♥ ❝♦♥t✐❡♥❞r❛ ❞❡ ❧❛ r❛♠✐✜❝❛t✐♦♥ s❛✉✈❛❣❡ ❡t ❧✬❛✉tr❡ ♥♦♥✳

❊①❡♠♣❧❡ ✷✳✹✳✺✳ Pr❡♥♦♥s p = 11 ❡t {K1, . . . ,Kn} ❧✬❡♥s❡♠❜❧❡ ❞❡s ❡①t❡♥s✐♦♥s ❞❡
Q11 ❞❡ ❞❡❣ré ♣❧✉s ♣❡t✐t q✉❡ 10 ✭❝✬❡st ❜✐❡♥ ✉♥ ❡♥s❡♠❜❧❡ ✜♥✐ ❞✬❛♣rès ❧❡ t❤é♦rè♠❡
✷✳✶✳✶✵✮✳ ◆♦t♦♥sK ❧❡ ❝♦♠♣♦s✐t✉♠ ❞❡sKn✳ P♦✉r i ∈ {2, ..., 10}✱ ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✵
♠♦♥tr❡ q✉❡ NQ11,i =

∑

d|i
d✳ ❆✐♥s✐✱ ❧❛ ♠❛❥♦r❛t✐♦♥ ❞♦♥♥é❡ ♣❛r ❧❡ ❝♦r♦❧❧❛✐r❡ ✷✳✶✳✶✶

♠♦♥tr❡ q✉❡

f(K|Q11) ≤
10
∏

i=1

i

∑

d|i

d

≤ 1, 9.1071.

❈❛❧❝✉❧♦♥s✱ ❛✈❡❝ ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✷✱ ✉♥❡ ♠❛❥♦r❛t✐♦♥ ♣❧✉s ♣ré❝✐s❡ ❞❡ f(K|Q11)✳
❈♦♠♠❡ ✐❧ ♥✬② ❛ ♣❛s ❞❡ r❛♠✐✜❝❛t✐♦♥ s❛✉✈❛❣❡✱ ♦♥ ❡st ❞❛♥s ❧❡ ❝❛s ♦ùm = n > m−2✳
❈♦♠♠❡ ✐❧ ❡①✐st❡ ✉♥❡ ✉♥✐q✉❡ ❡①t❡♥s✐♦♥ ♥♦♥ r❛♠✐✜é❡ ❞❡ Q11 ❞❡ ❞❡❣ré f ✱ q✉❡
❧✬♦♥ ♥♦t❡ Q11{f}✱ ✐❧ s✬❡♥s✉✐t q✉❡ ❧❡ ♥♦♠❜r❡ ❞✬❡①t❡♥s✐♦♥s ❞❡ Q11 ❞❡ ❞❡❣ré ef
❡t ❞❡ ❞❡❣ré ❞✬✐♥❡rt✐❡ f ❡st✱ ❞✬❛♣rès ❧❡ t❤é♦rè♠❡ ✷✳✶✳✶✵✱ N (r)

Q11{f},e = e✳ ❉❛♥s

♥♦tr❡ s✐t✉❛t✐♦♥✱ f ≤ 10e−1 ❡t ❞♦♥❝✱ ❧❡ ♥♦♠❜r❡ ❞✬❡①t❡♥s✐♦♥s ❞♦♥t ❧❡ ❞❡❣ré ❞❡
r❛♠✐✜❝❛t✐♦♥ ✈❛✉t e ❡st e⌊10/e⌋✳ ❘❛♣♣❡❧♦♥s q✉❡ ♣♦✉r t♦✉t ♣r❡♠✐❡r q✱

an(q) = −max{vq(1), . . . , vq(10)}+
10
∑

e=1

vq(e).

❆✐♥s✐✱ an(2) = 5, an(3) = 2, an(5) = 1 ❡t an(q) = 0 ♣♦✉r ❧❡s ❛✉tr❡s ✈❛❧❡✉rs
❞❡ q✳ ■❧ ❡♥ rés✉❧t❡ ❞♦♥❝ q✉❡

f(K|Q11) ≤ ppcm(1, . . . , 10) 25 32 5

10
∏

e=1

ee ⌊ 10
e ⌋−1 ≤ 3, 3.1056.

❚r❛✐t♦♥s ❧❡ s❡❝♦♥❞ ❡①❡♠♣❧❡✳

❊①❡♠♣❧❡ ✷✳✹✳✻✳ Pr❡♥♦♥s p = 5 ❡t {K1, . . . ,Kn} ❧✬❡♥s❡♠❜❧❡ ❞❡s ❡①t❡♥s✐♦♥s ❞❡
Q5 ❞❡ ❞❡❣ré ♣❧✉s ♣❡t✐t q✉❡ 10✳ ◆♦t♦♥s K ❧❡ ❝♦♠♣♦s✐t✉♠ ❞❡s Kn✳ ▲❡ t❤é♦rè♠❡
✷✳✶✳✶✵ ♠♦♥tr❡ q✉❡ NQ5,5 = 106 ❡t NQ5,10 = 1818✳ ❆✐♥s✐✱ ❡♥ ✉t✐❧✐s❛♥t ❧❛ ♠❛❥♦r❛✲
t✐♦♥ ❞♦♥♥é❡ ♣❛r ❧❡ ❝♦r♦❧❧❛✐r❡ ✷✳✶✳✶✶✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡

f(K|Q5) ≤ 5106 101818
9
∏

i=1
i 6=5

i
∑

d|i d ≤ 1, 5.101941.
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❈❛❧❝✉❧♦♥s ♠❛✐♥t❡♥❛♥t ✉♥ ♠❛❥♦r❛♥t ❞❡ f(K|Q5) à ❧✬❛✐❞❡ ❞✉ t❤é♦rè♠❡ ✷✳✶✳✶✷✳
◆♦t♦♥s m ❧❡ ♥♦♠❜r❡ ❞✬❡①t❡♥s✐♦♥s Kj/Q5 ♥♦♥ s❛✉✈❛❣❡♠❡♥t r❛♠✐✜é❡s✳ ❖♥ ❛ m <
n−2✳ ❉✬❛♣rès ❧✬❡①❡♠♣❧❡ ♣ré❝é❞❡♥t✱N (e) = e⌊10/e⌋ s✐ e /∈ {5, 10}✳ P♦✉r e = 5✱ ♦♥
❛ f = 1 ♦✉ f = 2✳ ❆✐♥s✐✱ ❞✬❛♣rès ✭✷✳✻✮✱ ♦♥ ❛ N (5) ≤ 105+ 605 = 710✳ ❉❡ ♠ê♠❡✱
s✐ e = 10✱ ❛❧♦rs f = 1 ❡t ♦♥ ❡♥ ❞é❞✉✐t q✉❡ N (10) ≤ 1210✳ ❖♥ ❡♥ ❞é❞✉✐t ❞♦♥❝ ✭❡♥
♣r❡♥❛♥t em+1 = em+2 = 10✮ q✉❡ am+2(2) = 8− 3 = 5, am+2(3) = 4− 2 = 2 ❡t
am+2(q) = 0 ♣♦✉r ❧❡s ❛✉tr❡s ✈❛❧❡✉rs ❞❡ q✳ ❖♥ ❡♥ ❝♦♥❝❧✉t ❞♦♥❝ q✉❡ ✿

f(K|Q5) ≤ ppcm(1, . . . , 10) (10!)−1 5 25 32 5710 101210
9
∏

e=1
e 6=5

ee ⌊ 10
e ⌋ ≤ 6, 2.101745.



❈❤❛♣✐tr❡ ✸

❆✉t♦✉r ❞✬✉♥❡ ❝♦♥❥❡❝t✉r❡ ❞❡

❘é♠♦♥❞

◆♦t♦♥s G ❧❡ ❣r♦✉♣❡ ♠✉❧t✐♣❧✐❝❛t✐❢ Gnm ❞❡ ❞✐♠❡♥s✐♦♥ n ♦✉ ✉♥❡ ✈❛r✐été ❛❜é❧✐❡♥♥❡
❞é✜♥✐❡ s✉r ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s k✳ ◆♦t♦♥s ĥ ✉♥❡ ❤❛✉t❡✉r s✉r G(k) ❞é✜♥✐❡ ❞❡
❧❛ ♠❛♥✐èr❡ s✉✐✈❛♥t❡ ✿ ❞❛♥s ❧❡ ❝❛s ♦ù G = Gnm✱ ❧❛ ❤❛✉t❡✉r ĥ(P ) ❞✬✉♥ ♣♦✐♥t
P = (a1, . . . , an) ❡st ❧❛ s♦♠♠❡ ❞❡s ❤❛✉t❡✉rs ❞❡ ❲❡✐❧ h(a1) + . . . h(an)✳ ❉❛♥s ❧❡
❝❛s ♦ù G ❡st ✉♥❡ ✈❛r✐été ❛❜é❧✐❡♥♥❡✱ ĥ ❞és✐❣♥❡r❛ ❧❛ ❤❛✉t❡✉r ❝❛♥♦♥✐q✉❡ ❛ss♦❝✐é❡ à
✉♥ ✜❜ré ❡♥ ❞r♦✐t❡ ❛♠♣❧❡ ❡t s②♠étr✐q✉❡ L q✉❡ ❧✬♦♥ ✜①❡✳ ◆♦t♦♥s [n] : G → G ❧❛
♠✉❧t✐♣❧✐❝❛t✐♦♥ ♣❛r ✉♥ ❡♥t✐❡r n✳ P♦✉r ✉♥ s♦✉s✲❣r♦✉♣❡ Γ ❞❡ G(k)✱ ♥♦t♦♥s

Γsat = {g ∈ G(k) | ∃n ∈ N\{0}, [n].g ∈ End(G).Γ}

✭♦ù End(G).Γ ❞és✐❣♥❡ ❧❡ ❣r♦✉♣❡ ❡♥❣❡♥❞ré ♣❛r ❧❡s é❧é♠❡♥ts ❞❡ ❧❛ ❢♦r♠❡ φ(γ) ❛✈❡❝
φ ∈ End(G) ❡t γ ∈ Γ✮ ❧❡ ❣r♦✉♣❡ s❛t✉ré ❞❡ Γ✳ ❙✐ End(G) = Z ✭❝♦♠♠❡ ❝✬❡st ❧❡ ❝❛s
s✐✱ ♣❛r ❡①❡♠♣❧❡✱ G = Gm ♦✉ G = E ❡st ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ♥♦♥ ❈▼✮ ❛❧♦rs✱
Γsat ❡st ❧❡ ❣r♦✉♣❡ ❞❡ ❞✐✈✐s✐♦♥ ❞❡ Γ✱ ✐✳❡✳ {g ∈ G(k) | ∃n ∈ N\{0}, [n].g ∈ Γ}✳ ❖♥
❞é✜♥✐t ❛✉ss✐ ❧❡ r❛♥❣ ❞❡ Γ ❝♦♠♠❡ ét❛♥t é❣❛❧ à dimQΓ⊗Z Q✳

❘é❝❡♠♠❡♥t✱ ❘é♠♦♥❞ ❛ é♥♦♥❝é ✉♥❡ ❝♦♥❥❡❝t✉r❡ très ❣é♥ér❛❧❡ ❬✸✻✱ ❈♦♥❥❡❝t✉r❡
✸✳✹❪ s✉r ❧❛ ♠✐♥♦r❛t✐♦♥ ❞❡ ❧❛ ❤❛✉t❡✉r ĥ✳ ❯♥ ❝❛s ♣❛rt✐❝✉❧✐❡r ❞❡ ❝❡tt❡ ❝♦♥❥❡❝t✉r❡
♣ré❞✐t ❧✬é♥♦♥❝é ❝✐✲❞❡ss♦✉s ✿

❈♦♥❥❡❝t✉r❡ ✸✳✵✳✶✳ ❙♦✐t Γ ⊂ G(k) ✉♥ ❣r♦✉♣❡ ❞❡ r❛♥❣ ✜♥✐✳ ❆❧♦rs✱ ✐❧ ❡①✐st❡ ✉♥❡

❝♦♥st❛♥t❡ cΓ > 0 t❡❧❧❡ q✉❡ ĥ(P ) ≥ cΓ ♣♦✉r t♦✉t P ∈ G(k(Γ))\Γsat✳

❈❡tt❡ ❝♦♥❥❡❝t✉r❡ ❞♦♥♥❡ ✉♥ é♥♦♥❝é ❛♣♣❛r❡♠♠❡♥t ♣❧✉s ❢♦rt q✉❡ ❝❡❧✉✐ q✉✬♦♥
♣❡✉t ❞é❞✉✐r❡ ❞✐r❡❝t❡♠❡♥t ❞❡ ❬✸✻✱ ❈♦♥❥❡❝t✉r❡ ✸✳✹❪✱ ♦ù ❧❛ ❝♦♥❞✐t✐♦♥ ✧P /∈ Γsat✧ ❡st
r❡♠♣❧❛❝é❡ ♣❛r ❧❛ ❝♦♥❞✐t✐♦♥ ❧♦❣✐q✉❡♠❡♥t ♣❧✉s ❢♦rt❡ ✧P ❡st Γ✲tr❛♥s✈❡rs❡✧ ✭r❛♣✲
♣❡❧♦♥s q✉❡✱ ❡♥ s✉✐✈❛♥t ❬✸✻❪✱ ✉♥❡ s♦✉s✲✈❛r✐été V ❞❡ G ❡st ❞✐t❡ Γ✲tr❛♥s✈❡rs❡ s✐
❡❧❧❡ ♥✬❡st ❝♦♥t❡♥✉❡ ❞❛♥s ❛✉❝✉♥ tr❛♥s❧❛té ❞✬✉♥ s♦✉s✲❣r♦✉♣❡ ❛❧❣é❜r✐q✉❡ ❝♦♥♥❡①❡
B ❞❡ A t❡❧ q✉❡ B 6= A ♣❛r ✉♥ ♣♦✐♥t ❞❡ Γsat✮✳ ❈❡♣❡♥❞❛♥t✱ ❬✸✻✱ ❚❤é♦rè♠❡ ✸✳✼❪
❛✈❡❝ ε = 0 ✭❝❡ q✉✐ ❡st ♣♦ss✐❜❧❡ ❞✬❛♣rès ❧❡ ❞❡r♥✐❡r ♣❛r❛❣r❛♣❤❡ ❞❡ ❬✸✻✱ s❡❝t✐♦♥ ✸❪✮
♠♦♥tr❡ q✉❡ ❧✬♦♥ ♣❡✉t ❛✛❛✐❜❧✐r ❧❛ ❝♦♥❞✐t✐♦♥ s✉r P ✳

✻✾
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✸✳✶ ❈❛s G = Gm

❉❛♥s ❝❡tt❡ s❡❝t✐♦♥✱ ♦♥ ✈❛ s✬✐♥tér❡ss❡r à ❧❛ ❝♦♥❥❡❝t✉r❡ ✸✳✵✳✶ ❞❛♥s ❧❡ ❝❛s ♦ùG = Gm✳
❉❛♥s ❝❡ ❝❛s ♣❛rt✐❝✉❧✐❡r✱ ❡❧❧❡ s❡ réé❝r✐t ❝♦♠♠❡ s✉✐t ✿

❈♦♥❥❡❝t✉r❡ ✸✳✶✳✶✳ ❙♦✐t Γ ⊂ Gm(Q) ✉♥ ❣r♦✉♣❡ ❞❡ r❛♥❣ ✜♥✐✳ ❆❧♦rs ✐❧ ❡①✐st❡ ✉♥❡
❝♦♥st❛♥t❡ cΓ > 0 t❡❧❧❡ q✉❡ h(α) ≥ cΓ ♣♦✉r t♦✉t α ∈ Gm(Q(Γ))\Γsat✳

❖♥ ♥❡ ❝♦♥♥❛ît q✉❡ ♣❡✉ ❞❡ rés✉❧t❛ts ♥♦♥✲tr✐✈✐❛✉① ❞❛♥s ❧❛ ❞✐r❡❝t✐♦♥ ❞❡ ❝❡tt❡
❝♦♥❥❡❝t✉r❡✱ ♠ê♠❡ ❞❛♥s ❞❡s ❝❛s très ♣❛rt✐❝✉❧✐❡rs✳ ▲❡ ❝❛s ♦ù Γ = {1}sat ❡st ❧❡
❣r♦✉♣❡ ❞❡s r❛❝✐♥❡s ❞❡ ❧✬✉♥✐té ❛ été tr❛✐té ❞❛♥s ❬✹❪ ❡t ❧❡s ❛✉t❡✉rs ♦♥t ♠♦♥tré q✉❡
cΓ = (log 5)/12 ❝♦♥✈❡♥❛✐t✳

❈❡♣❡♥❞❛♥t✱ ♦♥ ♥❡ s❛✐t t♦✉❥♦✉rs ♣❛s s✐ ❝❡tt❡ ❝♦♥❥❡❝t✉r❡ ❡st ✈r❛✐❡ ♣♦✉r t♦✉t
❛✉tr❡ ❣r♦✉♣❡ ❞❡ ❧❛ ❢♦r♠❡ Γ = 〈b〉sat ❛✈❡❝ b ∈ Z\{−1, 0, 1}✳ ❊♥ ♣❛rt✐❝✉❧✐❡r✱ ♦♥ ♥❡
s❛✐t ♣❛s s✐ ❧❡s ♣♦✐♥ts ❞❡ ♣❡t✐t❡ ❤❛✉t❡✉r ❞❡ Qab(21/2, 21/3, . . . ) s♦♥t ❞❛♥s 〈2〉sat✳

P♦✉r ✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r p✱ ♦♥ ❞é✜♥✐t ❧❡ ❣r♦✉♣❡ p✲s❛t✉ré ❞❡ Γ ❝♦♠♠❡ ét❛♥t
❧❡ ❣r♦✉♣❡ ✿

Γsat,p =
{

g ∈ Q
∗ | ∃n ∈ N∗, gp

n ∈ Γ
}

.

■❧ ② ❛ ♣❡✉✱ ❆♠♦r♦s♦ ❛ ♠♦♥tré q✉❡ ❧❛ ❝♦♥❥❡❝t✉r❡ ✸✳✶✳✶ ❡st ✈ér✐✜é❡ ♣♦✉r ❧❡ ❣r♦✉♣❡
Γ = 〈2〉sat,3✳ P❧✉s ❣é♥ér❛❧❡♠❡♥t✱ ✐❧ ❛ ♠♦♥tré ❬✷✱ ❚❤❡♦r❡♠ ✸✳✸❪ ✿

❚❤é♦rè♠❡ ✸✳✶✳✷ ✭❆♠♦r♦s♦✮✳ ❙♦✐❡♥t b ≥ 2 ✉♥ ❡♥t✐❡r ❡t p ≥ 3 ✉♥ ♥♦♠❜r❡ ♣r❡✲

♠✐❡r✳ ❙✉♣♣♦s♦♥s q✉❡ p ∤ b ❡t q✉❡ p2 ∤ (bp−1−1)✳ ❆❧♦rs h(α) ≥ min
{

1
3h(b) ,

log(p/2)
2p2

}

♣♦✉r t♦✉t α ∈ Gm (Q(〈b〉sat,p)) \〈b〉sat✳

❯♥ ✐♥❣ré❞✐❡♥t ✐♥❞✐s♣❡♥s❛❜❧❡ ❞❛♥s ❧❛ ♣r❡✉✈❡ ❞❡ ❝❡ t❤é♦rè♠❡ r❡♣♦s❡ s✉r ❧✬ét✉❞❡
❞✉ ❞❡r♥✐❡r s❛✉t ❞❡ ❧❛ s✉✐t❡ ❞❡s ❣r♦✉♣❡s ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞❡ Gal

(

Qp(ζpr , b
1/ps)/Qp)

❛✈❡❝ r ≥ s ❞❡✉① ❡♥t✐❡rs ♣♦s✐t✐❢s✳ ❘❡♠❛rq✉♦♥s q✉❡ ❝❡tt❡ ét✉❞❡ ❛ ❞é❥à été ❢❛✐t❡ ♣❛r
❱✐✈✐❛♥✐✳ ❈♦♠♠❡ ♦♥ ❛ ❞é❥à ❣é♥ér❛❧✐sé ❧❡s rés✉❧t❛ts ❞❡ ❱✐✈✐❛♥✐ ✭❝❢ ❧❡s t❤é♦rè♠❡s
✶✳✶✳✺ ❡t ✶✳✶✳✻✮✱ ❝❡❧❛ ♥♦✉s ♣❡r♠❡t ❞❡ s✉♣♣r✐♠❡r ❧❡s ❝♦♥❞✐t✐♦♥s t❡❝❤♥✐q✉❡s ❞✉
t❤é♦rè♠❡ ✸✳✶✳✷ ❡t ❞❡ ♣♦✉✈♦✐r ❝♦♥s✐❞ér❡r ❞❡s ❝♦r♣s ❞❡ ♥♦♠❜r❡s à ❧❛ ♣❧❛❝❡ ❞❡ Q✳
❖♥ ♠♦♥tr❡r❛ ❧❡ rés✉❧t❛t s✉✐✈❛♥t ✿

❚❤é♦rè♠❡ ✸✳✶✳✸✳ ❙♦✐❡♥t F ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s✱ a ∈ F ∗\(F ∗)p ❡t p ✉♥ ♥♦♠❜r❡
♣r❡♠✐❡r ✐♠♣❛✐r ♥❡ ❞✐✈✐s❛♥t ♣❛s ❧❡ ❞✐s❝r✐♠✐♥❛♥t ❞❡ F ✳ ❆❧♦rs ✐❧ ❡①✐st❡ c > 0 t❡❧
q✉❡ h(α) ≥ c ♣♦✉r t♦✉t α ∈ Gm (F (〈a〉sat,p)) \〈a〉sat✳

❘❡♠❛rq✉♦♥s q✉❡ ❞❛♥s ❧❡ ❝❛s F = Q✱ ❧❛ ❝♦♥❞✐t✐♦♥ t❡❝❤♥✐q✉❡ ✧p ♥❡ ❞✐✈✐s❡ ♣❛s
❧❡ ❞✐s❝r✐♠✐♥❛♥t ❞❡ F✧ ❡st ✈✐❞❡ ♣✉✐sq✉❡ ❧❡ ❞✐s❝r✐♠✐♥❛♥t ❞❡ Q ✈❛✉t 1✳ ▲❡ t❤é♦rè♠❡
✸✳✶✳✸ ❡st ❞♦♥❝ ❜✐❡♥ ✉♥❡ ❣é♥ér❛❧✐s❛t✐♦♥ ❞✉ t❤é♦rè♠❡ ✸✳✶✳✷✳

✸✳✶✳✶ ❘és✉❧t❛ts ❛✉①✐❧✐❛✐r❡s

❉❛♥s ❝❡ ♣❛r❛❣r❛♣❤❡✱ ♥♦✉s ❛❧❧♦♥s ♠♦♥tr❡r ❝♦♠♠❡♥t ❧✬ét✉❞❡ ❞❡s ❣r♦✉♣❡s ❞❡ r❛✲
♠✐✜❝❛t✐♦♥ ❢❛✐t❡ ❞❛♥s ❧❡ ❝❤❛♣✐tr❡ ✶ ♣❡r♠❡t ❞✬♦❜t❡♥✐r ❞❡s r❡♥s❡✐❣♥❡♠❡♥ts s✉r ❧❛
♠✐♥♦r❛t✐♦♥ ❞❡ ❧❛ ❤❛✉t❡✉r ✭❝❢ ♣r♦♣♦s✐t✐♦♥ ✸✳✶✳✾✮✳ ❯♥❡ ❢♦✐s ❝❡tt❡ ♣r♦♣♦s✐t✐♦♥ ♣r♦✉✲
✈é❡✱ ♦♥ ♣♦✉rr❛ ❛❧♦rs✱ à ❧✬❛✐❞❡ ❞✬✉♥❡ ♠ét❤♦❞❡ ❞❡ ❧❛ ❞❡s❝❡♥t❡✱ ❡t ❞✉ ❧❡♠♠❡ ✸✳✶✳✶✵✱
✭q✉❡ ❧✬♦♥ ♣❡✉t ✈♦✐r ❝♦♠♠❡ ✉♥❡ ✧✐♥✐t✐❛❧✐s❛t✐♦♥✧ ❞❡ ❧❛ ♠ét❤♦❞❡ ❞❡ ❧❛ ❞❡s❝❡♥t❡✮
♠♦♥tr❡r ❧❡ t❤é♦rè♠❡ ✸✳✶✳✸✳



✸✳✶✳ ❈❆❙ G = GM ✼✶

◆♦✉s ❛❧❧♦♥s ❞✬❛❜♦r❞ ❞♦♥♥❡r q✉❡❧q✉❡s ❞é✜♥✐t✐♦♥s ❡t ét❛❜❧✐r q✉❡❧q✉❡s rés✉❧t❛ts
♣ré❧✐♠✐♥❛✐r❡s✳

P♦✉r ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s ♦✉ ✉♥ ❝♦r♣s ❧♦❝❛❧ K✱ ♥♦t♦♥s OK s♦♥ ❛♥♥❡❛✉ ❞❡s
❡♥t✐❡rs✳

❙♦✐❡♥t L/K ✉♥❡ ❡①t❡♥s✐♦♥ ❣❛❧♦✐s✐❡♥♥❡ ❞❡ ❝♦r♣s ❞❡ ♥♦♠❜r❡s ❡t pL ✉♥ ✐❞é❛❧
♣r❡♠✐❡r ❞❡ OL✳ P♦✉r ✉♥ ❡♥t✐❡r i ≥ −1✱ ♥♦t♦♥s

Gal(L/K)i(pL) = {σ ∈ Gal(L/K) | ∀x ∈ OL, σx ≡ x mod pi+1
L }

❧❡ i✲✐è♠❡ ❣r♦✉♣❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞❡ Gal(L/K) ❛ss♦❝✐é à pL✳

▲❡♠♠❡ ✸✳✶✳✹✳ ❙♦✐❡♥t K ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s ❡t p ✉♥ ✐❞é❛❧ ♣r❡♠✐❡r ❞❡ OK ✳
❙♦✐❡♥t a ∈ K ❡t r, s ❞❡s ❡♥t✐❡rs ♣♦s✐t✐❢s t❡❧s q✉❡ r ≥ s✳ ❆❧♦rs ♣♦✉r t♦✉t ✐❞é❛❧
♣r❡♠✐❡r P ❞❡ OK(ζpr ,a1/p

s ) ❛✉✲❞❡ss✉s ❞❡ p✱ ♦♥ ❛

K(ζpr , a
1/ps)P = Kp(ζpr , a

1/ps).

❉é♠♦♥str❛t✐♦♥✳ ◗✉✐tt❡ à ♠✉❧t✐♣❧✐❡r a ♣❛r ✉♥ ❜♦♥ é❧é♠❡♥t ❞❡ K∗✱ ♦♥ ♣❡✉t s❡
ré❞✉✐r❡ à ♠♦♥tr❡r ❧❡ t❤é♦rè♠❡ ❞❛♥s ❧❡ ❝❛s ♦ù a ∈ OK ✳ ❉✬❛♣rès ✉♥ ❧❡♠♠❡ ❞❡
❑✉♠♠❡r ❬✶✸✱ ❈❤❛♣t❡r ✷✱ s❡❝t✐♦♥ ✶✵❪✱ ♦♥ ❛ q✉❡K(a1/p

s

)P∩K(a1/ps ) = Kp

(

ζda
1/ps

)

♣♦✉r ✉♥ ❝❡rt❛✐♥ ❞✐✈✐s❡✉r d ❞❡ ps✳ ❚♦✉❥♦✉rs ❞✬❛♣rès ❝❡ ❧❡♠♠❡ ❞❡ ❑✉♠♠❡r✱ ♦♥
♦❜t✐❡♥t q✉❡ K(ζpr )P∩K(ζpr ) = Kp(ζpr )✳ ❆✐♥s✐✱ K(ζpr , a

1/ps)P = Kp

(

ζpr , a
1/ps

)

♣✉✐sq✉❡ d | pr ✭r ≥ s✮✱ ❝❡ q✉✐ ♠♦♥tr❡ ❧❡ ❧❡♠♠❡✳

❖♥ ❞✐r❛ q✉✬✉♥❡ ❡①t❡♥s✐♦♥ L/K ❡st r❛❞✐❝❛❧❡ s✬✐❧ ❡①✐st❡ a ∈ K∗ ❡t ❞❡s ❡♥t✐❡rs r, s
t❡❧s q✉❡ L = K(ζpr , a

1/ps)✳ ❘❡♠❛rq✉♦♥s q✉✬✉♥❡ t❡❧❧❡ ❡①t❡♥s✐♦♥ ❡st ❣❛❧♦✐s✐❡♥♥❡ s✐
r ≥ s✳ ▲❡ ❧❡♠♠❡ ✸✳✶✳✹ ❛✣r♠❡ ❞♦♥❝ q✉❡ ❧✬❡①t❡♥s✐♦♥ ❝♦♠♣❧été❡ ❞✬✉♥❡ ❡①t❡♥s✐♦♥
❣❛❧♦✐s✐❡♥♥❡ ❡t r❛❞✐❝❛❧❡ ❞❡ ❝♦r♣s ❞❡ ♥♦♠❜r❡s ❡st ❛✉ss✐ ❣❛❧♦✐s✐❡♥♥❡ ❡t r❛❞✐❝❛❧❡✳

◆♦t♦♥s µ∞ ❧✬❡♥s❡♠❜❧❡ ❞❡s r❛❝✐♥❡s ❞❡ ❧✬✉♥✐té✳ ❉❛♥s ❝❡tt❡ s♦✉s✲s❡❝t✐♦♥✱ ❡t
✉♥✐q✉❡♠❡♥t ❞❛♥s ❝❡❧❧❡ ❝✐✱ ✜①♦♥s ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s F ✱ ✉♥ a ∈ OF \µ∞ t❡❧ q✉❡
a ∈ F ∗\(F ∗)p ❡t ✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r p ✐♠♣❛✐r ♥❡ ❞✐✈✐s❛♥t ♣❛s ❧❡ ❞✐s❝r✐♠✐♥❛♥t ❞❡
F ✳ ❋✐①♦♥s é❣❛❧❡♠❡♥t ✉♥ ✐❞é❛❧ ♣r❡♠✐❡r p ❞❡ OF ❛✉✲❞❡ss✉s ❞❡ p✳ ◆♦t♦♥s ρ ❧✬✉♥✐q✉❡

❡♥t✐❡r t❡❧ q✉❡ a ∈ F p
ρ

p \F p
ρ+1

p ❡t b ∈ Fp\F pp t❡❧ q✉❡ bp
ρ

= a✳ ❘❡♠❛rq✉♦♥s q✉❡
❧✬♦♥ ♣❡✉t ✐❞❡♥t✐✜❡r b ❛✈❡❝ ✉♥ é❧é♠❡♥t ❞❡ 〈a〉sat,p ⊂ F ✱ q✉❡ ❧✬♦♥ ♥♦t❡ ❡♥❝♦r❡ b✳
❊♥✜♥✱ ♣♦s♦♥s F ′ = F (b) ❡t✱ ♣♦✉r ❞❡s ❡♥t✐❡rs ♣♦s✐t✐❢s r ❡t s✱

Fr,s = F (ζpr , b
1/ps), (Fp)r,s = Fp(ζpr , b

1/ps).

▲❡♠♠❡ ✸✳✶✳✺✳ ■❧ ❡①✐st❡ ✉♥ ✐❞é❛❧ ♣r❡♠✐❡r p′ ❞❡ OF ′ ❛✉✲❞❡ss✉s ❞❡ p ❞❡ t❡❧❧❡ s♦rt❡
q✉❡ F ′

p′ = Fp✳

❉é♠♦♥str❛t✐♦♥✳ ❈♦♠♠❡ a ∈ F ∗\(F ∗)p✱ ✉♥ ❧❡♠♠❡ ❞❡ ❈❛♣❡❧❧✐ ❬✷✾✱ ❈❤❛♣t❡r ✻✱
❚❤❡♦r❡♠ ✾✳✶❪ ♠♦♥tr❡ q✉❡ ❧❡ ♣♦❧②♥ô♠❡ Xpρ − a ∈ F [X] ❡st ✐rré❞✉❝t✐❜❧❡ s✉r F ✳
❈✬❡st ❞♦♥❝ ❧❡ ♣♦❧②♥ô♠❡ ♠✐♥✐♠❛❧ ❞❡ b s✉r F ✳ ❈♦♠♠❡ b ∈ Fp ❡t q✉❡ a = bp

ρ

✱ ✐❧
❡①✐st❡ ❛❧♦rs ✉♥ ♣♦❧②♥ô♠❡ P (X) ∈ Fp[X] t❡❧ q✉❡

Xpρ − a = (X − b)P (X).

❉✬❛♣rès ✉♥ ❧❡♠♠❡ ❞❡ ❑✉♠♠❡r ❬✶✸✱ ❈❤❛♣t❡r ✷✱ s❡❝t✐♦♥ ✶✵❪✱ ❛♣♣❧✐q✉é à K = F
❡t à β = b ∈ OF ′ ✭❝❛r a ∈ OF ✮✱ ♦♥ ❡♥ ❞é❞✉✐t q✉✬✐❧ ❡①✐st❡ ✉♥ ✐❞é❛❧ ♣r❡♠✐❡r p′ ❞❡
OF ′ ❛✉✲❞❡ss✉s ❞❡ p t❡❧ q✉❡

F ′
p′ = Fp(b) = Fp.



✼✷ ❈❍❆P■❚❘❊ ✸✳ ❆❯❚❖❯❘ ❉✬❯◆❊ ❈❖◆❏❊❈❚❯❘❊ ❉❊ ❘➱▼❖◆❉

❉❛♥s ❧❛ s✉✐t❡ ❞❡ ❝❡tt❡ s❡❝t✐♦♥✱ ❝❤♦✐s✐ss♦♥s ✉♥ t❡❧ ✐❞é❛❧ p′✳ ❘❡♠❛rq✉♦♥s q✉❡
Fp/Qp ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ ♥♦♥ r❛♠✐✜é❡ ♣✉✐sq✉❡ ♣❛r ❤②♣♦t❤ès❡✱ p ♥❡ ❞✐✈✐s❡
♣❛s ❧❡ ❞✐s❝r✐♠✐♥❛♥t ❞❡ F ✳

▲❡♠♠❡ ✸✳✶✳✻✳ ■❧ ❡①✐st❡ ✉♥❡ ✉♥✐q✉❡ ♣❧❛❝❡ ❞❡ F (〈b〉sat,p) ❛✉✲❞❡ss✉s ❞❡ p′✳

❉é♠♦♥str❛t✐♦♥✳ ❈❧❛✐r❡♠❡♥t✱

F (〈b〉sat,p) =
⋃

r≥0

Fr,r.

❆✐♥s✐✱ ♣♦✉r ♠♦♥tr❡r ❧❡ ❧❡♠♠❡✱ ✐❧ s✉✣t ❞❡ ♠♦♥tr❡r q✉❡ ❧❡ ♥♦♠❜r❡ cr ❞✬✐❞é❛✉①
♣r❡♠✐❡rs ❞❡ Fr,r ❛✉✲❞❡ss✉s ❞❡ p′ ❡st é❣❛❧ à 1✳

❊♥ ❛♣♣❧✐q✉❛♥t ❧❡ ❧❡♠♠❡ ✸✳✶✳✹ ❛✈❡❝ K = F ✱ ❧❡ ❝♦♠♣❧été ❞❡ Fr,r ♣❛r r❛♣♣♦rt
à ✉♥ ✐❞é❛❧ ♣r❡♠✐❡r q✉❡❧❝♦♥q✉❡ ❛✉✲❞❡ss✉s ❞❡ p′ ❡st é❣❛❧ à (Fp)r,r✳ ❈♦♠♠❡ b ∈
F ∗
p \(F ∗

p )
p✱ ♦♥ ❞é❞✉✐t ❞✉ ❧❡♠♠❡ ✶✳✶✳✷✱ ♦ù ❧✬♦♥ ❛ r❡♠♣❧❛❝é a ♣❛r b✱ q✉❡

[(Fp)r,r : Fp] = (p− 1)p2r−1.

❈♦♠♠❡ cr = [Fr,r : F ]/[(Fp)r,r : Fp] ❡t q✉❡

[Fr,r : F ] ≤ [Fr,0 : F ][F0,r : F ] ≤ (p− 1)pr−1pr = (p− 1)p2r−1,

♦♥ ❡♥ ❞é❞✉✐t q✉❡ cr ≤ 1✱ ❡t ❞♦♥❝ q✉❡ cr = 1✱ ❝❡ q✉✐ ♣r♦✉✈❡ ❧❡ ❧❡♠♠❡✳

P❛r ❝❡ ❧❡♠♠❡✱ ✐❧ ❡①✐st❡ ❛❧♦rs ✉♥ ✉♥✐q✉❡ ✐❞é❛❧ ♣r❡♠✐❡r ❞❡ OFr,s
✱ ❛✈❡❝ r, s ❞❡✉①

❡♥t✐❡rs ♣♦s✐t✐❢s✱ ❛✉✲❞❡ss✉s ❞❡ p′ q✉❡ ❧✬♦♥ ♥♦t❡r❛ Pr,s✳ ❉✬❛♣rès ❧❡ ❧❡♠♠❡ ✸✳✶✳✹✱
❛♣♣❧✐q✉é à K = F ✱ p = p′ ❡t à P = Pr,s✱ ♦♥ ❛ q✉❡

(Fr,s)Pr,s
= (Fp)r,s. ✭✸✳✶✮

❆✐♥s✐✱ s✐ r ≥ s✱ ❛❧♦rs (Fr,s)Pr,s/Fp ❡st ✉♥❡ ❡①t❡♥s✐♦♥ ❣❛❧♦✐s✐❡♥♥❡✱ r❛❞✐❝❛❧❡ ❡t
✜♥✐❡✳ ▲✬ét✉❞❡ ❞❡s ❣r♦✉♣❡s ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞✬✉♥❡ t❡❧❧❡ ❡①t❡♥s✐♦♥ ❛ ❞é❥à été tr❛✐té❡
❞❛♥s ❧❡ ❝❤❛♣✐tr❡ ✶✳ ■❝✐✱ ♦♥ s♦✉❤❛✐t❡ ♦❜t❡♥✐r ❞❡s r❡♥s❡✐❣♥❡♠❡♥ts s✉r ❧❡s ❣r♦✉♣❡s
❞❡ r❛♠✐✜❝❛t✐♦♥ ❞✬✉♥❡ ❡①t❡♥s✐♦♥ ❣❧♦❜❛❧❡✳ ❈✬❡st ❧✬♦❜❥❡t ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ s✉✐✈❛♥t❡✳

■♥tr♦❞✉✐s♦♥s ❞✬❛❜♦r❞ ✉♥❡ ♥♦t❛t✐♦♥ q✉❡ ♥♦✉s ♣❡r♠❡ttr❛ ❞✬✉♥✐✜❡r ❧❡s ❞❡✉① ❝❛s
p | vp′(b) ❡t p ∤ vp′(b)✳ P♦s♦♥s

δ =

{

0 s✐ p | vp′(b)

1 s✐ p ∤ vp′(b)
.

Pr♦♣♦s✐t✐♦♥ ✸✳✶✳✼✳ ❙♦✐❡♥t r✱ s ❞❡s ❡♥t✐❡rs t❡❧s q✉❡ r ≥ s ≥ 2✳ ◆♦t♦♥s T ❧❡
❞❡r♥✐❡r s❛✉t ❞❡ Gal((Fr,s−δ)Pr,s−δ

/Fp)✳ ❆❧♦rs Gal(Fr,s−δ/F ′)T (Pr,s−δ) ≃ Z/pZ
❡t

F
Gal(Fr,s−δ/F

′)T (Pr,s−δ)
r,s−δ =

{

Fr−1,s−δ s✐ r > s

Fr,s−δ−1 s✐ r = s
.

❉é♠♦♥str❛t✐♦♥✳ ❆✜♥ ❞✬❛❧❧é❣❡r ❧❡s ♥♦t❛t✐♦♥s✱ ♥♦t♦♥s N = Fr,s−δ ❡t Q = Pr,s−δ✳
❖♥ s❛✐t q✉❡ ♣♦✉r t♦✉t i ≥ 0✱

Gal(NQ/Fp)i ≃ Gal(N/F ′)i(Q), ✭✸✳✷✮
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♦ù ❧✬✐s♦♠♦r♣❤✐s♠❡ ❡st ❞♦♥♥é ♣❛r ❧❡ ♠♦r♣❤✐s♠❡ ❞❡ r❡str✐❝t✐♦♥✳ P❧✉s ♣ré❝✐sé♠❡♥t✱
s✐

N
Gal(NQ/Fp)i
Q = N

Gal(NQ/Fp)0
Q

(

ζ
pr

(i) , b1/p
s(i)
)

✭✸✳✸✮

♣♦✉r ❝❡rt❛✐♥s ❡♥t✐❡rs ♣♦s✐t✐❢s r(i) ❡t s(i)✱ ❛❧♦rs

NGal(N/F ′)i(Q) = NGal(N/F ′)0(Q)

(

ζ
pr

(i) , b1/p
s(i)
)

. ✭✸✳✹✮

❈♦♠♠❡♥ç♦♥s ♣❛r s✉♣♣♦s❡r q✉❡ p | vp′(b)✱ ✐✳❡✳ δ = 0✳ ❆✐♥s✐✱ N = Fr,s ❡t ❞♦♥❝✱
NQ = (Fp)r,s ♣❛r ✭✸✳✶✮✳ ❉✬❛♣rès ❧❡ ❝♦r♦❧❧❛✐r❡ ✶✳✹✳✹✱ ❛♣♣❧✐q✉é à F = Fp✱ ♦♥ ❛

N
Gal(NQ/Fp)T
Q =

{

(Fp)r−1,s s✐ r > s

(Fp)r,s−1 s✐ r = s
.

❘❡♠❛rq✉♦♥s é❣❛❧❡♠❡♥t q✉❡ #Gal(NQ/Fp)T = [NQ : N
Gal(NQ/Fp)T
Q ] = p ❞✬❛♣rès

❧❛ r❡♠❛rq✉❡ ✶✳✶✳✸ ❛♣♣❧✐q✉é❡ à r′ = r − 1 ❡t à s′ = s s✐ r > s ♦✉ à r′ = r ❡t à
s′ = s− 1 s✐ r = s✳

❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ p ∤ vp′(b)✱ ✐✳❡✳ δ = 1✳ ❆✐♥s✐✱ N = Fr,s−1 ❡t NQ =
(Fp)r,s−1 ♣❛r ❧❛ ✭✸✳✶✮✳ ❉✬❛♣rès ❧❡ ❝♦r♦❧❧❛✐r❡ ✶✳✹✳✽✱ ❛♣♣❧✐q✉é à F = Fp✱ ♦♥ ❛

N
Gal(LQ/Fp)T
Q =

{

(Fp)r−1,s−1 s✐ r > s

(Fp)r,s−2 s✐ r = s
.

❘❡♠❛rq✉♦♥s é❣❛❧❡♠❡♥t q✉❡ #Gal(NQ/Fp)T = [NQ : N
Gal(NQ/Fp)T
Q ] = p ❞✬❛♣rès

❧❛ r❡♠❛rq✉❡ ✶✳✶✳✸ ❛♣♣❧✐q✉é❡ à r′ = r− 1 ❡t à s′ = s− 1 s✐ r > s ♦✉ à r′ = r ❡t à
s′ = s− 2 s✐ r = s✳

❖♥ ❛ ❛✐♥s✐ ♠♦♥tré q✉❡ ❞❛♥s ❧❡s ❞❡✉① ❝❛s✱ #Gal(NQ/Fp)T = p ❡t

N
Gal(LQ/Fp)T
Q =

{

(Fp)r−1,s−δ s✐ r > s

(Fp)r,s−δ−1 s✐ r = s
.

❘❛♣♣❡❧♦♥s q✉❡ NQ = (Fp)r,s−δ ♣❛r ✭✸✳✶✮✳ ❆✐♥s✐✱ ❞✬❛♣rès ❧❡ ❧❡♠♠❡ ✶✳✶✳✷✱
NQ/Fp ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é✱ ❡t ❞♦♥❝✱ Gal(NQ/Fp)0 = Gal(NQ/Fp)✳ ❉✐t ❛✉tr❡✲

♠❡♥t✱ NGal(NQ/Fp)0
Q = Fp✳ ❈♦♠♠❡ Q ❡st ❧✬✉♥✐q✉❡ ✐❞é❛❧ ♣r❡♠✐❡r ❞❡ ON ❛✉✲❞❡ss✉s

❞❡ p′ ❡t q✉❡ ❧✬❡①t❡♥s✐♦♥ ❝♦♠♣❧été❡ NQ/F
′
p′ = NQ/Fp ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é❡✱ ✐❧

s✬❡♥s✉✐t q✉❡ Gal(N/F ′)0(Q) = Gal(N/F ′)✱ ✐✳❡✳ NGal(N/F ′)0(Q) = F ′.
❉❡ ✭✸✳✸✮ ❡t ✭✸✳✹✮✱ ✐❧ s✬❡♥s✉✐t ❛❧♦rs q✉❡

NGal(N/F ′)T (Q) =

{

F ′(ζpr−1 , b1/p
s−δ

) = Fr−1,s−δ s✐ r > s

F ′(ζpr , b1/p
s−1−δ

) = Fr,s−1−δ s✐ r = s

❡t✱ ❞✬❛♣rès ✭✸✳✷✮✱ q✉❡ #Gal(N/F ′)T (Q) = p✱ ✐✳❡✳ Gal(N/F ′)T (Q) ≃ Z/pZ✳

P♦✉r ✉♥ ❡♥t✐❡r m ≥ 1✱ ♥♦t♦♥s µm ❧✬❡♥s❡♠❜❧❡ ❞❡s r❛❝✐♥❡s m✲✐è♠❡ ❞❡ ❧✬✉♥✐té✳
▲❡ ❧❡♠♠❡ s✉✐✈❛♥t s❡r✈✐r❛ ✉♥✐q✉❡♠❡♥t ♣♦✉r ♣r♦✉✈❡r ❧❛ ♣r♦♣♦s✐t✐♦♥ ✸✳✶✳✾✳
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▲❡♠♠❡ ✸✳✶✳✽✳ ❙♦✐❡♥t r, s ❞❡s ❡♥t✐❡rs t❡❧s q✉❡ r ≥ s ≥ 2✳ ◆♦t♦♥s T ❧❡ ❞❡r♥✐❡r
s❛✉t ❞❡ Gal((Fr,s−δ)Pr,s−δ

/Fp)✳ ❙♦✐❡♥t α ∈ Fr,s−δ ❡t σ ✉♥ ❣é♥ér❛t❡✉r ❞✉ ❣r♦✉♣❡
❝②❝❧✐q✉❡ Gal(Fr,s−δ/F ′)T (Pr,s−δ) t❡❧s q✉❡ σα/α ∈ µ∞✳ ❆❧♦rs σα/α ∈ µpr ✳

❉é♠♦♥str❛t✐♦♥✳ ❆✜♥ ❞✬❛❧❧é❣❡r ❧❡s ♥♦t❛t✐♦♥s✱ ♥♦t♦♥s N = Fr,s−δ ❡t Q = Pr,s−δ✳
P♦s♦♥s m = pβd ❧✬♦r❞r❡ ❞❡ σα/α ∈ N ❛✈❡❝ p ∤ d✳ P♦s♦♥s é❣❛❧❡♠❡♥t ω =

(σα/α)p
β ∈ N ✳ P❛r ❝♦♥séq✉❡♥t✱ ω ❡st ❞✬♦r❞r❡ d✳

❈♦♠♠❡ p ∤ d✱ ♦♥ ❛✱ ❞✬❛♣rès ❬✸✷✱ ❈❤❛♣t❡r ■■✱ Pr♦♣♦s✐t✐♦♥ ✼✳✶✷❪✱ q✉❡ Q∩N 〈σ〉

❡st ♥♦♥ r❛♠✐✜é ❞❛♥s N 〈σ〉(ω)✳
P❛r ❧❛ t❤é♦r✐❡ ❞❡s ❣r♦✉♣❡s ❞❡ r❛♠✐✜❝❛t✐♦♥✱ Q∩NGal(N/F ′)0(Q) ❡st t♦t❛❧❡♠❡♥t

r❛♠✐✜é ❞❛♥s N ✳ ❈♦♠♠❡ N 〈σ〉(ω) ⊂ N ❡t q✉❡ 〈σ〉 = Gal(N/F ′)T (Q)✱ ✐❧ s✬❡♥s✉✐t
q✉❡ Q ∩N 〈σ〉 ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é ❞❛♥s N 〈σ〉(ω)✳

❈♦♠♠❡ Q∩N 〈σ〉 ❡st à ❧❛ ❢♦✐s t♦t❛❧❡♠❡♥t r❛♠✐✜é ❡t ♥♦♥ r❛♠✐✜é ❞❛♥s N 〈σ〉(ω)✱
♦♥ ❡♥ ❞é❞✉✐t ❛❧♦rs q✉❡ N 〈σ〉(ω) = N 〈σ〉✱ ♦✉ ❡♥❝♦r❡ q✉❡ ω ∈ N 〈σ〉✳ ❉✬♦ù σω = ω✳
❈♦♠♠❡ σαp

β

= ωαp
β

✱ ✐❧ s✬❡♥s✉✐t ❛❧♦rs q✉❡ σiαp
β

= ωiαp
β

♣♦✉r t♦✉t i ≥ 1✳
❉✬❛♣rès ❧❛ ♣r♦♣♦s✐t✐♦♥ ✸✳✶✳✼✱ σ ❡st ❞✬♦r❞r❡ p✳ P❛r ❝♦♥séq✉❡♥t✱ σp = id ❡t ❞♦♥❝✱
ωp = 1✳ ❖r✱ ω ❡st ❛✉ss✐ ❞✬♦r❞r❡ d ❡t p ∤ d✳ ❉✬♦ù d = 1✳ ❆✐♥s✐✱ σα/α ∈ µp∞ ❡t
❞♦♥❝✱ σα/α ∈ µp∞ ∩N = µpr ✳

Pr♦♣♦s✐t✐♦♥ ✸✳✶✳✾✳ ❙♦✐❡♥t r, s ❞❡s ❡♥t✐❡rs t❡❧s q✉❡ r ≥ s✳ ◆♦t♦♥s T ❧❡ ❞❡r✲
♥✐❡r s❛✉t ❞❡ Gal((Fr,s−δ)Pr,s−δ

/Fp)✳ ❙♦✐❡♥t α, g̃ ∈ Q
∗
t❡❧s q✉❡ α/g̃ ∈ Fr,s−δ✳

❙✉♣♣♦s♦♥s q✉❡ ✿

✐✮ ✐❧ ❡①✐st❡ d ∈ N∗ t❡❧ q✉❡ g̃d ∈ F
Gal(Fr,s−δ/F

′)T (Pr,s−δ)
r,s−δ ❀

✐✐✮ |g̃d|Pr,s−δ
≤ 1 ❀

✐✐✐✮ r ≥ 3 ❡t s ≥ 2✳

❆❧♦rs s♦✐t ✐❧ ❡①✐st❡ g ∈ 〈ζpr , b1/p
s〉 t❡❧ q✉❡ α/(g̃g) ∈ F

Gal(Fr,s−δ/F
′)T (Pr,s−δ)

r,s−δ ✱ s♦✐t

h(α) + max







0,
1

[Q(γ) : Q]

∑

τ :Q(γ)→֒C

log |τγ − 1|







≥ max

{

0;
log p+ p3 log |g̃|Pr,s−δ

2p4[F ′ : Q]

}

♦ù γ = ((σα)/(ζα))p
3

❛✈❡❝ ζ ∈ µ∞ ❡t ❛✈❡❝ σ ∈ Gal(Fr,s−δ/F ′)✳ ❉❡ ♣❧✉s✱ γ /∈ µ∞✳

❉é♠♦♥str❛t✐♦♥✳ ❆✜♥ ❞✬❛❧❧é❣❡r ❧❡s ♥♦t❛t✐♦♥s✱ ♥♦t♦♥s N = Fr,s−δ ❡t Q = Pr,s−δ✳
❉✬❛♣rès ❧✬❤②♣♦t❤ès❡ iii)✱ ♦♥ ♦❜t✐❡♥t q✉❡ r ≥ s ≥ 2✳ ❊♥ ✉t✐❧✐s❛♥t ❧❛ ♣r♦♣♦✲
s✐t✐♦♥ ✸✳✶✳✼✱ ♦♥ ❡♥ ❞é❞✉✐t ❛❧♦rs q✉❡ ζpr−1 , b1/p

s−δ−1 ∈ NGal(N/F ′)T (Q) ❡t q✉❡
Gal(N/F ′)T (Q) ❡st ❝②❝❧✐q✉❡ ❞✬♦r❞r❡ p✳ ◆♦t♦♥s σ ✉♥ ❣é♥ér❛t❡✉r ❞❡ ❝❡ ❣r♦✉♣❡✳

❙✐ log p + p3 log |g̃|Q ≤ 0✱ ❛❧♦rs ❧✬✐♥é❣❛❧✐té ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ❡st ❝❧❛✐r❡♠❡♥t
✈ér✐✜é❡✳ ❙✉♣♣♦s♦♥s ❞♦♥❝ q✉❡ log p+ p3 log |g̃|Q > 0✳

P♦s♦♥s
h = ζpr s✐ r = s ❡t h = b1/p

s−δ

s✐ r > s.

❘❡♠❛rq✉♦♥s q✉❡ σh/h ∈ µp\{1} ✭❝❛r hp ∈ {ζpr−1 ; b1/p
s−δ−1} ⊂ N 〈σ〉✮ ❡t q✉❡

h ∈ 〈ζpr , b1/p
s〉 ♣✉✐sq✉❡ s− δ ≤ s✳
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◆♦t♦♥s β = α/g̃✳ ❙✉♣♣♦s♦♥s ❞❛♥s ✉♥ ♣r❡♠✐❡r t❡♠♣s q✉❡ σβ/β ∈ µ∞✳ ❉✬❛♣rès
❧❡ ❧❡♠♠❡ ✸✳✶✳✽✱ ✐❧ s✬❡♥s✉✐t q✉❡ ω := σβ/β ∈ µpr ✳ ▼♦♥tr♦♥s q✉❡ ω ∈ µp✳ ❚♦✉t
❞✬❛❜♦r❞✱ σβp = ωpβp✳ ❊♥s✉✐t❡✱ ♦♥ ❛ ❛✉ss✐ q✉❡ σωp = ωp ♣✉✐sq✉❡ ωp ∈ µpr−1 ⊂
N 〈σ〉. ❉❡s ❞❡✉① ❞❡r♥✐èr❡s é❣❛❧✐tés✱ ♦♥ ❡♥ ❞é❞✉✐t ❛✐sé♠❡♥t q✉❡ σjβp = ωpjβp ♣♦✉r
t♦✉t j ≥ 1✳ ❈♦♠♠❡ σ ❡st ❞✬♦r❞r❡ p✱ ♦♥ ♦❜t✐❡♥t ❛❧♦rs q✉❡ βp = σpβp = ωp

2

βp ❡t
❞♦♥❝ q✉❡ ω ∈ µp2 ✳ ❖r✱ r ≥ 3 ❞✬❛♣rès ❧✬❤②♣♦t❤ès❡ iii)✱ ❝❡ q✉✐ ✐♠♣❧✐q✉❡ q✉❡ µp2 ⊂
N 〈σ〉✳ ❈♦♠♠❡ σβ = ωβ ❡t q✉❡ σω = ω✱ ♦♥ ❡♥ ❞é❞✉✐t ❛❧♦rs q✉❡ β = σpβ = ωpβ✱
❡t ❞♦♥❝ q✉❡ ω ∈ µp✳

❈♦♠♠❡ σh/h ∈ µp\{1}✱ ✐❧ ❡①✐st❡ ❛❧♦rs ✉♥ ❡♥t✐❡r l t❡❧ q✉❡ σβ/β = (σh/h)
l✳

❉✬♦ù σ
(

α/(g̃hl)
)

= α/(g̃hl) ❡t ❞♦♥❝ q✉❡ α/(g̃hl) ∈ N 〈σ〉 = NGal(N/F ′)T (Q).

❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ σβ/β /∈ µ∞✳ ❊♥ ♣❛rt✐❝✉❧✐❡r✱ σβp
3 6= βp

3

✳ ❙♦✐t E
❧❛ ❝❧ôt✉r❡ ❣❛❧♦✐s✐❡♥♥❡ ❞❡ N(α) = N(g̃) s✉r N 〈σ〉 ✭❝❡❧❛ ❛ ❜✐❡♥ ✉♥ s❡♥s ♣✉✐sq✉❡
❞✬❛♣rès ❧✬❤②♣♦t❤ès❡ i)✱ g̃d ∈ N 〈σ〉✮✳ ◆♦t♦♥s ❡♥❝♦r❡ σ ✉♥❡ ❡①t❡♥s✐♦♥ ❞❡ σ à E✳ P❛r
i)✱ ✐❧ ❡①✐st❡ ✉♥❡ r❛❝✐♥❡ ❞❡ ❧✬✉♥✐té ζ ∈ E t❡❧❧❡ q✉❡ σg̃ = ζg̃✳ ❆✐♥s✐✱ σβ = (σα)/(ζg̃)
❡t

σβp
3 − βp

3

= (σαp
3 − (ζα)p

3

)/(ζg̃)p
3

. ✭✸✳✺✮

▼♦♥tr♦♥s q✉❡ q✉❡ ♣♦✉r t♦✉t x ∈ N ✱

|σxp3 − xp
3 |Q ≤ p−1 max{1, |σx|Q}p3 max{1, |x|Q}p3 . ✭✸✳✻✮

P♦✉r t♦✉t x ∈ ONQ
✱ ♦♥ ❛ σx ≡ x mod QT+1 ❡t ❞♦♥❝✱

σxp
3 ≡ xp

3

mod Qp3(T+1).

❆✐♥s✐✱ ♣♦✉r t♦✉t x ∈ ONQ
✱ ♦♥ ❞é❞✉✐t ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✶✳✹✳✾ q✉❡

| σxp3 − xp
3 |Q≤ p−p

3(T+1)/e(NQ|Qp) ≤ p−e(NQ|Fp)/e(NQ|Qp) = p−1,

❝❛r Fp/Qp ❡st ♥♦♥ r❛♠✐✜é✳ ❈❡❝✐ ♠♦♥tr❡ ✭✸✳✻✮ ❞❛♥s ❧❡ ❝❛s ♦ù x ∈ ONQ
✳

❊♥ r❡✈❛♥❝❤❡✱ s✐ x /∈ ONQ
✱ ❛❧♦rs x−1 ∈ ONQ

♣✉✐sq✉❡ ONQ
❡st ✉♥ ❛♥♥❡❛✉ ❞❡

✈❛❧✉❛t✐♦♥✳ ❆✐♥s✐✱
|σx−p3 − x−p

3 |Q ≤ p−1

♦✉ ❡♥❝♦r❡ q✉❡

|σxp3 − xp
3 |Q ≤ p−1|σx|p

3

Q |x|p
3

Q ,

❝❡ q✉✐ ♠♦♥tr❡ ❞❡ ♥♦✉✈❡❛✉ ✭✸✳✻✮ ❞❛♥s ❧❡ ❝❛s ♦ù x /∈ ONQ
✳

P♦s♦♥s y = σαp
3 − (ζα)p

3

✳ ❘❡♠❛rq✉♦♥s q✉❡ y 6= 0 ❝❛r ζ = σg̃/g̃ ❡t σβp
3 6=

βp
3

✳ ❊♥ ❛♣♣❧✐q✉❛♥t ✭✸✳✻✮ à x = β = α/g̃✱ ♦♥ ❞é❞✉✐t ❞❡ ✭✸✳✺✮ q✉❡

|y|Q |g̃|−p
3

Q ≤ p−1 max{1, |σ (α/g̃) |Q}p3 max{1, |α/g̃|Q}p3 .

❈♦♠♠❡ σg̃ = ζg̃ ❡t |g̃|Q ≤ 1 ❞✬❛♣rès ❧✬❤②♣♦t❤ès❡ ii)✱ ✐❧ s✬❡♥s✉✐t ❛❧♦rs q✉❡ ✿

|y|Q ≤ p−1 max{1, |σα|Q}p3 max{1, |α|Q}p3 |g̃|−p
3

Q . ✭✸✳✼✮

P♦✉r t♦✉t❡ ♣❧❛❝❡ ν ❞❡ N ✱ ♥♦t♦♥s nν = [Nν : Qν ]/[N : Q] s✐ ν ❡st ✜♥✐❡ ❡t
nν = [Nν : R]/[N : Q] s✐♥♦♥✳ ◆♦t♦♥s M0(N) ❧✬❡♥s❡♠❜❧❡ ❞❡s ♣❧❛❝❡s ✜♥✐❡s ❞❡ N
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❡t M∞(N) ❝❡❧✉✐ ❞❡s ♣❧❛❝❡s ✐♥✜♥✐❡s✳ ❊♥ ❛♣♣❧✐q✉❛♥t ❧❛ ❢♦r♠✉❧❡ ❞✉ ♣r♦❞✉✐t à y✱
♦♥ ❛

0 = nQ log |y|Q +
∑

ν∈M0(N)
ν 6=Q

nν log |y|ν +
∑

ν∈M∞(N)

nν log |y|ν . ✭✸✳✽✮

❉❛♥s ✭✸✳✽✮✱ ♦♥ ♠❛❥♦r❡ |y|Q ❡♥ ✉t✐❧✐s❛♥t ❧✬✐♥é❣❛❧✐té ✭✸✳✼✮✳ ❖♥ ♠❛❥♦r❡ é❣❛❧❡♠❡♥t
|y|ν ✱ ♣♦✉r ν ∈ M0(N) ❡t ν 6= Q✱ ❡♥ ✉t✐❧✐s❛♥t ❧✬✐♥é❣❛❧✐té ✉❧tr❛♠étr✐q✉❡✳ ❖♥
♦❜t✐❡♥t ❛❧♦rs

0 ≤
(

− log p− p3 log |g̃|Q
)

nQ

+p3
∑

ν∈M0(N)

nν (logmax{1, |σα|ν}+ logmax{1, |ζα|ν})+
∑

ν∈M∞(N)

nν log |y|ν .

✭✸✳✾✮

P♦s♦♥s γ = (σα/ζα)p
3

✳ ❙✉♣♣♦s♦♥s ♣❛r ❧✬❛❜s✉r❞❡ q✉❡ γ ∈ µ∞✳ ❆❧♦rs σα/α ∈
µ∞✳ ❈♦♠♠❡ ζ = σg̃/g̃ ∈ µ∞ ❡t q✉❡ β = α/g̃✱ ✐❧ s✬❡♥s✉✐t q✉❡ σβ/β ∈ µ∞✱ ❝❡ q✉✐
❡st ❛❜s✉r❞❡ ♣❛r ❤②♣♦t❤ès❡✳ P❛r ❝♦♥séq✉❡♥t✱ γ /∈ µ∞✳

❈❧❛✐r❡♠❡♥t✱ y = (ζα)p
3

(γ − 1)✳ ❆✐♥s✐✱

∑

ν∈M∞(N)

nν log |y|ν =
1

[Q(γ) : Q]

∑

τ

log |τγ − 1|+ p3
∑

ν∈M∞(N)

nν log |ζα|ν

✭✸✳✶✵✮

♦ù τ ♣❛r❝♦✉rt ❧✬❡♥s❡♠❜❧❡ ❞❡s ♣❧♦♥❣❡♠❡♥ts Q(γ) →֒ C✳ ❊♥ ✐♥❥❡❝t❛♥t ✭✸✳✶✵✮ ❞❛♥s
✭✸✳✾✮✱ ✐❧ ❡♥ rés✉❧t❡✱ ❝❛r h(σα) = h(ζα) = h(α)✱ q✉❡

0 ≤
(

− log p− p3 log |g̃|Q
)

nQ + 2p3h(α) +
1

[Q(γ) : Q]

∑

τ

log |τγ − 1|.

❈♦♠♠❡ Q ❡st ❧✬✉♥✐q✉❡ ✐❞é❛❧ ♣r❡♠✐❡r ❞❡ ON ❛✉✲❞❡ss✉s ❞❡ p′ ❡t q✉❡ F ′
p′ = Fp

✭❝❢ ❧❡♠♠❡ ✸✳✶✳✺✮✱ ✐❧ s✬❡♥s✉✐t q✉❡ [NQ : Fp] = [N : F ′]✳ ❉✬♦ù

nQ = [NQ : Qp]/[N : Q] = [Fp : Qp]/[F
′ : Q] ≥ 1/[F ′ : Q].

❊♥✜♥✱ ❝♦♠♠❡ log p+ p3 log |g̃|Q > 0✱ ✐❧ s✬❡♥s✉✐t q✉❡

h(α) + max

{

0,
1

[Q(γ) : Q]

∑

τ

log |τγ − 1|
}

≥ log p+ p3 log |g̃|Q
2p4[F ′ : Q]

.

▲❡♠♠❡ ✸✳✶✳✶✵✳ ❙♦✐❡♥t K ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s ❡t r, c ∈ K∗\µ∞✳ ❙✉♣♣♦s♦♥s
q✉❡ ♣♦✉r t♦✉t m > 0✱ ♦♥ ❛ rm /∈ 〈c〉✳ ❙♦✐t (x, n) ∈ Z× Z∗ ❡t ♣♦s♦♥s α = rcx/n✳
❆❧♦rs

h(α) ≥ 1

5h(c)[K : Q]4
.

❉é♠♦♥str❛t✐♦♥✳ ❈♦♠♠❡ r, c /∈ µ∞✱ ❧❡s ✈❡❝t❡✉rs (vp(r))p ✭♦ù p ♣❛r❝♦✉rt ❧✬❡♥✲
s❡♠❜❧❡ ❞❡s ✐❞é❛✉① ♣r❡♠✐❡rs ❞❡ OK✮ ❡t (vp(c))p s♦♥t ♥♦♥ ♥✉❧s✳ ❉❡ ♣❧✉s✱ rm /∈ 〈c〉



✸✳✶✳ ❈❆❙ G = GM ✼✼

♣♦✉r t♦✉t m✳ ❈❡❧❛ ✐♠♣❧✐q✉❡ ❞♦♥❝ q✉❡ ❧❡ ✈❡❝t❡✉r (vp(r))p ♥❡ ♣❡✉t êtr❡ ✉♥❡ ❝♦♠✲
❜✐♥❛✐s♦♥ ❧✐♥é❛✐r❡✱ à ❝♦❡✣❝✐❡♥t ❞❛♥s Q✱ ❞❡s ✈❡❝t❡✉rs (vp(c))p✳ ■❧ ❡①✐st❡ ❞♦♥❝ ❞❡✉①
✐❞é❛✉① ♣r❡♠✐❡rs ❞✐st✐♥❝ts p1 ❡t p2 t❡❧s q✉❡

vp1
(r)vp2

(c)− vp2
(r)vp1

(c) 6= 0.

❈♦♠♠❡ αn = rncx ∈ K∗✱ ✐❧ s✬❡♥s✉✐t q✉❡ ♣♦✉r t♦✉t ✐❞é❛❧ ♣r❡♠✐❡r p ❞❡ OK ✱

vp(α
n) = nvp(r) + xvp(c).

❯♥ r❛♣✐❞❡ ❝❛❧❝✉❧ ♠♦♥tr❡ ❞♦♥❝ q✉❡

|vp1
(αn)vp2

(c)− vp2
(αn)vp1

(c)| = n|vp1
(r)vp2

(c)− vp2
(r)vp1

(c)| ≥ n. ✭✸✳✶✶✮

❙♦✐❡♥t β ∈ K∗ ❡t p ✉♥ ✐❞é❛❧ ♣r❡♠✐❡r ❞❡ OK ✳ ◆♦t♦♥s p ❧❡ ❣é♥ér❛t❡✉r ♣♦s✐t✐❢ ❞❡
p ∩ Z✳ ❆❧♦rs

h(β) ≥ 1

[K : Q]
logmax{1, p−vp(β)/vp(p)} =

|vp(β)|
[K : Q]vp(p)

log p ✭✸✳✶✷✮

s✐ vp(β) ≤ 0✳ ❉❛♥s ❧❡ ❝❛s ♦ù vp(β) > 0✱ ❛❧♦rs vp(β−1) < 0 ❡t ❞♦♥❝✱

h(β−1) ≥ |vp(β−1)|
[K : Q]vp(p)

log p.

❈♦♠♠❡ h(β) = h(β−1)✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ ✭✸✳✶✷✮ ❡st ✈ér✐✜é ♣♦✉r t♦✉t β ∈ K∗ ❡t
t♦✉t ✐❞é❛❧ ♣r❡♠✐❡r p ❞❡ OK ✳ ❖♥ ♦❜t✐❡♥t ❛✐♥s✐✱ ❝❛r vp(p) ≤ [K : Q] ❡t p ≥ 2✱ q✉❡

|vp(β)| ≤ [K : Q]vp(p)h(β)/ log p ≤ [K : Q]2h(β)/ log 2. ✭✸✳✶✸✮

❊♥ ❛♣♣❧✐q✉❛♥t ❧✬✐♥é❣❛❧✐té tr✐❛♥❣✉❧❛✐r❡ ❞❛♥s ✭✸✳✶✶✮✱ ♣✉✐s ❞❡✉① ❢♦✐s ✭✸✳✶✸✮✱ ❛✈❡❝
β = αN ❡t ❛✈❡❝ β = c✱ ♦♥ ❡♥ ❝♦♥❝❧✉t ❛❧♦rs q✉❡

n ≤ |vp1
(αn)| |vp2

(c)|+ |vp2
(αn)| |vp1

(c)|

≤ 2h(c)[K : Q]4h(αn)

(log 2)2
≤ 5nh(c)h(α)[K : Q]4

❝❛r 2/(log 2)2 ≤ 5 ❡t ❧❡ ❧❡♠♠❡ s✬❡♥s✉✐t✳

✸✳✶✳✷ Pr❡✉✈❡ ❞✉ t❤é♦rè♠❡✳

❉❛♥s ❝❡tt❡ s❡❝t✐♦♥✱ ♥♦✉s ❛❧❧♦♥s ♣r♦✉✈❡r ❧❡ t❤é♦rè♠❡ ✸✳✶✳✸✱ q✉❡ ❧✬♦♥ r❛♣♣❡❧❧❡ ❝✐✲
❞❡ss♦✉s ♣♦✉r ❧❛ ❝♦♠♠♦❞✐té ❞✉ ❧❡❝t❡✉r✳

❚❤é♦rè♠❡✳ ❙♦✐❡♥t F ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s✱ a ∈ F ∗\(F ∗)p ❡t p ✉♥ ♥♦♠❜r❡
♣r❡♠✐❡r ✐♠♣❛✐r ♥❡ ❞✐✈✐s❛♥t ♣❛s ❧❡ ❞✐s❝r✐♠✐♥❛♥t ❞❡ F ✳ ❆❧♦rs ✐❧ ❡①✐st❡ c > 0 t❡❧
q✉❡ h(α) ≥ c ♣♦✉r t♦✉t α ∈ Gm (F (〈a〉sat,p)) \〈a〉sat✳

❉é♠♦♥str❛t✐♦♥✳ ❙✉♣♣♦s♦♥s t♦✉t ❞✬❛❜♦r❞ q✉❡ a ∈ µ∞✳ ❈♦♠♠❡ F (µ∞)/F ❡st ✉♥❡
❡①t❡♥s✐♦♥ ❛❜é❧✐❡♥♥❡✱ ♦♥ ❞é❞✉✐t ❞❡ ❬✺❪ q✉✬✐❧ ❡①✐st❡ c > 0 t❡❧ q✉❡ h(α) ≥ c ♣♦✉r
t♦✉t α ∈ F (µ∞)∗\µ∞✱ ❝❡ q✉✐ ♠♦♥tr❡ ❧❡ t❤é♦rè♠❡ ❞❛♥s ❧❡ ❝❛s ♦ù a ∈ µ∞ ♣✉✐sq✉❡
〈a〉sat ⊂ µ∞✳
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❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ a /∈ µ∞✳ ❙♦✐t α ∈ F (〈a〉sat,p)✳ ■❧ ❡①✐st❡ ❛❧♦rs ✉♥
❡♥t✐❡r ♣♦s✐t✐❢ t✱ q✉❡ ❧✬♦♥ s✉♣♣♦s❡ ❛ss❡③ ❣r❛♥❞✱ t❡❧ q✉❡ α ∈ F (ζpt−1 , a1/p

t−1

)✳
◗✉✐tt❡ à ♠✉❧t✐♣❧✐❡r a ♣❛r ✉♥ ❜♦♥ é❧é♠❡♥t ❞❡ F ∗✱ ♦♥ ♣❡✉t s✉♣♣♦s❡r q✉❡ a ∈ OF ✳

❘❛♣♣❡❧♦♥s q✉❡❧q✉❡s ♥♦t❛t✐♦♥s q✉❡ ❧✬♦♥ ❛ ✐♥tr♦❞✉✐t❡s ❞❛♥s ❧❛ s♦✉s✲s❡❝t✐♦♥
✸✳✶✳✶✳ ❋✐①♦♥s ✉♥ ✐❞é❛❧ ♣r❡♠✐❡r p ❞❡ OF ❛✉✲❞❡ss✉s ❞❡ p✳ ◆♦t♦♥s ρ ❧✬✉♥✐q✉❡ ❡♥t✐❡r

t❡❧ q✉❡ a ∈ F p
ρ

p \F p
ρ+1

p ❡t b ∈ Fp t❡❧s q✉❡ bp
ρ

= a✳ ❘❡♠❛rq✉♦♥s q✉❡ ❧✬♦♥ ♣❡✉t
✐❞❡♥t✐✜❡r b ❛✈❡❝ ✉♥ é❧é♠❡♥t ❞❡ 〈a〉sat,p ⊂ F ✱ q✉❡ ❧✬♦♥ ♥♦t❡ ❡♥❝♦r❡ b✳ ◆♦t♦♥s
F ′ = F (b)✳ ❉✬❛♣rès ❧❡ ❧❡♠♠❡ ✸✳✶✳✺✱ ✐❧ ❡①✐st❡ ✉♥ ✐❞é❛❧ ♣r❡♠✐❡r p′ ❞❡ OF ′ ❛✉✲
❞❡ss✉s ❞❡ p ❞❡ t❡❧❧❡ s♦rt❡ q✉❡ F ′

p′ = Fp✳ ◆♦t♦♥s

δ =

{

0 s✐ p | vp′(b)

1 s✐♥♦♥
.

❊♥✜♥✱ ♣♦✉r ❞❡s ❡♥t✐❡rs ♣♦s✐t✐❢s r ❡t s✱ ♣♦s♦♥s

Fr,s = F (ζpr , b
1/ps) ❡t (Fp)r,s = Fp(ζpr , b

1/ps).

❈♦♠♠❡ t − 1 ≤ t − δ ❡t q✉❡ α ∈ F (ζpt−1 , a1/p
t−1

) = Ft−1,t−1−ρ✱ ♦♥ ❛ ❛❧♦rs
q✉❡

α ∈ Ft−1,t−1−ρ ⊂ Ft,t−δ.

◆♦t♦♥s Λ ❧✬❡♥s❡♠❜❧❡ ❞❡s ❝♦✉♣❧❡s (r, s) t❡❧ q✉❡ t ≥ r ≥ s ≥ 2 ❡t t❡❧ q✉✬✐❧ ❡①✐st❡

f̃ ∈
〈

ζpt , b
1/pt

〉

❛✈❡❝ α/f̃ ∈ Fr,s−δ✳ ❘❡♠❛rq✉♦♥s q✉❡ (t, t) ∈ Λ✳ ❋✐①♦♥s (r, s)

✉♥ é❧é♠❡♥t ♠✐♥✐♠❛❧ ❞❡ Λ ♣♦✉r ❧✬♦r❞r❡ ❧❡①✐❝♦❣r❛♣❤✐q✉❡ ❡t f̃ ∈
〈

ζpt , b
1/pt

〉

❛✈❡❝

α/f̃ ∈ Fr,s−δ✳ P♦✉r ✜♥✐r✱ ♣♦s♦♥s

κ = max {⌈log (− log |b|p) / log p⌉+ 6; 3} .

❙✉♣♣♦s♦♥s q✉❡ r ≤ κ✳ ❈♦♠♠❡ r ≥ s✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ s ≤ κ ❡t ❞♦♥❝ q✉❡
α/f̃ ∈ Fκ,κ✳ ❊♥ ❛♣♣❧✐q✉❛♥t ❧❡ ❧❡♠♠❡ ✸✳✶✳✶✵ ❛✈❡❝ K = Fκ,κ, r = α/f̃ ❡t ❛✈❡❝
c = b✱ ♦♥ ❡♥ ❝♦♥❝❧✉t q✉❡ s♦✐t

h(α) ≥ 1

5h(b)[Fκ,κ : Q]4
,

s♦✐t q✉❡ α ∈ 〈b〉sat = 〈a〉sat✳ ▲❡ t❤é♦rè♠❡ ❡st ❛✐♥s✐ ♣r♦✉✈é ❞❛♥s ❧❡ ❝❛s ♦ù r ≤ κ✳

➚ ♣❛rt✐r ❞❡ ♠❛✐♥t❡♥❛♥t✱ s✉♣♣♦s♦♥s q✉❡ r ≥ κ✳ ❈♦♠♠❡ r ❡st ✧❛ss❡③ ❣r❛♥❞✧✱
♦♥ ✈❛ ♣♦✉✈♦✐r ♠✐♥♦r❡r✱ ❣râ❝❡ à ❧❛ ♣r♦♣♦s✐t✐♦♥ ✸✳✶✳✾✱ h(α) ♣❛r ✉♥❡ ❝♦♥st❛♥t❡
✐♥❞é♣❡♥❞❛♥t❡ ❞❡ α✳

◆♦t♦♥s Q = Pr,s−δ ❧✬✉♥✐q✉❡ ✐❞é❛❧ ♣r❡♠✐❡r ❞❡ OFr,s−δ
❛✉✲❞❡ss✉s ❞❡ p′✳ P❛r

❞é✜♥✐t✐♦♥ ❞❡ f̃ ✱ ✐❧ ❡①✐st❡ ❞❡s ❡♥t✐❡rs u ❡t x t❡❧s q✉❡ f̃ = ζuptb
x/pt ✳ ❖♥ ♣♦✉rr❛✐t

❛♣♣❧✐q✉❡r ❧❛ ♣r♦♣♦s✐t✐♦♥ ✸✳✶✳✾ ❛✈❡❝ r, s ❡t g̃ = f̃ ✳ ▼❛✐s✱ s✐ ❝✬❡st ❧❛ s❡❝♦♥❞❡ ❝♦♥❝❧✉✲
s✐♦♥ q✉✐ ❡st s❛t✐s❢❛✐t❡✱ ♦♥ ♥❡ ♣❡✉t ❣❛r❛♥t✐r q✉❡ log p+ p3 log |f̃ |Q > 0 ❝❛r ♦♥ ♥✬❛
❛✉❝✉♥ ❝♦♥trô❧❡ s✉r |f̃ |Q✳ ❈❡❝✐ ❡st ❞û ❛✉ ❢❛✐t q✉❡ x/pt ♣❡✉t êtr❡ très ♣r♦❝❤❡ ❞❡ 1✳



✸✳✶✳ ❈❆❙ G = GM ✼✾

P♦✉r ❝♦♥t♦✉r♥❡r ❝❡ ♣r♦❜❧è♠❡✱ ♣♦s♦♥s x = Qpt−r+2 + R ❧❛ ❞✐✈✐s✐♦♥ ❡✉❝❧✐❞✐❡♥♥❡
❞❡ x ♣❛r pt−r+2✳ P♦s♦♥s ❛❧♦rs

g̃ = ζuptb
R/pt .

❈♦♠♠❡ α/f̃ ∈ Fr,s−δ ❡t q✉❡ max{r−2, s− δ} ≤ max{r−1, s}− δ✱ ♦♥ ❡♥ ❞é❞✉✐t
❛❧♦rs q✉❡

α/g̃ = (α/f̃)bQ/p
r−2 ∈ Fr,max{r−2,s−δ} ⊂ Fr,s′−δ,

♦ù ❧✬♦♥ ❛ ♥♦té✱ ♣♦✉r ❛❜ré❣❡r✱ s′ = max{r − 1, s}✳
❈♦♠♠❡ ♦♥ ❛ ✉♥ ✧❜♦♥ ❝♦♥trô❧❡✧ ❞❡ R/pt✱ ❝❡❧❛ ♥♦✉s ♣❡r♠❡ttr❛ ❞❡ ♠♦♥tr❡r

♣❧✉s t❛r❞✱ ❛✈❡❝ ❧❡ ❢❛✐t q✉❡ r ≥ κ✱ q✉❡ log p+p3 log |g̃|Q > 0✳ ❈❡♣❡♥❞❛♥t✱ ❧❡ ❝♦✉♣❧❡
(r, s′) ∈ Λ ♥✬❡st ♣❧✉s ♥é❝❡ss❛✐r❡♠❡♥t ♠✐♥✐♠❛❧ ♣♦✉r ❧✬♦r❞r❡ ❧❡①✐❝♦❣r❛♣❤✐q✉❡✳ ▼❛✐s✱
✐❧ ❡st q✉❛♥❞ ♠ê♠❡ ✧s✉✣s❛♠♠❡♥t ♣❡t✐t✧ ♣♦✉r ♣♦✉✈♦✐r ❝♦♥tr❡❞✐r❡ ❧❛ ♠✐♥✐♠❛❧✐té
❞❡ (r, s) s✐ ❝✬❡st ❧❛ ♣r❡♠✐èr❡ ❝♦♥❝❧✉s✐♦♥ ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✸✳✶✳✾✱ ❛♣♣❧✐q✉é❡ à r ❡t
à s′✱ q✉✐ ❡st s❛t✐s❢❛✐t❡✳

❘❡♠❛rq✉♦♥s t♦✉t ❞✬❛❜♦r❞ q✉❡ ❧❡s ❤②♣♦t❤ès❡s ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✸✳✶✳✾ s♦♥t ✈é✲
r✐✜é❡s✳ ❈❧❛✐r❡♠❡♥t✱ r ≥ 3 ♣✉✐sq✉❡ r ≥ κ ❡t s′ ≥ 2 ♣✉✐sq✉❡ s ≥ 2 ♣❛r ❝♦♥str✉❝t✐♦♥
❞❡ Λ✳ ❉❡ ♣❧✉s✱ ♣❛r ❞é✜♥✐t✐♦♥ ❞❡ g̃✱ ✐❧ ❡①✐st❡ ✉♥ ❡♥t✐❡r d t❡❧ q✉❡ g̃d ∈ 〈a〉 ⊂ F ∗✳ ❊♥✲

✜♥✱ ❝♦♠♠❡ b ∈ OF ′ ✱ ✐❧ s✬❡♥s✉✐t q✉❡ |g̃d|Q′ = |b|dR/p
t

p′ ≤ 1 ♦ù Q′ ❞és✐❣♥❡ ❧✬✉♥✐q✉❡
✐❞é❛❧ ♣r❡♠✐❡r ❞❡ Fr,s′−δ ❛✉✲❞❡ss✉s ❞❡ p′✳

◆♦t♦♥s T ❧❡ ❞❡r♥✐❡r s❛✉t ❞❡ Gal((Fr,s′−δ)Q/Fp)✳ ❙✉♣♣♦s♦♥s ♣❛r ❧✬❛❜s✉r❞❡
q✉❡ ❝✬❡st ❧❛ ♣r❡♠✐èr❡ ❝♦♥❝❧✉s✐♦♥ q✉✐ s♦✐t ✈ér✐✜é❡✳ ■❧ ❡①✐st❡ ❛❧♦rs g ∈ 〈ζpt , b1/p

t〉
t❡❧ q✉❡

α/(g̃g) ∈ F
Gal(Fr,s′−δ/F

′)T (Q′)

r,s′−δ . ✭✸✳✶✹✮

■❧ s✬❡♥s✉✐t ❞♦♥❝ q✉❡ g̃g ∈ 〈ζpt , b1/p
t〉 ❡t✱ ❞✬❛♣rès ❧❛ ♣r♦♣♦s✐t✐♦♥ ✸✳✶✳✼✱ ❛♣♣❧✐q✉é❡

à r ❡t à s′✱ q✉❡

F
Gal(Fr,s′−δ/F

′)T (Q′)

r,s′−δ =

{

Fr−1,s′−δ s✐ r > s′

Fr,s′−1−δ s✐ r = s′
. ✭✸✳✶✺✮

❘❛♣♣❡❧♦♥s q✉❡ s′ = max{r − 1, s}✳ ❙✐ r > s′✱ ❛❧♦rs ❞✬❛♣rès ✭✸✳✶✹✮ ❡t ✭✸✳✶✺✮✱
(r − 1, s′) ∈ Λ ❝❛r r − 1 ≥ s′ ≥ 2✱ ❝❡ q✉✐ ❝♦♥tr❡❞✐t ❧❛ ♠✐♥✐♠❛❧✐té ❞❡ (r, s)✳ ❙✐
r = s′✱ ❛❧♦rs r = s ❡t ❞♦♥❝✱ s′ = s✳ ❉✬❛♣rès ✭✸✳✶✹✮ ❡t ✭✸✳✶✺✮✱ ♦♥ ❛ ❛❧♦rs q✉❡
(r, s− 1) ∈ Λ ♣✉✐sq✉❡ s− 1 = r− 1 ≥ 2✳ ❈❡❝✐ ❝♦♥tr❡❞✐t à ♥♦✉✈❡❛✉ ❧❛ ♠✐♥✐♠❛❧✐té
❞❡ (r, s)✳

❖♥ ❛ ❛✐♥s✐ ♠♦♥tré q✉❡ ❧❛ ♣r❡♠✐èr❡ ❝♦♥❝❧✉s✐♦♥ ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✸✳✶✳✾ ♥❡ ♣❡✉t
êtr❡ s❛t✐s❢❛✐t❡✳ ❈✬❡st ❞♦♥❝ ❧❛ s❡❝♦♥❞❡ ❝♦♥❝❧✉s✐♦♥ q✉✐ ❡st s❛t✐s❢❛✐t❡✳ ❖♥ ❡♥ ❞é❞✉✐t
❞♦♥❝ q✉❡

h(α) + max

{

0;
1

[Q(γ) : Q]

∑

τ

log |τ(γ)− 1|
}

≥ log p+ p3 log |g̃|Q
2p4[F ′ : Q]

=: c(g̃).

✭✸✳✶✻✮
♦ù

γ = ((σα)/(ζα))
p3
/∈ µ∞ ✭✸✳✶✼✮

♣♦✉r ✉♥❡ ❝❡rt❛✐♥❡ r❛❝✐♥❡ ❞❡ ❧✬✉♥✐té ζ ❡t ✉♥ ❝❡rt❛✐♥ σ ∈ Gal(Fr,s−δ/F ′)✳



✽✵ ❈❍❆P■❚❘❊ ✸✳ ❆❯❚❖❯❘ ❉✬❯◆❊ ❈❖◆❏❊❈❚❯❘❊ ❉❊ ❘➱▼❖◆❉

❈♦♠♠❡ log |g̃|Q = R/pt log |b|p′ ✱ q✉❡ |b|p′ ≤ 1 ❡t q✉❡ R < pt−r+2✱ ✐❧ s✬❡♥s✉✐t
q✉❡ log |g̃|Q > p−(r−2) log |b|p′ ✳ ❉✬♦ù

c(g̃) >
log p+ p−(r−5) log |b|p′

2p4[F ′ : Q]
.

❊♥✜♥✱ ❝♦♠♠❡ r ≥ κ ≥ ⌈log(− log |b|p′)/ log p)⌉+ 6✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡

p−(r−5) log |b|p′ < (log p)/p

❡t ❞♦♥❝ q✉❡ c(g̃) ≥ c := (1−1/p) log p
2p4[F ′:Q] > 0✳

◆♦✉s ❛❧❧♦♥s ♠❛✐♥t❡♥❛♥t ✉t✐❧✐s❡r ✉♥❡ ✈❛r✐❛♥t❡ ❞❡ ❧✬❛r❣✉♠❡♥t ❞❡ ❬✷✻✱ ➓ ✼❪ ♣♦✉r
♠♦♥tr❡r q✉❡ ✿

max

{

0;
1

[Q(γ) : Q]

∑

τ

log |τ(γ)− 1|
}

≤ (p3 + 1)h(α) + c/2. ✭✸✳✶✽✮

❈❡❧❛ ♥♦✉s ♣❡r♠❡ttr❛✱ ❛✈❡❝ ✭✸✳✶✻✮✱ ❞✬♦❜t❡♥✐r ✉♥❡ ♠✐♥♦r❛t✐♦♥ ❞❡ h(α) ✐♥❞é♣❡♥✲
❞❛♥t❡ ❞❡ α ❡t ❛✐♥s✐ ❡♥ ❞é❞✉✐r❡ ❧❡ t❤é♦rè♠❡✳

P♦✉r m ∈ N∗✱ ♥♦t♦♥s

fm : C∗ → R

z 7→
{

min{m,max{−m, log |z − 1|}}, s✐ z 6= 1

−m, s✐♥♦♥ .

◆♦t♦♥s z = τ(γ) 6= 1 ❡t ♠♦♥tr♦♥s q✉❡

log |z − 1| ≤ c/4 + logmax{1, |z|}+ fm(z). ✭✸✳✶✾✮

❈♦♠♠❡♥ç♦♥s ♣❛r ❧❡ ❝❛s ♦ù |z−1| < em✳ ❆❧♦rs✱ fm(z) = max{−m, log |z−1|}✳ ❖♥
♦❜t✐❡♥t ❛❧♦rs q✉❡ log |z − 1| ≤ fm(z)✱ ❝❡ q✉✐ ♠♦♥tr❡ ✭✸✳✶✾✮ ❞❛♥s ❝❡tt❡ s✐t✉❛t✐♦♥✳

❊♥✜♥✱ s✉♣♣♦s♦♥s q✉❡ |z − 1| ≥ em✳ ❆❧♦rs✱ fm(z) = m ≥ 0✳ ❉❡ ♣❧✉s✱ |z| ≥
em − 1 ≥ em/2 ❝❛r m ≥ 1✳ ❆✐♥s✐✱

|z − 1|
|z| ≤ 1 + 1/|z| ≤ 1 + 2e−m.

❈♦♠♠❡ lim
m→+∞

(1 + 2e−m) = 1✱ ♦♥ ❡♥ ❞é❞✉✐t✱ ♣♦✉r t♦✉t m ❛ss❡③ ❣r❛♥❞✱ log(1 +

2e−m) < c/4✳ P❛r ❝♦♥séq✉❡♥t✱

log |z − 1| ≤ log(1 + 2e−m) + log |z| ≤ c/4 + logmax{1, |z|}+ fm(z)

❖♥ ❛ ❛✐♥s✐ ♠♦♥tré ✭✸✳✶✾✮✳

❉❡ ✭✸✳✶✾✮✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡

1

[Q(γ) : Q]

∑

τ

log |τ(γ)− 1|} ≤ h(α) + h(γ) +
1

[Q(γ) : Q]

∑

τ

fm(τ(γ)). ✭✸✳✷✵✮

P♦✉r ♠♦♥tr❡r ✭✸✳✶✽✮✱ ❡t ❛✐♥s✐ t❡r♠✐♥❡r ❧❛ ♣r❡✉✈❡✱ ♥♦✉s ❛❧❧♦♥s ✉t✐❧✐s❡r ❧❡ t❤é♦✲
rè♠❡ ❞❡ ❝♦♥✈❡r❣❡♥❝❡ ❞♦♠✐♥é❡ ❡t ❧❡ t❤é♦rè♠❡ ❞✬éq✉✐❞✐str✐❜✉t✐♦♥ ❞❡ ❇✐❧✉ ❬✾❪ ❝✐✲
❞❡ss♦✉s ✿
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❚❤é♦rè♠❡ ✸✳✶✳✶✶✳ ✭❇✐❧✉✮ ❙♦✐t γ1, γ2, . . . ✉♥❡ s✉✐t❡ ❞❡ Q\µ∞ t❡❧❧❡ q✉❡ lim
i→+∞

h(γi) =

0✳ ❙✐ f : C∗ → R ❡st ✉♥❡ ❢♦♥❝t✐♦♥ ❝♦♥t✐♥✉❡ ❜♦r♥é❡✱ ❛❧♦rs

lim
i→+∞

1

[Q(γi) : Q]

∑

τ

f(τ(γk)) =

∫ 1

0

f(e2iπt)dt

♦ù τ ♣❛r❝♦✉rt t♦✉s ❧❡s ♣❧♦♥❣❡♠❡♥ts ❞❡ ❝♦r♣s ❞❡ Q(γi) → C✳

▲❛ s✉✐t❡ ❞❡ ❢♦♥❝t✐♦♥s gm : t 7→ fm(e2iπt) ❝♦♥✈❡r❣❡ ♣♦✐♥t ♣❛r ♣♦✐♥t ✭❧♦rsq✉❡
m t❡♥❞ ✈❡rs +∞✮ ✈❡rs ❧❛ ❢♦♥❝t✐♦♥ g : t 7→ log |e2iπt − 1| s✉r ]0; 1[✳

❈❧❛✐r❡♠❡♥t✱ |gm(t)| ≤ |g(t)| ❡t
∫ 1

0

|g(t)|ds < +∞.

P❛r ❧❡ t❤é♦rè♠❡ ❞❡ ❝♦♥✈❡r❣❡♥❝❡ ❞♦♠✐♥é❡✱ ✐❧ s✬❡♥s✉✐t q✉❡

lim
m→+∞

∫ 1

0

gm(t) =

∫ 1

0

g(t)dt = 0

✭♦ù ❧❛ ❞❡r♥✐èr❡ é❣❛❧✐té ✈✐❡♥t ❞✉ ❢❛✐t q✉❡
∫ 1

0
|g(s)|ds = logM(X − 1) = 0✱ ❡♥

❞és✐❣♥❛♥t ♣❛r M(·) ❧❛ ♠❡s✉r❡ ❞❡ ▼❛❤❧❡r✮✳ ❆✐♥s✐✱ ♣♦✉r t♦✉t m ❛ss❡③ ❣r❛♥❞✱ ♦♥ ❛

∫ 1

0

gm(t)ds < c/8.

❘❛♣♣❡❧♦♥s q✉❡ γ /∈ µ∞ ❞✬❛♣rès ✭✸✳✶✼✮✳ ❊♥ ❛♣♣❧✐q✉❛♥t ❧❡ t❤é♦rè♠❡ ✸✳✶✳✶✶ à
f = fm ♣♦✉r t♦✉t ❡♥t✐❡r m ❛ss❡③ ❣r❛♥❞✱

1

[Q(γ) : Q]

∑

τ

fm(τ(γ)) ≤ 2

∫ 1

0

gm(t)dt ≤ c/4.

❖r✱ ❞❡ ✭✸✳✶✼✮✱ h(γ) ≤ p3h(α)✳ ❖♥ ❞é❞✉✐t ❞♦♥❝ ❞❡ ✭✸✳✷✵✮ q✉❡

1

[Q(γ) : Q]

∑

τ

log |τ(γ)− 1|} ≤ (p3 + 1)h(α) + c/2,

❝❡ q✉✐ ♠♦♥tr❡ ✭✸✳✶✽✮ ❡t ♣r♦✉✈❡ ❛✐♥s✐ ❧❡ t❤é♦rè♠❡✳

✸✳✷ ●é♥ér❛❧✐s❛t✐♦♥ ❞❡ ❧❛ ❝♦♥❥❡❝t✉r❡ ❞❡ ❘é♠♦♥❞

❈♦♠♠❡ ❧✬❛ ❞é❥à ♠♦♥tré ❘é♠♦♥❞ ❞❛♥s ❬✸✻✱ s❡❝t✐♦♥ ✺❪✱ ❧❛ ❝♦♥❥❡❝t✉r❡ ✸✳✵✳✶ ♥❡
♣❡✉t s✬é♥♦♥❝❡r ❞❛♥s ❧❡ ❝❛s ♣❧✉s ❣é♥ér❛❧ ♦ù G ❡st ✉♥❡ ✈❛r✐été s❡♠✐✲❛❜é❧✐❡♥♥❡✳
❙♦♥ ❝♦♥tr❡✲❡①❡♠♣❧❡ r❡♣♦s❡ s✉r ❧❡ ❢❛✐t q✉❡ G ♣✉✐ss❡ ♣♦ssé❞❡r ❞❡s ♣♦✐♥ts ❞❡ ❘✐❜❡t
✭❧❡ ❧❡❝t❡✉r s♦✉❤❛✐t❛♥t ❧✐r❡ ❧❛ ❞é✜♥✐t✐♦♥ ❞✬✉♥ ♣♦✐♥t ❞❡ ❘✐❜❡t ♣♦✉rr❛ ✈♦✐r ❬✷✼❪✮✳
❉❛♥s ❧❡ ❝❛s ♦ù G ❡st ✉♥❡ ✈❛r✐été s❡♠✐✲❛❜é❧✐❡♥♥❡ ✐s♦tr✐✈✐❛❧❡✱ ❧❡s ♣♦✐♥ts ❞❡ ❘✐❜❡t
s♦♥t ❞❡s ♣♦✐♥ts ❞❡ t♦rs✐♦♥✳ P❛r ❝♦♥séq✉❡♥t✱ ✐❧ s❡♠❜❧❡ r❛✐s♦♥♥❛❜❧❡ ❞❡ ♣r♦♣♦s❡r ❧❛
❝♦♥❥❡❝t✉r❡ s✉✐✈❛♥t❡ ✿

❈♦♥❥❡❝t✉r❡ ✸✳✷✳✶✳ ▲❛ ❝♦♥❥❡❝t✉r❡ ✸✳✵✳✶ r❡st❡ ✈❛❧❛❜❧❡ ♣♦✉r ❧❡s ✈❛r✐étés ❛❜é❧✐❡♥♥❡s
✐s♦tr✐✈✐❛❧❡s✳
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➚ ♣❛rt✐r ❞❡ ♠❛✐♥t❡♥❛♥t✱ ❝♦♥s✐❞ér♦♥s ❞❡s ✈❛r✐étés ❛❜é❧✐❡♥♥❡s ✐s♦tr✐✈✐❛❧❡s ❞❡ ❧❛
❢♦r♠❡ G = Gm×A ♦ù A ❡st ✉♥❡ ✈❛r✐été ❛❜é❧✐❡♥♥❡ ❞é✜♥✐❡ s✉r k✳ ◆♦t♦♥s ĥ(P,Q)

❧❛ ❤❛✉t❡✉r ❞✬✉♥ ♣♦✐♥t (P,Q) ∈ G ❝♦♠♠❡ ét❛♥t ❧❛ s♦♠♠❡ ĥ(P ) + ĥ(Q)✳
▲❛ ❝♦♥❥❡❝t✉r❡ ✸✳✷✳✶ ♣❡r♠❡t ❞✬✐♥t❡r♣rét❡r ❞✐✛ér❡♥ts rés✉❧t❛ts ❞é❥à ♣rés❡♥ts

❞❛♥s ❧❛ ❧✐ttér❛t✉r❡ ❝♦♠♠❡ ❞❡s ❝❛s ♣❛rt✐❝✉❧✐❡rs ❞❡ ❝❡❧❧❡✲❝✐✳ ▲❡ ♣r❡♠✐❡r ❝♦♥❝❡r♥❡ ❧❡
❝❛s ♦ù Γ = (Gm)tors×{0}✳ ❖♥ ❛ ❛❧♦rs Γsat = Gtors ❡t k(Γ) = k((Gm)tors) ⊂ kab✳
▲❛ ❝♦♥❥❡❝t✉r❡ ✸✳✷✳✶ ♣ré❞✐t ❞♦♥❝ ❧✬❡①✐st❡♥❝❡ ❞✬✉♥ c > 0 t❡❧ q✉❡ h(α) + ĥ(P ) ≥ c
♣♦✉r t♦✉t

(α, P ) ∈ G(k((Gm)tors))\Gtors.

❆♠♦r♦s♦ ❡t ❩❛♥♥✐❡r ❬✺❪ ♦♥t ♠♦♥tré q✉✬✐❧ ❡①✐st❡ c > 0 t❡❧ q✉❡ ♣♦✉r t♦✉t α ∈
Gm(kab)\(Gm)tors✱ ♦♥ ❛ h(α) ≥ c✳ P❛r ❛✐❧❧❡✉rs✱ ❇❛❦❡r ❡t ❙✐❧✈❡r♠❛♥ ❬✻✱ ❚❤❡♦r❡♠
✵✳✶❪ ♦♥t ♠♦♥tré q✉✬✐❧ ❡①✐st❡ c > 0 t❡❧ q✉❡ ĥ(P ) ≥ c ♣♦✉r t♦✉t P ∈ A(kab)\Ators✳
❉❡ ❝❡s ❞❡✉① rés✉❧t❛ts✱ ♦♥ ❞é❞✉✐t q✉❡ ❧❛ ❝♦♥❥❡❝t✉r❡ ✸✳✷✳✶ ❡st s❛t✐s❢❛✐t❡ ❞❛♥s ❝❡ ❝❛s
✭❡♥ ❢❛✐t✱ ❡❧❧❡ ❡st ♠ê♠❡ éq✉✐✈❛❧❡♥t❡ à ❧❛ ❝♦♥❝❛té♥❛t✐♦♥ ❞❡ ❝❡s ❞❡✉① t❤é♦rè♠❡s✮✳

▲❡ s❡❝♦♥❞ ❡①❡♠♣❧❡ ❝♦♥❝❡r♥❡ ❧❡ ❝❛s ♦ù G = Gm × E✱ ❛✈❡❝ E ✉♥❡ ❝♦✉r❜❡
❡❧❧✐♣t✐q✉❡ ❞é✜♥✐❡ s✉r Q✱ ❡t Γ = {1} × Etors✳ ➚ ♥♦✉✈❡❛✉✱ Γsat = Gtors✳ ❉❡ ♣❧✉s✱
Q(Γ) = Q(Etors)✳ ▲❛ ❝♦♥❥❡❝t✉r❡ ✸✳✷✳✶ ♣ré❞✐t ❞♦♥❝ ❧✬❡①✐st❡♥❝❡ ❞✬✉♥ c > 0 t❡❧ q✉❡
h(α) + ĥ(P ) ≥ c ♣♦✉r t♦✉t

(α, P ) ∈ G(Q(Etors))\Gtors.

❈❡tt❡ ♣ré❞✐❝t✐♦♥ ❝♦rr❡s♣♦♥❞ ♣ré❝✐sé♠❡♥t à ❬✷✻✱ ❈♦r♦❧❧❛r② ✶❪✳

❉❛♥s ❧❡s ❞❡✉① ❡①❡♠♣❧❡s ❝✐tés ❝✐✲❞❡ss✉s✱ ♦♥ ❛ Γsat = Gtors✳ ❉❛♥s ❝❡t ❛rt✐❝❧❡✱
♦♥ s❡ ♣r♦♣♦s❡ ❞❡ ❞♦♥♥❡r ✉♥ ❡①❡♠♣❧❡ ❞❡ ❧❛ ❝♦♥❥❡❝t✉r❡ ✸✳✷✳✶ ❞❛♥s ❧❡ ❝❛s ♦ù Γsat 6=
Gtors✳ P♦✉r ✉♥ ♥♦♠❜r❡ ❛❧❣é❜r✐q✉❡ b ∈ Gm(Q) ❡t ✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r p✱ ♥♦t♦♥s

〈b〉sat,p = {g ∈ Gm(Q) | ∃n ≥ 1, gp
n ∈ 〈b〉}.

❚❤é♦rè♠❡ ✸✳✷✳✷✳ ❙♦✐❡♥t E ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❡t p ≥ 5 ✉♥ ♣r❡♠✐❡r t❡❧ q✉❡
E ❛ ✉♥❡ ré❞✉❝t✐♦♥ s✉♣❡rs✐♥❣✉❧✐èr❡ ❡♥ p✳ ❙♦✐t b ≥ 2 ✉♥ ❡♥t✐❡r t❡❧ q✉❡ p ∤ b ❡t

p2 ∤ (bp−1 − 1)✳ ❆❧♦rs✱ ✐❧ ❡①✐st❡ cΓ,E > 0 t❡❧ q✉❡ ĥ(α, P ) ≥ cΓ,E ♣♦✉r t♦✉t
(α, P ) ∈ G(Q(Γ))\Γsat ♦ù Γ = 〈b〉sat,p × {0} ❡t ♦ù G = Gm × E✳

❘❡♠❛rq✉♦♥s q✉❡ Γsat = 〈b〉sat×Etors✳ ❙♦✐t (α, P ) ∈ G(Q(Γ))\Γsat✳ ❆❧♦rs✱ α ∈
Gm(Q(Γ))\〈b〉sat ♦✉ P ∈ E(Q(Γ))\Etors✳ ❉❛♥s ❬✷❪✱ ❆♠♦r♦s♦ ❛ ♠♦♥tré ❧✬❡①✐st❡♥❝❡
❞✬✉♥ c > 0 t❡❧ q✉❡ h(α) ≥ c ♣♦✉r t♦✉t α ∈ Gm(Q(Γ))\〈b〉sat✳ P❛r ❝♦♥séq✉❡♥t✱ ❧❡
t❤é♦rè♠❡ ✸✳✷✳✷ ❡st ✉♥❡ ❝♦♥séq✉❡♥❝❡ ❞✉ t❤é♦rè♠❡ s✉✐✈❛♥t ✿

❚❤é♦rè♠❡ ✸✳✷✳✸✳ ❙♦✐❡♥t E ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❡t p ≥ 5 ✉♥ ♣r❡♠✐❡r t❡❧ q✉❡
E ❛ ✉♥❡ ré❞✉❝t✐♦♥ s✉♣❡rs✐♥❣✉❧✐èr❡ ❡♥ p✳ ❙♦✐t b ≥ 2 ✉♥ ❡♥t✐❡r t❡❧ q✉❡ p ∤ b

❡t p2 ∤ (bp−1 − 1)✳ ❆❧♦rs✱ ✐❧ ❡①✐st❡ c > 0 t❡❧ q✉❡ ĥ(P ) ≥ c ♣♦✉r t♦✉t P ∈
E(Q(〈b〉sat,p))\(E(Q(ζp)) ∩ Etors)✳

❘❡♠❛rq✉♦♥s q✉❡ ❧❡ rés✉❧t❛t q✉❡ ❧✬♦♥ ♦❜t✐❡♥t ❡st ❛♣♣❛r❡♠♠❡♥t ❧é❣èr❡♠❡♥t
♣❧✉s ♣ré❝✐s ❝❛r ♦♥ r❡t✐r❡ s❡✉❧❡♠❡♥t E(Q)∩Etors ⊂ E(Q(〈b〉sat,p)∩Etors✳ ❈❡♣❡♥✲
❞❛♥t✱ ♦♥ ♠♦♥tr❡r❛ ❞❛♥s ❧❡ ❢❛✐t ✸✳✷✳✶✸ q✉❡ ❝❡tt❡ ✐♥❝❧✉s✐♦♥ ❡st ❡♥ ❢❛✐t ✉♥❡ é❣❛❧✐té✳

✸✳✷✳✶ ❯♥ ❡①❡♠♣❧❡

❋✐①♦♥s E/Q ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❞é✜♥✐❡ ♣❛r ✉♥❡ ❡q✉❛t✐♦♥ ❞❡ ❲❡✐❡rstr❛ss ❝♦✉rt❡
❡t ♠✐♥✐♠❛❧❡ à ❝♦❡✣❝✐❡♥ts ❡♥t✐❡rs✳ ■❧ ❡①✐st❡ ❞♦♥❝ ❞❡s ❡♥t✐❡rs a ❡t b t❡❧s q✉❡

E : Y 2 = X3 + aX + b. ✭✸✳✷✶✮
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❖♥ ❞✐t q✉❡ a ❡t b s♦♥t ❧❡s ❝♦❡✣❝✐❡♥ts ❞❡ E✳ ❋✐①♦♥s é❣❛❧❡♠❡♥t ✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r
p ≥ 5 t❡❧ q✉❡ E ❛ ✉♥❡ ré❞✉❝t✐♦♥ s✉♣❡rs✐♥❣✉❧✐èr❡ ❡♥ p✳

P♦✉r t♦✉s ❡♥t✐❡rs r, s ≥ 0✱ ♥♦t♦♥s

Qr,s = Q(ζpr , b
1/ps) ❡t (Qp)r,s = Qp(ζpr , b

1/ps),

♦ù b ❡st ❝❤♦✐s✐ ❝♦♠♠❡ ❞❛♥s ❧❡ t❤é♦rè♠❡ ✸✳✷✳✸✱ ❡t νr,s ✉♥ ✐❞é❛❧ ♣r❡♠✐❡r ❞❡ OQr,s

❛✉✲❞❡ss✉s ❞❡ p✳ ❊♥ ❛♣♣❧✐q✉❛♥t ❧❡ ❧❡♠♠❡ ✸✳✶✳✹ ❛✈❡❝ K = Q✱ P = νr,s ❡t ❛✈❡❝
a = b✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ (Qr,s)νr,s = (Qp)r,s✳

◆♦t♦♥s é❣❛❧❡♠❡♥t Q∞,∞ = Q(ζp∞ , b
1/p∞) = Q(〈b〉sat,p)✳ ➱♥♦♥ç♦♥s t♦✉t

❞✬❛❜♦r❞ q✉❡❧q✉❡s ♣r♦♣r✐étés ❝♦♥❝❡r♥❛♥t ❧✬❡①t❡♥s✐♦♥ Qr,s/Q✳

▲❡♠♠❡ ✸✳✷✳✹✳ ❙♦✐❡♥t r ≥ s ❞❡s ❡♥t✐❡rs ♣♦s✐t✐❢s ❛✈❡❝ r ≥ 1✳ ❆❧♦rs

✐✮ ❧✬❡①t❡♥s✐♦♥ Qr,s/Q ❡st ❣❛❧♦✐s✐❡♥♥❡ ❀

✐✐✮ p ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é ❞❛♥s Qr,s✳ ❊♥ ♣❛rt✐❝✉❧✐❡r✱ νr,s ❡st ❧✬✉♥✐q✉❡ ✐❞é❛❧
♣r❡♠✐❡r ❞❡ OQr,s ❛✉✲❞❡ss✉s ❞❡ p ❀

✐✐✐✮ ❧✬✐♥❞✐❝❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ eνr,s(Qr,s|Q) ❡st é❣❛❧ à (p− 1)pr+s−1 ❀

✐✈✮ ♥♦t♦♥s lr,s ❧❡ ❞❡r♥✐❡r s❛✉t ❞❡ (Qp)r,s/Qp✳ ❆❧♦rs p
2(lr,s+1) ≥ eνr,s(Qr,s|Q) ❀

✈✮ ❧❡ ❝♦r♣s ✜①é ♣❛r Gal(Qr,s/Q)lr,s(νr,s) ❡st

Q
Gal(Qr,s/Q)lr,s (νr,s)
r,s =

{

Qr−1,s s✐ r > s

Qr,s−1 s✐ r = s
;

✈✐✮ s✐ (r, s) 6= (1, 0)✱ ❧✬❡①t❡♥s✐♦♥ Qr,s/Q
Gal(Qr,s/Q)lr,s (νr,s)
r,s ❡st ❝②❝❧✐q✉❡ ❞❡ ❞❡❣ré

p✳

❉é♠♦♥str❛t✐♦♥✳ ▲❡ i) ❡st ❝❧❛✐r✳ P♦✉r ❧❡ ii)✱ iii) ❡t v)✱ ✈♦✐r ❬✷✱ Pr♦♣♦s✐t✐♦♥ ✷✳✶❪
♦ù ♦♥ ✉t✐❧✐s❡✱ ❞❡ ❢❛ç♦♥ ❡ss❡♥t✐❡❧❧❡✱ ❧✬ét✉❞❡ ❞❡s ❣r♦✉♣❡s ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞❡ ❬✹✻❪✳
P♦✉r ❧❡ iv)✱ ✈♦✐r ❬✷✱ ▲❡♠♠❛ ✷✳✷❪✳ ▲❡ vi) ❞é❝♦✉❧❡ ❞❡ ❧❛ r❡♠❛rq✉❡ ✶✳✶✳✸ ❛♣♣❧✐q✉é❡
à r′ = r − 1 ❡t à s′ = s s✐ r > s ♦✉ à r′ = r ❡t à s′ = s− 1 s✐ r = s✳

❙♦✐❡♥t r ≥ s ❞❡✉① ❡♥t✐❡rs t❡❧s q✉❡ r ≥ 1✳ ❈♦♠♠❡ νr,s ❡st ❧✬✉♥✐q✉❡ ✐❞é❛❧
♣r❡♠✐❡r ❞❡ OQr,s

❛✉✲❞❡ss✉s ❞❡ p✱ ♦♥ ❝♦♥❢♦♥❞r❛✱ à ♣❛rt✐r ❞❡ ♠❛✐♥t❡♥❛♥t✱ Qr,s ❡t
s♦♥ ♣❧♦♥❣❡♠❡♥t ❞❛♥s s♦♥ ❝♦♠♣❧été (Qp)r,s✳

❊♥✜♥✱ r❛♣♣❡❧♦♥s q✉❡ q✉✐tt❡ à ♣❧♦♥❣❡r Q ❞❛♥s Qp✱ ♦♥ ♣❡✉t ✈♦✐r E ❝♦♠♠❡ ✉♥❡
❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s✉r Qp✳

❉✬❛♣rès ❬✹✵✱ Pr♦♣♦s✐t✐♦♥ ✶✷❪✱ ❧✬✐♠❛❣❡ ❞❡ Gal(Qp/Qp) ❞❛♥s Aut(E[p]) ✭✐❝✐✱
E[p] ❞és✐❣♥❡ ❧✬❡♥s❡♠❜❧❡ ❞❡s ♣♦✐♥ts ❞❡ t♦rs✐♦♥ ❞✬♦r❞r❡ ❞✐✈✐s❛♥t p✮ ❡st ✉♥ ❈❛rt❛♥
♥♦♥✲❞é♣❧♦②é ✭❡♥ ♣❛rt✐❝✉❧✐❡r ❝②❝❧✐q✉❡ ❞✬♦r❞r❡ p2 − 1✮✳ ❈❡❧❛ ✐♠♣❧✐q✉❡ ❧❡ ❧❡♠♠❡
s✉✐✈❛♥t ✿

▲❡♠♠❡ ✸✳✷✳✺✳ ❙♦✐t L/Qp ✉♥❡ ❡①t❡♥s✐♦♥ ✜♥✐❡ t❡❧❧❡ q✉❡ (p2−1) ∤ [L : Qp]✳ ❆❧♦rs
E(L) ∩ E[p] = {0}✳
❘❡♠❛rq✉❡ ✸✳✷✳✻✳ ❉✬❛♣rès ❧❡ ii) ❡t ❧❡ iii) ❞✉ ❧❡♠♠❡ ✸✳✷✳✹✱ ♦♥ ❛

[Qr,s : Q] = (p− 1)pr+s−1.

❆✐♥s✐✱ ❧❡ ❧❡♠♠❡ ✸✳✷✳✺ ❛♣♣❧✐q✉é à L = (Qp)r,s ♠♦♥tr❡ q✉❡ 0 ❡st ❧❡ s❡✉❧ ♣♦✐♥t
❞❡ t♦rs✐♦♥ ❞✬♦r❞r❡ ❞✐✈✐s❛♥t p ✭❡t ❞♦♥❝ ❞✬♦r❞r❡ ❞✐✈✐s❛♥t ✉♥❡ ♣✉✐ss❛♥❝❡ ❞❡ p✮ ❞❡
E((Qp)r,s)✳



✽✹ ❈❍❆P■❚❘❊ ✸✳ ❆❯❚❖❯❘ ❉✬❯◆❊ ❈❖◆❏❊❈❚❯❘❊ ❉❊ ❘➱▼❖◆❉

❘❡♣r❡♥♦♥s ♠❛✐♥t❡♥❛♥t q✉❡❧q✉❡s ♥♦t❛t✐♦♥s ❞é❥à ✐♥tr♦❞✉✐t❡s ❞❛♥s ❬✷✻✱ s❡❝t✐♦♥
✽❪✳ P♦✉r ✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s K ❡t ✉♥❡ ♣❧❛❝❡ ν ❞❡ K✱ ♥♦t♦♥s Kν ❧❡ ❝♦♠♣❧été ❞❡
K ❡♥ ν✳ ❙♦✐t P = (x, y) ∈ E(Q)✳ P♦✉r t♦✉t❡ ♣❧❛❝❡ q ❞❡ Q✱ ♥♦t♦♥s

ĥq(P ) =
1

[Q(P ) : Q]

∑

q|q
dqλq(ιq(P )) ✭✸✳✷✷✮

♦ù q ♣❛r❝♦✉rt ❧✬❡♥s❡♠❜❧❡ ❞❡s ♣❧❛❝❡s ❞❡ OQ(P ) ❛✉✲❞❡ss✉s ❞❡ q✱ ♦ù ιq ❞és✐❣♥❡ ❧❡
♣❧♦♥❣❡♠❡♥t Q(P ) →֒ Q(P )q✱ ♦ù λq ❡st ❧❛ ❤❛✉t❡✉r ❧♦❝❛❧❡ ✭♣♦✉r ❧❛ ❞é✜♥✐t✐♦♥
❝♦♠♣❧èt❡ ❞❡ λq✱ ✈♦✐r ❬✹✸✱ ❈❤❛♣t❡r ❱■❪✮ ❡♥ q ❡t ♦ù dq = [Q(P )q : Qq] ❞és✐❣♥❡ ❧❡
❞❡❣ré ❧♦❝❛❧✳ ❘❡♠❛rq✉♦♥s q✉❡

ĥ(P ) = ĥ∞(P ) + ĥ2(P ) + ĥ3(P ) + . . . . ✭✸✳✷✸✮

Pré❝✐s♦♥s q✉❡ ❧✬♦♥ ♣❡✉t ❛✈♦✐r ĥq(P ) < 0 ♣♦✉r ✉♥ ❝❡rt❛✐♥ q✳ ❈❡♣❡♥❞❛♥t✱ ❧❡
❧❡♠♠❡ s✉✐✈❛♥t ♠♦♥tr❡ q✉❡ s✐ ĥ(P ) ❡st ✧❛ss❡③ ♣❡t✐t✧✱ ❛❧♦rs ĥq(P ) ♥❡ ♣❡✉t ♣❛s
êtr❡ ✧tr♦♣ ♣❡t✐t ♥é❣❛t✐✈❡♠❡♥t✧✳ P❧✉s ♣ré❝✐sé♠❡♥t✱

▲❡♠♠❡ ✸✳✷✳✼ ✭▲❡♠♠❛ ✽✳✽✱ ❬✷✻❪✮✳ ❙♦✐t (Pi)i ✉♥❡ s✉✐t❡ ❞❡ ♣♦✐♥ts ❞❡ E(Q)\Etors

t❡❧❧❡ q✉❡ lim
i→+∞

ĥ(Pi) = 0✳ ❙✐ l ❡st ✉♥❡ ♣❧❛❝❡ ❞❡ Q ✭♥♦♥ ♥é❝❡ss❛✐r❡♠❡♥t ✜♥✐❡✮✱

❛❧♦rs
lim

i→+∞
ĥl(Pi) ≥ 0.

❉❡ ♣❧✉s✱ s✐ l ❡st ✜♥✐❡ ❡t s✐ E ❛ ❜♦♥♥❡ ré❞✉❝t✐♦♥ ❡♥ l✱ ❛❧♦rs ĥl(Pi) ≥ 0 ♣♦✉r t♦✉t i✳

❈♦♠♠❡ E ❛ ❜♦♥♥❡ ré❞✉❝t✐♦♥ ♣♦✉r ♣r❡sq✉❡ t♦✉t❡ ♣❧❛❝❡ l ❞❡ Q ✭✐✳❡✳ ♣♦✉r t♦✉t❡s
s❛✉❢ ✉♥ ♥♦♠❜r❡ ✜♥✐✮✱ ✐❧ s✬❡♥s✉✐t q✉❡ ♣♦✉r t♦✉t l✱ ĥl(P ) ≥ 0 ♣♦✉r ♣r❡sq✉❡ t♦✉t
l ❡t t♦✉t P ∈ E(Q)✳ P❛r ❝♦♥séq✉❡♥t✱ ❧❡ ❧❡♠♠❡ ✸✳✷✳✼ ♠♦♥tr❡ q✉❡ s✐ ❧❛ ❤❛✉t❡✉r
ĥ(Pi) ❡st ✧❛ss❡③ ♣❡t✐t❡✧ ♣♦✉r ✉♥ ❝❡rt❛✐♥ i ❛✈❡❝ Pi /∈ Etors✱ ❛❧♦rs ĥp(Pi) ≥ 0
✭♦♥ r❛♣♣❡❧❧❡ q✉❡ E ❛ ❜♦♥♥❡ ré❞✉❝t✐♦♥ ❡♥ p✮ ❡st é❣❛❧❡♠❡♥t ✧❛ss❡③ ♣❡t✐t✧ ❞✬❛♣rès
✭✸✳✷✸✮✳ ▲❡ rés✉❧t❛t s✉✐✈❛♥t ❡st ❧❛ ❝♦♥tr❛♣♦sé❡ ❞❡ ❧❛ ♣❤r❛s❡ ♣ré❝é❞❡♥t❡✱ ✐✳❡✳ q✉❡ s✐
ĥp(Pi) ❡st ✧❛ss❡③ ❣r❛♥❞✧ ♣♦✉r t♦✉t i✱ ❛❧♦rs ĥ(Pi) ❧✬ ❡st é❣❛❧❡♠❡♥t ♣♦✉r t♦✉t i✳
P❧✉s ♣ré❝✐sé♠❡♥t✱

▲❡♠♠❡ ✸✳✷✳✽✳ ❙♦✐t (Pi)i ✉♥❡ s✉✐t❡ ❞❡ ♣♦✐♥ts ❞❡ E(Q)\Etors t❡❧❧❡ q✉✬✐❧ ❡①✐st❡

c > 0 ✈ér✐✜❛♥t ĥp(Pi) ≥ c ♣♦✉r t♦✉t i✳ ■❧ ❡①✐st❡ ❛❧♦rs c′ > 0 t❡❧ q✉❡ ĥ(Pi) ≥ c′

♣♦✉r t♦✉t i✳

❉é♠♦♥str❛t✐♦♥✳ ❙✉♣♣♦s♦♥s ♣❛r ❧✬❛❜s✉r❞❡ q✉❡ lim
i→+∞

ĥ(Pi) = 0✳ ◗✉✐tt❡ à ❡♥ ❡①✲

tr❛✐r❡ ✉♥❡ s♦✉s✲s✉✐t❡✱ ♦♥ ♣❡✉t s✉♣♣♦s❡r q✉❡ lim
i→+∞

ĥ(Pi) = 0✳ ❈♦♠♠❡ E ❛ ❜♦♥♥❡

ré❞✉❝t✐♦♥ ❡♥ ♣r❡sq✉❡ t♦✉t❡ ♣❧❛❝❡ l✱ ❝❡❧❛ s✐❣♥✐✜❡ q✉❡ ♣♦✉r ♣r❡sq✉❡ t♦✉t l✱ ♦♥ ❛
q✉❡ ĥl(Pi) ≥ 0 ♣♦✉r t♦✉t i✳ ❊♥ ✉t✐❧✐s❛♥t ❧❛ ♣r❡♠✐èr❡ ❛✣r♠❛t✐♦♥ ❞✉ ❧❡♠♠❡ ✸✳✷✳✼✱
♦♥ ❡♥ ❞é❞✉✐t ❧✬❡①✐st❡♥❝❡ ❞✬✉♥ ❡♥t✐❡r n0 t❡❧ q✉❡

∑

l 6=p ĥl(Pi) ≥ −c/2 ♣♦✉r t♦✉t
i ≥ n0✳ P❛r ❝♦♥séq✉❡♥t✱ ♦♥ ❞é❞✉✐t ❞❡ ✭✸✳✷✸✮ q✉❡

ĥ(Pi) = ĥp(Pi) +
∑

l 6=p
ĥl(Pi) ≥ c/2,

❝❡ q✉✐ ❝♦♥tr❡❞✐t ❧❡ ❢❛✐t q✉❡ lim
i→+∞

ĥ(Pi) = 0✳
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❙♦✐t P = (x, y) ∈ E(Qr,s) ❛✈❡❝ r ≥ s✳ ❈♦♠♠❡ E ❛ ❜♦♥♥❡ ré❞✉❝t✐♦♥ ❡♥ p ❡t
q✉❡ νr,s ❡st ❧✬✉♥✐q✉❡ ✐❞é❛❧ ♣r❡♠✐❡r ❞❡ OQr,s

❛✉✲❞❡ss✉s ❞❡ p✱ ♦♥ ❞é❞✉✐t ❛❧♦rs ❞❡
✭✸✳✷✷✮ q✉❡ ✿

ĥp(P ) = λνr,s(P ) :=
1

2
logmax{1, |x|νr,s} ✭✸✳✷✹✮

♦ù ❧❛ s❡❝♦♥❞❡ é❣❛❧✐té ♣r♦✈✐❡♥t ❞❡ ❧❛ ❞é✜♥✐t✐♦♥ ♠ê♠❡ ❞❡ λq✱ ❞❛♥s ❧❡ ❝❛s ♦ù E ❛
❜♦♥♥❡ ré❞✉❝t✐♦♥ ❡♥ q ❬✹✸✱ ❈❤❛♣t❡r ❱■❪✳

P♦✉r t♦✉s ❡♥t✐❡rs r ≥ s ♣♦s✐t✐❢s✱ ❛✈❡❝ r ≥ 1✱ t❡❧s q✉❡ (r, s) 6= (1, 0)✱ ✜①♦♥s à
♣❛rt✐r ❞❡ ♠❛✐♥t❡♥❛♥t ✉♥ ❣é♥ér❛t❡✉r σr,s ❞✉ ❞❡r♥✐❡r ❣r♦✉♣❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ♥♦♥
tr✐✈✐❛❧ ❞❡ ❧❛ s✉✐t❡ (Gal(Qr,s/Q)i(νr,s))i✱ q✉✐ ❡st ❝②❝❧✐q✉❡ ❞✬♦r❞r❡ p ❞✬❛♣rès ❧❡ v)
❞✉ ❧❡♠♠❡ ✸✳✷✳✹✳ P♦✉r t♦✉t i ≥ 0✱ ♦♥ ❛ ❧✬✐s♦♠♦r♣❤✐s♠❡ s✉✐✈❛♥t ✿

Gal(Qr,s/Q)i(νr,s) ≃ Gal((Qr,s)νr,s/Qp) = Gal((Qp)r,s/Qp).

❖♥ ♣❡✉t ❛✐♥s✐ ✐❞❡♥t✐✜❡r σr,s ❛✈❡❝ ✉♥ é❧é♠❡♥t ❞❡ Gal((Qp)r,s/Qp)✳
▲❛ ♣r♦♣♦s✐t✐♦♥ s✉✐✈❛♥t❡ ❡st ❧✬❛♥❛❧♦❣✉❡ ❞❡ ❬✷✻✱ ▲❡♠♠❛ ✽✳✹❪✱ ♠❛✐s ❞♦♥t ❧❛

♣r❡✉✈❡ ♣♦ssè❞❡ ♣❧✉s ❞❡ ❞ét❛✐❧s✳

Pr♦♣♦s✐t✐♦♥ ✸✳✷✳✾✳ ❙♦✐❡♥t r ≥ s ❞❡s ❡♥t✐❡rs ♣♦s✐t✐❢s t❡❧s q✉❡ r ≥ 1 ❡t t❡❧s q✉❡
(r, s) 6= (1, 0)✳ ❙♦✐t P ∈ E(Qr,s) t❡❧ q✉❡ σr,sP 6= P ✳ ❆❧♦rs

λνr,s(σr,sP − P ) ≥ log p

p2
.

❉é♠♦♥str❛t✐♦♥✳ ❆✜♥ ❞✬❛❧❧é❣❡r ❧❡s ♥♦t❛t✐♦♥s✱ ♥♦t♦♥s L = Qr,s✱ σ = σr,s✱ l = lr,s
✭❝❢ ❧❡♠♠❡ ✸✳✷✳✹✱ iv)✮ ❡t ν = νr,s✳ ◆♦t♦♥s é❣❛❧❡♠❡♥t l ❧❡ ❞❡r♥✐❡r s❛✉t ❞❡ ❧✬❡①t❡♥s✐♦♥
(Qr,s)νr,s/Qp✳ ◆♦t♦♥s P = (x, y)✱ σP = (x′, y′) ❡t Q = σP − P = (x′′, y′′)✳
❈♦♠♠❡ ❞❡✉① ❝♦♥❥✉❣✉és ❞❡ Lν ♦♥t ❧❛ ♠ê♠❡ ✈❛❧❡✉r ❛❜s♦❧✉❡✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡
|x|ν = |x′|ν ❡t |y|ν = |y′|ν ✳ P♦✉r ❧✬✐♥st❛♥t✱ s✉♣♣♦s♦♥s q✉❡ x 6= x′✱ ✐✳❡✳ q✉❡
σP 6= ±P ✳

❈♦♠♠❡♥ç♦♥s ♣❛r ❧❡ ❝❛s ♦ù |x|ν = |x′|ν ≤ 1✳ ❈♦♠♠❡ y2 = x3 + ax + b
❛✈❡❝ a, b ∈ Zp✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ |y|ν = |y′|ν ≤ 1✳ ❈♦♠♠❡ σ ❛♣♣❛rt✐❡♥t ✭♣❛r
❞é✜♥✐t✐♦♥✮ ❛✉ ❞❡r♥✐❡r ❣r♦✉♣❡ ❞❡ r❛♠✐✜❝❛t✐♦♥ ❞❡ Gal(Lν/Qp)✱ ✐❧ s✬❡♥s✉✐t q✉❡
|x′ − x|ν ≤ p−(l+1)/e✳ ❖r✱ p2(l + 1) ≥ e ❞✬❛♣rès ❧❡ iv) ❞✉ ❧❡♠♠❡ ✸✳✷✳✹✳ ❆✐♥s✐✱
|x′ − x|ν ≤ p−1/p2 ✳ ❉❡ ♠ê♠❡✱ ♦♥ ❛ |y′ − y|ν ≤ p−1/p2 ✳

▲❛ ❢♦r♠✉❧❡ ❞✬❛❞❞✐t✐♦♥ ❞❡ ❞❡✉① ♣♦✐♥ts s✉r ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ✭❝❢ ❬✹✹✱ ❈❤❛♣✲
t❡r ■■■✱ ❆❧❣♦r✐t❤♠ ✷✳✸❪✮ ❞♦♥♥❡ ❧❛ r❡❧❛t✐♦♥ s✉✐✈❛♥t❡ ✿

x′′ =

(

y′ + y

x′ − x

)2

− x′ − x. ✭✸✳✷✺✮

❊♥s✉✐t❡✱ ❡♥ s♦✉str❛②❛♥t ❧✬é❣❛❧✐té y2 = x3 + ax+ b à ❧✬é❣❛❧✐té y′2 = x′3 + ax′ + b
♦♥ ♦❜t✐❡♥t✱ ❛♣rès ❢❛❝t♦r✐s❛t✐♦♥ ❡t ❞✐✈✐s✐♦♥ ♣❛r x′ − x 6= 0✱ q✉❡

y′ + y

x′ − x
=
x′2 + x′x+ x2 + a

y′ − y
. ✭✸✳✷✻✮

❙✉♣♣♦s♦♥s ❞✬❛❜♦r❞ q✉❡ |y+ y′|ν ≥ 1 ✭✐✳❡✳ |y+ y′|ν = 1 ♣✉✐sq✉❡ |y|ν = |y′|ν ≤ 1✮✳
❈♦♠♠❡ |x|ν = |x′|ν ≤ 1 ❡t q✉❡ |x′ − x|−2

ν > 1✱ ✐❧ s✬❡♥s✉✐t✱ ❡♥ ♣❛ss❛♥t à ❧❛ ✈❛❧❡✉r
❛❜s♦❧✉❡ ❞❛♥s ✭✸✳✷✺✮✱ q✉❡

|x′′|ν = max

{

∣

∣

∣

∣

y + y′

x′ − x

∣

∣

∣

∣

2

ν

, |x′ + x|ν
}

= |x′ − x|−2
ν ≥ p2/p

2

.
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❉✉ ✭✸✳✷✹✮✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ λν(Q) = 1
2 log |x′′|ν ≥ (log p)/p2✳

❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ |y′ + y|ν < 1✳ ❈♦♠♠❡ |y′ − y|ν ≤ p−1/p2 < 1✱ ♦♥
❡♥ ❞é❞✉✐t q✉❡ |y|ν < 1✳ ❈♦♠♠❡ p > 2✱ ✐❧ ❡♥ rés✉❧t❡ q✉❡

y2 = x3 + ax+ b ≡ 0 mod ν. ✭✸✳✷✼✮

❉❡ ♣❧✉s✱ |y|2ν = |x|3ν ❡t |y′|2ν = |x′|3ν ✳ ❆✐♥s✐✱ |x|ν , |x′|ν < 1 ❡t ♦♥ ❡♥ ❞é❞✉✐t q✉❡
|x′2 + x′x + x2 + a|ν ≤ 1✳ ❈♦♠♠❡ ♥♦tr❡ ♠♦❞è❧❡ E ❛ ❜♦♥♥❡ ré❞✉❝t✐♦♥ ❡♥ ν✱
❝❡❧❛ ✐♠♣❧✐q✉❡ q✉❡ (x, 0) ❡st ✉♥ ♣♦✐♥t s✐♥❣✉❧✐❡r s✉r ❧❛ ré❞✉✐t❡ ❞❡ E ♠♦❞✉❧♦ ν✳ ❉❡
✭✸✳✷✼✮✱ ✐❧ s✬❡♥s✉✐t q✉❡ 3x2+a 6≡ 0 mod ν✳ ❈♦♠♠❡ x′ ≡ x mod ν✱ ♦♥ ❡♥ ❝♦♥❝❧✉t
q✉❡ x′2+x′x+x2+a 6≡ 0 mod ν✳ ❈❡❝✐ ♣r♦✉✈❡ ❞♦♥❝ q✉❡ |x′2+x′x+x2+a|ν = 1✳

❉❡ ✭✸✳✷✻✮✱ ♦♥ ❡♥ ❞é❞✉✐t ❛❧♦rs q✉❡ |(y′ + y)/(x′ − x)|ν = 1/|y′ − y|ν ✳ ❊♥ ✐♥✲
❥❡❝t❛♥t ❝❡tt❡ é❣❛❧✐té ❞❛♥s ✭✸✳✷✺✮✱ ✐❧ s✬❡♥s✉✐t q✉❡ |x′′|ν = |y − y′|−2

ν > 1✳ ❈♦♠♠❡
❞❛♥s ❧❡ ❝❛s ♣ré❝é❞❡♥t✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ λν(Q) ≥ (log p)/p2✳

❙✉♣♣♦s♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ |x|ν > 1 ✭❡t ❞♦♥❝ |x|ν = |x′|ν > 1 ❡t |y′|ν = |y|ν >
1✮✳ P♦s♦♥s t = −x/y✳ ❈♦♠♠❡ |x|2ν = |y|3ν ✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ |t|ν = |x|−1/2

ν < 1✳
❉❡ ♠ê♠❡✱ ♣♦s♦♥s t′ = −x′/y′✳ ❊♥ ♣❧♦♥❣❡❛♥t Q ❞❛♥s Qp✱ ♦♥ ♣❡✉t é❣❛❧❡♠❡♥t ✈♦✐r
E ❝♦♠♠❡ ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s✉r Qp✳ ❖♥ ♥♦t❡ F ∈ Zp[[X,Y ]] ❧❛ ❧♦✐ ❢♦r♠❡❧❧❡
❛ss♦❝✐é❡ à E/Qp ✭♣♦✉r ♣❧✉s ❞❡ ❞ét❛✐❧s✱ ❧❡ ❧❡❝t❡✉r ♣♦✉rr❛ ❝♦♥s✉❧t❡r ❬✹✹✱ ❈❤❛♣t❡r
■❱❪✮✳ ◆♦t♦♥s é❣❛❧❡♠❡♥t i ∈ Zp[[X]] ❧✬✉♥✐q✉❡ sér✐❡ ❡♥t✐èr❡ t❡❧❧❡ q✉❡ F (X, i(X)) =
0 ✭❝❢ ❬✹✹✱ ❈❤❛♣t❡r ■❱✱ ❘❡♠❛r❦ ✷✳✶❪✮✳ ❈♦♠♠❡ Q = σP −P = (x′′, y′′)✱ ✐❧ s✬❡♥s✉✐t
q✉❡ t′′ = −x′′/y′′ = F (t′, i(t))✳

❈♦♠♠❡ F (T, i(T )) = 0✱ ♦♥ ❡♥ ❞é❞✉✐t ❧✬❡①✐st❡♥❝❡ ❞✬✉♥❡ sér✐❡ ❡♥t✐èr❡ G ∈
Zp[[T1, T2]] t❡❧❧❡ q✉❡ F (T1, T2) = (i(T1) − T2)G(T1, T2)✳ ❊♥ ♣r❡♥❛♥t T1 = t′ ❡t
T2 = i(t)✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ t′′ = (i(t′) − i(t))G(t′, i(t))✳ ❊♥ ♣❛ss❛♥t à ❧❛ ✈❛❧❡✉r
❛❜s♦❧✉❡ ν✲❛❞✐q✉❡✱ ✐❧ s✬❡♥s✉✐t q✉❡

|t′′|ν = |i(t′ − t)|ν |G(t′, i(t))|ν ≤ |t′ − t|ν . ✭✸✳✷✽✮

❊♥✜♥✱ t ∈ OLν
❡t t′ = σt✳ ■❧ s✬❡♥s✉✐t ❞♦♥❝ q✉❡ |t′ − t|ν ≤ p−(l+1)/e ≤ p−1/p2 ✳

❈♦♠♠❡ |x′′|−1/2
ν = |t′′|ν ✱ ♦♥ ❞é❞✉✐t ❞✉ ✭✸✳✷✽✮ q✉❡ |x′′|ν ≥ p2/p

2

✳ ❈♦♠♠❡ ♣ré❝é✲
❞❡♠♠❡♥t✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ λν(Q) ≥ (log p)/p2✳ ❖♥ ❛ ❛✐♥s✐ ♠♦♥tré ❧❛ ♣r♦♣♦s✐t✐♦♥
❞❛♥s ❧❡ ❝❛s ♦ù x′ 6= x✳

❙✐ x′ = x ❛❧♦rs✱ σP = ±P ✳ ❖r✱ σP 6= P ♣❛r ❤②♣♦t❤ès❡✳ ❉✬♦ù✱ σP = −P ✳
❙♦✐t (Pi)i ✉♥❡ s✉✐t❡ ❞❡ ♣♦✐♥ts ❞❡ E(Lν) q✉✐ ❝♦♥✈❡r❣❡ ✭♣♦✉r ❧❛ t♦♣♦❧♦❣✐❡ ✐♥❞✉✐t❡
♣❛r ❧❛ ✈❛❧❡✉r ❛❜s♦❧✉❡ ν✲❛❞✐q✉❡✮ ✈❡rs 0 t❡❧❧❡ q✉❡ σPi 6= ±Pi ♣♦✉r t♦✉t i✳ ❆❧♦rs✱
σ(P − Pi) − (P − Pi) ❝♦♥✈❡r❣❡ ✈❡rs Q 6= 0 ♣❛r ❤②♣♦t❤ès❡✳ ❆✐♥s✐✱ σ(P − Pi) 6=
(P − Pi) ♣♦✉r t♦✉t i ❛ss❡③ ❣r❛♥❞✳ ❉❡ ♣❧✉s✱ σ(P − Pi) 6= −(P − Pi) ♣✉✐sq✉❡
σP = −P ❡t σPi 6= −Pi ♣❛r ❤②♣♦t❤ès❡✳ P❛r ❝♦♥séq✉❡♥t✱ ❧✬❛❜s❝✐ss❡ ❞✉ ♣♦✐♥t
σ(P − Pi) ❡st ❞✐✛ér❡♥t❡ ❞❡ ❧✬❛❜s❝✐ss❡ ❞❡ P − Pi✳ ❖♥ s✬❡st ❛✐♥s✐ r❛♠❡♥❡r ❛✉ ❝❛s
♦ù x 6= x′✳ ❖♥ ❡♥ ❞é❞✉✐t ❞♦♥❝ q✉❡ λν(σ(P − Pi) − (P − Pi)) ≥ (log p)/p2

♣♦✉r t♦✉t i ❛ss❡③ ❣r❛♥❞✳ ❊♥✜♥✱ ❝♦♠♠❡ λν ❡st ❝♦♥t✐♥✉❡ s✉r E(Lν)\{0}✱ ♦♥ ❡♥
❞é❞✉✐t✱ ❡♥ ♣❛ss❛♥t à ❧❛ ❧✐♠✐t❡✱ q✉❡ λν(σP − P ) ≥ (log p)/p2✱ ❝❡ q✉✐ ♣r♦✉✈❡ ❧❛
♣r♦♣♦s✐t✐♦♥✳

▲❛ ♣r♦♣♦s✐t✐♦♥ ✸✳✷✳✾✱ ❝♦✉♣❧é❡ ❛✈❡❝ ❧❡ ❧❡♠♠❡ ✸✳✷✳✽✱ ♣❡r♠❡t ❞✬❡♥ ❞é❞✉✐r❡ ❧❡
❝♦r♦❧❧❛✐r❡ ❝✐✲❞❡ss♦✉s ✿
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❈♦r♦❧❧❛✐r❡ ✸✳✷✳✶✵✳ ❙♦✐t (Pi)i ✉♥❡ s✉✐t❡ ❞❡ ♣♦✐♥ts ❞❡ E(Q∞,∞)\Etors✳ P♦✉r t♦✉t
i✱ ❝❤♦✐s✐ss♦♥s ✉♥ ❝♦✉♣❧❡ ❞✬❡♥t✐❡rs (ri, si) 6= (1, 0) t❡❧ q✉❡ ri ≥ si✱ ri ≥ 1 ❡t t❡❧

q✉❡ Pi ∈ E(Qri,si)✳ ❙✉♣♣♦s♦♥s q✉❡ lim
i→+∞

ĥ(Pi) = 0✳ ■❧ ❡①✐st❡ ❛❧♦rs ✉♥ ❡♥t✐❡r n0

t❡❧ q✉❡ σri,siPi − Pi ∈ Etors ♣♦✉r t♦✉t i ≥ n0✳

❉é♠♦♥str❛t✐♦♥✳ ❆✜♥ ❞✬❛❧❧é❣❡r ❧❡s ♥♦t❛t✐♦♥s✱ ♥♦t♦♥s Bi = σri,siPi − Pi✳ ❙✉♣♣♦✲
s♦♥s ♣❛r ❧✬❛❜s✉r❞❡ q✉✬✐❧ ❡①✐st❡ ✉♥❡ ✐♥✜♥✐té ❞✬❡♥t✐❡rs i t❡❧❧❡ q✉❡ Bi /∈ Etors✳ ◗✉✐tt❡
à ❡♥ ❡①tr❛✐r❡ ✉♥❡ s♦✉s✲s✉✐t❡✱ ♦♥ ♣❡✉t s✉♣♣♦s❡r q✉❡ ❝✬❡st ✈r❛✐ ♣♦✉r t♦✉t i✳ ❉❡ ❧❛
♣r♦♣♦s✐t✐♦♥ ✸✳✷✳✾ ❡t ❞✉ ✭✸✳✷✹✮✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ ĥp(Bi) ≥ (log p)/p2 ♣♦✉r t♦✉t i✳
▲❡ ❧❡♠♠❡ ✸✳✷✳✽✱ ❛♣♣❧✐q✉é à c = (log p)/p2✱ ♣❡r♠❡t ❞✬❡♥ ❞é❞✉✐r❡ ❧✬❡①✐st❡♥❝❡ ❞✬✉♥
c′ > 0 t❡❧ q✉❡ ĥ(Bi) ≥ c′✳ ❖r✱ ❧✬é❣❛❧✐té ❞✉ ♣❛r❛❧❧é❧♦❣r❛♠♠❡ ❬✹✹✱ ❚❤❡♦r❡♠ ✾✳✸❪
❛✣r♠❡ q✉❡

ĥ(Bi) + ĥ(σri,siPi + Pi) = 2(ĥ(σri,si(Pi)) + ĥ(Pi)).

■❧ s✬❡♥s✉✐t ❞♦♥❝ q✉❡ ĥ(Bi) ≤ 4ĥ(Pi)✳ ❖♥ ♦❜t✐❡♥t ❛✐♥s✐ q✉❡ ĥ(Pi) ≥ c′/4✱ ❝❡ q✉✐
❝♦♥tr❡❞✐t ❧❡ ❢❛✐t q✉❡ lim

i→+∞
ĥ(Pi) = 0✳

❉❡ ❝❡ ❝♦r♦❧❧❛✐r❡✱ ✐❧ ❞❡✈✐❡♥t ♠❛✐♥t❡♥❛♥t ♣❡rt✐♥❡♥t ♣♦✉r ♥♦✉s ❞✬ét✉❞✐❡r ❧❡s
♣♦✐♥ts P ∈ E(Qr,s) t❡❧s q✉❡ σr,sP − P ∈ Etors✳

Pr♦♣♦s✐t✐♦♥ ✸✳✷✳✶✶✳ ❙♦✐❡♥t r ≥ s ❞❡s ❡♥t✐❡rs t❡❧s q✉❡ r ≥ 1 ❡t (r, s) 6= (1, 0)✳

❙♦✐t P ∈ E(Qr,s) t❡❧ q✉❡ σr,sP − P ∈ Etors✳ ❆❧♦rs P ∈ Q
〈σr,s〉
r,s ✳

❉é♠♦♥str❛t✐♦♥✳ ❆✜♥ ❞✬❛❧❧é❣❡r ❧❡s ♥♦t❛t✐♦♥s✱ ♥♦t♦♥s σ = σr,s ❡t B = σr,sP − P ✳
◆♦t♦♥s é❣❛❧❡♠❡♥tM ❧✬ ♦r❞r❡ ❞❡ B ∈ Etors∩E(Qr,s)✳ ❈♦♠♠❡ Qr,s ⊂ (Qp)r,s✱ ♦♥
❞é❞✉✐t ❞❡ ❧❛ r❡♠❛rq✉❡ ✸✳✷✳✻ q✉❡ M ❡st ♣r❡♠✐❡r à p✳ ❉❛♥s ❝❡ ❝❛s✱ Qp(E[M ])/Qp
❡st ✉♥❡ ❡①t❡♥s✐♦♥ ♥♦♥ r❛♠✐✜é❡ ❞✬❛♣rès ❬✹✹✱ ❈❤❛♣t❡r ❱■■✱ ❡①❡r❝✐s❡ ✼✳✾❪✳ ❈♦♠♠❡
(Qp)r,s/Qp ❡st t♦t❛❧❡♠❡♥t r❛♠✐✜é ❞✬❛♣rès ❧❡ ii) ❞✉ ❧❡♠♠❡ ✸✳✷✳✹✱ ✐❧ s✬❡♥s✉✐t ❞♦♥❝
q✉❡

B ∈ E((Qp)r,s ∩Qp(E[M ])) = E(Qp).

❈❡❝✐ ✐♠♣❧✐q✉❡ q✉❡ σB = B ♦✉ ❡♥❝♦r❡ q✉❡ σ2P = [2]σP − P ✳ P❛r ✉♥❡ s✐♠♣❧❡
ré❝✉rr❡♥❝❡✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ σiP = [i]σP − [i−1]P ♣♦✉r t♦✉t i ≥ 2✳ ❊♥ ♣r❡♥❛♥t
i = p✱ ✐❧ s✬❡♥s✉✐t✱ ❝❛r σ ❡st ❞✬♦r❞r❡ p✱ q✉❡ [p]σP = [p]P ❡t ❞♦♥❝ q✉❡ [p]B = 0✳
❈♦♠♠❡ ♦♥ ❛ é❣❛❧❡♠❡♥t q✉❡ [M ]B = 0 ❛✈❡❝ p ∤ M ✱ ♦♥ ❡♥ ❞é❞✉✐t q✉❡ B = 0✳
❉✬♦ù P ∈ Q

〈σ〉
r,s ✳

❘❡♠❛rq✉❡ ✸✳✷✳✶✷✳ ❊♥ ✉t✐❧✐s❛♥t ❧❡ v) ❞✉ ❧❡♠♠❡ ✸✳✷✳✹✱ ❝❡tt❡ ♣r♦♣♦s✐t✐♦♥ ♠♦♥tr❡
q✉❡ s✐ P ∈ E(Qr,s) ✭❛✈❡❝ r ≥ 1 ❡t (r, s) 6= (1, 0)✮ ❡st t❡❧ q✉❡ σr,sP − P ∈ Etors✱
❛❧♦rs

P ∈
{

E(Qr−1,s) s✐ r > s

E(Qr,s−1) s✐ r = s
.

❈❡❧❛ ♣❡r♠❡t ❞❡ ♠♦♥tr❡r✱ ❝♦♠♠❡ é♥♦♥❝é ❞❛♥s ❧❡ ❞❡r♥✐❡r ♣❛r❛❣r❛♣❤❡ ❞❡ ❧✬✐♥✲
tr♦❞✉❝t✐♦♥✱ q✉❡ ❧❡s ♣♦✐♥ts ❞❡ t♦rs✐♦♥ ❞❡ E(Q∞,∞) s♦♥t t♦✉s ❞❛♥s E(Q(ζp))✳

❋❛✐t ✸✳✷✳✶✸✳ ❖♥ ❛ Etors ∩ E(Q∞,∞) = Etors ∩ E(Q(ζp))✳

❉é♠♦♥str❛t✐♦♥✳ ❙♦✐t P ∈ Etors ∩ E(Q∞,∞)✳ ◆♦t♦♥s (r, s) ❧❡ ♣❧✉s ♣❡t✐t ❝♦✉♣❧❡
❞✬❡♥t✐❡rs ✭♣♦✉r ❧✬♦r❞r❡ ❧❡①✐❝♦❣r❛♣❤✐q✉❡✮ t❡❧ q✉❡ r ≥ s ❡t P ∈ E(Qr,s) ✭❝✬❡st ❝❧❛✐r
q✉✬✉♥ t❡❧ ❝♦✉♣❧❡ ❡①✐st❡✮✳ ❈♦♠♠❡ P ∈ Etors✱ ♦♥ ❛ ❛❧♦rs q✉❡ σr,sP − P ∈ Etors✳



✽✽ ❈❍❆P■❚❘❊ ✸✳ ❆❯❚❖❯❘ ❉✬❯◆❊ ❈❖◆❏❊❈❚❯❘❊ ❉❊ ❘➱▼❖◆❉

❆✐♥s✐✱ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✸✳✷✳✶✶ ❡t ❧❛ r❡♠❛rq✉❡ ✸✳✷✳✶✷ ❝♦♥tr❡❞✐s❡♥t ❧❛ ♠✐♥✐♠❛❧✐té ❞❡
(r, s)✱ à ❝♦♥❞✐t✐♦♥ q✉❡ r ≥ 1 ❡t q✉❡ (r, s) 6= (1, 0)✳ ❖♥ ♦❜t✐❡♥t ❛✐♥s✐ q✉❡ r = 0 ♦✉
q✉❡ (r, s) = (1, 0)✳ ■❧ s✬❡♥s✉✐t ❞♦♥❝ q✉❡ Qr,s ⊂ Q(ζp)✳ ❉✬♦ù Qr,s ⊂ Q(ζp)✱ ❝❡ q✉✐
♣r♦✉✈❡ ❧❡ ❢❛✐t✳

◆♦✉s s♦♠♠❡s ♠❛✐♥t❡♥❛♥t ❡♥ ♠❡s✉r❡ ❞❡ ♣r♦✉✈❡r ❧❡ t❤é♦rè♠❡ ✸✳✷✳✸✱ q✉❡ ❧✬♦♥
r❛♣♣❡❧❧❡ ♣♦✉r ❧❛ ❝♦♠♠♦❞✐té ❞✉ ❧❡❝t❡✉r ✿

❚❤é♦rè♠❡✳ ❙♦✐t b ∈ N∗ t❡❧ q✉❡ p ∤ b ❡t p2 ∤ (bp−1 − 1)✳ ■❧ ❡①✐st❡ ❛❧♦rs c > 0 t❡❧

q✉❡ ĥ(P ) ≥ c ♣♦✉r t♦✉t P ∈ E(Q(〈b〉sat,p))\(E(Q(ζp)) ∩ Etors)✳

❉é♠♦♥str❛t✐♦♥✳ ❙♦✐t (Pi)i ✉♥❡ s✉✐t❡ ❞❡ ♣♦✐♥ts ❞❡ E(Q∞,∞) t❡❧❧❡ q✉❡ lim
i→+∞

ĥ(Pi) =

0✳ P♦✉r t♦✉t i✱ ✐❧ ❡①✐st❡ ti ≥ 1 t❡❧ q✉❡ Pi ∈ E(Qti,ti)✳ ◆♦t♦♥s Λi ❧✬❡♥s❡♠❜❧❡ ❞❡s
❝♦✉♣❧❡s (r, s) ∈ N2 t❡❧ q✉❡ ti ≥ r ≥ s ❡t t❡❧ q✉❡ Pi ∈ E(Qr,s)✳ ❘❡♠❛rq✉♦♥s q✉❡
Λi 6= ∅ ♣✉✐sq✉❡ (ti, ti) ∈ Λi✳ ❆✐♥s✐✱ Λi ❛❞♠❡t ✉♥ é❧é♠❡♥t ♠✐♥✐♠❛❧ ♣♦✉r ❧✬♦r❞r❡
❧❡①✐❝♦❣r❛♣❤✐q✉❡ q✉❡ ❧✬♦♥ ♥♦♠♠❡ (ri, si)✳

❙✉♣♣♦s♦♥s q✉❡ (ri, si) 6= (1, 0) ❡t q✉❡ ri ≥ 1 ♣♦✉r ✉♥❡ ✐♥✜♥✐té ❞❡ i✳ ◗✉✐tt❡
à ❡♥ ❡①tr❛✐r❡ ✉♥❡ s♦✉s✲s✉✐t❡✱ ♦♥ ♣❡✉t s✉♣♣♦s❡r q✉❡ ❝✬❡st ✈r❛✐ ♣♦✉r t♦✉t i✳ P❛r
♠✐♥✐♠❛❧✐té ❞❡ (ri, si)✱ ♦♥ ❞é❞✉✐t ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✸✳✷✳✶✶ ❡t ❞❡ ❧❛ r❡♠❛rq✉❡ ✸✳✷✳✶✷
q✉❡ Bi := σri,siPi − Pi /∈ Etors✳ ❆✐♥s✐✱ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✸✳✷✳✾ ❡t ✭✸✳✷✷✮ ♠♦♥tr❡♥t
q✉❡ ĥp(Bi) ≥ (log p)/p2 ♣♦✉r t♦✉t i✳ ❉✬❛♣rès ❧❡ ❧❡♠♠❡ ✸✳✷✳✽✱ ✐❧ ❡①✐st❡ ❛❧♦rs ✉♥❡
❝♦♥st❛♥t❡ c′ > 0 t❡❧❧❡ q✉❡ ĥ(Bi) ≥ c′✳ ❖r✱ ❧✬é❣❛❧✐té ❞✉ ♣❛r❛❧❧é❧♦❣r❛♠♠❡ ❛✣r♠❡
q✉❡

ĥ(Bi) + ĥ(σri,siPi + Pi) = 2(ĥ(σri,si(Pi)) + ĥ(Pi)).

■❧ s✬❡♥s✉✐t ❞♦♥❝ q✉❡ ĥ(Bi) ≤ 4ĥ(Pi)✳ P❛r ❝♦♥séq✉❡♥t✱ ĥ(Pi) ≥ c′/4✱ ❝❡ q✉✐ ❝♦♥tr❡✲
❞✐t ❧❡ ❢❛✐t q✉❡ lim

i→+∞
ĥ(Pi) = 0✳

❖♥ ❛ ❞♦♥❝ ♠♦♥tré q✉✬✐❧ ❡①✐st❡ ✉♥ r❛♥❣ n0 à ♣❛rt✐r ❞✉q✉❡❧ ri = 0 ♦✉ (ri, si) =

(1, 0) ♣♦✉r t♦✉t i✳ ❆✐♥s✐✱ Pi ∈ E(Q(ζp)) ♣♦✉r t♦✉t i ≥ n0✳ ❈♦♠♠❡ lim
i→+∞

ĥ(Pi) =

0✱ ✉♥ ❝é❧è❜r❡ t❤é♦rè♠❡ ❞❡ ◆♦rt❤❝♦tt ♠♦♥tr❡ ❧✬❡①✐st❡♥❝❡ ❞✬✉♥ ❡♥t✐❡r n1 > 0 t❡❧
q✉❡ Pi ∈ Etors ∩ E(Q(ζp)) ♣♦✉r t♦✉t i ≥ n1✳ ❈❡❝✐ ♣r♦✉✈❡ ❧❡ t❤é♦rè♠❡✳



❇✐❜❧✐♦❣r❛♣❤✐❡

❬✶❪ ▼✳ ❆❝♦st❛ ❞❡ ❖r♦③❝♦ ❛♥❞ ❲✳❨✳ ❱é❧❡③✳ ❚❤❡ ❧❛tt✐❝❡ ♦❢ s✉❜✜❡❧❞s ♦❢ ❛ r❛❞✐❝❛❧
❡①t❡♥s✐♦♥✳ ❏✳ ◆✉♠❜❡r ❚❤❡♦r②✱ ♥♦ ✶✺ ✿ ♣✳ ✸✽✽✕✹✵✺✱ ✶✾✽✷✳

❬✷❪ ❋✳ ❆♠♦r♦s♦✳ ❖♥ ❛ ❝♦♥❥❡❝t✉r❡ ♦❢ ●✳ ré♠♦♥❞✳ ❆♥♥✳ ❙❝✳ ◆♦r♠✳ ❙✉♣❡r✳ P✐s❛
❈❧✳ ❙❝✐✳✱ ♥♦ ✶✺ ✿ ♣✳ ✺✾✾✕✻✵✽✱ ✷✵✶✻✳

❬✸❪ ❋✳ ❆♠♦r♦s♦✱ ❙✳ ❉❛✈✐❞ ❛♥❞ ❯✳ ❩❛♥♥✐❡r✳ ❖♥ ✜❡❧❞s ✇✐t❤ t❤❡ ♣r♦♣❡rt② ✭❇✮✱
Pr♦❝✳ ❆♠❡r✳ ▼❛t❤✳ ❙♦❝✳✱ ✈♦❧✳ ✶✹✷✱ ♥♦✳✻✱ ♣✳ ✶✽✾✸✕✶✾✶✵✱ ✷✵✶✹✳

❬✹❪ ❋✳ ❆♠♦r♦s♦ ❛♥❞ ❘✳ ❉✈♦r♥✐❝✐❝❤✳ ❆ ❧♦✇❡r ❜♦✉♥❞ ❢♦r t❤❡ ❤❡✐❣❤t ✐♥ ❛❜❡❧✐❛♥
❡①t❡♥s✐♦♥s✱ ❏✳ ◆✉♠❜❡r ❚❤❡♦r②✱ ✈♦❧✳ ✽✵✱ ♥♦✳ ✷✱ ♣✳✷✻✵✕✷✼✷✱ ✷✵✵✵✳

❬✺❪ ❋✳ ❆♠♦r♦s♦ ❛♥❞ ❯✳ ❩❛♥♥✐❡r✳ ❆ ✉♥✐❢♦r♠ r❡❧❛t✐✈❡ ❉♦❜r♦✇♦❧s❦✐✬s ❧♦✇❡r ❜♦✉♥❞
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